




✐�✁✂✄☎✁✆

❥✝✞✟✠✡☛ ☞✝✌✍☛✎☛✝✏ ✑✡ ✒☞❥✓✔✝✝ ✕✱✖✗✘✱✙✚✮ – 2005 ✉✓ ✛✜✢✣✤✡ ✥✦✝✧✝✝ ✜✓✣ ★✩✝✡ ✛✪❥✝✓✫ ✜✓✣ ✥✤✬ ☞✝✌✍☛✭✯✝✓✫

✈✝✰❥ ☞✝✌✍☛☞✲✛✪✑✝✓✫ ✜✓✣ ✥✜✑✝★ ✜✓✣ ✥✤✬ ✬✑ ✉☛✓ ☞✳✤✢ ✑✝ ★✢✴✝☞✝✪ ✥✑☛✝✵ ✶★ ☞✳✤✢ ✯✓✫ ✥✜✷✝✥✸✝✏☛✝✓✫ ✹✝❥✝

❥✟✑❥ ★✡✔✝✉✓ ✑✝✓ ✥✉✺❘★✝✥✳✪ ✑❥✉✓ ✈✝✰❥ ✻✉✯✓✫ ★✯✼ ✑✝✓ ✽✾✿✝✉✓ ✜✓✣ ✥✤✬ ✥✜✜✓✑☞✢❀✝✏ ☞❁☛✝★ ✥✑✬ ❂✬ ✳✰✫✵

☛✳ ✻★ ❥✝✞✟✠✡☛ ✥✦✝✧✝✝ ✉✡✥✪❃❄❅❆❇ ✈✝✰❥ ✩✝✝❥ ❥✥✳✪ ✈✥❈❂✯ ❃❄❅❅❉ ★✓ ✩✝✤✡✩✝✝❊✥✪ ✯✓✤ ✔✝✝✪✝ ✳✰ t✝✓✥✑

✽✝✤ ✜✓✫✣✥♦❁✪ ✥✦✝✧✝✝ ☞❁❀✝✝✤✡ ✑✡ ✈✉✲✦✝✫★✝ ✑❥✪✝ ✳✰✵ ✑✧✝✝✈✝✓✫ ❅ ✈✝✰❥ ❄❄ ✑✡ ☞✝✌✍☛☞✲✛✪✜✓✫✣ ☞✣❥✜❥✡ ▲❋❋❇

✯✓✫ ✈✝✰❥ ✑✧✝✝✈✝✓✫ ❄❋ ✈✝✰❥ ❄▲ ✑✡ ☞✝✌✍☛☞✲✛✪✜✓✫✣ ▲❋❋● ✯✓✫ ☞❁✑✝✥✦✝✪ ✳✲✶❡✵ ★✩✝✡ ✛✪❥✝✓✫ ☞❥ ✶✉ ☞✲✛✪✑✝✓✫ ✑✝✓

✥✜✷✝✥✸✝✏☛✝✓✫ ✬✜✫ ✥✦✝✧✝✑✝✓✫ ✹✝❥✝ ❢♦☛ ★✓ ✛✜✡✑✝❥ ✥✑☛✝ ❂☛✝✵

❥✝✞✟✠✡☛ ☞✝✌✍☛✎☛✝✏ ✑✡ ✒☞❥✓✔✝✝ ✕✱✖✗✘✱✙✚✮–2005 ✻♠✤✓✔✝ ✑❥✪✡ ✳✰ ✥✑ ✥✉❈✝✏✥❥✪ ☞✝✌✍☛☞✲✛✪✑✝ ✓✫

✑✝✓ ☞❥✡✧✝✝ ✑✝ ✬✑✯✝✴✝ ✈✝❈✝❥ ✯✝✉✉✓ ✜✓✣ ✯✲✔☛ ✑✝❥❀✝ ✳✡ ✈✥❈❂✯ ✜✓✣ ✈❞☛ ★✫★✝❈✉✝✓✫ ✈✝✰❥ ✥✦✝✧✝✝ ✜✓✫✣♦❁✝✓ ✫

✑✡ ✻☞✓✧✝✝ ✑✡ t✝✪✡ ✳✰✵ ❥✝✞✟✠✡☛ ☞✝✌✍☛✎☛✝✏ ✑✡ ✒☞❥✓✔✝✝ ✕✬✉★✡✬☞✣✮–2005 ✯✓✫ ✈✝❂✓ ✥☞✣❥ ✶★ ✽✝✪ ☞❥

✽✤ ✥♦☛✝ ❂☛✝ ✳✰ ✥✑ ✥✦✝✧✝❀✝ ✈✝ ✰❥ ✯✢♠☛✝✫✑✉ ✑✡ ✥✜✥❈☛✝✓ ✫ ★✓ ✶★ ✽✝✪ ✑✝ ✩✝✡ ✥✉❈✝✏❥❀✝ ✳✝✓❂✝ ✥✑

☛✓ ☞✝✌✍☛☞✲✛✪✜✓✫✣ ✛✜✢✣✤ ✯✓✫ ✽❍✎✝ ✓✫ ✜✓✣ ✯✝✉✥★✑ ✪✉✝✜ ✈✸✝✜✝ ✻✽✝✻✣☞✉ ✑✡ t❂✳ ☞❁★❞✉✪✝ ✑✝ ✈✉✲✩✝✜

✑❥✝✉✓ ✯✓✫ ✥✑✪✉✡ ☞❁✩✝✝✜✡ ✳✝✫✓❂✡✵ ☛✳ ♦✓✦✝ ✯✓✫ ✜✪✏✯✝✉ ☞❥✡✧✝✝ ☞❁❀✝✝✤✡ ✯✓✫ ★✲❈✝❥ ✤✝✉✓ ✜✓✣ ✥✤✬ ✩✝✡ ✈✝■✝✉

✑❥✪✝ ✳✰✵

✉✓✦✝✉✤ ❏✿✝✣✝✓✑★ ❂❁✲☞ ✜✓✣ ✥✜❦✝✉ ✥✦✝✧✝❀✝❑ ❂✥❀✝✪ ✥✦✝✧✝❀✝ ✈✝✰❥ ☞❥✡✧✝✝ ★✲❈✝❥ ☞❥ ♦▼✥✞✟✑✝✓❀✝❃☞✴✝ ◆☛✝✉

✥♦✤✝✪✓ ✳✰✫ ✥✑ ✥✜✥✩✝❞✉ ✽✝✓❖✝✓❡ ✹✝❥✝ ✈✝☛✝✓✥t✪ ✜✝✥✞✝✏✑ ☞❥✡✧✝✝✈✝✓✫ ✜✓✣ ✥✤✬ ✥✉✥✯✏✪ ☞❁✦✉❃☞✴✝❑ ✥✜✞✝☛✝✓✫ ✑✡ ★✯✼

✑✝ ☛✸✝✝✸✝✏ ✯✢♠☛✝✫✑✉ ✜✝✛✪✜ ✯✓✫ ✉✳✡✫ ✑❥✪✓✵ ☞❁✦✉❃☞✴✝✝✓✫ ✑✡ ❂✲❀✝✜P✝✝ ☞❁✝☛◗ ☞❁❘☛✝✥✦✝✪ ✛✪❥ ✑✡ ✉✳✡✫ ✳✝✓✪✡✵

☛✓ ★✝✯✝❞☛✪◗ ❥✟✑❥ ☛✝♦ ✑✡ ❂✶✏ ★✢✎✉✝✬❊ ✎✝✳✪✓ ✳✰✫ ✈✝✰❥ ✥✜✜✓✎✉ ✬✜✫ ✥✜✦✤✓✞✝❀✝ t✰★✓ ✻❍✎ ✑✝✓✥✟ ✜✓✣ ✑✝✰✦✝✤✝✓✫

✑✡ t✝❊✎ ✉✳✡✫ ✑❥✪✓✵ ★✝✸✝ ✳✡ ★✝✸✝ ✥✜✞✝☛ ★✓ ★✫✽✫✥❈✪ ☞❁✝★✫✥❂✑ ★✝✓✎❑ ★▼t✉✝❘✯✑✪✝ ✈✝✰❥ ✥✉❀✝✏☛ ✤✓✉✓ ✑✡

✧✝✯✪✝ ☞❥ ✩✝✡ ◆☛✝✉ ✉✳✡✫ ♦✓✪✓✵ ☞❁✦✉❃☞✴✝✝✓✫ ✯✓✫ ✈❍④✓ ✈☞✝❥✫☞✥❥✑ ☞❁✦✉❑ ✎✲✉✝✰✪✡☞✢❀✝✏ ☞❁✦✉ ✈✝✰❥ ☞❁☛✝✓❂❃✈✝❈✝✥❥✪

☞❁✦✉ ✽✳✲✪ ✑✯ ☞✢④✓ t✝✪✓ ✳✰ ✫✵ ★✯✛☛✝ ✑✝ ★✯✝❈✝✉ ✑❥✉✓ ✈✝ ✰❥ ★✝✸✝ ✳✡ ✈✥✪✥❥❙✪

✈✥❈❂✯ ★✝✯❂❁✡ ✻☞✤❚❈ ✑❥✝✉✓ ✜✓✣ ✥✤✬❑ ✥✜❦✝✉ ✬✜✫ ❂✥❀✝✪ ✥✦✝✧✝✝ ✥✜✩✝✝❂ ✕❖✡❯✶✏❯✬★❯✬✯❯✮ ✉✓ ✯✝◆☛✥✯✑

✈✝✰❥ ✻❍✎✪❥ ✯✝◆☛✥✯✑ ✛✪❥✝✓✫ ✜✓✣ ✥✜✥✩✝❞✉ ✥✜✞✝☛✝✓✫ ✜✓✣ ✥✤✬ ❱☞❁✦✉ ☞❁♦✥✦✝✏✑✝❲ ✑✡ ★✫♦✩✝✏ ☞✲✛✪✜✓✫✣ ✥✜✑✥★✪

✑❥✉✓ ✑✝ ☞❁☛✝★ ✥✑☛✝ ✳✰✵ ☞❁❘☛✓✑ ★✫♦✩✝✏ ☞✲✛✪✑ ✯✓✫ ✥✜✥✜❈ ✑✥✌✉✝✶✏ ✛✪❥✝✓✫ ✜✝✤✓ ✥✜✥✩✝❞✉ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉

✥♦✬ ❂✬ ✳✰✫✵ ✜✲✣④ ☞❁✦✉✝✓✫ ✑✝✓ ✳✤ ✑❥✪✓ ★✯☛ ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✝✓ ✬✑ ★✝✸✝ ✬✑ ★✓ ✈✥❈✑ ✈◆☛✝☛✝ ✓✫❳✬✑✑✝✓✫

✑✡ ★✫✑♠☞✉✝✈✝✓✫ ✑✡ ★✯✼ ★✓ ✑✝✯ ✤✓✉✓ ✑✡ ✈✝✜✦☛✑✪✝ ✳✝ ✓❂✡✵ ☛✓ ☞❁✦✉ ✯✝✴✝ ☞❥✡✧✝✝✈✝✓✫ ✜✓✣ ✥✤✬ ☞❁✦✉

✽✰✫✑ ✜✓✣ ✒☞ ✯✓✫ ✑✝✯ ✯✓✫ ✤✓✉✓ ✜✓✣ ✥✤✬ ✉✳✡✫ ✳✰✫❑ ✽✥♠✑ ✯✲✔☛ ✒☞ ★✓ ✛✜✢✣✤✝✓✫ ✯✓✫ ✥✦✝✧✝❀✝❳✈✥❈❂✯ ✑✡

☞❁✥✭☛✝ ✑✡ ❂✲❀✝✜P✝✝ ✯✓✫ ★✲❈✝❥ ✤✝✉✓ ✜✓✣ ✥✤✬ ✳✰✫✵ ☛✳ ✈☞✓✧✝✝ ✑✡ t✝✪✡ ✳✰ ✥✑ ☛✓ ☞❁✦✉ ✥✦✝✧✝✑✝✓✫ ✑✝✓ ✈❍④✓



☞❁✦✉ ✪✰☛✝❥ ✑❥✉✓ ✜✓✣ ✥✤☛✓ ☞❁✝✓❘★✝✥✳✪ ✑❥✓✫❂✓✵ ✥✜✷✝✥✸✝✏☛✝✓✫ ✈✝✰❥ ✥✦✝✧✝✑✝✓✫ ✑✝✓ ★♦✰✜ ◆☛✝✉ ❥✔✝✉✝ ✎✝✥✳✬ ✥✑

☞❥✡✧✝✝ ✈✝✰❥ ✯✢♠☛✝✫✑✉ ✬✓★✝ ✳✝✓✉✝ ✎✝✥✳✬ ✪✝✥✑ ✥✜✷✝✸✝✡✏ ✜✓✣ ✽✝✓❈❑ ❦✝✪ ★✢✎✉✝ ✑✝ ☞✲✉◗ ✛✯❥❀✝❑

✥✜✦✤✓✞✝❀✝✝❘✯✑ ★✝✓✎ ✈✝✰❥ ★✯✛☛✝❃★✯✝❈✝✉ ✧✝✯✪✝❑ ★▼t✉✝❘✯✑✪✝ ✈✝✰❥ ✥✎✫✪✉✦✝✡✤ ✧✝✯✪✝ ✑✡ t✝❊✎❳☞❥✔✝

✳✝ ✓ t✝✬✵

✥✜✞✝☛ ✈✝✰❥ ☞❥✡✧✝✝✈✝✓ ✫ ✑✡ ✻✥✎✪ ★✯✼ ❥✔✝✉✓ ✜✝✤✓ ✥✜✞✝☛ ✥✜✦✝✓✞✝❦✝✓✫ ✈✝✰❥ ✥✦✝✧✝✑✝✓✫ ✑✡ ✬✑ ✟✡✯

✉✓ ✽✳✲✪ ✈✸✝✑ ☞❁☛✝★ ✑❥✜✓✣ ☛✳ ✑✝☛✏ ☞✢❥✝ ✥✑☛✝ ✳✰✵ ✪✪✍☞✦✎✝✪✍ ★✝✯❂❁✡ ☞❥ ☞✥❥✎✎✝✏ ✑❥✜✓✣ ✬✜✫ ✻★✑✝

★✫☞✝♦✉ ✑❥✉✓ ✜✓✣ ☞✦✎✝✪✍ ✶★✓ ★✫♦✩✝✏ ☞✲✛✪✑ ✯✓✫ ★✥❧✯✥✤✪ ✥✑☛✝ ❂☛✝ ✳✰✵

❥✝✞✟✠✡☛ ✦✝✰✥✧✝✑ ✈✉✲★✫❈✝✉ ✈✝✰❥ ☞❁✥✦✝✧✝❀✝ ☞✥❥✞✝♦✍ ✥✜✷✝✥✸✝ ✏☛✝✓✫❑ ✥✦✝✧✝✑✝✓✫ ✈✝✰❥ ✈✥✩✝✩✝✝✜✑✝✓✫ ✜✓✣ ★✲✼✝✜✝✓✫

✑✝ ✛✜✝❂✪ ✑❥✓❂✡❑ t✝✓ ✈✝❂✝✯✡ ★✫✛✑❥❀✝✝✓✫ ✯✓ ✫ ★✝✯❂❁✡ ✑✡ ❂✲❀✝✜P✝✝ ✑✝✓ ✽✓✳✪❥ ✽✉✝✉✓ ✯✓✫ ★✳✝☛✑ ✳✝ ✓✫❂✓✵

☞❁✝✓❏ ✿✝ ✓✣★❥ ☛✦✝ ☞✝✤

✈�✁✂✄

✉✓✦✝✉✤ ✛✟✡☛✥❥✫❂ ✑✯✓✟✡

❥✝✞✟✠✡☛ ✦✝✰✥✧✝✑ ✈✉✲★✫❈✝✉ ✈✝ ✰❥

☞❁✥✦✝✧✝❀✝ ☞✥❥✞✝♦ ⑦

✉☛✡ ✥♦♠✤✡

✷☎✆✝✞ ✷✟✟✠

(iv)



✈✁�✁✂✁

❢✄☎✆✝ ✞✄✟ ✠❢✡✆☛ ❢☞✆✌✆✆ ❢✄✍✆✆✠ ✎✏✑✒✓✔✒✞✕✒✞✖✒✗✘ ✙✆✚✛✜✑✢ ☞✆✣❢✌✆✤ ✥✝✦✕✟✧✆✝ ✥✆✣✙ ★✩❢☞✆✌✆✡✆ ★❢✙✚✆✪✫

✎✙✆✒☞✆✣✒✥✒★✩✒★✒✗ ✝✭ ✬✄✮✯✰✑ ❢☞✆✌✆✆ ✤✑ ✙✆✚✛✜✑✢ ★✆✱✫✢✲✢✆✔ ✤✑ ✳★✙✭✴✆✆ ✎NCF✗✵✶✷✷✸ ✄✭✯ ✥✆✧✆✙ ★✙ ☛✣✢✆✙

✤✑ ✠✢✑ ★✆✱✫✢★✦✬☛✤✆✭✟ ★✙ ✥✆✧✆❢✙☛ ✖✆❞✢❢✖✤ ✥✆✣✙ ✹✺✲☛✙ ✖✆❞✢❢✖✤ ✬☛✙✆✭✟ ★✙ ❢✄☎✆✝ ✞✄✟ ✠❢✡✆☛

❢✄✚✆✢✆✭✟ ✖✭ ✟ ❫★✩☞✝ ★✩✪❢☞✆✔✤✆♥ ✎Exemplar Problems✗ ✄✭✯ ❢✄✤✆✕ ✤✆ ✞✤ ✤✆✢✔✻✖ ✥✆✙✟✍✆ ❢✤✢✆

❣✣✼ ✄☛✔✖✆✝ ★✦✬☛✤✘ ★❢✙✚✆✪ ✽✆✙✆ ✤✌✆✆ ✾✷ ✄✭✯ ❢✰✞ ★✩✤✆❢☞✆☛ ✠❢✡✆☛ ★✆✱✫✢★✦✬☛✤✘ ✄✭✯ ❢✄❢✍✆✿✝

✥❞✢✆✢✆✭✟ ★✙ ✥✆❞✆✆❢✙☛ ❣✣✼

✠❢✡✆☛ ✖✭✟ ❫★✩☞✝ ★✩✪❢☞✆✔✤✆♥ ★✙ ★✦✬☛✤ ✤✆ ✖✦✴✢ ✹①✭☞✢ ❢☞✆✌✆✤✆✭✟ ☛❀✆✆ ❢✄❁✆❢❀✆✔✢✆✭✟ ✤✆✭ ❂✏❃✑ ✕✟✴✢✆

✖✭✟ ✞✭✕✭ ✬☛✙✑✢ ★✩☞✝ ✹★✰❡✧ ✤✙✆✝✆ ❣✣ ❢❄✝✤✆ ✳★✵★✩✆✳★ ☛✆✭ ❢✍✆✿✝ ❣✆✭ ❣✑ ✕✆❀✆ ❣✑ ✹✝✤✆ ✤❢✱✝✆✓✔✵✬☛✙

✍✆✑ ❢✍✆✿✝✵❢✍✆✿✝ ❣✆✭✼ ✓✕✕✭ ✤✌✆✆ ✾✷ ✤✑ ★✆✱✫✢★✦✬☛✤ ✖✭✟ ✪✑ ✠✢✑ ✕✟✤❍★✝✆✥✆✭✟ ✤✆✭ ✕✑✴✆✝✭✵❢✕✴✆✆✝✭ ✖✭✟

✥✆✕✆✝✑ ❣✆✭✠✑✼ ✢❣ ❂✆☛ ❞✢✆✝ ✪✭✝✭ ✤✑ ❣✣ ❢✤ ✓✕ ★✦✬☛✤ ✖✭✟ ✕❢❅✖❢✰☛ ★✩☞✝✆✭✟ ✕✭ ❢☞✆✌✆✤✆✭✟ ✤✆✭✘ ✓✤✆✓✔

✥✆✣✙ ✕❆✆ ★✙✑✌✆✆✥✆✭✟ ✄✭✯ ❢✰✞ ✹✿❣✆✭✟✝✭ ❄✆✭ ✕✟☛✦❢✰☛ ★✩☞✝ ★❆✆ ☛✣✢✆✙ ❢✤✞ ❣✣✟ ✹✝✄✭✯ ★✩✍✆✆✄✑ ✖✮❍✢✆✟✤✝ ✖✭✟✘

✕❣✆✢☛✆ ❢✖✰✭✠✑✼ ❢✄❁✆❢❀✆✔✢✆✭✟ ✽✆✙✆ ❢✪✞ ✠✞ ✹❧✆✙✆✭✟ ✄✭✯ ❢✄☞✰✭✚✆✡✆ ✄✭✯ ✥✆✧✆✙ ★✙ ❇❃✆✯✑✏✵❂✣✤ ★✩✆❇☛ ✤✙✄✭✯

❢☞✆✌✆✤✆✭✟ ✤✆✭ ❢☞✆✌✆✡✆ ✤✑ ✠✦✡✆✄❧✆✆ ✖✭✟ ✥✆✣✙ ✥❢✧✤ ✕✦✧✆✙ ✰✆✝✭ ✖✭✟ ✍✆✑ ✕❣✆✢☛✆ ❢✖✰✭✠✑✼ ✓✕✄✭✯ ✥❢☛❢✙❈☛✘

✓✕ ★✦✬☛✤ ✖✭✟ ❢✪✞ ✠✞ ★✩☞✝✆✭✟ ✕✭ ❢☞✆✌✆✤✆✭✟ ✤✆✭ ✥✺❜✑ ✠✦✡✆✄❧✆✆ ✄✆✰✭ ★✩☞✝✆✭✟ ✄✭✯ ✖✮✰✍✆✮☛ ✰✌✆✡✆✆✭✟ ✤✆✭ ✕✖❉✝✭

✖✭✟ ✕❣✆✢☛✆ ❢✖✰✭✠✑✘ ✕✆❀✆ ❣✑ ✬✄✢✟ ✹✿❣✭✟ ✓✕✑ ★✩✤✆✙ ✄✭✯ ★✩☞✝ ❂✝✆✝✭ ✄✭✯ ❢✰✞ ★✩✆✭❊✕✆❣✝ ❢✖✰✭✠✆✼ ❢✄❁✆❀✆✑✔

★✦✬☛✤ ✖✭✟ ❢✪✞ ✠✞ ★✩☞✝✆✭✟ ✤✆✭ ❣✰ ✤✙✝✭ ✄✭✯ ★☞✲✆☛✫ ✬✄✢✟ ✤✆ ✖✮❍✢✆✟✤✝ ✥✆✣✙ ★✩☞✝ ❣✰ ✤✙✝✭ ✤✑ ✖✆✣ ❢✰✤

☛✤✝✑✤ ✖✭✟ ★✩✄✑✡✆☛✆ ★✩✆❇☛ ✤✙ ✕✤☛✭ ❣✣✟✼ ★✦✬☛✤ ✖✭✟ ❢✪✞ ✠✞ ✤✦❜ ★✩☞✝✆✭✟ ✤✑ ✕❣✆✢☛✆ ✕✭ ❢✄❁✆❀✆✑✔ ✠❢✡✆☛

✤✑ ✕✟✤❍★✝✆✥✆✭✟ ✤✆✭ ✕✖❉✤✙ ✹✿❣✭✟ ✝✢✑ ★❢✙❢✬❀✆❢☛✢✆✭✟ ✖✭✟ ✹★✢✆✭✠ ✤✙ ✕✤☛✭ ❣✣✟✼

✓✕ ★✦✬☛✤ ✖✭✟ ✕❢❅✖❢✰☛ ★✩☞✝✆✭✟ ✤✆✭ ✏✑✒✓✔✒✞✕✒✞✖✒ ✽✆✙✆ ✥✆✢✆✭❢❄☛ ✤✆✢✔☞✆✆✰✆✥✆✭✟ ✖✭✟ ❢✄✤❢✕☛ ❢✤✢✆

✠✢✆ ❢❄✕✖✭✟ ❢☞✆✌✆✤✆✭✟✘ ❢✄☞✄❢✄❁✆✰✢✆✭✟ ✥✆✣✙ ✹✺✲ ❢☞✆✌✆✡✆ ✕✟✬❀✆✆✝✆✭✟ ✄✭✯ ❢✄✚✆✢✵❢✄☞✆✭✚✆☎✆✭✟ ☛❀✆✆ ✏✑✒✓✔✒✞✕✒✞✖✒ ✄✭✯

✠❢✡✆☛ ✕✖✮❣ ✄✭✯ ✕✪✬✢✆✭✟ ✝✭ ✥★✝✆ ✢✆✭✠✪✆✝ ❢✪✢✆ ❣✣✼ ✖✣✟ ✹✝✄✭✯ ★✩✢✆✕✆✭✟ ✄✭✯ ❢✰✞ ✥✆✍✆✆✙✑ ❣❋✮✼ ✹✿❣✭✟ ✬✄✮✯✰✆✭✟

✄✭✯ ❢✰✞ ✥✺❜✑ ✠✦✡✆✄❧✆✆ ✄✆✰✑ ❢☞✆✌✆✡✆ ✕✆✖✠✩✑ ✹★✰❡✧ ✤✙✆✝✭ ✄✭✯ ❢✰✞ ✧✿✢✄✆✪ ✪✭☛✆ ❣✮❋✼ ✓✕ ★✦✬☛✤ ✄✭✯

❢✝✖✆✔✡✆ ✖✭✟ ✠❣✝ ●❢✲ ☛❀✆✆ ✕✍✆✑ ★✩✤✆✙ ✤✑ ★✩☞✆✆✕❢✝✤ ✕❣✆✢☛✆ ★✩✪✆✝ ✤✙✝✭ ✄✭✯ ❢✰✞ ★✩✆✭❇❃✆✭✯✕✙ ❦✚✡✆ ✄✦✯✖✆✙✘

❢✝✪✭☞✆✤✘ ✙✆✒☞✆✣✒✥✒★✩✒★✒ ☛❀✆✆ ★✩✆✭❇❃✆✭✯✕✙ ❄✑✒✙✄✑✿✪✩✆✘ ✕✟✢✦❈☛ ❢✝✪✭☞✆✤✘ ✙✆✒☞✆✣✒✥✒★✩✒★✒ ✤✆ ✖✣✟ ❢✄☞✆✭✚✆ ✳★ ✕✭

✥✆✍✆✆✙ ★✩✤✛ ✤✙☛✆ ❣✮ ❋✼ ✖✣✟ ✓✕ ✤✆✢✔✻✖ ✄✭✯ ✕✖✿✄✢✝ ✄✭✯ ❢✰✞ ✏✑✒✓ ✔✒✞✕✒✞✖✒ ✄✭✯ ✏✆→✒ ✥✆✙✒ ★✑✒ ✖✆✣✢✔ ✤✆✭

❢✄☞✆✭✚✆ ✳★ ✕✭ ❞✆✿✢✄✆✪ ✪✭☛✆ ❣✮❋✼

❣✖ ❢✄❁✆❢❀✆✔✢✆✭ ✟✘ ❢☞✆✌✆✤✆✭✟ ✥✆✣✙ ✥❢✍✆✍✆✆✄✤✆✭✟ ✕✭ ★✦✬☛✤ ✤✑ ✕✆✖✠✩✑ ✖✭✟ ✥✆✣✙ ✥❢✧✤ ✕✦✧✆✙ ✄✭✯ ❢✰✞

❇❃✆✯✑✏✵❂✣✤ ✤✑ ✥★✭✌✆✆ ✤✙☛✭ ❣✣✟✼

■❏❑❏▲▼ ◆❖P■
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✉ ✎✏✑ ✒✓ ✎✔✕ ✖ ✔✗ ✘✙✚ ✓✛ ✜ ✢✣
✈ ✤ ✥✦✧★✩ ✪✫ ❞
❡ ✬✭ ✮✯ ✰✱ ✲ ✳ ✴ ✵ ✵✶ ✷ ✸ ✹✺ ✻✼ ✽✾ ✹✿ ❀ ✵❁ ❂✶ ✿ ✿ ✵ ✾ ❃ ✿ ✷❄❅✾ ❃ ✵✹❁ ✵ ❂ ✿ ✸ ❃ ❆
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✿✶ ✹❱
❇ ❬ ✵❈ ❖✸ ✷❉❲ ✵✷✵ ✸ ✹✺ ❂❋ ❳ ❃❨ ✵✶ ✹ ✶ ✵◗❘ ❙❩✾ ●✵ ❉❑ ✵ ✹❋ ❀ ✿ ✵ ✹ ✻ ✼ ✹❂✶ ✷ ✿✶ ❀ ✹ ✸ ✵❋ ✹ ❏❭❪ ●✵❑ ▲ ✵ ✵ ✹▼ ✿ ✵ ✹ ❫❑ ✾

❨ ✹❉ ❧ ❉ ❯ ✵✹❳ ✶❬ ✵✹ ● ✵■✶ ❏❀ ✿ ✵ ✻ ✵❋❀ ✿✶ ✹❱
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❇ ❢ ✵ ❈ ❑ ✹ ▲✵ ✿ ❩ ✶ ❛ ✵✵ ✿✶ ✹ ●✵■✶ ●✵ ❃♥✸ ✵❀ ❂ ✿❳ ❯ ✵❀ ✹ ✻✶ ✶ ✵◗❘ ❙ ✿ ❩ ❧ ✹✸ ✵ ✿✶ ✹❱
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❊❨ ❄◆ ✴ ✵ ✵◗ ✵ ✵ ●✵■ ✶ ✻✼❑ ✹▲ ✵ ✾ ✵ ✸ ❁ ❄ ✻ ✶ ●✵ ❚✵ ✵ ❂✶ ✷ ❧✴ ✵ ❩ ✴ ✵ ✹❑ ✴ ✵ ✵✸ ✵✹❉ ❧ ✹ ✻✶ ✹ ❃✵ ✹◆ ❳ ✹❧ ❩ ✻✼ P✵ ✵ ●✵ ✹❉ ✿ ✵
✽✾ ✵❁ ✿✶ ✹ ❯ ✵ ✹ ❨ ❂❃❋ ✵●✵ ✹❉ ✸ ✹✺ ❧ ❤❨ ✵❀ ✸ ✹✺ ❂✸ ✐❑ ♥❊ ❃✵ ❉✹❱
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✿✶ ✹❱

❇ ❦ ❈ ✻✼✵ ✿❣ ❂ ✷✿ ✻✾ ✵❄✸ ✶❜ ✵ ✿ ❩◆ ❂ ❯❧ ✿ ✹ ● ❉✷❁ ❄✷ ✸ ❀ ◆ ❥ ❩❋ ◆ ❀❑ ❩ ●✵■✶ ✸ ♠✾ ❯❩✸ ❃■ ❉◆ ✶ ❛✵ ✵ ✿✶ ✹ ●✵■✶
❏❧ ✿ ✵ ❧ ❉✸ ❚✵ ❄❀ ✿✶ ✹ ✷P ✵✵ ✻✼ ✵ ❂❜ ✵ ❨ ✵❲ ✵ ✸ ✹✺ ✻✼ ❂ ✷ ❑ ✾ ✵✴ ✵ ✵✸ ✶❬ ✵ ✹❱

❇ ❯❈ ✸ ■♦ ✵❂❀ ✿ ❑ ❣ ❂◗❘ ✿ ✵ ✹❜ ✵◆ ❨ ✵❀✸ ✸ ✵❑ ●✵■✶ ♦ ✵❀ ✵ ❯ ❄❀ ✷P ✵✵ ❧ ❴ ❊✵✶ ✿ ❩ ✴ ✵✵✸ ❀ ✵ ✿ ✵ ❂✸ ✿ ✵❧ ✿✶ ✹❱
❇ ❥ ❈ ❧ ✵✸ ❄❯ ❂❀ ✿ ❧ ❉✻ ❂ ✽ ✷ ✿ ❉❉✵ ✹ ❧ ❴✶ ❂ ❛✵ ✷ ✶ ❬ ✵✹ ●✵■✶ ❂ ❃ ❉❧ ✵ ❧ ✹ ❑ ♣✶ ✶ ❃✹❱
❇ × ✵❈ ❅✾ ❂ q ✷❁ ✷ ●✵■✶ ❧ ✵❨ ♣❂ ❃✿ ❁ ❂✷❂✸ ❂ ❊✾ ✵ ✹❉ ✸ ✹✺ ❧ ✴ ✵ ❩ ❛ ✵✹❲ ✵ ✵✹❉ ❨ ✹❉ ❏ ✽✿◗ ✵ ❄ ✿ ❩ ●✵ ✹✶ ❝ rs❀ ✹ ✿ ✵ ❧ ✷✷♥

✻✼✾ ✵❧ ✿✶ ✹◆ ❂❯❧ ❧ ✹ ✶ ✵◗❘ ❙ ❂❀✶ ❉✷✶ ❝ rs ✷✹ ❃❴❳ ✻✼ ✾ ✽❀ ●✵■✶ ❏✻ ❋ ❂ t ❊ ✿ ❩ ❀ ✇ ❄ ❏ ①✺❪ ✵ ✇✾ ✵ ✹❉ ✿ ✵✹ ❦ ♣
❧✸ ✹✺ ❱ ●✵■✶

❇❘ ❈ ✾ ❂❑ ❨ ✵✷✵ ❆ ❂✻ ✷✵ ✾ ✵ ❧ ❉✶ ❛ ✵✿ ❃■ ◆ ❦ ❃ ✸◗ ✵ ❄ ❧ ✹ ❪ ✵■❑ ❃ ✸ ◗ ✵❄ ✷✿ ✿ ❩ ●✵✾ ❴ ✸ ✵❋ ✹ ●✻❀ ✹ ◆
✾ P ✵ ✵❂❖ P ✵❂ ✷◆ ❝ ✵❋ ✿ ✾ ✵ ✻ ✼ ❂ ✷✻ ✵②✾ ✿ ✵ ✹ ❂ ▲ ✵❛✵ ✵ ✸ ✹✺ ●✸ ❧✶ ✻✼❑ ✵❀ ✿✶ ✹③



❢�✁ ✂ ✄ ✄❢☎❢✆

✐✝✞ ✟ ✐✝✠ ❢✞ ✂✡✁ ✂ ☛ ☞ ❢✌ ✂✆

❧✩✍ ✎

t✡❯☞✡❯ ♦✡✥✧✝✪❑ ✙ ✐✄ ◗❘❙✄ ◗✚✗❚ ✕✗ ◗❯✄❲✖❯✏✑✄✮❑ ✤✔✝✉✻✣ ✥✜✦✜✥✜✷✝✤☛❑ ✤✔✝✉✻✣

t✓❯★✡❯ ✥✉✼✝✜✉❑ ✙ ✐✒✄✖✄✓✄✁✞ ✕✗ ◗❯✄❲✖❯✏✑✄✮❑ ✥✦✝✧✝✝ ✥✉♦✓✦✝✝✤☛❑ ✥♦♠✤✡

☞✡❯ ✜✓✣❯ ✥✪✜✝❥✡❑ ✗✔✄✁✕ ✈✄✁ ✖✗✘ ✕✗ ◗❯✄❲✖❯✏✑✄✮❪ ✜✓✫✣♦❁✡☛ ✥✜✷✝✤☛ ★✫❂✌✉❑ ✉☛✡ ✥♦♠✤✡

☞✡❯ ✥★✫❙✤✓☛❥❑ ✙ ✐✄ ◗❘❙✄ ◗✚✗❚ ✱❯❱ ✙ ✐✄ ◗ ❯✄✝✗ ✓✄ ❱✗❦❚❪ ✶❯❂✝❊❯❥✝❯✯✲❯✥✜❯✥✜❯❑ ✉☛✡ ✥♦♠✤✡

✽✡❯✬★❯ ✻☞✝◆☛✝☛❑ ✙ ✐✄ ◗❘❙✄ ◗✚✗❚❑ ✧✝ ✓✴✝✡☛ ✥✦✝✧✝✝ ★✫✛✸✝✝✉❑ ✯✰★✢❥

✯✳✓❞♦❁ ✦✝✫✑❥❑ ✙ ✐❯✗✘✄ ✕✱✗✱ ✙✘✱✮ ✕✗ ◗❯✄❲✖❯✏✑✄✮❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

❥✝✯ ✈✜✪✝❥❑ ✙ ✐✄ ◗❘❙✄ ◗✚✗❚ ✕✗ ◗❯✄❲✖❯✏✑✄✮❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

✜✫✥♦✪✝ ✑✝✤❥✝❑ ❦ ◗✗✓❚❚❑ ★✜✝✓✏♦☛ ✑❞☛✝ ✥✜✷✝✤☛❑ ✥❖✥✛✟✠❙✟ ★✫✓✟❥ ✥✜✑✝★☞✲❥✡❑ ✉☛✡ ✥♦♠✤✡

✜✡❯☞✡❯ ✥★✫✳❑ ❚✘❥❚❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

✜✡❯ ✯✝❈✜✡❑ ❱✘✱ ✙✘✱ ❱✘✱ ✕❂✥❀✝✪✮❑ ★✫✛✜▼✣✥✪ ✛✜✢✣✤❑ ✎✝❀✝❙☛☞✲❥✡❑ ✉☛✡ ✥♦♠✤✡

★✫t☛ ✯✲♦✍❂✤❑ ✙ ✐❯✗✘✄❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

✳✲✜✲✣✯ ✥★✫✳❑ ✙ ✐✄ ◗❘ ❙✄ ◗✚✗❚ ✱❯❱ ❲❯❳✄✄❨✄�✁✂✄❪ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

❧✩✍✎ ✚ ❧✛ ✜✢ ✎❞
✈✝❥❯☞✡❯✯✝✰☛✏❑ ❚✘❥❚❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

✣✤ ✥✩✦ ✧ ★ ✩ ✜✪ ✫❞✪ ✩✬

✈✝❥❯☞✡❯ ✯✝✰☛✏❑ ❚✘❥❚❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

✯✳✓❞♦❁ ✦✝✫✑❥❑ ✙ ✐❯✗✘✄ ✕✱✗✱ ✙✘✱✮ ✕✗ ◗❯✄❲✖❯✏✑✄✮❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡

✣✤ ✥✩✦ ✚ ❧ ✛✜✢ ✎❞
✈✝❥❯☞✡❯ ✯✝✰☛✏❑ ❚✘❥❚❑  ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝ ✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡
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☞✥❥✞✝♦✍ ☞❁✦✉ ☞❁♦✥✦✝✏✑✝ ✑✡ ★✯✡✧✝✝ ✜✓✣ ✥✤✬ ✈✝☛✝✓✥t✪ ✑✝☛✏✦✝✝✤✝ ✜✓✣ ✥✉❧✉✥✤✥✔✝✪ ☞❁✥✪✩✝✝✥❂☛✝ ✓✫ ✑✝ ✻✉✜✓✣

✽✳✲✯✢♠☛ ☛✝✓❂♦✝✉ ✜✓✣ ✥✤✬ ✳✝✥♦✏✑ ✈✝✩✝✝❥ ☞❁✑✟ ✑❥✪✡ ✳✰✵

✯✲✳❧✯♦ ✑✝✥★✯❑ ❱✘✱✙✘✱❱✘✱❑ ✬✫❪✤✝✓ ✈❥✰✥✽✑ ★✡✥✉☛❥ ★✓✜✓✫✣❖❥✡ ✛✜✢✣✤❑ ✈t✯✓❥✡ ❂✓✟❑ ✥♦♠✤✡✂ ✈t☛

✜✲✣✯✝❥ ✥★✫✳❑ ❱✘✱✙✘✱❱✘✱❑ ❥✝✯t★ ★✡✥✉☛❥ ★✓✜✓✫✣❖❥✡ ✛✜✢✣✤ ✉✫❯ ❉❑ ✎✝❊♦✉✡ ✎✝✰✑❑ ✥♦♠✤✡✂ ✼❥✉✝ ❖✓❑

❱✘✱✙✘✱❱✘✱❑ ♦✓✜ ★✯✝t ✯✝❖✉✏ ✛✜✢✣✤❑ ✉✓✳✒ ✉❂❥❑ ✉☛✡ ✥♦♠✤✡✂ ✦✝✰✤t✝ ✥✪✜✝❥✡❑ ✙✘✱✙✘✱❱✘✱❑ ✜✓✫✣♦❁✡☛

✥✜✷✝✤☛❑ ✯✝✉✓★❥❑ ❂✲❖✿❂✝❊✜✂ ❥✥✦✯ ✩✝✝❥✪✡☛❑ ❱✘✱✙✘✱❱✘✱❑ ❖✡❯☞✡❯✬★❯❑ ✯✸✝✲❥✝ ❥✝✓❖❑ ✉☛✡ ✥♦♠✤✡✵

☞✥❥✞✝♦✍❑ ✥✳✫♦✡ ✒☞✝ ✫✪❥❀✝ ✜✓✣ ☞✲✉❥✝✜✤✝✓✑✉ ✳✓✪✲ ✈✝☛✝✓✥t✪ ✑✝☛✏✦✝✝✤✝ ✯✓✫ ✥✉❧✉✥✤✥✔✝✪ ★✳✩✝✝✥❂☛✝✓✫ ✑✡

✽✳✲✯✢♠☛ ✥✟❏☞✥❀✝☛✝✓✫ ✜✓✣ ✥✤✬ ✈✝✩✝✝❥✡ ✳✰❝✥✜✉✝✓♦ ✜✲✣✯✝❥ ✜✫✣✜✥❥☛✝❑ ✈❲✗✄❱ ◗❱❱ ✙ ✐✄ ◗❘❙✄ ◗✚✗❚❑ ★✡❯✈✝✶✏❯✶✏❯❑ ✥♦♠✤✡

✥✜✦✜✥✜✷✝✤☛❑ ✥♦♠✤✡✂ ✈✦✝✝✓✑ ✜✲✣✯✝❥ ❂✲❏✪❑ ✙✘✱✙✘✱❱✘❑ ★✜✝✓✏♦☛ ✽✝✤ ✥✜✷✝✤☛❑ ✈✝✉✫♦✜✝★❑ ✤✝✓✑

✥✜✳✝❥❑ ✥♦♠✤✡✂ ✜✡✉✝ ✾✡✫❂❥✝❑ ✙✘✱✙✘✱❱✘✱❑ ☎✡ ✤✧✯✡ ✽✝✥✤✑✝ ✻❍✎ ✥✜✷✝✤☛❑ ✜✲✣✎✝ ✎✓✤✝✉❑ ✔✝✝❥✡

✽✝✜✤✡❑ ✥♦♠✤✡✂ ✜✥❞♦✪✝ ✑✝✤❥✝❑ ❦ ◗✗✓❚❚❑ ★✜✝✓✏♦☛ ✑❞☛✝ ✥✜✷✝✤☛❑ ✥❖✥✛✟✠❙✟ ★✓✫✟❥ ✥✜✑✝★☞✲❥✡❑ ✉☛✡

✥♦♠✤✡✂ ✯✳✓❞♦❁ ✦✝✫✑❥❑ ✙✐❯✗✘✄ ✐✱✗✱✙✘✱✆ ✐✗ ◗❯✄❲✖❯✏✑✄✆❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡✂ ❥✝✯

✈✜✪✝❥❑ ✙ ✐✄ ◗❘❙✄◗✚✗❚ ✐✗ ◗❯✄❲✖❯✏✑✄✆❑ ❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ✉☛✡ ✥♦♠✤✡✵

☞✥❥✞✝♦✍ ☞✲✛✪✑ ✥✜✑✝★ ✑✡ ☞❁✥✭☛✝ ✯✓✫ ★✳☛✝✓❂ ✜✓✣ ✥✤✬ ✳✲✜✲✣✯ ✥★✫✳❑ ✙ ✐✄ ◗❘❙✄ ◗✚✗❚ ✬✜✫ ✥✜✩✝✝❂✝◆☛✧✝❑

❖✡❯✶✏❯✬★❯✬✯❯❑ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯ ✑✡ ✥✜✦✝✓✞✝ ✒☞ ★✓ ✈✝✩✝✝❥✡ ✳✰✵

☞✥❥✞✝♦✍ ✑❧❏☛✢✟❥ ☞❁✩✝✝❥✡❑ ♦✡☞✑ ✑☞✢❥✂ ❥✘✱❱✘✱✙✘✱ ✈✄✙❚◗❱❚❑ ❥✝✜✓✣✦✝ ✜✲✣✯✝❥❑ ☎✡✯✪✡ ☞❥✜✡✉❑

✶✏✦✜❥ ✥★✫✳ ✪✸✝✝ ✙ ✐❲✘ ✗ ❱✙✄✝✕ ✥♦✥❪✜t☛ ✥★✫✳ ✈✴✝✡ ✜✓✣ ☞❁☛✝★✝✓ ✫ ✜✓✣ ☞❁✥✪ ✩✝✡ ✈✝✩✝✝❥ ☞❁✑✟ ✑❥✪✡ ✳✰✵

✬❯☞✡❯★✡❯ ✑✝☛✝✏✤☛❑ ❖✡❯✶✏❯✬★❯✬✯❯ ✑✝ ☞❁✦✝✝★✉ ✑✝☛✝✏✤☛❑ ☞❁✑✝✦✝✉ ✥✜✩✝✝❂ ✈✝✰❥ ❥✝❯✦✝✰❯✈❯☞❁❯☞❯❑ ★✥✎✜✝✤☛

✑✝ ☛✝✓❂♦✝✉ ✩✝✡ ★❥✝✳✉✡☛ ✳✰✵



☎✂❡�❢☎✁ ✁✆✁ ✐✁ ☞❢✌✂✆ ☎✂ ✄

❢�❢✂☎✂✆✡ ✁✂ ☎✝✞�✂ ✄✁✟

A. ❍✟✠✡☛☞✟

❂✥❀✝✪ ✑✝ ✯✉✯✝✓✳✑ ★✫★✝❥ ❂✥❀✝✪❦✝✓✫ ✑✝✓ ✯✢✪✏❑ ✈✯✢✪✏ ✈✝✰❥ ★✳t ❦✝✉ ✜✓✣ ✒☞✝ ✓✫ ✯✓✫ ✥✎✥✴✝✪ ✪✡✉ ✥✛✸✝✥✪☛✝ ✓✫

★✓ ★✫✽✫✥❈✪ ★✯✛☛✝✈✝✓✫ ✑✝ ✈✉✲✩✝✜ ✑❥✉✓ ✜✓✣ ✈★✡✥✯✪ ✈✜★❥ ☞❁♦✝✉ ✑❥✪✝ ✳✰✵ ☞❥✫✪✲❑ ✈✯✢✪✏✪✝ ✈✝✰❥

✈❞✪❦✝✏✉ ✜✓✣ ✑✝❥❀✝❑ ✑✩✝✡❃✑✩✝✡ ✜✲✣④ ❂✥❀✝✪✡☛ ✈✜❈✝❥❀✝✝✬❊ ✻✉ ✥✦✝✧✝✑✝✓✫ ✜✓✣ ✥✤✬ ✩✝✡ ✽✳✲✪ t✥✟✤ ✽✉

t✝✪✡ ✳✰✫❑ t✝✓ ✥✜✥✩✝❞✉ ✛✪❥✝✓✫ ☞❥ ❂✥❀✝✪ ✥✦✝✧✝❀✝ ✯✓✫ ★✥✭☛ ✒☞ ★✓ ✤❂✓ ✳✲✬ ✳✰✫✵ ✶★✜✓✣ ✥✤✬ ✥✜✥◆✝☛✝✓✫❳✥✦✝✧✝✝

✦✝✝✛✴✝ ✪✸✝✝ ✥✜✞✝☛❃✜✛✪✲ ✯✓✫ ✩✝✡ ✥✜✛✪▼✪ ☞❁✥✦✝✧✝❀✝ ✑✡ ✈✝✜✦☛✑✪✝ ✳✰✵ ✶★✓ ✥✜✷✝✤☛✡ ✥✦✝✧✝✝ ✜✓✣ ✥✜✥✩✝❞✉

✛✪❥✝✓✫ ☞❥ ✈✯✢✪✡✏✑❥❀✝ ★✓ ✽✎✝✉✓ ✜✓✣ ✥✤✬ ✦✝✰✥✧✝✑ ★✝✯❂❁✡❑ ☞❁✝☛✝ ✓❂✡✑❥❀✝❑ ☞❁✓✧✝❀✝✝✓✫ ✪✸✝✝ ☞❁☛✝ ✓❂✝✓✫ ✶❘☛✝✥♦ ✑✝

✻☞☛✝✓❂ ✑❥✪✓ ✳✲✬❑ ❂✥❀✝✪✡☛ ✈✜❈✝❥❀✝✝✈✝✓✫ ✜✓✣ ✛☞✞✟✡✑❥❀✝ ✑✡ ✩✝✡ ✈✝✜✦☛✑✪✝ ✳✰✵ ✈❍④✓ ❂✥❀✝✪ ✥✦✝✧✝❀✝

✜✓✣ ✥✤✬ ✈❍④✓ ✥✦✝✧✝✑✝✓✫ ✑✡ ✈✝✜✦☛✑✪✝ ✳✰ ✈✝ ✰❥ ✈❍④✓ ✥✦✝✧✝✑ ✜✓ ✳✰✫ ✥t❞✳✓✫ ✥✦✝✧✝✝✦✝✝✛✴✝✡☛ ✥✜✞✝☛❃✜✛✪✲

✑✝ ❦✝✉ ✳✝✓ ✪✸✝✝ ☛✓ ✯✲✔☛✪◗ ✜✳✡ ✳✝✓✪✓ ✳✰✫ ✥t❞✳✓✫ ✥✜✞✝☛ ✑✝ ✈❍④✝ ❦✝✉ ✳✝✓✪✝ ✳✰✵ ✶★✡✥✤✬ ✥✜✷✝✤☛✡ ❂✥❀✝✪

✥✦✝✧✝✝ ✑✝ ★✲❈✝❥ ✥✦✝✧✝✑✝✓✫ ✑✝ ✓ ✻★ ❂✥❀✝✪ ✑✝ ✥✦✝✧✝❀✝ ♦✓✉✓ ★✓ ☞❁✝❥✫✩✝ ✳✝✓✪✝ ✳✰ ✥t★✑✡ ✻❞✳✓✫ ✈✝✜✦☛✑✪✝

✳✝✓✪✡ ✳✰✵ ♦✢★❥✓ ✦✝❚♦✝✓✫ ✯✓✫❑ ✬✑ ✈❍④✝ ✥✦✝✧✝✑ ✽✉✉✓ ✜✓✣ ✥✤✬ ★✽★✓ ✑✥✌✉ ✯✝✫❂ ✳✰ ✥✑ ❂✥❀✝✪✡☛

✥✜✞✝☛❃✜✛✪✲ ✯✓✫ ☞❙✑✡ ☞❁✜✡❀✝✪✝ ☞❁✝❏✪ ✑❥ ✤✡ t✝✬✵ ✥✽✉✝ ✬✓★✡ ☞❁✜✡❀✝✪✝ ✜✓✣ ✈❍④✡ ✥✦✝✧✝✝❃✦✝✝✛✴✝✡☛✪✝

✑✥✌✉ ✳✰✵ ✥✜✞✝☛❃✜✛✪✲ ✯✓✫ ☞❙✑✡ ☞❁✜✡❀✝✪✝ ✥✦✝✧✝✝❃✦✝✝✛✴✝ ✜✓✣ ★✫★✝❥ ✑✝ ✯✝❂✏ ☞❁✦✝✛✪ ✑❥✪✡ ✳✰ ✪✸✝✝ ✈✝ ✰❥

✈✥❈✑ ☞❁✩✝✝✜✡ ✥✦✝✧✝✝ ✦✝✝✛✴✝✡☛ ★✫✩✝✝✜✉✝✬❊ ☞❁♦✝✉ ✑❥✪✡ ✳✰✵ ❂✤✪ ❂✥❀✝✪ ☞❥ ☞❁☞✲✣✥♠✤✪ ★✽★✓ ✈❍④✝

✥✦✝✧✝✝❃✦✝✝✛✴✝ ✩✝✡ ☞✥❥❀✝✝✯✛✜✒☞ ✥✦✝✧✝❀✝ ✯✓✫ ✔✝❥✝✽ ❂✲❀✝✜P✝✝ ✤✝ ★✑✪✝ ✳✰✵

❂✥❀✝✪ ✈✯✢✪✏ ✜✛✪✲✈✝✓✫ ✜✓✣ ✬✑ ✥✜❦✝✉ ✜✓✣ ✒☞ ✯✓✫ ☞❁ ✓✧✝❀✝✝✓✫ ☞❥ ✩✝❥✝✓★✝ ✉ ✑❥ ✪✜✏✣❀✝ ☞❥ ✩✝❥✝✓★✝ ✑❥✪✝

✳✰✵ ✥☞✣❥ ✩✝✡ ☛✳ ☞❁✓✧✝❀✝❑ ✈✉✲✒☞❀✝ ✪✸✝✝ ☛✳✝❊ ✪✑ ✥✑ ☞❁☛✝✓❂✝✓✫ ✑✝✓ ✩✝✡ ★❘☛ ✔✝✝✓t✉✓ ✜✓✣ ★✝❈✉✝✓✫ ✜✓✣ ✒☞ ✯✓✫

☞❁☛✲❙✪ ✑❥✪✝ ✳✰✵ ✛☞✞✟ ✒☞ ★✓ ✪✜✏✣ ♦✓✉✓ ✈✝✰❥ ★✝✓✎✉✓ ✯✓✫ ★✯✸✝✏ ✳✝✓✉✝ ✳✯✝❥✓ ♦✰✥✉✑ t✡✜✉ ✯✓✫ ✈✥✪ ✻☞☛✝✓❂✡

✳✰✵ ✈✸✝✝✏✪✍❑ ①✣✌✩✪✦✎❞✫✌✩ ✜✓✣ ✥✤✬ ✽❍✎✝✓✫ ✑✡ ★✯✸✝✏✪✝ ✑✝✓ ✥✜✑✥★✪ ✑❥✉✝ ❂✥❀✝✪ ✥✦✝✧✝✝ ✑✝ ✯✲✔☛ ✤✧☛

✳✰❑ t✰★✝ ✥✑ ❥✝✞✟✠✡☛ ☞✝✌✍☛✎☛✝✏ ✒☞❥✓✔✝✝❃▲❋❋❣ ✕✱✖✗✘✱✙✚❃▲❋❋❣✮ ✯✓✫ ✽✤ ✥♦☛✝ ❂☛✝ ✳✰✵ ✶★✡ ★✫♦✩✝✏ ✯✓✫

✳✡ ✱✖✗✘✱✙✚❃▲❋❋❣ ✉✓ ✥✜✷✝✤☛✡ ✛✪❥ ✑✡ ❂✥❀✝✪ ✥✦✝✧✝✝ ✜✓✣ ✥✤✬ ♦✝ ✓ ✥✩✝❞✉ ✤✧☛

✥✉❈✝✏✥❥✪ ✥✑✬ ✳✰✫❑ t✝✓ ★✫✜✲✣✥✎✪ ✕☛✝ ★✫✑✡❀✝✏✮ ✤✧☛ ✈✝✰❥ ✻❍✎✪❥ ✤✧☛ ✳✰✫✵ ✥✜✷✝✤☛✡ ❂✥❀✝✪ ✑✝ ★✫✜✲✣✥✎✪

☛✝ ★✫✑✡❀✝✏ ✤✧☛ ✻☞☛✝✓❂✡ ☛✝✓❪☛✪✝✬❊❑ ✥✜✦✝✓✞✝✑❥ ★✫✔☛✝✫✑✉❑ ★✫✔☛✝❑ ★✫✔☛✝ ★✫✥✭☛✝✈✝✓✫❑ ✯✝☞✉✝✓✫❑ ♦✦✝✯✤✜✝✓✫

✈✝✰❥ ☞❁✥✪✦✝✪✪✝✈✝✓✫ ★✓ ★✫✽✫✥❈✪ ☛✝✓❪☛✪✝✬❊ ✥✜✑✥★✪ ✑❥✉✝ ✳✰✵ ✶★✑✝ ✻❍✎✪❥ ✤✧☛ ❂✥❀✝✪✡☛ ✒☞ ★✓ ★✝✓✎✉✓

✈✝✰❥ ✪✜✏✣❀✝ ✑❥✉✓ ✜✓✣ ✥✤✬ ✽❍✎✝✓✫ ✜✓✣ ★✫★✝❈✉✝✓✫ ✑✝✓ ✥✜✑✥★✪ ✑❥✉✝❑ ✑♠☞✉✝✈✝✓✫ ✑✝✓ ✻✉✜✓✣ ✪✜✏✣★✫❂✪

✥✉✞✑✞✝✝✓❡ ✪✑ ☞✳✲❊✎✝✉✝ ✪✸✝✝ ✈✯✢✪✏✪✝✈✝✓✫ ✑✝✓ ★❊✩✝✝✤✉✝ ✈✸✝✝✏✪✍ ✻✉✑✝ ★✝✯✉✝ ✑❥✉✝ ✳✰✵ ✶★✯✓✫ ✑✝☛✏ ✑❥✉✓ ✑✡

✬✑ ✥✜✥❈ ✪✸✝✝ ★✯✛☛✝✈✝✓✫ ✑✝✓ ★✢✥✴✝✪ ✈✝✰❥ ✳✤ ✑❥✉✓ ✜✓✣ ☞❁✥✪ ☛✝✓❪☛✪✝ ✈✝✰❥ ♦▼✥✞✟✑✝✓❀✝ ★✥❧✯✥✤✪ ✳✰✵ ✶★✜✓✣

✥✤✬ ✈✝✜✦☛✑ ✳✰ ✥✑ ☞✝✌✍☛✎☛✝✏ ✶★ ✈✸✝✏ ✯✓✫ ✯✳P✜✝✑✝✫✧✝✡ ✳✝✓ ✥✑ ☛✳ ✻✣☞❥ ✜✥❀✝✏✪ ✻❍✎✪❥ ✤✧☛✝✓✫ ✑✝✓



☞❁✝❏✪ ✑❥✉✓ ✑✝ ☞❁☛❘✉ ✑❥✓❑ ✉ ✥✑ ✜✓✣✜✤ ★✫✜✲✣✥✎✪ ✕☛✝ ★✫✑✡❀✝✏✮ ✤✧☛✵ ☛✳ ✶★ ✈✸✝✏ ✯✓✫ ★✫☛✝✓✥t✪ ✕☛✝

★✫❂✪✮ ✳✝✓✉✝ ✎✝✥✳✬ ✥✑ ✕✈✫✑❂✥❀✝✪❑ ✽✡t❂✥❀✝✪❑ ❧☛✝✥✯✥✪ ✯✓✫✮ ✟✲✑❖✿✝✓✫ ✯✓✫ ✻☞✤❚❈ ✥✜✥❈☛✝❊ ✈✝✰❥ ☞❁✜✡❀✝✪✝✬❊

✥✯✤✑❥ ✻✉ ★✯✛☛✝✈✝✓✫ ✑✝✓ ✳✤ ✑❥✉✓ ✳✓✪✲ ✬✑ ☛✝✓❪☛✪✝ ✜✓✣ ✒☞ ✯✓✫ ★✫☛✝✓✥t✪ ✳✝✓✫❑ t✝✓ ✯✝◆☛✥✯✑ ✛✪❥ ☞❥

✈❞☛ ✧✝✓✴✝✝✓✫ t✰★✓ ✥✜❦✝✉ ✈✝✰❥ ★✝✯✝✥t✑ ✈◆☛☛✉ ★✓ ✈✝✪✡ ✳✰✫✵ ☛✳ ✶★ ✈✸✝✏ ✯✓✫ ✯✳P✜☞✢❀✝✏ ✳✝✓✉✝ ✎✝✥✳✬ ✥✑

✥✜✷✝✸✝✡✏ ✬✓★✡ ★✯✛☛✝✈✝✓✫ ✑✝✓ ✳✤ ✑❥✉✓ ✑✡ ✈✝✜✦☛✑✪✝ ✈✉✲✩✝✜ ✑❥✓✫✵

✯✢♠☛✝✫✑✉ ✬✑ ✈✥✪ ✥✜✛✪▼✪ ☞♦ ✳✰ ✥t★✯✓✫ ❡☛✝☞✑ ✒☞ ✯✓✫❑ ✥✑★✡ ✜✛✪✲❑ ❡☛✥❙✪❑ �✝✟✉✝❑ ☞❁✜▼✥P✝❑

✶❘☛✝✥♦ ✑✝ ✯✢♠☛✝✫✑✉ ✑❥✉✝ ★✥❧✯✥✤✪ ✳✝✓✪✝ ✳✰✵ ❡☛✥❙✪❂✪ ✯✢♠☛✝✫✑✉ ✑✝ ★✽★✓ ✈✥❈✑ ★✝❈✝❥❀✝ ✒☞

✳✰ ✬✑ ✥✜✷✝✸✝✡✏ ✑✝ ✯✢♠☛✝✫✑✉✵ ✶★✯✓✫ ✥✜✷✝✸✝✡✏ ✜✓✣ ✽✝✰✥❣✑❑ ★✝✯✝✥t✑ ✈✝✰❥ ✩✝✝✜✉✝❘✯✑ ✥✜✑✝★ ✜✓✣ ☞♦✝ ✓✫

✯✓✫ ✻★✜✓✣ ❡☛✥❙✪❘✜ ✜✓✣ ✥✜✑✝★ ✜✓✣ ✧✝✓✴✝✝✓✫ ✯✓✫ ☞❁♦✦✝✏✉ ✑✝ ✈✝✑✤✉ ✑❥✉✝ ★✥❧✯✥✤✪ ✳✝ ✓✪✝ ✳✰❑ t✽✥✑ ✻★✓

✑✧✝✝ ✯✓✫ ✥✦✝✧✝❀✝ ✑✡ ☞❁✥✭☛✝✈✝✓✫ ✜✓✣ ✯✝◆☛✯ ★✓ ✈✥❈❂✯ ✈✉✲✩✝✜ ☞✳✤✓ ★✓ ✳✡ ☞❁♦✝✉ ✥✑✬ t✝ ✎✲✜✓✣ ✳✰✫✵

☞✝✌✍☛✎☛✝✏ ★✝✯❂❁✡ ✜✓✣ ✥✦✝✧✝❀✝ ✑✡ ❂✲❀✝✜P✝✝ ✜✓✣ ✈✥✪✥❥❙✪ ✈❞☛ ✑✝❥✑❑ t✰★✓ ✦✝✰✥✧✝✑ ☞❁✝✰✷✝✓✥❂✑✡❑ ✛✑✢✤✡

✶❞☞❁✣✝✛✟✠❙✎❥ ✪✸✝✝ ★✝✯✝✥t✑ ★✯✸✝✏✉ ✩✝✡ ✳✰✫❑ t✝✓ ✈✥❈❂✯ ✪✸✝✝ ✈✉✲✩✝✜✝✓✫ ☞❥ ☞❁✩✝✝✜ ❖✝✤✪✓ ✳✰✫✵ ✦✝✰✥✧✝✑

✦✝❚♦✝✜✤✡ ✯✓✫ ❡☛✥❙✪❘✜ ✥✜✑✝★ ✜✓✣ ☛✓ ✧✝ ✓✴✝ ✦✝ ✰✥✧✝✑ ✈✝ ✰❥ ★✳❃✦✝✰✥✧✝✑ ✧✝✓✴✝ ✑✳✤✝✪✓ ✳✰ ✫✵ ✥✜✥✩✝❞✉

✈❞☛ ✥✜✞✝☛✝✓✫ ✯✓ ✫ ✶★✜✓✣ ❡☛✝☞✑ ✈✉✲☞❁☛✝✓❂✝✓✫ ✜✓✣ ✑✝❥❀✝❑ ❂✥❀✝✪ ★✽★✓ ✈✥❈✑ ✯✳P✜☞✢❀✝ ✏ ✦✝✰✥✧✝✑ ✧✝✓✴✝ ✳✰✵

☛✳✡ ✑✝❥❀✝ ✳✰ ✥✑ ❂✥❀✝✪ ✯✝◆☛✥✯✑ ✛✪❥ ✪✑ ✬✑ ✤✫✽✓ ★✯☛ ★✓ ✬✑ ✈✥✉✜✝☛✏ ✥✜✞✝☛ ❥✳✝ ✳✰✵ ☛✳✡

✜✳ ☞❖✿✝✜ ✳✰ t✝✓ ✻✉ ✥✜✷✝✥✸✏✝☛✝✓✫ ✜✓✣ ✥✤✬ ✬✑ ★✓✪✲ ✑✝ ✑✝☛✏ ✑❥✪✝ ✳✰ t✝✓ ✻❍✎✪❥ ✑✧✝✝✈✝✓✫ ✯✓✫ ❂✥❀✝✪

✑✝ ✈◆☛☛✉ t✝❥✡ ❥✔✝✓✫❂✓✵ ✶★✡✥✤✬ ✶★ ☞❖✿✝✜ ☞❥ ❂✥❀✝✪ ✜✓✣ ✯✢♠☛✝ ✫✑✉ ✯✓✫ ✥✜✦✝✓✞✝ ◆☛✝✉ ♦✓✉✓ ✑✡

✈✝✜✦☛✑✪✝ ✳✰✵ ☛✳ ✯✢♠☛✝✫✑✉ ✶★✑✝ ✈✝✑✤✉ ✑❥✉✓ ✜✓✣ ✥✤✬ ✥✑☛✝ t✝✪✝ ✳✰ ✥✑ ✱✖✗✘✱✙✚❃▲❋❋❣ ✯✓✫

✥✉❈✝✏✥❥✪ ✯✲✔☛ ✤✧☛ ☛✝ ✻❢✓✦☛ ✥✜✷✝✸✝✡✏ ✉✓ ☞❁✝❏✪ ✑❥ ✥✤✬ ✳✰✫ ☛✝ ✉✳✡✫✵

B. ☛✠✁✂✟✄☞☎ ✆✝✞ ✟✠✝✡✂

✆☛☞✁✄ ❱✕✖ ❯◗✚ ✈✖ ◗✕ ✌✍◗✎✁ ✔ ✏ ❱✑ ✝✖✆◗❱ ✗ ◗ ❯ ✖✚✒ ◗✕ ✌✍◗✎✁ ❲✖✓✖❲❦❲✔✄✘ ✙ ✐✎✖✄ ◗❱ ❯◗✚ ✌✑✄❚ ✙✄✖✖✄ ✔✏✕
• ✥✦✝✧✝❀✝ ✥✑✪✉✝ ☞❁✩✝✝✜✦✝✝✤✡ ❥✳✝✖

• ✥✑★✡ ✥✜✦✝✓✞✝ ✥✜✞✝☛ ☛✝ ✈✜❈✝❥❀✝✝ ✑✝✓ ☞✾✿✝✉✓ ✜✓✣ ✥✤✬ ✑✝✰✉❃★✡ ✥✜✥❈ ✈✥❈✑ ✻☞☛✲❙✪ ✳✰✖

• ✬✑ ✥✜✦✝✓✞✝ ✥✜✞✝☛ ✑✝✓ ★✡✔✝✉✓ ✜✓✣ ✥✤✬ ✥✜✷✝✸✝✡✏ ✥✑★ ★✡✯✝ ✛✪❥ ✪✑ ✪✰☛✝❥ ✳✰✫✖

• ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✝✓ ✥✑★ ☞❁✑✝❥ ✑✡ ✈✥❈❂✯ ✑✥✌✉✝✶☛✝✓ ✫ ✑✝ ★✝✯✉✝ ✑❥✉✝ ☞❖✿ ❥✳✝ ✳✰✖

• ❉✗✘ ✙✚✛✘✙✜✘✢✗✘✣ ✤ ✥✘✣ ✙✦✧✘✦✘★✩✥ ✪✫✘✗✘✣ ✤ ✥✬ ✭✘✚✮✗✥✯✘ ✰✱✲

• ✥✑✉ ✥✜✷✝✥✸✝✏☛✝✓ ✫ ✑✝✓ ✜✲✣④ ★✫✜❈✏✉ ★✝✯❂❁✡ ☞❁♦✝✉ ✑❥✉✓ ✑✡ ✈✝✜✦☛✑✪✝ ✳✰✖

• ✑✝✰✉❃✑✝ ✰✉ ★✓ ✥✜✞✝☛ ✥✜✷✝✸✝✡✏ ✜✓✣ ✥✤✬ ✈✥❈✑ ✑✥✌✉ ✳✰✫✖

• ❙☛✝ ✥✑★✡ ✥✜✦✝✓✞✝ ✥✜✞✝☛ ✜✓✣ ✥✤✬ ✥✦✝✧✝❀✝ ☛✲✥❙✪ ✯✓✫ ☞✥❥✜✪✏✉ ✑❥✉✓ ✑✡ ✈✝✜✦☛✑✪✝ ✳✰✖

• ✥✑★ ☞❁✑✝❥ ✯✢♠☛✝✫✑✉ ✜✓✣ ☞✥❥❀✝✝✯ ✑✝ ✥✜✷✝✥✸✝✏☛✝✓✫ ✜✓✣ ★✜✝❡❂✡❀✝ ✥✜✑✝★ ✜✓✣ ✥✤✬ ✻☞☛✝ ✓❂ ✥✑☛✝

t✝ ★✑✪✝ ✳✰✖

(x)



C. ✛❡�✎✩ ✥❞✤ ✢★✁ ★ ✂❞✩ ✫

✆✖✔✁✘✄ ✆☛☞✁✄ ❱✕✖ ✝✄ ◗ ✙ ✐✕✄❚ ✕✄ ✔✄ ◗ ✘✄ ✔✏❪ ✙✄ ◗ ✝✗ ✙ ✐✕✄❚ ✔ ✏ ❱✕

(i)  ✗✄❚✄ ❱✎✄✄❧✆✕ ✕☛✝ ☛✝ ✓❂✝❘✯✑✮ ✈✝✰❥  (ii) ❚✓✖✄❧✆✕ ✕☛✝ ✥✉✯✝✏❀✝✝❘✯✑✮

✗✄❚✄ ❱✎✄✄❧✆✕ ✆☛☞✁✄ ❱✕✖ ➭ ☛✳ ✑✝✓★✏ ☛✝ ✬✑ ★✴✝ ✜✓✣ ✈✫✪ ✯✓✫ ✥✑☛✝ t✝✪✝ ✳✰✵ ✶★✯✓✫ ✥✜✷✝✸✝✡✏ ✑✡

✻☞✤✥❚❈☛✝ ✓✫ ✑✡ ✬✑ ✈✝✰☞✎✝✥❥✑ t✝❊✎ ✦✝✝✥✯✤ ✳✝✓✪✡ ✳✰ ✪✸✝✝ ✶★✑✝ ✻☞☛✝✓❂ ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✡

✻☞✤✥❚❈☛✝ ✓✫ ✑✝✓ ❂❁ ✓❖ ♦✓✉✓❑ ✭✯ ☞❁♦✝✉ ✑❥✉✓ ✪✸✝✝ ✻❞✳✫✓ ☞❁✯✝✥❀✝✪ ✑❥✉✓ ✯✓✫ ✥✑☛✝ t✝✪✝ ✳✰✵

❚✓✖✄❧✆✕ ✆☛☞✁✄ ❱✕✖ ➭ ☛✳ ✥✦✝✧✝❀✝❃✈✥❈❂✯ ☞❁✥✭☛✝ ✯✓✫ ✳✡ ✈✫✪✥✉✏✥✳✪ ✳✝ ✓✪✝ ✳✰✵ ☛✳ ✬✑ ★✪✪

☞❁✥✭☛✝ ✳✰❑ t✝✓ ★✫☞✢❀✝ ✏ ☞✝✌✍☛✭✯ ✜✓✣ ★✯☛ ✑✝✤ ✯✓✫ ✎✤✪✡ ❥✳✪✡ ✳✰✵ ✬✓★✓ ✯✢♠☛✝✫✑✉ ✑✝ ✻❢✓✦☛

☞✲✉✥✉✏✜✓✦✝✉ ☞❁✝❏✪ ✑❥✉✝ ✳✰ ✪✝✥✑ ✥✦✝✧✝❀✝ ☛✝ ✦✝✰✥✧✝✑ ☛✲✥❙✪☛✝✓ ✫ ✯✓✫ ★✲❈✝❥ ✥✑☛✝ t✝ ★✜✓✣✵ ★✝✸✝ ✳✡❑

✶★✡ ☞✲✉✥✉✏✜✓✦✝✉ ✜✓✣ ✈✝❈✝❥ ☞❥ ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✡ ✦✝✥❙✪☛✝✓✫ ✈✝✰❥ ✑✯❜✝✝✓✥❥☛✝✓✫ ✑✝ ✈✝✑✤✉ ✥✑☛✝ t✝

★✑✪✝ ✳✰✵

✱✖✗✘✱✙✚❃▲❋❋❣ ✯✓✫ ✩✝✡ ★✝❥✝✫✦✝✝❘✯✑ ✯✢♠☛✝✫✑✉ ✑✡ ✪✲✤✉✝ ✯✓✫ ★✪✪ ✬✜✫ ❡☛✝☞✑ ✯✢♠☛✝✫✑✉ ☞❥

✈✥◆✝✑ ✽✤ ✥♦☛✝ ❂☛✝ ✳✰✵ ✶★✜✓✣ ✥✤✬❑ ✬✑ ❂✥❀✝✪ ✥✦✝✧✝✑

• ✬✑ ✉☛✡ ✈✜❈✝❥❀✝✝ ✑✝✓ ☞✾✿✝✉✓ ★✓ ☞✳✤✓ ☛✳ t✝✉✉✓ ✜✓✣ ✥✤✬ ✥✑ ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✝✓ ✶★ ✉☛✡

✈✜❈✝❥❀✝✝ ✑✡ ✥✑✪✉✡ ★✯✼ ✳✰ ✜✲✣④ ☞❁✦✉ ☞✢④ ★✑✪✝ ✳✰✵

• ✥✑★✡ ✈✜❈✝❥❀✝✝ ✜✓✣ ☞❁✛✪✲✪✡✑❥❀✝ ✜✓✣ ♦✝✰❥✝✉ ✥✜✷✝✥✸✝ ✏☛✝✓ ✫ ✑✡ ★✯✼ ✑✡ t✝❊✎ ✑❥✉✓ ✜✓✣ ✥✤✬❑

✥✉☛✥✯✪ ✈✫✪❥✝✤ ☞❥ ✻✉★✓ ☞❁✦✉ ☞✢④ ★✑✪✝ ✳✰✵

• ✥✑★✡ ✈◆☛✝☛ ✜✓✣ ✥✦✝✧✝❀✝ ✜✓✣ ♦✝✰❥✝✉ ✥✜✷✝✥✸✝✏☛✝ ✓✫ ✹✝❥✝ ☞✢④✓ ❂✬ ☞❁✦✉✝✓✫ ★✓ ✻✉✑✝ ✯✢♠☛✝✫✑✉ ✑❥

★✑✪✝ ✳✰✵

• ✑✧✝✝❃✑✝☛✏ ✜✓✣ ★✯☛ ✥✜✷✝✥✸✝✏☛✝✓ ✫ ✑✝ ✯✢♠☛✝ ✫✑✉ ✑❥ ★✑✪✝ ✳✰✵

• ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✝ ✓ ✥♦✬ ❂✬ ❂▼✳❃✑✝☛✏ ✜✓✣ ✈✝❈✝❥ ☞❥ ✻✉✑✝ ✯✢♠☛✝ ✫✑✉ ✑❥ ★✑✪✝ ✳✰✵

• ✈◆☛✝☛ ✜✓✣ ✈✫✪ ✯✓✫ ✥✜✷✝✥✸✝✏☛✝✓✫ ★✓ ✜✲✣④ ☞❁✦✉ ☞✢④✑❥ ✻✉✑✝ ✯✢♠☛✝✫✑✉ ✑❥ ★✑✪✝ ✳✰✵

• ★✯✝✉ ✈✝☛✲ ★✯✢✳✝✓✫ ✜✓✣ ★♦✛☛✝✓✫ ✕✥✜✷✝✥✸✝✏☛✝✓ ✫✮ ✑✝✓ ☞❁✝✓❘★✝✥✳✪ ✑❥ ★✑✪✝ ✳✰ ✥✑ ✜✓ ✬✑ ♦✢★❥✓ ✑✝

✯✢♠☛✝✫✑✉ ✑❥✓✫✵ ✶★✓ ★✯✝✉ ✈✝☛✲ ★✯✢✳ ✯✢♠☛✝ ✫✑✉ ✑✳✝ t✝ ★✑✪✝ ✳✰✵ ☛✳ ✯✢♠☛✝✫✑✉ ✥✜✷✝✥✸✝ ✏☛✝✓ ✫

✯✓✫ ✥④☞✡ ☞❁✥✪✩✝✝ ✑✝✓ ✻t✝❂❥ ✑❥ ★✑✪✝ ✳✰✵

✶★ ☞❁✑✝❥ ✯✢♠☛✝✫✑✉ ✑✡ ✑✝✓✶✏ ✩✝✡ ✥✜✥❈ ✳✝ ✓❑ ☛✳ ✈❍④✡ ☞❁✑✝❥ ★✓ ★✝✓✎✓❃★✯✼✓ ❂✬ ☞❁✦✉✝✓ ✫ ✜✓✣ ✹✝❥✝

✥✑☛✝ t✝✪✝ ✳✰❑ ✥t❞✳✓✫ ✈❍④✓ ☞❁✦✉ ✑✳✝ t✝ ★✑✪✝ ✳✰✵

D. ✱❞ ✈✦✧★ ★ ✂☎✤ ❞✦ ✣✢☎✩★✆✩✪ ✩✱✝

✥✑★✡ ☞❁✦✉ ✑✡ ❂✲❀✝✜P✝✝ ✶★ ✽✝✪ ☞❥ ✥✉✩✝✏❥ ✑❥✪✡ ✳✰ ✥✑ ✻★✑✝ ☞❁☛✝ ✓❂ ✥✑★ ✥✛✸✝✥✪ ✯✓✫ ✥✑☛✝ t✝✉✝

✳✰✵ ❡☛✝☞✑ ✒☞ ✯✓✫❑ ✬✑ ✈❍④✓ ☞❁✦✉ ✑✡ ✜✲✣④ ✥✜✦✝✓✞✝✪✝✬❊ ✈✝❂✓ ♦✡ ❂✶✏ ✳✰✫❃

(xi)



(i) ✆✄❡✁✘✄ ➭ ✬✑ ☞❁✦✉ ✯✝❞☛ ✪✩✝✡ ✑✳✝ t✝✪✝ ✳✰❑ t✽ ✜✳ ✻★ ✻❢✓✦☛ ✑✝✓ ☞✢❥✝ ✑❥✓ ✥t★✜✓✣ ✥✤✬ ✻★✓

✽✉✝☛✝ ❂☛✝ ✳✰✵ ✶★ ☞❁✑✝❥ ✬✑ ☞❁✦✉ ✑✝✓ ✯✝❞☛ ✳✝✓✉✓ ✜✓✣ ✥✤✬❑ ☛✳ ✈✝✜✦☛✑ ✳✰ ✥✑ ✜✳ ✕a✮ ✬✑

✥✉✥♦✏✞✟ ✥✜✛✪✝❥ ✧✝✓✴✝ ✪✸✝✝ ★✝✸✝ ✳✡ ✕b✮ ✬✑ ☞✢✜✏ ✥✉❈✝✏✥❥✪ ✤✧☛ ☛✝ ✻❢✓✦☛ ☞❥ ✈✝❈✝✥❥✪ ✳✝✓✵

✻★ ✥✛✸✝✥✪ ✯✓✫❑ t✽ ✑✝✓✶✏ ☞❁✦✉ ✯✝❞☛ ✉✳✡✫ ✳✰ ✪✝✓ ✻★✓ ✑✝✓★✏ ☛✝ ☞✝✌✍☛✭✯ ✜✓✣ ✽✝✳❥ ✑✝ ★✯✼✝

t✝✬❂✝✵

(ii) ❲❯✎❯✗✖✘✁✘✄ ➭ ✬✑ ☞❁✦✉ ✥✜✦✜★✉✡☛ ✪✽ ✑✳✝ t✝✪✝ ✳✰❑ t✽ ✻★✑✝ ✻P✝❥ ✥✜✷✝✸✝✡✏ ✑✡ ★❘☛

✻☞✤✥❚❈ ✑✝✓ ✥♦✔✝✝✪✝ ✳✝✓✵ ♦✢★❥✓ ✦✝❚♦✝✓ ✫ ✯✓ ✫❑ ✥✜✷✝✸✝✡✏ ✑✡ ✻☞✤✥❚❈ ★✫☛✝✓❂ ✴✝✲✥✟☛✝✓✫ ★✓ ✯✲❙✪ ✳✝✓✉✡

✎✝✥✳✬✵ ★✝✯✝❞☛✪☛✝❑ ☛✓ ✴✝✲✥✟☛✝❊ ✩✝✝✞✝✝ ✑✡ ✈✛☞✞✟✪✝ ☛✝ ☞❁✦✉ ✯✓✫ ✥♦✬ ✥✉♦✓✏✦✝✝✓✫ ✜✓✣ ✑✝❥❀✝ ✳✝✓✪✡ ✳✰✫✵

☛✓ ✴✝✲✥✟☛✝❊ ✕❄✮ ✻★ ★✯☛ ✳✝✓✪✡ ✳✫✰ t✽ ✥✜✷✝✸✝✡✏ ☞❁✦✉ ✑✝ ✻P✝❥ ♦✓ ❥✳✝ ✳✝ ✓✪✝ ✳✰ ✪✸✝✝ ✕▲✮ ✻★

★✯☛ ✳✝ ✓✪✡ ✳✰✫ t✽ ✥✦✝✧✝✑ ☞❁✦✉ ✑✝ ✯✢♠☛✝✫✑✉ ✑❥ ❥✳✝ ✳✝✓✪✝ ✳✰✵ ✻☞❥✝✓❙✪ ✑✝✓ ♦▼✥✞✟❂✪ ❥✔✝✪✓ ✳✲✬❑

✥✉❧✉✥✤✥✔✝✪ ✎❥❀✝ ✬✑ ☞❁✦✉ ✑✡ ✻❍✎✪❥ ✥✜✦✜★✉✡☛✪✝ ★✲✥✉✥✦✎✪ ✑❥✪✓ ✳✰✫❃

(a) ☞❁✦✉ ✑✡ ✬✑ ✈✝✰❥ ✜✓✣✜✤ ✬✑ ✳✡ ❡☛✝✔☛✝ ✳✝✓✉✡ ✎✝✥✳✬✵

(b) ✻P✝❥ ✑✝ ✧✝✓✴✝ ✛☞✞✟ ✳✝✓✉✝ ✎✝✥✳✬✵

(c) ☞❁✦✉ ✜✓✣ ✥✤✬ ✥♦✬ ❂✬ ✥✉♦✓✏✦✝ ✛☞✞✟ ✳✝✓✉✓ ✎✝✥✳✬✵

(d) ☞❁✦✉ ✜✓✣ ✥✤✬ ✬✑ ✈❍④✡ ☞❁✑✝❥ ★✓ ★✝✓✎✡❃★✯✼✡ ✈✫✑❃♦✓☛ ☛✝✓t✉✝ ✳✝✓✉✡ ✎✝✥✳✬✵

(iii)  ✕❲❞✖✄✝✞ ✄✘❚ ✄ ✑✥✌✉✝✶✏ ✛✪❥ ✥✑★✡ ☞❁✦✉ ✑✡ ✬✑ ✈✥✪ ✯✳P✜☞✢❀✝✏ ✥✜✦✝✓✞✝✪✝ ✳✰✵ ✥✜✥✩✝❞✉ ✥✛✸✝✥✪☛✝ ✓✫

✯✓✫ ✥✜✥✩✝❞✉ ✑✥✌✉✝✶✏ ✛✪❥✝✓✫ ✜✝✤✓ ☞❁✦✉✝✓✫ ✑✡ ✈✝✜✦☛✑✪✝ ✳✝✓✪✡ ✳✰✵ ✻♦✝✳❥❀✝✝✸✝✏❑ ❞☛✢✉✪✯ ✈✥❈❂✯

✛✪❥ ✑✡ ✻☞✤✥❚❈ ✑✝ ✯✢♠☛✝✫✑✉ ✑❥✉✓ ✜✓✣ ✥✤✬❑ ★♦✰✜ ✳✡ ✑✯ ✑✥✌✉✝✶✏ ✛✪❥ ✜✓✣ ☞❁✦✉✝✓✫ ✑✡

✈✝✜✦☛✑✪✝ ★♦✰✜ ☞❖✿✓❂✡✵ ☞❁✦✉✝ ✓✫ ✜✓✣ ✑✥✌✉✝✶✏ ✛✪❥ ✑✝✓ ✥✉❧✉✥✤✥✔✝✪ ✪✡✉ ☞❁✑✝❥ ✑✡ ☎ ✓✥❀✝☛✝✓✫ ✯✓✫

✜❂✡✏✜▼✣✪ ✥✑☛✝ t✝ ★✑✪✝ ✳✰◗

(a) ❞✣�✤ ➭ t✝✓ ✤❂✩✝❂ ❉❋% ★✓ ✑✯ ✥✜✷✝✥✸✝ ✏☛✝ ✓✫ ✹✝❥✝ ✥✑✬ t✝ ★✜✓✣✫✵

(b) ✈✩✈❧✪ ➭ t✝✓ ✂ ❉❋% ☞❥✫✪✲ ✄ ●❋% ✥✜✷✝✥✸✝✏☛✝✓ ✫ ✹✝❥✝ ✥✑✬ t✝ ★✜✓✣ ✫✵

(c) ❧✫❧ ➭ t✝✓ ❃ ●❋% ★✓ ✈✥❈✑ ✥✜✷✝✥✸✝✏☛✝✓✫ ✹✝❥✝ ✥✑✬ t✝ ★✜✓✣✫✵

✶✉ ✛✪❥✝✓✫ ✑✝ ✥✉❀✝✏☛ ☞❁✦✉ ✽✉✝✉✓ ✜✝✤✓ ✹✝❥✝ ✛✜☛✫ ✈☞✉✓ ✈✉✲✩✝✜✝✓✫ ✜✓✣ ✈✝❈✝❥ ☞❥ ✥✤☛✝ t✝ ★✑✪✝ ✳✰✵

(iv)  ❳✄✄❍✄✄ ➭ ✥✑★✡ ✩✝✡ ☞❁✦✉ ✑✡ ✩✝✝✞✝✝ ★❥✤ ✪✸✝✝ ✥✜✷✝✥✸✝✏☛✝✓✫ ✑✡ ✦✝❚♦✝✜✤✡ ✜✓✣ ✈✉✲★✝❥ ✻✉✜✓✣ ★✯✼✉✓

☛✝✓❪☛ ✛✪❥ ✜✓✣ ✈✫✪❂✏✪ ✳✝✓✉✡ ✎✝✥✳✬✵ ✶★★✓ ♦✝✓ ✥✜✥✩✝❞✉ ✻P✝❥✝✓✫ ✑✝ ★✫✜✓✣✪ ✉✳✡✫ ☞✳✲❊✎✉✝ ✎✝✥✳✬✵

☞❥✫✪✲❑ ☛✥♦ ✈✝✜✦☛✑ ✳✝✓ ✪✝ ✓❑ ✬✑ ✳✡ ☞❁✦✉ ✑✝ ✓ ✸✝✝ ✓❖✿✡ ★✡ ✥✩✝❞✉ ✩✝✝✞✝✝ ☛✝ ✦✝❚♦✝✓✫ ✑✝ ☞❁☛✝✓❂ ✑❥✪✓

✳✲✬❑ ✥✜✥✩✝❞✉ ✑✥✌✉✝✶✏ ✛✪❥✝✓✫ ☞❥ ✥✜✷✝✥✸✝✏☛✝✓✫ ✜✓✣ ★❧✯✲✔✝ ☞❁✛✪✲✪ ✥✑☛✝ t✝ ★✑✪✝ ✳✰✵

(v)  ✿✙ ✁✄ ✙ ✐✕✄❚ ➭ ☞❁✦✉✝ ✓✫ ✜✓✣ ✥✜✥✩✝❞✉ ✒☞ ✳✰✫ ✪✸✝✝ ✥✛✸✝✥✪☛✝ ✓✫ ✜✓✣ ✈✉✲★✝❥ ☞❁❘☛✓✑ ✒☞ ✈❞☛ ✒☞ ★✓

✈✥❈✑ ✻☞☛✲❙✪ ❥✳✪✝ ✳✰✵ ☞❁✦✉✝✓✫ ✜✓✣ ✬✑ ✥✜✦✝✓✞✝ ✒☞ ✑✝✓ ✎✲✉✉✓ ✜✓✣ ✈✉✓✑ ✑✝❥✑ ✳✝✓ ★✑✪✓ ✳✰✫✵

(xii)



☛✓ ✑✝❥✑ ✥✉❧✉✥✤✥✔✝✪ ✯✓✫ ★✓ ✬✑ ☛✝ ✈✥❈✑ ✳✝✓ ★✑✪✓ ✳✰✫✵ ✕a✮ ✥✯✪❡☛✥☛✪✝ ✕✽✎✪✮❑

✕b✮ ✥☞❁✫✥✟✫❂ ✯✓✫ ★✲✤✩✝✪✝❑ ✕c✮ ✈✫✑ ♦✓✉✓ ✯✓✫ ★❥✤✪✝❑ ✶❘☛✝✥♦✵

E. ★ ✂☎✤ ✩★ ✥ ✢ ★✁ ✣✢ ✣✥✩ ✜✤ ✧ ★ �✎✩ ★ ✂❞✩✫✁

✐✂✄☎✆ ✐✂✝✞ ✟✞✠✞✟✡✟☛✄☞ ✌✄✍ ✎✐✄✍✏ ✑✍✒ ✓✄✍☞ ✍ ✓✔✏✕

(1)   ✯✲❙✪ ✻P✝❥ ✜✝✤✓ ✪✸✝✝ ✕▲✮ ✥✉✥✦✎✪ ✻P✝❥ ✜✝✤✓

✛ ✥❡✪ ✖✗✩✫ ★ ✂☎✤ ➭ ✬✑ ✯✲❙✪ ✻P✝❥ ☞❁✦✉ ✯✓✫❑ ✥✜✷✝✸✝✡✏ ✈☞✉✝ ✻P✝❥ ✛✜☛✫ ★✢✥✴✝✪ ✈✝✰❥ ❡☛✜✥✛✸✝✪ ✑❥✪✝

✳✰✵ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉ ✜✪✏✯✝✉ ☞❥✡✧✝✝ ☞❣✥✪ ✯✓✫ ✽✳✲✪ ☞❁☛✝✓❂ ✥✑✬ t✝✪✓ ✳✰ ✫✵ ☛✓ ✥✉❧✉✥✤✥✔✝✪ ♦✝✓ ☞❁✑✝❥

✜✓✣ ✳✝✓✪✓ ✳✰✫❃

(a) ✝✘♥✄✞ ✌✑✄❚✘✁ ✙ ✐✎✖

✬✑ ☞❁✦✉ ✥t★✯✓✫ ✪✲✤✉✝❘✯✑ ✒☞ ★✓ ✤✫✽✓ ✻P✝❥ ✑✡ ✈✝✜✦☛✑✪✝ ✳✝✓✪✡ ✳✰ ♦✡�✝✏ ✻P✝❥ ✜✓✣ ☞❁✑✝❥ ✑✝

☞❁✦✉ ✑✳✤✝✪✝ ✳✰✵ ✶✉ ☞❁✦✉✝✓✫ ✯✓✫❑ ✥✜✷✝✸✝✡✏ ✑✝ ✓ ✈✉✲✑✢✤ ✪✸☛ ✎✲✉✉✓❑ ✻❞✳✓✫ ❡☛✜✥✛✸✝✪ ✑❥✉✓ ✪✸✝✝

✻P✝❥✝✓✫ ✑✝✓ ✛✜☛✫ ✈☞✉✓ ✦✝❚♦✝✓✫ ✯✓ ✫ ✥✤✔✝✉✓ ✑✡ ✈✝✜✦☛✑✪✝ ✳✝✓✪✡ ✳✰✵ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝✓✫ ✯✓✫ ✈✉✲✯✝✉

☛✝ ✈✟✑✤✓✫ ✤❂✝✉✓ ✑✡ ✽✳✲✪ ✑✯ ❂✲ ✫t✝✶✦✝ ✳✝ ✓✪✡ ✳✰✵ ☞❥✫✪✲ ☛✥♦ ♦✡�✝✏ ✻P✝❥✡☛ ☞❁✦✉✝✓✫ ✑✡ ★✫✔☛✝

✈✥❈✑ ✳✝✓❑ ✪✝✓ ☞❥✡✧✝✝ ✯✓✫ ★✫☞✢❀✝✏ ✥✜✞✝☛❃✜✛✪✲ ✧✝✓✴✝ ✑✝✓ ★✥❧✯✥✤✪ ✑❥✉✓ ✑✡ ★✫✩✝✝✜✉✝ ✑✯ ✳✝✓ t✝✪✡

✳✰✵ ✶★ ✑✥✌✉✝✶✏ ✑✝✓ ♦✢❥ ✑❥✉✓ ✜✓✣ ✥✤✬❑ ✳✯ ✬✓★✓ ♦✡�✝✏ ✻P✝❥✡☛ ☞❁✦✉ ✎✲✉ ★✑✪✓ ✳✰✫❑ ✥t✉✯✓✫ ✬✑

★✓ ✈✥❈✑ ✥✜✞✝☛❃✜✛✪✲ ✜✓✣ ✧✝✓✴✝ ★✫✽❣ ✳✝✓✫✵

(b)  ✗ ❱❲✂✄❘✘ ✌✑✄❚✘✁ ✙ ✐✎✖

✬✓★✝ ☞❁✦✉❑ ✥t★✯✓✫ ✥✜✷✝✸✝✡✏ ✹✝❥✝ ✻★✑✝ ✻P✝❥ ❉ ☛✝ ❪ ☞✫✥❙✪☛✝✓ ✫ ☛✝ ✎❥❀✝✝✓ ✫ ✯✓✫ ✥♦✬ t✝✉✓ ✑✡

☞❁❘☛✝✦✝✝ ✑✡ t✝✪✡ ✳✰❑ ★✫✥✧✝❏✪ ✻P✝❥✡☛ ☞❁✦✉ ✑✳✤✝✪✝ ✳✰✵ ✶✉ ☞❁✦✉✝✓ ✫ ✯✓ ✫❑ ✥✜✞✝☛❃✜✛✪✲ ✧✝✓✴✝ ✑✝ ✓

★✥❧✯✥✤✪ ✑❥✉✝ ✈✥❈✑ ✥✉✥♦✏✞✟ ✈✝✰❥ ✥✉✥✦✎✪ ✳✝ ✓✪✝ ✳✰✵ ☛✳✝❊ ☛✳ ◆☛✝✉ ♦✓✉✓ ☛✝ ✓❪☛ ✽✝✪ ✳✰ ✥✑

☛✥♦ ✥✑★✡ ☞❁✦✉ ✜✓✣ ✻P✝❥ ✯✓✫ ✜✓✣✜✤ ✬✑ ★❥✤ ✈✝❥✓✔✝ ✳✡ ✳✝✓❑ ✪✝ ✓ ✩✝✡ ✻★✓ ★✫✥✧✝❏✪ ✻P✝❥✡☛ ☞❁✦✉

✯✝✉✝ t✝✪✝ ✳✰✵

✣✤ ✣☎❢✪ ✖✗✩ ✫ ★ ✂☎✤ ➭ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝✓✫ ✯✓✫ ✻P✝❥ ✥✉✥✦✎✪ ✈✝✰❥ ✥✉❈✝ ✏✥❥✪ ✳✝✓✪✝ ✳✰✵ ✶★ ☞❁✑✝❥ ✜✓✣

☞❁✦✉✝✓✫ ✑✝ ✓ ✶✉✜✓✣ ✈✫✑ ♦✓✉✓ ✯✓✫ ✻❢✓✦☛✪✝ ✜✓✣ ✑✝❥❀✝ ☞❁✝✓❘★✝✥✳✪ ✥✑☛✝ t✝ ❥✳✝ ✳✰✵ ☛✓ ✩✝✡ ♦✝✓ ☞❁✑✝❥ ✜✓✣ ✳✝✓✪✓

✳✰✫❑ t✝✓ ✥✉❧✉✥✤✥✔✝✪ ✳✰✫ ➭

(a) ❝✔ ✖✘ ✗ ❱❲✂✄❘✘ ✌✑✄❚✘✁ ✙ ✐✎✖

✬✓★✝ ☞❁✦✉ ✥t★✯✓✫ ✥✜✷✝✸✝✡✏ ✹✝❥✝ ✻P✝❥ ✜✓✣✜✤ ✬✑ ✦✝❚♦ ☛✝ ✬✑ ✜✝❙☛✝✫✦✝ ✯✓✫ ✥♦✬ t✝✉✓ ✑✡ ☞❁❘☛✝✦✝✝

✑✡ t✝✪✡ ✳✰❑ ✽✳✲✪ ★✫✥✧✝❏✪ ✻P✝❥✡☛ ☞❁✦✉ ✑✳✤✝✪✝ ✳✰✵ ❂✥❀✝✪ ✯✓✫❑ ✬✑ ✦✝❚♦ ☛✝ ✬✑ ✜✝❙☛✝✫✦✝ ✑✝

✈✸✝✏ ★✝✯✝❞☛✪◗ ★✫✜✓✣✪✝✓✫ ☛✝ ★✫✔☛✝✈✝✓✫ ✕★✫✔☛✝✫✑✝✓✫✮ ✜✓✣ ✬✑ ★✯✢✳ ★✓ ✳✝✓✪✝ ✳✰✵ ✬✓★✓ ☞❁✦✉✝ ✓✫ ✜✓✣ ✻P✝❥

♦✓✉✓ ✯✓✫ ❄ ★✓ ❉ ✥✯✉✟ ✑✝ ★✯☛ ✤❂✉✓ ✑✡ ✈✝✦✝✝ ✑✡ t✝✪✡ ✳✰✵ ✥❥❙✪ ✛✸✝✝✉ ✩✝❥✉✓ ✜✝✤✓ ☞❁✦✉ ✶★

☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝ ✓✫ ✜✓✣ ✻♦✝✳❥❀✝ ✳✰✫✵

(xiii)



(b) ✌✍◗✎✁✄❧✆✕ ✁✄ ❦✂✁✄❧✆✕ ✙ ✐✎✖

✬✑ ✤✧☛✝❘✯✑ ☞❁✦✉ ✬✓★✝ ☞❁✦✉ ✳✝ ✓✪✝ ✳✰❑ ✥t★✯✓✫ ✻P✝❥✝ ✓✫ ✜✓✣ ✥✜✥✩✝❞✉ ✥✜✑♠☞ ✥♦✬ ✳✝✓✪✓ ✳✰✫ ✈✝✰❥ ✶✉✯✓✫

★✓ ✥✜✷✝✸✝✡✏ ✑✝✓ ✜✓✣✜✤ ★✳✡ ✻P✝❥ ✽✪✝✉✝ ✳✝✓✪✝ ✳✰✵ ✶✉ ☞❁✦✉✝✓✫ ✜✓✣ ✻P✝❥ ✩✝✡ ❄ ★✓ ❉ ✥✯✉✟ ✯✓✫ ✥♦✬

t✝ ★✑✪✓ ✳✰✫✵ ✶✉✑✝✓ ✈✝✰❥ ✈✝❂✓ ✥✉❧✉✥✤✥✔✝✪ ✒☞✝✓✫ ✯✓✫ ✜❂✡✏✜▼✣✪ ✥✑☛✝ t✝ ★✑✪✝ ✳✰➭

(i) ✗❧✁✕✈✗❧✁ ✙ ✐✕✄❚ ➭ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝✓ ✫ ✯✓✫ ✬✑ ✑✸✝✉ ☛✝ ★✢✴✝ ✥♦☛✝ t✝✪✝ ✳✰ ✪✸✝✝ ✥✜✷✝✸✝✡✏

★✓ ☛✳ ✈✝✦✝✝ ✑✡ t✝✪✡ ✳✰ ✥✑ ✜✳ ✶★✜✓✣ ✥✤✬ ☛✳ ❧★❘☛� ✳✰ ☛✝ ❧✈★❘☛� ✥✤✔✝✓✵

(ii) ✗ ✖✆◗❦✖ ✙ ✐✕✄❚ ➭ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝ ✓✫ ✯✓✫ ♦✝✓ ✛✪✫✩✝ ✳✝✓✪✓ ✳✰✫✵ ✥✜✷✝✸✝✡✏ ✑✝ ✓ ☞✳✤✓ ✛✪✫✩✝ ✑✡ ☞❁❘☛✓✑

✜✛✪✲ ✕✦✝❚♦ ☛✝ ✑✸✝✉ ☛✝ ✜✝❙☛✝✫✦✝ ✈✝✥♦✮ ✑✝ ✥✑★✡ ✑★✝✰✟✡ ☛✝ ✥✉☛✯ ✜✓✣ ✈✝❈✝❥ ☞❥ ♦✢★❥✓

✛✪✫✩✝ ✑✡ ✜✛✪✲ ★✓ ★✲✯✓✤✉ ✑❥✉✝ ✳✝✓✪✝ ✳✰✵ ♦✢★❥✓ ✛✪✫✩✝ ✯✓✫ ✜✛✪✲✈✝✓ ✫ ✑✡ ★✫✔☛✝ ☞✳✤✓ ✛✪✫✩✝ ✯✓✫

✜✛✪✲✈✝✓✫ ✑✡ ★✫✔☛✝ ★✓ ✈✥❈✑ ✳✝✓ ★✑✪✡ ✳✰✵

(iii) ❯✄✗✁ ✙ ☛♦✄✞ ✕❚✖ ◗ ❯◗✚ ✙ ✐✕✄❚ ➭ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝✓✫ ✯✓✫❑ ✥✜✷✝✸✝✡✏ ✑✝✓ ☞❁✦✉ ✜✓✣ ★✝✸✝ ✥♦✬ ✑✝✓✞✌✑✝✓✫

✯✓✫ ✥✤✔✝✓ ✬✑ ☛✝ ✈✥❈✑ ✦✝❚♦✝✓✫ ✑✝ ☞❁☛✝✓❂ ✑❥✪✓ ✳✲✬ ✥♦✬ ✳✲✬ ✜✝❙☛ ✑✝✓ ☞✢❀✝✏ ✑❥✉✝ ✳✝✓✪✝ ✳✰✵

(iv) ❝✔ ✖ ❲❯✕☞✙✘✁ ✙ ✐✎✖ ➭ ✶★ ☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝✓✫ ✯✓✫ ✜✲✣④ ✥✜✑♠☞ ✕✥t❞✳✓✫ ☞❁✝☛◗ ◆☛✝✉ ✳✟✝✉✓ ✜✝✤✓ ✑✳✝

t✝✪✝ ✳✰✮ ✥♦✬ ✳✝✓✪✓ ✳✰✫ ✈✝✰❥ ✶✉✯✓✫ ★✓ ✜✓✣✜✤ ✬✑ ✥✜✑♠☞ ✳✡ ★✳✡ ☛✝ ✻☞☛✲❙✪ ✳✝✓✪✝ ✳✰✵ ✥✜✷✝✸✝✡✏

★✓ ☛✳ ✈✝✦✝✝ ✑✡ t✝✪✡ ✳✰ ✥✑ ✜✳ ★✳✡ ✥✜✑♠☞ ✥✤✔✝✓ ☛✝ ✻★ ☞❥ ✭✁✂ ✑✝ ✥✎✥ ✤❂✝✬✵

✥✉✥✦✎✪ ✻P✝❥ ✜✝✤✓ ☞❁✦✉✝✓ ✫ ✯✓✫ ✈✉✲✯✝✉ ☛✝ ✈✟✑✤✝✓✫ ✑✡ ❂✲✫t✝✶✦✝ ✽✳✲✪ ✈✥❈✑ ❥✳✪✡ ✳✰✵ ☞❥✫✪✲ ✶★

☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝ ✓✫ ✯✓✫ ✪✜✏✣❀✝ ✑✝ ✜✲✣④ ☞✲✟ ♦✓✑❥ ✶★ ✑✯✡ ✑✝✓ ❞☛✢✉✪✯ ✥✑☛✝ t✝ ★✑✪✝ ✳✰✵ ✶✉ ☞❁✦✉✝✓✫

✑✝✓ ✳✯ ✪✢ ✬✁ ✢ ★✁ ❧ ✩r✩ ❧✥ ✣✄✩☎✪ ✖✗✩ ✫✦ ✎ ★✂☎✤ ✑✳ ★✑✪✓ ✳✰✫✵

F. ✣☎✩✄✩✌✩ ✖❢ ★☎✎
t✰★✝ ✥✑ ☞✳✤✓ ✳✡ ✽✪✝☛✝ t✝ ✎✲✑✝ ✳✰ ✥✑ ✑✝✓✶✏ ☞❁✦✉ ✯✝❞☛ ✪✩✝✡ ✑✳✝ t✝✪✝ ✳✰ t✽ ✜✳ ☞✢✜✏ ✥✉❈✝✏✥❥✪

✻❢✓✦☛ ☞❥ ✈✝❈✝✥❥✪ ✳✝✓✵ ✦✝❚♦ ❧✻❢✓✦☛� ✬✑ ❡☛✝☞✑ ☞♦ ✳✰✵ ✻❢✓✦☛✝✓✫ ✑✝✓ ♦✝✓ ★✯✢✳✝✓✫❑ ✈✸✝✝✏✪✍ ✕❄✮ ✦✝✰✥✧✝✑

✻❢✓✦☛ ✈✝✰❥ ✕▲✮ ✥✦✝✧✝❀✝ ✻❢✓✦☛✝✓✫ ✯✓✫ ✥✜✩✝✝✥t✪ ✥✑☛✝ t✝✪✝ ✳✰✵ ✦✝ ✰✥✧✝✑ ✻❢✓✦☛ ✥✦✝✧✝✝ ✑✡ ☞❁✥✭☛✝ ✯✓✫ ✬✑

✥✉♦✓✦✝✝❘✯✑ ✩✝✢✥✯✑✝ ✈♦✝ ✑❥✪✓ ✳✰✫❑ t✽✥✑ ✥✦✝✧✝❀✝ ✻❢✓✦☛ ✜✓ ✤✧☛ ✳✰✫ ✥t❞✳✓✫ ☞❁✝❏✪ ✑❥✉✓ ✜✓✣ ✥✤✬ ★✩✝✡

✦✝✰✧✝✥❀✝✑ ☞❁☛✝★ ✥✉♦✓✥✦✝✪ ✳✝ ✓✪✓ ✳✰✫✵ ❂✥❀✝✪ ✈☞✉✡ ✛✜☛✫ ✑✡ ✦✝❚♦✝✜✤✡ ✈✝✰❥ ❡☛✝✑❥❀✝ ✜✓✣ ★✝✸✝ ✬✑

✥✜✥✦✝✞✟ ✩✝✝✞✝✝ ✳✰✵ ✶★ ✦✝❚♦✝✜✤✡ ✯✓✫❑ ✈✜❈✝❥❀✝✝✬❊❑ ☞♦❑ ✪✸☛❑ ★✫✜✓✣✪ ☛✝ ✥✎✥❑ ✑♠☞✉✝✬❊❑ ✶❘☛✝✥♦ ✥✉✥✳✪

✳✝✓✪✓ ✳✰✫❑ t✽✥✑ ❡☛✝✑❥❀✝ ✥★❣✝✪✝ ✓✫❑ ☞❁✥✭☛✝✈✝✓✫❑ ✑✝☛✝✏❘✯✑ ★✫✽✫❈✝ ✓✫ ★✓ ★✫✽✫✥❈✪ ✳✝✓✪✝ ✳✰✵ ✶✉✜✓✣ ❦✝✉ ✈✝✰❥

★✯✼ ✪✸✝✝ ✉☛✡ ✥✛✸✝✥✪☛✝✓✫ ✯✓✫ ✶✉✜✓✣ ✈✉✲☞❁☛✝ ✓❂✝✓✫ ✉✓ ✯✝✉✜ ✑✡ ✥✜✥✩✝❞✉ ✧✝✓✴✝✝ ✓✫ ✯✓✫ ✪✡✜❁ ❂✥✪ ★✓ ☞❁❂✥✪ ✑❥✉✓

✯✓✫ ✽✳✲✪ ★✳✝☛✪✝ ✑✡ ✳✰✵ ✈✪◗❑ ❂✥❀✝✪ ✜✓✣ ✥✤✬ ✯✲✔☛ ✥✦✝✧✝❀✝ ✻❢✓✦☛ ✥✉❧✉✥✤✥✔✝✪ ✳✰✫◗

1.   ✣✤✣✩✬✆✆✦❞✫✌✩ ✢★✁ ❧ ✩r✩ ✝✩✤
✣✢✞✩r✩ ✦✬

1.1 ☞♦✝✓✫❑ ✪✸☛✝✓✫ ✶❘☛✝✥♦ ✑✝ ✛✯❥❀✝ ✑❥✪✓ ✳✰✫ ☛✝ ✻✉✑✡ ☞✲✉❥✝✜▼✥P✝ ✑❥✪✓ ✳✰✫✵

1.2 ☞♦✝✓✫❑ ★✫✜✓✣✪✝✓✫❑ ✈✜❈✝❥❀✝✝✈✝✓✫ ✶❘☛✝✥♦ ✑✝✓ ☞✳✎✝✉✪✓ ✳✰✫✵

(xiv)



2.   ✣✤✣✩✬✆✆✦❞✫✌✩ ✢★✁ ❧✩r✩ ❧✛❢

✣✢✞✩r✩✦✬
2.1 ☞♦✝✓✫❑ ☞✥❥✩✝✝✞✝✝✈✝ ✓✫ ✶❘☛✝✥♦ ✜✓✣ ✻♦✝✳❥❀✝ ✕☛✝ ♦▼✞✟✝✫✪✮ ♦✓✪✓ ✳✰✫✵

2.2 ☞✥❥✩✝✝✞✝✝✈✝✓ ✫❑ ✑✸✝✉✝✓✫❑ ★✢✴✝✝✓✫ ✶❘☛✝✥♦ ✯✓✫ ✴✝✲✥✟☛✝✓✫ ✑✝ ☞✪✝ ✤❂✝✪✓ ✳✰✫ ✕✪✸✝✝ ✻❞✳✓✫ ★✳✡ ✑❥✪✓ ✳✰✫✮✵

2.3 ✈✜❈✝❥❀✝✝✈✝✓ ✫❑ ❥✝✥✦✝☛✝✓✫ ✶❘☛✝✥♦ ✑✡ ✪✲✤✉✝ ✑❥✪✓ ✳✰✫✵

2.4 ✥✉✑✟✪✯ ✒☞ ★✓ ★✫✽✫✥❈✪ ✈✜❈✝❥❀✝✝✈✝✓ ✫ ✜✓✣ ✽✡✎ ✯✓✫ ✥✜✩✝ ✓♦ ✑❥✪✓ ✳✰✫✵

2.5 ✦✝✝✥❚♦✑ ✑✸✝✉✝✓✫ ✑✝✓ ❂✥❀✝✪✡☛ ✑✸✝✉✝ ✓✫ ✪✸✝✝ ✥✜✤✝✓✯✪◗ ❂✥❀✝✪✡☛ ✑✸✝✉✝✓✫ ✑✝✓ ✦✝✝✥❚♦✑ ✑✸✝✉✝✓✫ ✯✓✫

✒☞✝✫✪✥❥✪ ✑❥✪✓ ✳✰✫✵

2.6 ☞❁✝❏✪ ✥✑✬ ❂✬ ☞✥❥❀✝✝✯ ✑✝ ★❘☛✝☞✉ ✑❥✪✓ ✳✰✫✵

2.7 ♦✡ ✳✲✶✏ ✑★✝✰✥✟☛✝✓✫ ✜✓✣ ✈✉✲★✝❥ ✈✝❊✑❖✿✝✓✫ ✑✝ ✜❂✡✏✑❥❀✝ ✑❥✪✓ ✳✰✫✵

2.8 ✥♦✬ ✳✲✬ ✈✝❊✑❖✿✝✓ ✫ ✯✓✫ ★✫✽✫❈ ❦✝✪ ✑❥✪✓ ✳✰✫✵

2.9 ✈✝❊✑❖✿✝✓✫ ✑✡ ❡☛✝✔☛✝ ✑❥✪✓ ✳✰✫✵

3.   ✣✤✣✩✬✆✆✦❞✫✌✩ ✢ ★✁ ❧✩r✩ ✈✤ ✥★ ✂✎✩★①
✣✢✞✩r✩✦✬

3.1 ✥✜✦✤✓✞✝❀✝ ✑❥✪✓ ✳✰✫ ✪✸✝✝ ❦✝✪ ✑❥✪✓ ✳✰✫ ✥✑ ❙☛✝ ✥♦☛✝ ✳✰ ✈✝✰❥ ❙☛✝ ✑❥✉✝ ✳✰✵

3.2 ✈✝❊✑❖✿✝✓✫ ✑✡ ☞☛✝✏❏✪✪✝❑ ✈✉✝✜✦☛✑✪✝ ✈✝✰❥ ✈✉✲✑✢✤✪✝ ❦✝✪ ✑❥✪✓ ✳✰✫✵

3.3 ✈✝❊✑❖✿✝✓✫ ✯✓ ✫ ★✫✽✫❈ ✛✸✝✝✥☞✪ ✑❥✪✓ ✳✰✫✵

3.4 ✥✉❂✯✉✝❘✯✑ ✒☞ ★✓ ✪✜✏✣ ♦✓✪✓ ✳✰✫✵

3.5 ★✯✛☛✝✈✝✓✫ ✑✝✓ ✳✤ ✑❥✉✓ ✜✓✣ ✥✤✬ ✻☞☛✲❙✪ ✕☛✝ ✻✥✎✪✮ ✥✜✥❈☛✝❊ ✎✲✉✪✓ ✳✰✫✵

3.6 ★✯✛☛✝✈✝✓✫ ✑✝✓ ✳✤ ✑❥✉✓ ✜✓✣ ✥✤✬ ✜✰✑✥♠☞✑ ✥✜✥❈☛✝ ✓✫ ✑✝ ★✲✼✝✜ ♦✓✪✓ ✳✰✫✵

3.7 ✥✜✥✦✝✞✟ ✥✛✸✝✥✪☛✝✓✫ ★✓ ❡☛✝☞✑✡✑❥❀✝ ✑❥✪✓ ✳✰ ✫✵

4.   ✣✤✣✩✬✆✆✦❞✫✌✩ ✢ ★✁ ❧✩r✩ ❞✩✈☎✩❧ �✎✩ ✣✤★ ✥✌✩✪✩✁
✣✢✞✩r✩✦✬

4.1 ☞✥❥✑✤✉ ★❥✤✪✝ ✈✝✰❥ ✪✓❜✝✡ ★✓ ✑❥✪✓ ✳✰✫✵

4.2 ❧☛✝✥✯✪✡☛ ★✫☛✴✝✝✓✫ ✑✝✓ ✻✥✎✪ ✒☞ ★✓ ☞❁☛✝ ✓❂ ✑❥✪✓ ✳✰✫✵

4.3 ✈✝✜▼✣✥✪ ✑✝✓ ★✳✡ ☞❁✑✝❥ ★✓ ✪✸✝✝ ☞✰✯✝✉✓ ✜✓✣ ✈✉✲★✝❥ ✔✝✡✫✎✪✓ ✳✰✫✵

4.4 ★✝❥✥❀✝☛✝✓✫ ✈✝✰❥ ✈✝✤✓✔✝✝✓✫ ✑✝✓ ✻✥✎✪ ✒☞ ★✓ ☞✾✿✪✓ ✳✰ ✫✵

4.5 ✈✝✤✓✔✝✝✓✫ ✑✡ ❡☛✝✔☛✝ ★✳✡ ✒☞ ★✓ ✑❥✪✓ ✳✰✫✵
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t✳✝❊ ✪✑ ✱✖✗✘✱✙✚❃▲❋❋❣ ✯✓✫ ✥♦✬ ✯✲✔☛ ✤✧☛ ☛✝ ✻❢✓✦☛✝✓✫ ✑✝ ★✫✽✫❈ ✳✰❑ ☛✳ ✥✜✷✝✸✝✡✏ ✯✓✫

❂✥❀✝✪✡☛✑❥❀✝ ✑✡ ★✝✯✸☛✏ ✥✜✑✥★✪ ✑❥✉✝ ✳✰✵ ☛✳ ✕❄✮ ✥✜✷✝✤☛✡ ❂✥❀✝✪ ✜✓✣ ★✫✑✡❀✝✏ ✕☛✝ ★✫✜✲✣✥✎✪✮

✤✧☛✝✓✫ ✑✝✓ ✩✝✡ ✽✪✝✪✝ ✳✰❑ ✥t✉✑✝ ★✫✽✫❈ ♦✦✝✯✤✜✝✓✫ ✈✝ ✰❥ ☞❁✥✪✦✝✪✝✓✫ ★✓ ✳✰ ✪✸✝✝ ✕▲✮ ✻❍✎✪❥ ✤✧☛✝✓✫ ✑✝ ✓

✽✪✝✪✝ ✳✰ t✝✓ ❂✥❀✝✪✡☛ ✒☞ ★✓ ★✝✓✎✉✓ ✈✝ ✰❥ ✪✜✏✣❀✝ ✑❥✉✓ ✜✓✣ ✥✤✬ ✽❍✎✝✓✫ ✜✓✣ ★✫★✝❈✉✝ ✓✫ ✑✝✓ ✥✜✑✥★✪

✑❥✉✓❑ ✑♠☞✉✝✈✝✓✫ ✑✝✓ ✻✉✜✓✣ ✪✜✏✣★✫❂✪ ✥✉✞✑✞✝✝✓ ❡ ✪✑ ☞✳✲❊✎✝✉✓ ✪✸✝✝ ✈✯✢✪✏✪✝✈✝✓✫ ✑✝✓ ★❊✩✝✝✤✉✓ ✜✓✣ ✥✤✬

✳✰✫✵ ✻☞❥✝✓❙✪ ✑✝✓ ♦▼✥✞✟❂✪ ❥✔✝✪✓ ✳✲✬❑ ✶★ ✛✪❥ ☞❥ ✽✤ ✜✓✣✜✤ ✻❍✎✪❥ ✤✧☛✝✓✫ ☞❥ ✳✡ ✳✰✵ ✶✉ ✻❍✎✪❥ ✤✧☛✝✓✫

✑✝✓ ✥✦✝✧✝❀✝ ✻❢✓✦☛ ★✯✼✝ t✝ ★✑✪✝ ✳✰✵ ✻❢✓✦☛✝✓✫ ☞❥ ✈✝❈✝✥❥✪ ☞❁✦✉✝✓ ✫ ✈✝✰❥ ✤✧☛✝❘✯✑ ✕☛✝ ✻❢✓✦☛✝❘✯✑✮

☞❁✑✝❥ ✜✓✣ ☞❁✦✉✝✓✫ ✯✓✫ ☞❁✝☛◗ ☞❥✛☞❥ ✩✝❁✯ ✳✝✓✪✝ ✳✰✵ t✽ ✥✑★✡ ☞❁✦✉ ✑✝✓ ✬✑ ✥✉✥✦✎✪ ✤✧☛ ☛✝ ✻❢✓✦☛ ❥✔✝✪✓

✳✲✬ ✽✉✝☛✝ t✝✪✝ ✳✰ ✪✝ ✓ ✜✳ ✻❢✓✦☛ ☞❥ ✈✝❈✝✥❥✪ ☞❁✦✉ ✑✳✤✝✪✝ ✳✰❑ t✽ ✥✑ ☛✥♦ ✬✑ ☞❁✦✉ ✥✜✷✝✥✸✝ ✏☛✝✓ ✫

✑✡ ✻☞✤✥❚❈☛✝✓ ✫ ✑✝✓ ✯✝☞✉✓ ✜✓✣ ✥✤✬ ✽✉✝☛✝ t✝✪✝ ✳✰❑ t✝✓ ✈✝❘✯✥✉✞✌ ✉ ✳✝✓✑❥ ✤✧☛✝❘✯✑ ✳✝✓✪✝ ✳✰ ✪✸✝✝

✤✧☛✝❘✯✑ ☞❁✑✝❥ ✑✝ ☞❁✦✉ ✑✳✤✝✪✝ ✳✰✵ ☛✳ ◆☛✝✉ ♦✓✉✓ ☛✝✓❪☛ ✽✝✪ ✳✰ ✥✑ ✥✑★✡ ☞❁✦✉ ✜✓✣ ✻❢✓✦☛ ✑✝

✥✉❈✝✏❥❀✝ ❡☛✥❙✪ ★✓ ❡☛✥❙✪ ✽♦✤ ★✑✪✝ ✳✰✵ ✻♦✝✳❥❀✝✝✸✝✏❑ ✬✑ ☞❁✦✉ ✥✑★✡ ✥✦✝✧✝✑ ✑✝✓ ❧❦✝✉� ✜✓✣ ☞❁✑✝❥

✑✝ ☞❁✪✡✪ ☛✳ ★✝✓✎✪✓ ✳✲✬ ✳✝✓ ★✑✪✝ ✳✰ ✥✑ ✥✜✷✝✸✝✡✏ ✶★✑✝ ✻P✝❥ t✝✉✪✓ ✳✰✫✵ ☞❥✫✪✲ ☛✳✡ ☞❁✦✉ ✈❞☛ ✥✦✝✧✝✑

✑✝✓ ❧★✯✼� ✜✓✣ ☞❁✑✝❥ ✑✝ ☞❁✪✡✪ ☛✳ ★✝✓✎✪✓ ✳✲✬ ✳✝ ✓ ★✑✪✝ ✳✰ ✥✑ ☛✳ ☞❁✦✉ ✥✜✷✝✥✸✝✏☛✝✓✫ ✜✓✣ ✻★✡ ★✯✢✳

✜✓✣ ✥✤✬ ✈☞✥❥✥✎✪ ✳✰✵ ✱✖✗✘✱✙✚❃▲❋❋❣ ✯✓✫ ❡☛❙✪ ✥✑✬ ❂✬ ✥✜✎✝❥✝✓✫ ✑✝✓ ♦▼✥✞✟❂✪ ❥✔✝✪✓ ✳✲✬❑ ✥✉❧✉✥✤✥✔✝✪

☞❁✑✝❥ ✜✓✣ ☞❁✦✉ ★✲✼✝✬ ❂✬ ✳✰✫❃

1. ♦✡�✝✏ ✻P✝❥✡☛ ☞❁✦✉

2. ★✫✥✧✝❏✪ ✻P✝❥✡☛ ☞❁✦✉

3. ✪✜✏✣ ✜✓✣ ★✝✸✝ ★✫✥✧✝❏✪ ✻P✝❥✡☛ ☞❁✦✉

4. ✽✳✲ ✥✜✑♠☞✡☛ ☞❁✦✉

☛✳ ✈✝✦✝✝ ✑✡ t✝✪✡ ✳✰ ✥✑ ☞✝✌✍☛☞✲✛✪✑✝✓✫ ✯✓✫ ✥♦✬ ❂✬ ☞❁✦✉✝✓✫ ✜✓✣ ★✝✸✝ ☛✓ ☞❁✦✉ ✑✧✝✝ 9 ✈✝✰❥

10 ✜✓✣ ✥✜✷✝✥✸✝ ✏☛✝✓ ✫ ✑✝ ❂✥❀✝✪ ✯✓✫ ☞❁✩✝✝✜✡ ✒☞ ★✓ ✯✢♠☛✝ ✫✑✉ ✑❥ ☞✝✉✓ ✯✓✫ ★✯✸✝✏ ✳✝✓ ✫❂✓✵
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❢�❢✂� ✄✝�✆

★ ✂✩❡❞r✩ ✤ iii

✈ ✩✛✥✈✩ v

✛✩❡✎✣ ✛ ❞ ✍✪ ✫ ★ ✫ ①✣✌✩✪ ✛★ ✥ ✣✢✞✩r✩ ✦✬ ❞✩ ✛❡�✎ ✩✥ ❞✤ ix

✈❡✎✩ ✎  1 ✜✝✛✪✥✜✑ ★✫✔☛✝✬❊ 1

✈❡✎✩ ✎  2 ✽✳✲☞♦ 9

✈❡✎✩ ✎  3 ♦✝✓ ✎❥✝✓✫ ✜✝✤✓ ❥✰✥✔✝✑ ★✯✡✑❥❀✝✝✓✫ ✜✓✣ ☛✲❪✯ 17
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✈❡✎✩ ✎  6 ✥✴✝✩✝✲t 61

✈❡✎✩ ✎  7 ✥✉♦✓✏✦✝✝✫✑ ❧☛✝✥✯✥✪ 79

✈❡✎✩ ✎  8 ✥✴✝✑✝ ✓❀✝✥✯✥✪ ✑✝ ☞✥❥✎☛ ✈✝✰❥ ✻★✜✓✣ ✈✉✲☞❁☛✝ ✓❂ 89

✈❡✎✩ ✎  9 ✜▼P✝ 103

✈❡✎✩ ✎ 10 ❥✎✉✝✬❊ 115

✈❡✎✩ ✎ 11 ✜▼P✝✝✓✫ ★✓ ★✫✽✫✥❈✪ ✧✝✓✴✝☞✣✤ 121

✈❡✎✩ ✎ 12 ☞▼✞✌✡☛ ✧✝✓✴✝☞✣✤ ✈✝✰❥ ✈✝☛✪✉ 138

✈❡✎✩ ✎ 13 ★✝❊✥✔☛✑✡ ✈✝ ✰❥ ☞❁✝✥☛✑✪✝ 155

♠✁✂✄▼✂☎✂ 186

☞❁✦✉❃☞✴✝ ✑✝ ☞❁✝✒☞❑ ✗ ◗❱ -I 206

☞❁✦✉❃☞✴✝ ✑✝ ☞❁✝✒☞❑ ✗ ◗❱ -II 222
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• ♥✟✠ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠✓ a ✈✟✔✕ b ♦✠✖ ✗✘✙  HCF (a, b) × LCM (a, b) = a × b ❣✟✠✚✟ ❣✔✛

• ✌✟☛ ✘❡✗✜✙ ✗✍ x = 
p

q , ✜❣✟t p ✈✟✔✕ q ❧❣✈✢✟✟✣✤ ❣✔✓, ✙✍ ✎✗✕✌✠✤ ❧✓✱✤✟ ❣✔ ✗✜❧✍✟ ♥✥✟✌✘♦

✎✦❧✟✕ ❧✟✓✚ ❣✔✛ ✚✧ q ✍✟ ✈✢✟✟✣✤ ❞★✑✟☛✱✟✓✩☛ 2m.5 n ♦✠✖ ✪✎ ✍✟ ❣✟✠✚✟ ❣✔; ✜❣✟ t m,  n ➼✑✟✠✚✕ ✎✏✑✟✟✒✍

❣✔✓✛

• ✌✟☛ ✘❡✗✜✙ ✗✍ x = 
p

q  ✙✍ ✎✗✕✌✠✤ ❧✓✱✤✟ ✫❧ ✎✦✍✟✕ ❣✔ ✗✍ q ✍✟ ✈✢✟✟✣✤ ❞★✑✟☛✱✟✓✩☛ 2m.5n ♦✠✖

✪✎ ✍✟ ☛❣❡✓ ❣✔; ✜❣✟t m, n ➼✑✟✠✚✕ ✎✏✑✟✟✒✍ ❣✔✓✛ ✚✧✬ x ✍✟ ✈❧✟✓✚ ✈✟♦✚❡✭ ♥✥✟✌✘♦ ✎✦❧✟✕ ❣✟✠✚✟ ❣✔✛

(B) ❝✮✯ ✰✲✳✴✵✶✷ ✵✸✹✺

❢✻✼ ✽✾✼ ✿❀❁ ❢❂❃❄❅❀❆❇ ❈❆❇ ❉❆ ❉✽❊ ❋●❀❁ ✿✾❢❍✼ :

✵✸✰■❏✹❑▲▲ ✵ ✸✹✺ ▼ : ✎✗✕✌✠✤ ❧✓✱✤✟ 2
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2 .5
✍✟ ♥✥✟✌✘♦ ✎✦❧✟✕ ✗☛◆☛✗✘✗✱✟✚ ♦✠✖ ✧✟♥ ❧✌✟❖✚ ❣✟✠✚✟ ❣✔

(A)  ✙✍ ♥✥✟✌✘♦ P◗✟✟☛ (B) ♥✟✠ ♥✥✟✌✘♦ P◗✟✟☛

(C)  ✚❡☛ ♥✥✟✌✘♦ P◗✟✟☛ (D) ✚❡☛ ❧✠ ✈✗✡✍ ♥✥✟✌✘♦ P◗✟✟☛

✮❘  : ♠❙✟✕ (B)

✵✸✰■❏✹❑▲▲ ✵✸✹✺ ❚ : ✤✏✗❯✘✩❡✤ ✗♦✢✟✟✜☛ ✎✦✌✠✗✤✍✟ ✍❣✚❡ ❣✔ ✗✍ ♥✟✠ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠✓ a ✈✟✔✕ b ♦✠✖

✗✘✙✬ ✙✠❧✠ ✈✗❱✚❡✤ ✎✏✑✟✟✒✍✟s❲ q ✈✟✔✕ r ✍✟ ✈✗P✚☞♦ ❣✔ ✗✍ a = bq + r, ✜❣✟t   r ✗☛◆☛✗✘✗✱✟✚ ✍✟✠ ✈♦✥✤

❣❡ ❧✓✚★❳❨ ✍✕✠❞✟

(A)    1 < r < b                       (B)   0 < r ❩ b

(C)    0 ❩ r ❬ b (D) 0 < r ❬ b

✮❘  : ♠❙✟✕ (C)

✵✸✹✺❑✲❘✶ 1.1

❢❍❭❍❢❪❢❫❀❴ ❅❵❛❍❀❆ ❇ ❈❆❇❜ ❢✻✼ ✽✾✼ ✿❀❁ ❢❂❃❄❅❀❆❇ ❈❆ ❇ ❉❆❇ ❉✽❊ ❋●❀❁ ✿✾❢❍✼ ❤

1. ✗✍❧❡ ✎✏✑✟✟✒✍ m ♦✠✖ ✗✘✙, ✎✦☞✤✠✍ ❧✌ ✎✏✑✟✟✒✍ ✗☛◆☛✗✘✗✱✟✚ ✪✎ ✍✟ ❣✟✠✚✟ ❣✔

(A) m (B) m + 1

(C) 2m (D) 2m + 1

2. ✗✍❧❡ ✎✏✑✟✟✒✍ q ♦✠✖ ✗✘✙, ✎✦☞✤✠✍ ✗♦❳✟✌ ✎✏✑✟✟✒✍ ✗☛◆☛✗✘✗✱✟✚ ✪✎ ✍✟ ❣✟✠✚✟ ❣✔

(A) q (B) q + 1

(C) 2q (D) 2q + 1
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3. ❧✓✱✤✟ n2 – 1, 8 ❧✠ ✗♦✢✟✟✣✤ ❣✟✠✚❡ ❣✔  , ✤✗♥ n ❣✔ ✙✍

(A) ✎✏✑✟✟✒✍ (B) ✎✦✟♦✐✖✚ ❧✓✱✤✟

(C) ✗♦❳✟✌ ❧✓✱✤✟ (D) ❧✌ ❧✓✱✤✟

4. ✤✗♥ 65 ✈✟✔✕ 117 ♦✠✖ HCF ✍✟✠ 65m – 117 ♦✠✖ ✪✎ ✌✠✓ ✟✤❯✚ ✗✍✤✟ ✜✟ ❧♦✠✖✬✚✟✠ m ✍✟ ✌✟☛ ❣✔

(A) 4 (B) 2

(C) 1 (D) 3

5. ♦❣ ❧✧❧✠ ✧✩ ✠❡ ❧✓✱✤✟✬ ✗✜❧❧✠ 70 ✈✟✔✕ 125 ✍✟✠ ✗♦✢✟✟✗✜✚ ✍✕☛✠ ✎✕ ❞✌✥✟✡ ✥✟✠❳✟✎✖✘ 5 ✈✟✔✕ 8

✎✦✟❖✚ ❣✟✓ ✠, ❣✔

(A) 13 (B) 65

(C) 875 (D) 1750

6. ✤✗♥ ♥✟✠ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠ ✓ a ✈✟✔✕ b ✍✟✠ a = x3y2 ✈✟✔✕ b = xy3 ♦✠✖ ✪✎ ✌✠✓ ✟✤❯✚ ✗✍✤✟ ✜✟✙✬

✜❣✟t x ✈✟✔✕  y ✈✢✟✟✣✤ ❧✓✱✤✟✙t ❣✓ ✔, ✚✟✠ HCF (a, b) ❣✔

(A) xy (B) xy 2 (C) x 3y 3 (D) x 2y 2

7. ✤✗♥ ♥✟✠ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠ ✓ p ✈✟✔✕ q ✍✟✠ p = ab2 ✈✟✔✕ q = a3b ♦✠✖ ✪✎ ✌✠✓ ✟✤❯✚ ✗✍✤✟ ✜✟ ❧✍✚✟

❣✔, ✜❣✟t a ✈✟✔✕ b ✈✢✟✟✣✤ ❧✓✱✤✟✙t ❣✔✓✬ ✚✟✠ LCM (p, q) ❣✔

(A) ab (B) a2b2 (C) a3b2     (D) a3b3

8. ✙✍ ✥✟✏✱✤✠✚✕ ✎✗✕✌✠✤ ❧✓✱✤✟ ✈✟✔✕ ✙✍ ✈✎✗✕✌✠✤ ❧✓✱✤✟ ✍✟ ❞★✑✟☛✎✖✘ ❣✟✠✚✟ ❣✔

(A) ❧♥✔♦ ✈✎✗✕✌✠✤ ❧✓✱✤✟ (B) ❧♥✔♦ ✎✗✕✌✠✤ ❧✓✱✤✟

(C) ✎✗✕✌✠✤ ✤✟ ✈✎✗✕✌✠✤ ❧✓✱✤✟ (D) ✙✍

9. 1 ❧✠ ❧☛ ✚✍ ✍❡ ❧✓✱✤✟✈✟✠✓ ☞♥✟✠☛✟✠✓ ❧✗◆✌✗✘✚ ❣✔✓✌ ✌✠✓ ❧✠ ❧✢✟❡ ❧✓✱✤✟✈✟✠✓ ❧✠ ✗♦✢✟✟✣✤ ✱✤✏☛✚✌ ❧✓✱✤✟ ❣✔

(A) 10 (B) 100 (C) 504 (D) 2520

10. ✎✗✕✌✠✤ ❧✓✱✤✟  
14587

1250
 ✍✟ ♥✥✟✌✘♦ ✎✦❧✟✕ ✗☛◆☛✗✘✗✱✟✚ ✗✍☛ ♥✥✟✌✘♦ P◗✟✟☛✟✠✓ ♦✠✖ ✧✟♥ ❧✌✟❖✚

❣✟✠ ✜✟✙❞✟

(A) ✙✍ (B) ♥✟✠

(C) ✚❡☛ (D) ♣✟✕

(C) ■✳▲ ✲r✍ ✎❑✏❑ ✎✑✰✒❑✓■ ✔✕❑✖✶✷ ✵✸✹✺

✗✘✙✚✛✜✢✣ ✗✘✜✤ 1: ✜✧ ✙✍ ✡☛✟☞✌✍ ✎✏✑✟✟✭✓✍ a ✍✟✠ 3  ❧✠ ✢✟✟❞ ✗♥✤✟ ✜✟✚✟ ❣✔✬ ✚✟✠ ✥✟✠❳✟✎✖✘ r ♦✠✖ ✌✟☛

♦✠✖♦✘ 0 ✈✟✔✕ 1 ❣✟✠ ❧✍✚✠ ❣✔✓✛ ✈✎☛✠ ♠❙✟✕ ✍✟ ✈✟✔✗♣☞✤ ♥❡✗✜✙✛
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❣� : ☛❣❡✓✛

✤✏✗❯✘✩❡✤ ✗♦✢✟✟✜☛ ✎✦✌✠✗✤✍✟ ♦✠✖ ✈☛★❧✟✕✬

a = 3q + r, ✜❣✟t 0 ✁  r < 3 ❣✔ ✈✟✔✕ r ✙✍ ✎✏✑✟✟✒✍ ❣✔✛ ✈✚✡ r ♦✠✖ ✌✟☛ 0, 1 ✤✟  2 ❣✟✠ ❧✍✚✠ ❣✔✓✛

✗✘✙✚✛✜✢✣ ✗✘✜✤ 2: ❯✤✟ ❧✓✱✤✟ 6n ✜❣✟t, n ✙✍ ✎✦✟✱✚ ❧✓✱✤✟ ❣✔✬ ✈✓✍ 5 ✎✕ ❧✌✟❖✚ ❣✟✠ ❧✍✚❡ ❣✔✐ ✍✟✕✑✟

♥❡✗✜✙✛

❣� : ☛❣❡✓✬ ❯✤✟✠✓✗✍ 6n = (2 × 3)n = 2n × 3n ❣✔, ✈◗✟✟✭✚ 6n ♦✠✖ ❞★✑✟☛✱✟✓✩☛ ✌✠✓ ✈✟☛✠ ♦✟✘❡ ✈✢✟✟✣✤ ❧✓✱✤✟✙t

♦✠✖♦✘ 2 ✈✟✔✕ 3 ❣✔✓✬ 5 ☛❣❡✓ ❣✔✛ ✈✚✡✬ ✤❣ ❧✓✱✤✟ ✉ ✎✕ ❧✌✟❖✚ ☛❣❡✓ ❣✟✠ ❧✍✚❡✛

✵✸✹✺❑✲❘✶ 1.2

1. ❯✤✟ ✎✦☞✤✠✍ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ 4q + 2 ♦✠✖ ✪✎ ✍✟ ❣✟✠ ❧✍✚✟ ❣✔ , ✜❣✟ t q ✙✍ ✎✏✑✟✟✭✓✍ ❣✔✐ ✈✎☛✠ ♠❙✟✕

✍✟ ✈✟✔✗♣☞✤ ♥❡✗✜✙✛

2. “♥✟✠ ❞✌✟❞✚ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠✓ ✍✟ ❞★✑✟☛✎✖✘ 2 ❧✠ ✗♦✢✟✟✣✤ ❣✔✛ ” ❯✤✟ ✤❣ ✍◗✟☛ ❧☞✤ ❣✔ ✤✟

✈❧☞✤? ✍✟✕✑✟ ♥❡✗✜✙✛

3. “✚❡☛ ❞✌✟❞✚ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠✓ ✍✟ ❞★✑✟☛✎✖✘ 6 ❧✠ ✗♦✢✟✟✣✤ ❣✔✛” ❯✤✟ ✤❣ ✍◗✟☛ ❧☞✤ ❣✔ ✤✟

✈❧☞✤? ✈✎☛✠ ♠❙✟✕ ✍✟ ✈✟✔✗♣☞✤ ♥❡✗✜✙✛

4. ✗✘✗✱✟✙ ✗✍ ❯✤✟ ✗✍❧❡ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ ✍✟ ♦❞✭ 3m + 2 ♦✠✖ ✪✎ ✍✟ ❣✟✠ ❧✍✚✟ ❣✔, ✜❣✟t m ✙✍

✎✦✟♦✐✖✚ ❧✓✱✤✟ ❣✔✛ ✈✎☛✠ ♠❙✟✕ ✍✟ ✈✟ ✔✗♣☞✤ ♥❡✗✜✙✛

5. ✙✍ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ 3q + 1 ♦✠✖ ✪✎ ✍✟ ❣✔, ✜❣✟t q ✙✍ ✎✦✟✱✚ ❧✓✱✤✟ ❣✔✛ ❯✤✟ ✫❧♦✠✖ ♦❞✭ ✍✟✠

3m + 1 ❧✠ ✗✢✟✱☛ ✪✎ ✌✠✓✬ ✈◗✟✟✭✚❧ 3m ✤✟  3m + 2 ♦✠✖ ✪✎ ✌✠✓ ✗✘✱✟ ❧✍✚✠ ❣✔✓✬ ✜❣✟t m ✍✟✠✫✭ ✎✏✑✟✟✒✍

❣✔? ✈✎☛✠ ♠❙✟✕ ✍✟ ✈✟✔✗♣☞✤ ♥❡✗✜✙✛

6. ♥✟✠☛✟✠✓ ❣❡ ❧✓✱✤✟✙t 525 ✈✟✔✕ 3000 ♦✠✖♦✘ 3, 5, 15, 25 ✈✟✔✕ 75 ❧✠ ✗♦✢✟✟✣✤ ❣✔✓✛ HCF (525, 3000)

❯✤✟ ❣✔? ✈✎☛✠ ♠❙✟✕ ✍✟ ✈✟✔✗♣☞✤ ♥❡✗✜✙✛

7. P✎❳❨ ✍❡✗✜✙ ✗✍ 3 × 5 × 7 + 7 ✙✍ ✢✟✟✣✤ ❧✓✱✤✟ ❯✤✟✠✓ ❣✔✛

8. ❯✤✟ ✗✍✱❣❡✓ ♥✟✠ ❧✓✱✤✟✈✟✠✓ ✍✟ HCF 18 ✈✟✔✕ LCM 380 ❣✟✠ ❧✍✚✟ ❣✔? ✍✟✕✑✟ ♥❡✗✜✙✛

9. ✗✧☛✟ ✘✓✧❡ ✗♦✢✟✟✜☛ ✎✦✗❞✤✟ ✗✍✙✬ ❢✟✚ ✍❡✗✜✙ ✗✍ ❯✤✟
987

10500
 ✍✟ ♥✥✟✌✘♦ ✎✦❧✟✕ ❧✟✓✚ ❣✟✠❞✟

✤✟ ✈❧✟✓✚ ✈✟♦✚❡✭ ❣✟✠❞✟✛ ✈✎☛✠ ♠❙✟✕ ♦✠✖ ✗✘✙ ✍✟✕✑✟ ♥❡✗✜✙✛
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10. ✙✍ ✎✗✕✌✠✤ ❧✓✱✤✟ ✍✟ ♥✥✟✌✘♦ ✎✦❧✟✕ 327.7081 ❣✔✛ ✜✧ ✫❧ ❧✓✱✤✟ ✍✟✠
p

q
 ♦✠✖ ✪✎ ✌✠✓ ✟✤❯✚

✗✍✤✟ ✜✟✙❞✟✬ ✚✟✠ ✈✟✎ q ♦✠✖ ✈✢✟✟✣✤ ❞★✑✟☛✱✟✓✩✟✠✓ ♦✠ ✖ ✧✟✕✠ ✌✠✓ ❯✤✟ ✍❣ ❧✍✚✠ ❣✔✓✐ ✍✟✕✑✟ ♥❡✗✜✙✛

(D) ✎✑✰✒❑✓■ ✔✕❑✖✶✷ ✵✸✹✺

✗✘✙✚✛✜✢✣ ✗✘✜✤ 1: ✤✏✗❯✘✩ ✍❡ ✗♦✢✟✟✜☛ ✙❀❞✟✠✗✕◗✌ ✍✟ ✎✦✤✟✠❞ ✍✕✚✠ ❣★✙✬ ❢✟✚ ✍❡✗✜✙ ✗✍ ✗☛◆☛✗✘✗✱✟✚

✌✠✓ ❧✠ ✍✟✔☛ ❧✠ ❧✓✱✤✟❡✤★�✌ ❧❣✈✢✟✟✣✤ ❣✔✓✡

(i) 231, 396         (ii) 847, 2160

❣�  : ✈✟✫✙✬ ❧✓✱✤✟✈✟✠✓ ♦✠✖ ✎✦☞✤✠✍ ✤★�✌ ✍✟ HCF ❢✟✚ ✍✕✠✓✛

(i) 396 = 231 × 1 + 165

231 = 165 × 1 + 66

165 = 66 × 2 + 33

66 = 33 × 2 + 0

✈✚✡✬ HCF = 33 ❣✔✛ ✫❧✗✘✙ ❧✓✱✤✟✙t ❧❣✈✢✟✟✣✤ ☛❣❡✓ ❣✔✓✛

(ii) 2160 = 847 × 2 + 466

847 = 466 × 1 + 381

466 = 381 × 1 + 85

381 = 85 × 4   + 41

85   = 41 × 2   +  3

41   =   3 × 13 +  2

3     =   2 × 1  +  1

2     =   1 × 2  +  0

✈✚✡✬ HCF = 1 ❣✔✛ ✫❧✗✘✙ ❧✓✱✤✟✙t ❧❣✈✢✟✟✣✤ ❣✔✓✛

✗✘✙✚✛✜✢✣ ✗✘✜✤ 2: ♥✥✟✟✭✫✙ ✗✍ ✗✍❧❡ ✎✏✑✟ ✭ ❧✓✱✤✟ m ♦✠✖ ✗✘✙ ✙✍ ✗♦❳✟✌ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ ✍✟ ♦�✟✭

8m + 1 ♦✠✖ ✪✎ ✍✟ ❣✟✠✚✟ ❣✔✛

❣� : ✍✟✠✫✭ ✢✟❡ ✡☛✟☞✌✍ ✗♦❳✟✌ ✎✏✑✟✟✒✍ 2q + 1 ♦✠✖ ✪✎ ✍✟ ❣✟✠✚✟ ❣✔✬ ✜❣✟t q ✙✍ ✎✏✑✟✭ ❧✓✱✤✟ ❣✔✛

✈✚✡✬    (2q + 1) 2 = 4q2 + 4q + 1 = 4q (q + 1) + 1  (1)
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✵✸✹✺❑✲❘✶ 1.4

1. ♥✥✟✟✭✫✙ ✗✍ 6q+ r ♦✠✖ ✪✎ ♦✠✖ ✙✍ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ ✍✟ ♦✟☛ ✢✟❡✬ ✜❣✟t q ✙✍ ✎✏✑✟✟✒✍ ❣✔ ✚◗✟✟

r = 0,1, 2, 3, 4, 5 ❣✔✓✬ 6m+r ♦✠✖ ✪✎ ✍✟ ❣✟✠✚✟ ❣✔✛ ✜❣✟t m ✙✍ ✎✏✑✟✟✒✍ ❣✔✛

2. ✗❧❢ ✍❡✗✜✙ ✗✍ n, n + 2 ✈✟✔✕   n + 4 ✌✠✓ ❧✠ ✙✍ ✈✟✔✕ ♦✠✖♦✘ ✙✍ ❣❡ 3 ❧✠ ✗♦✢✟✟✣✤ ❣✔, ✜❣✟t n

✍✟✠✫✭ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ ❣✔✛

3. ✗❧❢ ✍❡✗✜✙ ✗✍ ✗✍✱❣❡✓ ✚❡☛ ❞✌✟❞✚ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍✟✠✓ ✌✠✓✓ ❧✠ ✙✍ ✎✏✑✟✟✒✍ 3 ❧✠ ✈♦✥✤ ❣❡ ✗♦✢✟✟✣✤

❣✟✠☛✟ ♣✟✗❣✙✛

4. ✗❧❢ ✍❡✗✜✙ ✗✍ ✗✍❧❡ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ n ♦✠✖ ✗✘✙ ❧✓✱✤✟  n3 – n✬ ✻ ❧✠ ✗♦✢✟✟✣✤ ❣✔✛

5. ♥✥✟✟✭✫✙ ✗✍ n, n + 4, n + 8, n + 12 ✈✟✔✕ n + 16 ✌✠✓ ❧✠ ✙✍ ✈✟✔✕ ♦✠✖♦✘ ✙✍ ❣❡ 5 ❧✠ ✗♦✢✟✟✣✤

❣✔, ✜❣✟t n ✍✟✠✫✭ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ ❣✔✛

[❧�✁✂✄✚ : ✗✍❧❡ ✢✟❡ ✡☛✟☞✌✍ ✎✏✑✟✟✒✍ ✍✟✠ 5q, 5q + 1, 5q + 2, 5q + 3, 5q + 4 ♦✠✖ ✪✎ ✌✠✓ ✗✘✱✟✟

✜✟ ❧✍✚✟ ❣✔✛]





✐�✁✂ ✐�✄☎✁✆✝✞✆10

✟✠✡☛☞✌✍✎ ✟✠✌✏ 2: ❢✑✒✓✒✒✔ ✕✖✗✘✙  ax 3 + bx2 + cx + d ✥✚✛ ✙✒✚ ✜✒✢✣✤✦ 0 ❢✙✧ ✖★✩✪ ✔✫✬✭✒ ✜✒✢✣✤✦ ✖★

(A)
–b

a
(B)

b

a
(C)

c

a
(D) – 

d

a

❣✮ : ♠✯✒✭ (A) [❧✰✱✲✳☛:❉✤✒✚✩ ❢✦ ✤❢✙ ✔✫✬✭✒ ✜✒✢✣✤✦  ✴ ✖★✵ ✔✒✚ ✜✒✢✣✤✦✒✚✩ ✦✒ ✤✒✚✶  = ✴ + 0 + 0 =  
–b

a
✖★✪]

✷✸✹✺✻✼✽✾ 2.1

✿❀❁❀✿❂✿❃❄❅ ❆❇❈❀❄❊❋ ●❊❋ ✿❍■ ❏❑■ ▲❄▼ ✿◆❖P❆❄❊❋ ●❊❋ ◗❊ ◗❏❘ ❙❚❄▼ ▲❑✿❀■ ❯

1. ✤❢✙ ❢❱✓✒✒✔ ✕✖✗✘✙ (k–1) x2 + k x + 1 ✥✚✛ ✜✒✢✣✤✦✒✚✩ ♦✚✩ ✬✚ ✧✦ ✜✒✢✣✤✦ –3 ✖★✵ ✔✒✚ k ✦✒ ♦✒❞ ✖★

(A)
4

3
(B)

–4

3
(C)

2

3
(D)

–2

3

2. ✜✒✢✣✤✦ –3 ✈✒★✭ 4 ✥✒❲✒ ❢❱✓✒✒✔ ✕✖✗✘✙ ✖★

(A) x2 – x + 12 (B) x2 + x + 12

(C)

2

– – 6
2 2

x x
(D) 2x2 + 2x –24

3. ✤❢✙ ❢❱✓✒✒✔ ✕✖✗✘✙ x2 + (a + 1) x + b ✥✚✛ ✜✒✢✣✤✦ 2 ✈✒★✭ –3 ✖★✩✵ ✔✒✚

(A) a = –7, b = –1 (B) a = 5, b = –1

(C) a = 2, b = – 6 (D) a = 0, b = – 6

4 . ✜✒✢✣✤✦ –2 ✈✒★✭ 5 ✥✒❲✚ ✕✖✗✘✙✒✚ ✩ ✦✫ ✬✩❳✤✒ ✖★

(A) 1 (B) 2 (C) 3 (D)   3 ✬✚ ✈❢❨✦

5. ❢✑✒✓✒✒✔ ✕✖✗✘✙ ax3 + bx2 + cx + d ✦✒ ✧✦ ✜✒✢✣✤✦ 0 ❢✙✤✒ ✖✗✈✒ ✖★✪ ✈✣✤ ✙✒✚❞✒✚✩ ✜✒✢✣✤✦✒✚✩ ✦✒

✶✗①✒❞✘✛❲ ✖★

(A) –
c

a
(B)

c

a
(C) 0 (D)  –

b

a

6. ✤❢✙ ❢✑✒✓✒✒✔ ✕✖✗✘✙ x3 + ax2 + bx + c ✦✒ ✧✦ ✜✒✢✣✤✦ –1 ✖★, ✔✒✚ ✈✣✤ ✙✒✚❞✒✚✩ ✜✒✢✣✤✦✒✚✩ ✦✒ ✶✗①✒❞✘✛❲ ✖★

(A) b – a + 1 (B)  b – a – 1 (C)  a – b + 1   (D)  a – b –1

7. ❢❱✓✒✒✔ ✕✖✗✘✙ x2 + 99x + 127 ✥✚✛ ✜✒✢✣✤✦ ✖★✩

(A)    ✙✒✚❞✒✚✩ ❨❞✒♥♦✦ (B)  ✙✒✚❞✒✚✩ ❩①✒✒♥♦✦

(C)    ✧✦ ❨❞✒♥♦✦ ✈✒★✭ ✧✦ ❩①✒✒♥♦✦ (D) ✙✒✚❞✒✚✩ ✕✭✒✕✭
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8. ❢❱✓✒✒✔ ✕✖✗✘✙ x2 + kx + k, k ✆ 0 ✥✚✛ ✜✒✢✣✤✦

(A) ✙✒✚❞✒✚✩ ❨❞✒♥♦✦ ❞✖✫✩ ✖✒✚ ✬✦✔✚ (B) ✙✒✚❞✒✚✩ ❩①✒✒♥♦✦ ❞✖✫✩ ✖✒✚ ✬✦✔✚

(C) ✬✙★✥ ✈✬♦✒❞ ✖✒✚✔✚ ✖★✩ (D) ✬✙★✥ ✕✭✒✕✭ ✖✒✚✔✚ ✖★✩

9.✤❢✙ ❢❱✓✒✒✔ ✕✖✗✘✙ ax2 + bx + c, c ✆ 0 ✥✚✛ ✜✒✢✣✤✦ ✕✭✒✕✭ ✖★✩✵ ✔✒✚

(A) c ✈✒★✭ a ❢✥✘✭✫✔ ❢❢✣✖✒✚ ✩ ✥✚✛ ✖★✩ (B) c ✈✒★✭ b ❢✥✘✭✫✔ ❢❢✣✖✒✚ ✩ ✥✚✛ ✖★ ✩

(C) c ✈✒★✭ a ✧✦ ✖✫ ❢❢✣✖ ✥✚✛ ✖★ ✩ (D) c ✈✒★✭ b ✧✦ ✖✫ ❢❢✣✖ ✥✚✛ ✖★✩

10.✤❢✙ x2+ax + b ✥✚✛ ♦✘ ✥✚✛ ✧✦ ❢❱✓✒✒✔ ✕✖✗✘✙ ✦✒ ✧✦ ✜✒✢✣✤✦ ✙✢✬✭✚ ✜✒✢✣✤✦ ✦✒ ❩①✒✒♥♦✦

✖✒✚✵ ✔✒✚

(A) ❜✬♦✚✩ ✦✒✚❜✂ ✭★❢❳✒✦ ✘✙ ❞✖✫✩ ✖✒✚✔✒ ✔✄✒✒ ✈❢✭ ✘✙ ❩①✒✒♥♦✦ ✖✒✚✔✒ ✖★

(B) ❜✬♦✚✩ ✦✒✚❜✂ ✭★❢❳✒✦ ✘✙ ❞✖✫✩ ✖✒✚✔✒ ✔✄✒✒ ✈❢✭ ✘✙ ❨❞✒♥♦✦ ✖✒✚✔✒ ✖★

(C) ❜✬✦✒ ✭★❢❳✒✦ ✘✙ ✖✒✚ ✬✦✔✒ ✖★✵ ✘✭✩✔✗ ✈❢✭ ✘✙ ❩①✒✒♥♦✦ ✖✒✚✔✒ ✖★

(D) ❜✬✦✒ ✭★❢❳✒✦ ✘✙ ✖✒✚ ✬✦✔✒ ✖★✵ ✘✭✩✔✗ ✈❢✭ ✘✙ ❨❞✒♥♦✦ ✖✒✚✔✒ ✖★

11. ❢❞☎❞❢❲❢❳✒✔ ♦✚✩ ✬✚ ✦✒★❞ ✧✦ ❢❱✓✒✒✔ ✕✖✗✘✙ ✦✒ ✈✒❲✚❳✒ ❞✖✫✩ ✖★✝

(A)       (B)       

(C)        (D)
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(C) r✼ �✁ ✼ ✂✁ ✄✻☎✻ ✄✆✝✞✻✟r ✠✡✻☛✾☞ ✷✸✹✺

✟✠✡☛☞✌✍✎ ✟✠✌✏ 1: ❉✤✒ ✕✖✗✘✙ p (x) ✦✒✚ 2x + 3 ✬✚ ✥✒✒✶ ✙✚❞✚ ✘✭ ✜✒✚✌✒✘✛❲  x – 1 ✖✒✚ ✬✦✔✒ ✖★✝ ✈✘❞✚

♠✯✒✭ ✦✒ ✈✒★❢❢♥✤ ✙✫❢♠✧✪

❣✮ : ❞✖✫✩✵ ❉✤✒✚✩❢✦ ✓✒✒✔ (x – 1) = 1 = ✓✒✒✔ (2x + 3)

✟✠✡☛☞✌✍✎ ✟✠✌✏  2: ❉✤✒ ❢❞☎❞❢❲❢❳✒✔ ✦✄✒❞ ✬♥✤ ✖★ ✤✒ ✈✬♥✤✝ ✈✘❞✚ ♠✯✒✭ ✦✒ ✈✒★❢❢♥✤ ✙✫❢♠✧✪

✤❢✙ ✧✦ ❢❱✓✒✒✔ ✕✖✗✘✙ ax2 + bx + c ✥✚✛ ✙✒✚❞✒✚✩ ✜✒✢✣✤✦ ❩①✒✒♥♦✦ ✖★✩✵ ✔✒✚ a, b ✈✒★✭ c ♦✚✩ ✬✚ ✘❡♥✤✚✦ ✦✒

✧✦ ✖✫ ❢❢✣✖ ✖✒✚✔✒ ✖★✪

❣✮ : ✬♥✤✵ ❉✤✒✚ ✩❢✦ –
b

a
 = ✜✒✢✣✤✦✒✚✩ ✦✒ ✤✒✚✶ < 0, ❜✬❢❲✧

b

a
 > 0 ✖★✪ ✬✒✄✒ ✖✫✵ ✜✒✢✣✤✦✒✚✩ ✦✒ ✶✗①✒❞✘✛❲

= 
c

a
 > 0 ✖★✪

✷✸✹✺✻✼✽✾ 2.2

1. ❢❞☎❞❢❲❢❳✒✔ ✘❡✜❞✒✚✩ ✥✚✛ ♠✯✒✭ ✙✫❢♠✧ ✈✒★✭ ♠❞✦✒ ✈✒★❢❢♥✤ ✙✫❢♠✧ ❯

(i) ❉✤✒ x6 + 2x3 + x – 1 ✦✒✚ x ♦✚✩ ✓✒✒✔ 5 ✥✚✛ ✧✦ ✕✖✗✘✙ ✬✚ ✥✒✒✶ ✙✚❞✚ ✘✭ ✥✒✒✶✘✛❲

 x2 – 1 ✖✒✚ ✬✦✔✒ ✖★?

(ii) ax2 + bx + c ✦✒✚ px 3 + qx2 + rx + s, p ✆ 0 ✬✚ ✥✒✒✶ ✙✚❞✚ ✘✭ ✥✒✒✶✘✛❲ ✈✒★✭ ✜✒✚✌✒✘✛❲ ❉✤✒

✖✒✚✩✶✚?

(iii) ✤❢✙ ✕✖✗✘✙  p (x) ✦✒✚ ✕✖✗✘✙ g (x) ✬✚ ✥✒✒✶ ✙✚❞✚ ✘✭ ✥✒✒✶✘✛❲ ✜✒✢✣✤ ✖✒✚✵ ✔✒✚  p (x) ✈✒★✭

g (x) ✦✫ ✓✒✒✔✒✚✩ ♦✚✩ ❉✤✒ ✬✩✕✩❨ ✖★ ?

(iv) ✤❢✙ ✧✦ ✜✒✢✣✤✚✔✭ ✕✖✗✘✙  p (x) ✦✒✚ ✧✦ ✕✖✗✘✙ g (x) ✬✚ ✥✒✒✶ ✙✚❞✚ ✘✭ ✜✒✚✌✒✘✛❲ ❧ ✖✒✚✵ ✔✒✚

p (x) ✈✒★✭  g (x) ✦✫ ✓✒✒✔✒✚✩ ♦✚ ✩ ❉✤✒ ✬✩✕✩❨ ✖★?

(v) ❉✤✒ ❢✦✬✫ ❢✥✌✒♦ ✘✢①✒✒❉✦ k > 1 ✥✚✛ ❢❲✧✵ ❢❱✓✒✒✔ ✕✖✗✘✙  x2 + kx + k ✥✚✛ ✕✭✒✕✭ ✜✒✢✣✤✦

✖✒✚ ✬✦✔✚ ✖★✩?

2. ❉✤✒ ❢❞☎❞❢❲❢❳✒✔ ✦✄✒❞ ✬♥✤ ✖★✩ ✤✒ ✈✬♥✤✝ ✈✘❞✚ ♠✯✒✭✒✚✩ ✥✚✛ ❢❲✧ ✈✒★❢❢♥✤ ✙✫❢♠✧✪

(i) ✤❢✙ ✧✦ ❢❱✓✒✒✔ ✕✖✗✘✙ ax2 + bx  + c ✥✚✛ ✙✒✚❞✒✚ ✩ ✜✒✢✣✤✦ ❨❞✒♥♦✦ ✖★✩✵ ✔✒✚ a, b ✈✒★✭ c ♦✚✩ ✬✚

✬✥✒✫ ✦✒ ✬♦✒❞ ❢❢✣✖ ✖✒✚✔✒ ✖★✪

(ii) ✤❢✙ ✧✦ ✕✖✗✘✙ ✦✒ ✈✒❲✚❳✒ x-✈✈✒ ✦✒✚ ✥✚✛✥❲ ✧✦ ✖✫ ❢✕✩✙✗ ✘✭ ✘❡❢✔✍✎✚✙ ✦✭✚✵ ✔✒✚ ✤✖ ✧✦

❢❱✓✒✒✔ ✕✖✗✘✙ ❞✖✫✩ ✖✒✚ ✬✦✔✒✪
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(iii) ✤❢✙ ✧✦ ✕✖✗✘✙ ✦✒ ✈✒❲✚❳✒ x-✈✈✒ ✦✒✚ ✈✫✦ ✙✒✚ ❢✕✩✙✗✈✒✚ ✩ ✘✭ ✘❡❢✔✍✎✚✙ ✦✭✔✒ ✖★✵ ✔✒✚ ✤✖

✈✒✥✜✤✦ ❞✖✫✩ ✖★ ❢✦ ✥✖ ✧✦ ❢❱✓✒✒✔ ✕✖✗✘✙ ✖✒✚✪

(iv) ✤❢✙ ✧✦ ❢✑✒✓✒✒✔ ✕✖✗✘✙ ✥✚✛ ✙✒✚ ✜✒✢✣✤✦✒✚✩ ♦✚✩ ✬✚ ✘❡♥✤✚✦ ✜✒✢✣✤ ✖★✵ ✔✒✚ ❜✬✥✚✛ ✭★❢❳✒✦ ✈✒★✭ ✈❢✭

✘✙ ❞✖✫✩ ✖✒✚ ✬✦✔✚✪

(v) ✤❢✙ ✧✦ ❢✑✒✓✒✒✔ ✕✖✗✘✙ ✥✚✛ ✬✥✒✫ ✜✒✢✣✤✦ ❩①✒✒♥♦✦ ✖★✩✵ ✔✒✚ ❜✬ ✕✖✗✘✙ ✥✚✛ ✬✥✒✫ ✶✗①✒✒✩✦ ✈✒★✭

✈❢✭ ✘✙ ✧✦ ✖✫ ❢❢� ✥✚✛ ✖✒✚✔✚ ✖★✩✪

(vi) ✤❢✙ ✧✦ ❢✑✒✓✒✒✔ ✕✖✗✘✙  x3 + ax2 – bx  + c ✥✚✛ ✔✫❞✒✚ ✩ ✜✒✢✣✤✦ ❨❞✒♥♦✦ ✖★✩✵ ✔✒✚ a, b ✈✒★✭

c ♦✚✩ ✬✚ ✦♦ ✬✚ ✦♦ ✧✦ ✈✥✜✤ ✖✫ ❩①✒✚✔✭ ✖✒✚✶✒✪

(vii)  k ✦✒ ✥✚✛✥❲ ✥✖ ♦✒❞ ❢♠✬✥✚✛ ❢❲✧ ❢❱✓✒✒✔ ✕✖✗✘✙ kx2 + x + k ✥✚✛ ✜✒✢✣✤✦ ✕✭✒✕✭ ✖★✩

✜✒✢✣✤✦
1

2
 ✖★✪

(D) ✄✆✝✞✻✟r ✠✡✻☛✾☞ ✷✸✹✺

✟✠✡☛☞✌✍✎ ✟✠✌✏ 1:✕✖✗✘✙ x2 + 
1

6
x  – 2 ✥✚✛ ✜✒✢✣✤✦ ♦✒✔ ✦✫❢♠✧ ✔✄✒✒ ❜✬ ✕✖✗✘✙ ✥✚✛ ✶✗①✒✒✩✦✒✚✩ ✈✒★✭

✜✒✢✣✤✦✒✚✩ ✥✚✛ ✕✫❢ ✥✚✛ ✬✩✕✩❨✒✚✩ ✦✒ ✬♥✤✒✘❞ ✦✫❢♠✧✪

❣✮ : x2 + 
1

6
x  –  2 = 

1

6
 (6x2 + x – 12) = 

1

6
 [6x2 + 9x – 8x – 12]

                = 
1

6
 [3x (2x + 3) – 4 (2x + 3)] = 

1

6
 (3x – 4) (2x + 3)

✈✔❯✵ ❢✙✧ ✖✗✧ ✕✖✗✘✙ ✥✚✛ ✜✒✢✣✤✦ 
4

3
 ✈✒★✭ 

3
–

2
 ✖★✩✪

❢✙✤✒ ✖✗✈✒ ✕✖✗✘✙  x2 + 
1

6
x – 2 ✖★✪

✜✒✢✣✤✦✒✚✩ ✦✒ ✤✒✚✶  = 
4

3
+ 

3 –1
–

2 6
= – 2

 

  

x

x

❞✁ ①✳q ✁✁ ❛❞

❞✁ ①✳q ✁✁❞❛
 ✔✄✒✒
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(i) ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✓✔✕✍ ✌✒✖✗ ✘☛✑✗☛ ✘✟ ;

(ii) ✓✔✕✍ ☞☛ ❀☛✙✑✡☛ ✚☞ ❀✠✛✗✎✓ ✠✜✒✢✔ ✣❥ ✣✤✠✗✥✦✑✢ ☞❥✧✑ ★☛✙✎ ❥✑✡☛☛❀☛✑✒ ☞☛ ✚☞ ✓✔✕✍ ✘☛✑✗☛

✘✟ ✗❣☛☛ ✓✘✎ ✣✤✠✗✥✦✑✢ ✠✜✒✢✔ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✓✔✕✍ ☞☛ ✘✙ ✣✤✢☛✧ ☞❥✗☛ ✘✟✪

(II) ✓✠✢  1 1 1

2 2 2

a b c

a b c
✘✟, ✗☛✑

(i) ❥ ✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✓✔✕✍ ❀✌✒✖✗ ✫✓☛ ✠★❥☛✑✬✎✭ ✘☛✑✗☛ ✘✟;

(ii)  ✓✘☛✮ ❀☛✙✑✡☛ ✌✍☛✒✗❥ ❥✑✡☛☛❀☛ ✑✒ ☞☛ ✚☞ ✓✔✕✍ ✘☛✑✖☛ ❀☛✟❥ ✯✌✠✙✚ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✯✌ ✓✔✕✍

☞☛ ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘☛✑✖☛✪

(III) ✓✠✢  1 1 1

2 2 2

a b c

a b c
✘✟, ✗☛✑

(i) ❥ ✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✓✔✕✍ ❀☛✠✰✗ ❀☛✟❥ ✌✒✖✗ ✘☛ ✑✗☛ ✘✟;

(ii) ✓✘☛✮ ❀☛✙✑✡☛ ✌✒✣☛✗✎ ❥✑✡☛☛❀☛✑✒ ☞☛ ✚☞ ✓✔✕✍ ✘☛✑✖☛✪ ✯✧ ❥✑✡☛☛❀☛✑✒ ✣❥ ✠✱❣☛✗ ✣✤✲✓✑☞ ✠✜✒✢✔ ✚☞

✘✙ ✘☛✑✖☛✪ ✯✌✠✙✚✳ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✯✌ ✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛✑✒✖✑✪

• ❥ ✟✠✡☛☞ ✌✍✎☞❥✏☛ ★✑✩ ✚☞ ✓✔✕✍ ☞☛✑ ✜✎✵✎✓ ✴✣ ✌✑ ✠✧✶✧✠✙✠✡☛✗ ✠★✠✬✓☛✑✒ ✍✑✒ ✌✑ ✠☞✌✎ ✚☞

✠★✠✬ ✌✑ ✘✙ ✠☞✓☛ ✵☛ ✌☞✗☛ ✘✟❢

(i) ✣✤✠✗✱❣☛☛✣✧ ✠★✠✬

(ii) ✠★✙☛✑✣✧ ✠★✠✬

(iii) ★✵✤♦✖✔✏☛✧ ✠★✠✬

• ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✓✔✕✍ ☞☛✑ ✷✓☛✠✍✗✎✓❅❀☛✙✑✡☛✎✓ ✠★✠✬ ✛☛❥☛ ✸☛✎ ✘✙ ✠☞✓☛ ✵☛ ✌☞✗☛ ✘✟✪

(B) ❝✹✺ ✻✼✽✾✿❁❂ ✿❃❄❆

❇❈❉ ❊❋❉ ●❍■ ❇❏❑▲▼❍◆❖ P◆❖ ◗◆ ◗❊❘ ❙❚❍■ ●❋❇❯❉ ❢

❱❲❳❨❩❬❭❪ ❱❲❬❫ ❴ : ✌✍✎☞❥✏☛ 5x – 15y = 8 ❀☛✟❥ 3x – 9y = 
24

5
 ★✑✩ ✓✔✕✍ ☞☛❅★s❵

(A) ✚☞ ✘✙ ✘✟ (B)  ✢☛✑ ✘✙ ✘✒✟

(C) ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘✟ (D) ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘✟
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❣✌ :  ♠✍☛❥ (C)

❱❲❳❨❩❬❭❪ ❱❲❬❫ ✐ : ✢☛✑ ❀✒☞☛✑✒ ☞✎ ✚☞ ✌✒✡✓☛ ★✑✩ ❀✒☞☛✑✒ ☞☛ ✓☛✑✖ 9 ✘✟✪  ✓✠✢ ✯✌✍✑✒ 27 ✵☛✑t✎✑✒✳ ✗☛ ✑ ✯✌ ✌✒✡✓☛

★✑✩ ❀✒☞ ✣✙♦ ✵☛✗✑ ✘✒✟✒✪ ★✘ ✌✒✡✓☛ ✘✟

(A) 25 (B) 72 (C) 63 (D) 36

❣✌ : ♠✍☛❥ (D)

✿❃❄❆✏✼✑❁ 3.1

❇❈❉ ❊❋❉ ●❍■ ❇❏❑▲▼❍◆❖ P◆❖ ◗◆ ◗❊❘ ❙❚❍■ ●❋❇❯❉ :

1. ❀☛✙✑✡☛✎✓ ✴✣ ✌✑✳

6x – 3y + 10 = 0

2x – y + 9 = 0

✌✍✎☞❥✏☛☛✑✒ ☞☛ ✓✔✕✍ ✢☛ ✑ ❥ ✑✡☛☛✚✮ ✠✧✴✠✣✗ ☞❥✗☛ ✘✟✳ ✵☛✑

(A) ❇✎☞ ✚☞ ✠✜✒✢✔ ✣❥ ✣✤✠✗✥✦✑✢ ☞❥✗✎ ✘✟✒ (B) ❇✎☞ ✢☛✑ ✠✜✒✢✔❀☛✑✒ ✣❥ ✣✤✠✗✥✦✑✢ ☞❥✗✎ ✘✟✒

(C) ✌✒✣☛✗✎ ✘✟✒ (D) ✌✍☛✒✗❥ ✘✒✟

2. ✌✍✎☞❥✏☛ x + 2y  + 5 = 0 ❀☛✟❥ –3x – 6y + 1 = 0 ★✑✩ ✓✔✕✍

(A)☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ ✘✟ (B) ★✑✩ ❇✎☞ ✢☛ ✑ ✘✙ ✘✟✒

(C) ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘✟✒ (D) ☞☛ ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘✟

3. ✓✠✢ ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑ ✒ ☞☛ ☞☛✑✯❞ ✓✔✕✍ ✌✒✖✗ ✘✟✳ ✗☛✑ ✯✌★✑✩ ❀☛✙✑✡☛ ☞✎ ❥✑✡☛☛✚✮ ✘☛✑✒✖✎

(A) ✌✍☛ ✒✗❥ (B) ✌✢✟★ ✌✒✣☛✗✎

(C) ✣✤✠✗✥✦✑✢✎ ✓☛ ✌✒✣☛✗✎ (D) ✌✢✟★ ✣✤✠✗✥✦✑✢✎

4. ✌✍✎☞❥✏☛  y = 0 ❀☛✟❥ y = –7 ★✑✩ ✓✔✕✍

(A) ☞☛ ✚☞ ✘✙ ✘✟ (B) ★✑✩ ✢☛✑ ✘✙ ✘✟✒

(C)  ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘✟✒ (D) ☞☛ ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘✟

5. ✌✍✎☞❥✏☛  x = a ❀☛✟❥ y = b  ☞☛ ✓✔✕✍ ❀☛✙✑✡☛✎✓ ✴✣ ✌✑ ★✑ ❥✑✡☛☛✚✮ ✠✧✴✠✣✗ ☞❥✗☛ ✘✟✳ ✵☛✑

(A) ✌✍☛✒✗❥ ✘✟✒ (B)  (b, a) ✣❥ ✣✤✠✗✥✦✑✢ ☞❥✗✎ ✘✟✒

(C)  ✌✒✣☛✗✎ ✘✟✒ (D) (a, b) ✣❥ ✣✤✠✗✥✦✑✢ ☞❥✗✎ ✘✟✒
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6. k ★✑✩ ✠☞✌ ✍☛✧ ★✑✩ ✠✙✚ ✌✍✎☞❥✏☛ 3x – y + 8 = 0 ❀☛✟❥ 6x – ky = –16 ✌✒✣☛✗✎ ❥✑✡☛☛✚✮ ✠✧✴✠✣✗

☞❥✗✑ ✘✟✒?

(A) 
1

2
(B) 

1
–

2
(C)  2 (D) –2

7. ✓✠✢ 3x + 2ky = 2 ❀☛✟❥ 2x + 5y + 1 = 0 ✛☛❥☛ ✢✎ ✵☛✧✑ ★☛✙✎ ❥✑✡☛☛✚✮ ✣❥✱✣❥ ✌✍☛✒✗❥ ✘✟✒✳ ✗☛✑ k

☞☛ ✍☛✧ ✘✟

(A)
–5

4
(B) 

2

5
(C)  

15

4
(D) 

3

2

8. c ☞☛ ★✘ ✍☛✧✳ ✠✵✌★✑✩ ✠✙✚ ✌✍✎☞❥✏☛☛✑✒ cx – y = 2 ❀☛✟❥ 6x – 2y = 3 ★✑✩ ✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗

✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛✑✒✖✑✳ ✘✟

(A) 3 (B) – 3 (C) –12 (D) ☞☛✑✯❞ ✍☛✧ ✧✘✎✒

9. ❀☛✠✰✗ ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✓✔✕✍ ☞☛ ✚☞ ✌✍✎☞❥✏☛ –5x + 7y = 2 ✘✟✪ ✢ ♥✌❥☛ ✌✍✎☞❥✏☛ ✘☛✑

✌☞✗☛ ✘✟

(A) 10x + 14y + 4 = 0 (B) –10x – 14y + 4 = 0

(C)  –10x + 14y + 4 = 0 (D) 10x – 14y = –4

10. ✚☞ ❀✠✛✗✎✓ ✘✙ x = 2, y = –3 ★☛✙✑ ✌✍✎☞❥✏☛ ☞☛ ✚☞ ✓✔✕✍ ✘✟

(A) x + y = –1 (B) 2x + 5y = –11

  2x – 3y = –5       4x + 10y = –22

(C) 2x – y = 1 (D) x – 4y –14 = 0

   3x + 2y = 0       5x – y – 13 = 0

11. ✓✠✢ x = a ❀☛✟❥ y = b ✌✍✎☞❥✏☛☛✑✒ x – y = 2 ❀☛✟❥ x + y = 4, ☞☛ ✘✙ ✘✟✳ ✗☛✑ a ❀☛✟❥ b ★✑✩ ✍☛✧

Ø✍�☛❢ ✘✟✒

(A) 3 ❀☛✟❥ 5 (B) 5 ❀☛✟❥ 3

(C)  3 ❀☛✟❥  1 (D) –1 ❀☛✟❥  –3

12. ❀✈✏☛☛ ★✑✩ ✣☛✌ ★✑✩★✙ 1✈ ❀☛✟❥ 2 ✈  ★✑✩ ✠✌♦★✑✩ ✘✟✒✪ ✓✠✢ ♠✌★✑✩ ✣☛✌ ★✔✩✙ 50 ✠✌♦★✑✩ ✘✟✒ ✗❣☛☛

★✔✩✙ ✬✧❥☛✠�☛ 75 ✈ ✘✟✳ ✗☛ ✑ 1✈ ❀☛✟❥  2 ✈ ★✑✩ ✠✌♦☞☛✒✑ ☞✎ ✌✒✡✓☛✚✮ Ø✍�☛❢ ✘✟✒

(A) 35 ❀☛✟❥  15 (B) 35 ❀☛✟❥ 20

(C) 15 ❀☛✟❥ 35 (D) 25 ❀☛✟❥  25
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13. ✠✣✗☛ ☞✎ ❀☛✓✔ ✣✔❢☛ ☞✎ ❀☛✓✔ ☞✎ � ✖✔✧✎ ✘✟✪ ✁☛❥ ★✂☛❞ ★✑✩ ✜☛✢✳ ✠✣✗☛ ☞✎ ❀☛✓✔ ❀✣✧✑ ✣ ✔❢☛ ☞✎ ❀☛✓✔

☞✎ ✁☛❥ ✖✔✧✎ ✘☛✑✖✎✪ ✣✔❢☛ ❀☛✟❥ ✠✣✗☛ ☞✎ ★✗❞✍☛✧ ❀☛✓✔ ✫★✂☛☛✑ ❞✒ ✍✑ ✒✭ Ø✍�☛❢ ✘✟✒

(A) 4 ❀☛✟❥ 24 (B) 5 ❀☛✟❥  30

(C) 6 ❀☛✟❥  36 (D) 3 ❀☛✟❥ 24

(C) ✥✼ ✄☎ ✼ ✆☎ ✝✏✞✏ ✝✟✻✠✏✡✥ ☛☞✏✌❁❂ ✿❃❄❆

❱❲❳❨❩❬❭❪ ❱❲❬❫ 1:  ♦✓☛ ✓✘ ☞✘✧☛ ✌✲✓ ✘✟ ✠☞ ✌✍✎☞❥✏☛☛✑✒ – x + 2y + 2 = 0  ❀☛✟❥   
1 1

– –1 0
2 4

x y

★✑✩ ✓✔✕✍ ☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ ✘✟♦ ❀✣✧✑ ♠✍☛❥ ☞☛ ❀☛✟✠✁✲✓ ✢✎✠✵✚✪

❣✌ : ✘☛✮✪

✓✘☛✮, 1

2

–1

1

2

a

a
= –2 ✘✟✳  1

2

2

1
–

4

b

b
= – 8   ✘✟✪

✁♥✮✠☞ 1 1

2 2

a b

a b
✘✟, ✯✌✠✙✚ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✯✌ ✓✔✕✍ ☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ ✘✟✪

❱❲❳❨❩❬❭❪ ❱❲❬❫ 2: ♦✓☛ ✌✍✎☞❥✏☛☛✑✒ 4x + 3y – 1 = 5 ❀☛✟❥ 12x + 9y = 15  ✌✒✣☛✗✎ ❥✑✡☛☛❀☛✑✒ ☞☛ ✚☞

✓✔✕✍ ✠✧✴✠✣✗ ☞❥✗✎ ✘✟✒♦ ❀✣✧✑ ♠✍☛❥ ☞☛ ❀☛✟✠✁✲✓ ✢✎✠✵✚✪

❣✌ : ✧✘✎✒✪

✘✍ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✑ ✣✔✧❢ ✠✧✶✧✠✙✠✡☛✗ ✴✣ ✍✑✒ ✠✙✡☛ ✌☞✗✑ ✘✟✒❢

4x + 3y = 6

12x + 9y = 15

✓✘☛✮,  
1

2

a

a
= 

1

3
, 

1

2

b

b
= 

1

3
 ❀☛✟❥ 1

2

2

5

c

c
✘✟✪

✁♥✮✠☞ 1

2

a

a
= 

1

2

b

b
✍ 

1

2

c

c
,✯✌✠✙✚ ✢✎ ✘✔✯❞ ✌✍✎☞❥✏☛ ✌✒✣☛✗✎ ❥✑✡☛☛❀☛✑✒ ☞☛ ✓✔✕✍ ✠✧✴✠✣✗ ✧✘✎✒ ☞❥✗✎ ✘✒✟✪

❱❲❳❨❩❬❭❪ ❱❲❬❫  3:  ♦✓☛ ✌✍✎☞❥✏☛☛✑✒ x + 2y – 3 = 0 ❀☛✟❥ 6y + 3x – 9 = 0 ☞☛ ✓✔✕✍ ✌✒✖✗ ✘✟? ❀✣✧✑

♠✍☛❥ ☞☛ ❀☛✟✠✁✲✓ ✢✎✠✵✚✪
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❣✌ : ✘☛✮✪ ✌✍✎☞❥✏☛☛✑✒ ✍✑✒✳ ✣✢☛✑✒ ☞☛✑ ✣✔✧❣✓❞★✠✱❣☛✗ ☞❥✧✑ ✣❥✳ ✘✍✑✒ ✣ ✤☛�✗ ✘☛ ✑✗☛ ✘✟❢

x + 2y – 3 = 0

3x + 6y – 9 = 0

✓✘☛✮, 1

2

1

3

a

a
, 1

2

1

3

b

b
❀☛✟❥ 1

2

1

3

c

c
 ✘✟✪ ♦✓☛✑✒✠☞ 1 1 1

2 2 2

a b c

a b c
✘✟✳ ✯✌✠✙✚ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✓✔✕✍ ✌✒✖✗ ✘✟✪

✿❃❄❆✏✼✑❁ 3.2

1. ♦✓☛ ✌✍✎☞❥✏☛☛✑ ✒ ★✑✩ ✠✧✶✧✠✙✠✡☛✗ ✓✔✕✍ ☞☛ ☞☛ ✑✯❞ ✘✙ ✧✘✎✒ ✘✟♦ ❀✣✧✑ ♠✍☛❥ ☞☛ ❀☛✟✠✁✲✓ ✢✎✠✵✚✪

(i)  2x + 4y = 3 (ii) x = 2y

 12y + 6x = 6      y = 2x

(iii)  3x + y – 3 = 0

   2x + 
2

3
y = 2

2. ♦✓☛ ✠✧✶✧✠✙✠✡☛✗ ✌✍✎☞❥✏☛ ✌✒✣☛✗✎ ❥✑✡☛☛❀☛✑ ✒ ☞☛ ✚☞ ✓✔✕✍ ✠✧✴✠✣✗ ☞❥✗✎ ✘✟♦ ❀✣✧✑ ♠✍☛❥ ☞☛

❀☛✟✠✁✲✓ ✢✎✠✵✚✪

(i) 3x + 
1

7
y = 3 (ii) –2x – 3y = 1

7x + 3y = 7      6y + 4x = – 2

(iii)
2

2 5

x
y = 0

4x + 8y + 
5

16
 = 0

3. ♦✓☛ ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✠✧✶✧✠✙✠✡☛✗ ✓✔✕✍ ✌✒✖✗ ✘✟✒♦ ❀✣✧✑ ♠✍☛❥☛✑✒ ☞☛ ❀☛✟✠✁✲✓ ✢✎✠✵✚✪

(i) –3x– 4y = 12 (ii) 
3

5
x – y = 

1

2

 4y + 3x = 12      
1

5
x – 3y = 

1

6

(iii)   2ax + by = a (iv) x + 3y = 11

  4ax + 2by –  2a = 0  ;     a, b ✍ 0       2 (2x + 6y) = 22
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4. ✌✍✎☞❥✏☛

✄x + 3y = –7

2x + 6y = 14

★✑✩ ✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛✑✧✑ ★✑✩ ✠✙✚✳ ✄☞☛ ✍☛✧ 1 ✘☛✑✧☛ ✁☛✠✘✚✪ ♦✓☛ ✓✘ ☞❣☛✧

✌✲✓ ✘✟♦ ☞☛❥✏☛ ✢✎✠✵✚✪

5. c ★✑✩ ✌✸☛✎ ★☛✱✗✠★☞ ✍☛✧☛✑✒ ★✑✩ ✠✙✚, ✌✍✎☞❥✏☛❧✓✔✕✍

x – 2y = 8

5x – 10y = c

☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ ✘✟✪ ❀☛✟✠✁✲✓ ★✑✩ ✌☛❣☛ ♠✍☛❥ ✢✎✠✵✚ ✠☞ ✓✘ ✌✲✓ ✘✟ ✓☛ ❀✌✲✓✪

6. x = 7 ✛☛❥☛ ✠✧✴✠✣✗ ❥✑✡☛☛ x– ❀✈☛ ★✑✩ ✌✍☛ ✒✗❥ ✘✟✪ ❀☛ ✟✠✁✲✓ ★✑✩ ✌☛❣☛ ♠✍☛❥ ✢✎✠✵✚ ✠☞ ✓✘

✌✲✓ ✘✟ ✓☛ ❀✌✲✓✪

(D) ✝✟✻✠✏✡✥ ☛☞✏✌❁❂ ✿❃❄❆

❱❲❳❨❩❬❭❪ ❱❲❬❫ 1: p ❀☛✟❥ q ★✑✩ ✠☞✧ ✍☛✧☛ ✑✒ ★✑✩ ✠✙✚ ✌✍✎☞❥✏☛❧✓✔✕✍

4x + 5y = 2

(2p + 7q) x + (p + 8q) y = 2q – p + 1

★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛ ✑✒✖✑♦

❣✌ : ✓✘☛✮,  
1

2

4

2 7

a

a p q
�

✁

1

2

5

8

b

b p q
�

✁

❀☛✟❥
1

2

2

2 1

c

c q – p
�

✁
 ✘✟✪

✠☞✌✎ ✌✍✎☞❥✏☛❧✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛✑✧✑ ★✑✩ ✠✙✚✳

1 1 1

2 2 2

� �
a b c

a b c
 ✘☛✑✗☛ ✘✟✪
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❀✗❢,
4

2 7✁p q

5

8
�

✁p q

2

2 1
�

✁q – p

✯✌✠✙✚✳
4

2 7✁p q

5

8
�

✁p q
 ❀☛✟❥ 

4

2 7✁p q

2

2 1
�

✁q – p
 ✘✟✪

❀❣☛☛❞✗✈✳ 4p + 32q = 10p + 35q  ❀☛✟❥ 8q – 4p + 4 = 4p + 14q ✘✟✪

❀❣☛☛❞✗✈✳ 6p + 3q = 0                 ❀☛✟❥  8p + 6q = 4

❀❣☛☛❞✗✈✳ q = –2p        ...(1)        ❀☛✟❥  4p + 3q = 2        ...(2)

✌✍✎☞❥✏☛ ✫❧✭ ✌✑ ✣✤☛�✗ q ★✑✩ ✍☛✧ ☞☛✑ ✌✍✎☞❥✏☛ ✫♦✭ ✍✑✒ ❥✡☛✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛✑✗☛ ✘✟❢

4p – 6p = 2

✓☛  p = –1

 p ★✑✩ ✯✌ ✍☛✧ ☞☛ ✑ ✌✍✎☞❥✏☛ ✫❧✭ ✍✑✒ ❥✡☛✧✑ ✫✣✤✠✗✱❣☛☛✠✣✗ ☞❥✧✑✭ ✣❥✳ ✘✍✑✒ ✣ ✤☛�✗ ✘☛✑✗☛ ✘✟❢

 q = 2

❀✗❢✳  p = –1, q = 2 ★✑✩ ✠✙✚✳ ✠✢✚ ✘✔✚ ✌✍✎☞❥✏☛❧✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛✑✒✖✑✪

❱❲❳❨❩❬❭❪ ❱❲❬❫  2: ✠✧✶✧✠✙✠✡☛✗ ✌✍✎☞❥✏☛❧✓✔✕✍ ☞☛✑ ✘✙ ☞✎✠✵✚ ❢

21x + 47y = 110

47x + 21y = 162

❣✌ :  ✘✍✑✒ ✣✤☛�✗ ✘✟ ❢

21x + 47y = 110 ...(1)

47x + 21y = 162 ...(2)

✌✍✎☞❥✏☛ ✫❧✭ ☞☛✑ �✁ ✌✑ ❀☛✟❥ ✌✍✎☞❥✏☛ ✫♦✭ ☞☛✑ ♦❧ ✌✑ ✖✔✏☛☛ ☞❥✧✑ ✣❥✳ ✘✍✑✒ ✣ ✤☛�✗ ✘☛✑✗☛ ✘✟ ❢

987x + 2209 y = 5170 ...(3)

987x + 441y = 3402 ...(4)

✌✍✎☞❥✏☛ ✫✂✭ ✍✑✒ ✌✑ ✌✍✎☞❥✏☛ ✫�✭ ☞☛✑ ✄☛♦☛✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛✑✗☛ ✘✟❢

1768y = 1768
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✓☛        y = 1

✌✍✎☞❥✏☛ ✫❧✭ ✍✑✒  y ☞☛ ✍☛✧ ✣✤✠✗✱❣☛☛✠✣✗ ☞❥✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛ ✑✗☛ ✘✟ ❢

21x + 47 = 110

✓☛ 21x = 63

✓☛ x = 3

❀✗❢✳ x = 3, y = 1

♦�✁❳✂❱✁ ❣✌❢ ✘✍✑✒ ✣✤☛�✗ ✘✟❢

21x + 47y = 110 ...(1)

47x + 21y = 162 ...(2)

✌✍✎☞❥✏☛ ✫❧✭ ❀☛✟❥ ✫♦✭ ☞☛✑ ✵☛ ✑t✎✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛✑✗☛ ✘✟ ❢

68x + 68y = 272

✓☛ x + y = 4 ...(5)

✌✍✎☞❥✏☛ ✫❧✭ ☞☛✑ ✌✍✎☞❥✏☛ ✫♦✭ ✍✑✒ ✌✑ ✄☛♦☛✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛✑✗☛ ✘✟ ❢

26x – 26y = 52

✓☛ x – y = 2 ...(6)

✌✍✎☞❥✏☛ ✫❧✭ ❀☛✟❥ ✫�✭ ☞☛✑ Ø✍�☛❢ ✵☛✑t✎✧✑ ❀☛✟❥ ✄☛♦☛✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛✑✗☛ ✘✟ ❢

x = 3, y = 1

❱❲❳❨❩❬❭❪ ❱❲❬❫  3: ✌✍✎☞❥✏☛  x – y + 2 = 0 ❀☛✟❥ 4x – y – 4 = 0 ★✑✩ ✓✔✕✍ ☞☛ ❀☛✙✑✡☛ ✡☛✎✒✠✁✚✪

✯✌ ✣✤☞☛❥ ✡☛✎✒✁✎ ✖✓✎ ❥✑✡☛☛❀☛ ✑✒ ❀☛✟❥ x-❀✈☛ ✌✑ ✜✧✑ ✠❢☛✸☛✔✵ ☞☛ ✈☛✑❢☛✣✩✙ ✈☛✗ ☞✎✠✵✚✪

❣✌ : ✠✢✚ ✖✚ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ❀☛✙✑✡☛ ✡☛✎✒✁✧✑ ★✑✩ ✠✙✚✳ ✘✍ ✯✧ ✌✍✎☞❥✏☛☛✑✒ ✍✑✒ ✌✑ ✣✤✲✓✑☞ ★✑✩ ✢☛✑

✘✙ ✈☛✗ ☞❥✗✑ ✘✟✒✳ ✵☛✑ ✌☛❥✏☛✎ 3.1 ✍✑✒ ✠✢✚ ✖✚ ✘✟✒❢

✥❭✄☎❭✆ 3.1

x 0 –2 x 0 1

  y = x + 2 2 0 y = 4x – 4 – 4 0

✠✜✒✢✔❀☛✑ ✒ A (0, 2), B (–2, 0), P (0, – 4) ❀☛✟❥ Q (1, 0) ☞☛✑ ❀☛✙✑✡☛ ☞☛✖❞☛ ✣❥ ❀☛✙✑✠✡☛✗ ☞✎✠✵✚ ✗❣☛☛

✯✧ ✠✜✒✢✔❀☛✑ ✒ ☞☛✑ ❥ ✑✡☛☛✚✮ AB ❀☛✟❥  PQ ✜✧☛✧✑ ★✑✩ ✠✙✚ ✠✍✙☛✯✚✳ ✵✟✌☛ ✠☞ ❀☛★❝✩✠✗ 3.1 ✍✑✒ ✢�☛☛❞✓☛ ✖✓☛ ✘✟❢
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(i) ☞☛ ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘☛✑✖☛ ?

(ii) ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘☛✑✒✖✑ ?

(iii) ☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ ✘☛✑✖☛ ?

2. k ★✑✩ ✠☞✌ ✫✠☞✧✭ ✍☛✧ ✫✍☛✧☛ ✑✒✭ ★✑✩ ✠✙✚✳ ✌✍✎☞❥✏☛❧✓✔✕✍

kx + 3y = k – 3

12x + ky = k

☞☛ ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘☛✑✖☛ ?

3. a ❀☛✟❥ b ★✑✩ ✠☞✧ ✍☛✧☛ ✑✒ ★✑✩ ✠✙✚✳ ✠✧✶✧✠✙✠✡☛✗ ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑

❀✧✑☞ ✘✙ ✘☛ ✑✒✖✑?

x + 2y = 1

(a – b)x + (a + b)y = a + b – 2

4. ✠✧✶✧✠✙✠✡☛✗ ✌✍✎☞❥✏☛❧✓✔✕✍☛✑✒ (i) ✌✑ (iv) ✍✑✒ p ❀☛✟❥ (v) ✍✑✒ p ✗❣☛☛  q ★✑✩ ✍☛✧ ✈☛✗ ☞✎✠✵✚❢

(i) 3x – y – 5 = 0 ❀☛✟❥ 6x – 2y – p = 0,

✓✠✢ ✯✧ ✌✍✎☞❥✏☛☛✑✒ ✛☛❥☛ ✠✧✴✠✣✗ ❥✑✡☛☛✚✮ ✌✍☛✒✗❥ ✘✟✒✪

(ii) – x + py = 1 ❀☛✟❥  px – y = 1,

✓✠✢ ✌✍✎☞❥✏☛❧✓✔✕✍ ☞☛ ☞☛✑✯❞ ✘✙ ✧✘✎✒ ✘✟✪

(iii) – 3x + 5y = 7 ❀☛✟❥ 2px – 3y = 1,

✓✠✢ ✯✧ ✌✍✎☞❥✏☛☛✑✒ ✛☛❥☛ ✠✧✴✠✣✗ ❥✑✡☛☛✚✮ ✚☞ ❀✠✛✗✎✓ ✠✜✒✢✔ ✣❥ ✣✤✠✗✥✦✑✢ ☞❥✗✎ ✘✟✒✪

(iv) 2x + 3y – 5 = 0 ❀☛✟❥ px – 6y – 8 = 0,

✓✠✢ ✌✍✎☞❥✏☛❧✓✔✕✍ ☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ ✘✟✪

(v) 2x + 3y = 7 ❀☛✟❥  2px  + py = 28 – qy,

✓✠✢ ✌✍✎☞❥✏☛❧✓✔✕✍ ★✑✩ ❀✣✠❥✠✍✗ ✴✣ ✌✑ ❀✧✑☞ ✘✙ ✘✟✒✪

5. ✢☛✑ ✌✎✬✑ ✣❣☛  ✌✍✎☞❥✏☛☛✑✒  x – 3y = 2 ❀☛✟❥ –2x + 6y = 5 ✛☛❥☛ ✠✧✴✠✣✗ ✘✟✒✪ ✵☛✮✁ ☞✎✠✵✚ ✠☞ ✓✑

✣❣☛ ✣❥✱✣❥ ☞☛♦✗✑ ✘✟✒ ✓☛ ✧✘✎✒✪

6. ❥✟✠✡☛☞ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✚☞ ✚✑✌☛ ✓✔✕✍ ✠✙✠✡☛✚ ✠✵✌☞☛ ✚☞ ❀✠✛✗✎✓ ✘✙ x = – 1, y =3 ✘☛✑✪

❀☛✣ ✚✑✌✑ ✠☞✗✧✑ ✓✔✕✍ ✠✙✡☛ ✌☞✗✑ ✘✟✒♦
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7. ✓✠✢ 2x + y = 23 ❀☛✟❥ 4x – y = 19 ✘✟✳ ✗☛ ✑ 5y – 2x ❀☛✟❥ 
y

x
– 2 ★✑✩ ✍☛✧ ✈☛✗ ☞✎✠✵✚✪

8. ✠✧✶✧✠✙✠✡☛✗ ❀☛✓✗ ✫✢✑✠✡☛✚ ❀☛★❝✩✠✗ ✂❢♦✭ ✍✑✒  x ❀☛✟❥ y ★✑✩ ✍☛✧ ✈☛✗ ☞✎✠✵✚❢

9. ✠✧✶✧✠✙✠✡☛✗ ✌✍✎☞❥✏☛❧✓✔✕✍☛✑ ✒ ☞☛✑ ✘✙ ☞✎✠✵✚ ❢

(i) x + y = 3.3 (ii) 4
3 4

x y

0.6
–1,     3 – 2 0

3 –2
x y

x y
� ✁

5
– 4

6 8

x y

(iii) 4x + 
6

y
 = 15 (iv)

1 1
–

2x y
= –1

6x – 
8

y
 = 14, y ✍ 0

1 1

2x y
= 8,       x, y ✂ 0

(v) 43x + 67y = – 24 (vi)
x y

a b
= a + b

67x + 43y = 24 2 2

x y

a b
= 2,      a, b ✂ 0

(vii)
2 3

2

xy

x y

3

2 – 10

xy

x y

✄
� ,      x + y ✍ 0, 2x – y ✍ 0

✈☎✆✝✞✟✠ ✡☛☞
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10. ✌✍✎☞❥✏☛
10 5

x y
– 1 = 0 ❀☛✟❥ 

8 6

x y
= 15 ★✑✩ ✓✔✕✍ ☞☛ ✘✙ ✈☛✗ ☞✎✠✵✚✪ ✯✌★✑✩ ✜☛✢

✄ ✈☛✗ ☞✎✠✵✚✳ ✓✠✢ y = ✄x + 5 ✘✟✪

11. ❀☛✙✑✡☛✎✓ ✠★✠✬ ✌✑ ✈☛✗ ☞✎✠✵✚ ✠☞ ✠✧✶✧✠✙✠✡☛✗ ✌✍✎☞❥✏☛❧✓✔✕✍ ✌✒✖✗ ✘✟✒ ✓☛ ✧✘✎✒✪ ✓✠✢ ✌✒✖✗

✘✟✒✳ ✗☛✑ ✯❣✘✑✒ ✘✙ ☞✎✠✵✚✪

(i) 3x + y + 4 = 0 (ii) x – 2y = 6

6x – 2y + 4 = 0 3x – 6y = 0

(iii) x + y = 3

3x + 3y = 9

12. ✌✍✎☞❥✏☛ 2x + y = 4 ❀☛✟❥ 2x – y = 4 ★✑✩ ✓✔✕✍ ☞☛ ❀☛✙✑✡☛ ✡☛✎✒✠✁✚✪ ✯✧ ❥✑✡☛☛❀☛✑✒ ❀☛ ✟❥

y-❀✈☛ ✌✑ ✜✧✧✑ ★☛✙✑ ✠❢☛✸☛✔✵ ★✑✩ �☛✎✂☛❞ ✠✜✒✢✔❀☛✑ ✒ ★✑✩ ✠✧✢✑❞�☛☛✒☞ ✠✙✠✡☛✚✪ ✌☛❣☛ ✘✎✳ ✯✌ ✠❢☛✸☛ ✔✵ ☞☛

✈☛✑❢☛✣✩✙ ✸☛✎ ✈☛✗ ☞✎✠✵✚✪

13. ❥✟✠✡☛☞ ✌✍✎☞❥✏☛ x+y = 2 ❀☛✟❥ 2x–y  = 1 ★✑✩ ✓✔✕✍ ★✑✩ ✘✙ ☞☛✑ ✠✧✴✠✣✗ ☞❥✧✑ ★☛✙✑ ✠✜✒✢✔ ✌✑

✘☛ ✑☞❥ ✵☛✧✑ ★☛✙✎ ✚☞ ❥✑✡☛☛ ☞✎ ✌✍✎☞❥✏☛ ✈☛✗ ☞✎✠✵✚✪ ✘✍ ✚✑✌✎ ✠☞✗✧✎ ❥✑✡☛☛✚✮ ✈☛✗ ☞❥ ✌☞✗✑

✘✒✟♦

14. ✓✠✢ 2x3 + ax2 + 2bx + 1 ☞☛ ✚☞ ✖✔✏☛✧✡☛✒t x + 1 ✘✟✳ ✗☛✑ a ❀☛✟❥ b ★✑✩ ✍☛✧ ✈☛✗ ☞✎✠✵✚✳ ✵✜

✠☞ 2a–3b = 4 ✠✢✓☛ ✘✔❀☛ ✘✟✪

15. ✠☞✌✎ ✠❢☛✸☛✔✵ ★✑✩ ☞☛✑✏☛  x, y ❀☛✟❥ 40° ✘✟✒✪  ✢☛✑✧☛✑ ✒ ☞☛✑✏☛☛✑ ✒ x ❀☛✟❥ y ☞☛ ❀✒✗❥ 30° ✘✟✪ x ❀☛✟❥ y ✈☛✗

☞✎✠✵✚✪

16. ✢☛ ✑ ★✂☛ ❞ ✣✘✙✑✳ ✌✙✎✍ ☞✎ ❀☛✓✔ ❀✣✧✎ ✣✔❢☛✎ ☞✎ ❀☛✓✔ ☞✎ ✠✗✖✔✧✎ ❣☛✎ ✗❣☛☛ ✦❢ ★✂☛❞ ✜☛✢ ♠✌☞✎

❀☛✓✔ ✣ ✔❢☛✎ ☞✎ ❀☛✓✔ ★✑✩ ✢✔✖✔✧✑ ✌✑ ✁☛❥ ★✂☛❞ ❀✠✬☞ ✘☛ ✑✖✎✪ ♠✧☞✎ ★✗❞✍☛✧ ❀☛✓✔ ♦✓☛ ✘✟?

17. ✠✣✗☛ ☞✎ ❀☛✓✔ ❀✣✧✑ ✢☛✑✧☛✑ ✒ ✜✥✁☛✑ ✒ ☞✎ ❀☛✓✔ ★✑✩ ✓☛✑✖ ☞✎ ✢☛ ✔✖✔✧✎ ✘✟✪ ♦❢ ★✂☛❞ ✜☛✢✳ ♠✌☞✎ ❀☛✓✔

❀✣✧✑ ✜✥✁☛✑✒ ☞✎ ❀☛✓✔ ★✑✩ ✓☛✑✖ ★✑✩ ✜❥☛✜❥ ✘☛✑✖✎✪ ✠✣✗☛ ☞✎ ❀☛✓✔ ✈☛✗ ☞✎✠✵✚✪

18. ✢☛ ✑ ✌✒✡✓☛✚✮ 5 : 6 ★✑✩ ❀✧✔✣☛✗ ✍✑✒ ✘✟✒✪ ✓✠✢ ✣✤✲✓✑☞ ✌✒✡✓☛ ✍✑✒ ✌✑ ♦ ✄☛♦☛ ✠✢✓☛ ✵☛✚✳ ✗☛✑ ✓✘ ❀✧✔✣☛✗

4 : 5 ✘☛✑ ✵☛✗☛ ✘✟✪ ✓✑ ✌✒✡✓☛✚✮ ✈☛✗ ☞✎✠✵✚✪

19. ✢☛ ✑ ✣❥✎✈☛☛ ☞✈☛☛✑✒ A ❀☛✟❥ B ✍✑✒ ★✔✔✩✦ ✠★❡☛❣☛✎❞ ✘✟✒✪ ✢☛✑✧☛✑✒ ☞✈☛☛✑ ✒ ✍✑✒ ✠★❡☛✠❣☛❞✓☛✑✒ ☞✎ ✌✒✡✓☛✚✮ ✜❥☛✜❥ ☞❥✧✑

★✑✩ ✠✙✚✳ A ✌✑ B ✍✑✒ ❧❢ ✠★❡☛❣☛✎❞ ✸☛✑✵✑ ✵☛✗✑ ✘✟✒✪ ✣❥✒✗✔ ✓✠✢ B ✌✑ 20 ✠★❡☛❣☛✎❞ A ✍✑✒ ✸☛✑✵ ✠✢✚ ✵☛✚✮✳

✗☛ ✑ A ✍✑✒ ✠★❡☛✠❣☛❞✓☛✑✒ ☞✎ ✌✒✡✓☛ B ★✑✩ ✠★❡☛✠❣☛❞✓☛✑✒ ☞✎ ✌✒✡✓☛ ☞✎ ✢✔✖✔✧✎ ✘☛ ✑ ✵☛✗✎ ✘✟✪ ✢☛✑✧☛✑✒ ☞✈☛☛✑✒ ✍✑✒

✠★❡☛✠❣☛❞✓☛✑✒ ☞✎ ✌✒✡✓☛ ✈☛✗ ☞✎✠✵✚✪



✐�✁✂ ✐�✄☎✁✆✝✞✆30

20. ☞☛✑✯❞ ✢✔☞☛✧✢☛❥ ✣❞ ✎✧✑ ★✑✩ ✠✙✚ ✣✔✱✗★✑✒✩ ✠☞❥☛✚ ✣❥ ✢✑✗☛ ✘✟✪ ★✘ ✣✤❣☛✍ ✢☛✑ ✠✢✧ ★✑✩ ✠✙✚ ✚☞

✠✧✠�✁✗ �☛✔❢☞ ✙✑✗☛ ✘✟ ❀☛ ✟❥ ♠✌★✑✩ ✜☛✢ ✣✤✲✓✑☞ ✠✢✧ ★✑✩ ✠✙✚ ✚☞ ❀✠✗✠❥♦✗ �☛ ✔❢☞ ✙✑✗☛ ✘✟✪

✙✠✗☞☛ ✧✑ ✚☞ ✣✔✱✗☞ ✦❢ ✠✢✧ ✗☞ ❥✡☛✧✑ ★✑✩ ✠✙✚ ♦♦✈ ✠✢✚✳ ✵✜✠☞ ❀☛✧✒✢ ✧✑ ✚☞ ✣✔✱✗☞

✁☛❥ ✠✢✧ ✗☞ ❥✡☛✧✑ ★✑✩ ✠✙✚ ❧� ✈ ✠✢✚✪ ✠✧✠�✁✗ �☛✔❢☞ ✗❣☛☛ ✣✤✲✓✑☞ ✠✢✧ ☞☛ ❀✠✗✠❥♦✗ �☛✔❢☞

✈☛✗ ☞✎✠✵✚✪

21. ✠☞✌✎ ✣✤✠✗✓☛✑✖☛✲✍☞ ✣❥✎✈☛☛ ✍✑✒✳ ✣✤✲✓✑☞ ✌✘✎ ♠✍☛❥ ★✑✩ ✠✙✚ ❧ ❀✒☞ ✠✢✓☛ ✵☛✗☛ ✘✟✳ ✵✜ ✠☞

✣✤✲✓✑☞ ✖✙✗ ♠✍☛❥ ★✑✩ ✠✙✚
1

2
 ❀✒☞ ☞☛♦ ✠✙✓☛ ✵☛✗☛ ✘✟✪ ✵✓✒✗✎ ✧✑ ❧♦❢ ✣✤�✧☛✑✒ ★✑✩ ♠✍☛❥ ✠✢✚

❀☛✟❥ ✈❢ ❀✒☞ ✣✤☛�✗ ✠☞✚✪ ♠✌✧✑ ✠☞✗✧✑ ✣✤�✧☛✑ ✒ ★✑✩ ✌✘✎ ♠✍☛❥ ✠✢✚♦

22. ✚☞ ✁Ø✎✓ ✁✗✔✸☛ ✔❞✵  ABCD ★✑✩ ☞☛✑✏☛ ✘✟✒ ❢

☎A = (6x + 10)°, ☎B = (5x)°

☎C = (x + y)°, ❀☛✟❥ ☎D = (3y – 10)°

x ❀☛✟❥ y ★✑✩ ✍☛✧ ✈☛✗ ☞✎✠✵✚ ❀☛✟❥ ✠✣✩❥ ✁☛❥☛✑✒ ☞☛✑✏☛☛ ✑✒ ★✑✩ ✍☛✧ ✈☛✗ ☞✎✠✵✚✪

(E) ♥❁�✏ ✄ ☛☞✏✌❁❂ ✿❃❄❆

❱❲❳❨❩❬❭❪ ❱❲❬❫ 1: ❥✑✡☛☛❀☛✑✒ x = –2 ❀☛✟❥ y = 3 ★✑✩ ❀☛✙✑✡☛ ✡☛✎✒✠✁✚✪ ✯✧ ❥✑✡☛☛❀☛✑✒✳ x-❀✈☛ ❀☛✟❥ y-❀✈☛

✛☛❥☛ ✜✧✎ ❀☛★❝✩✠✗ ★✑✩ �☛✎✂☛❞ ✠✙✠✡☛✚✪ ✯✌ ❀☛★❝✩✠✗ ☞☛ ✈☛ ✑❢☛✣✩✙ ✸☛✎ ✈☛✗ ☞✎✠✵✚✪

❣✌:

✘✍ ✵☛✧✗✑ ✘✟✒ ✠☞ x = –2 ☞☛ ❀☛✙✑✡☛ y-❀✈☛

★✑✩ ✌✍☛ ✒✗❥ ♠✌★✑✩ ✜☛✯♦ ❀☛✑❥ ♦ ✯☞☛✯❞ ☞✎ ✢ ♥❥✎

✣❥ ✠✱❣☛✗ ✚☞ ❥✑✡☛☛ ✘✟✪

❀✗❢✳ x = –2 ☞☛ ❀☛✙✑✡☛ ❥ ✑✡☛☛ l ✘✟ ✫✢✑✠✡☛✚

❀☛★❝✩✠✗ ✂❢✂✭✪

y = 3 ☞☛ ❀☛✙✑✡☛ x-❀✈☛ ★✑✩ ✌✍☛✒✗❥ ♠✌★✑✩ ♠✩✣❥

✂ ✯☞☛✯❞ ☞✎ ✢ ♥❥✎ ✣❥ ✠✱❣☛✗ ✚☞ ❥✑✡☛☛ ✘✟✪

❀✗❢✳ y = 3 ☞☛ ❀☛✙✑✡☛ ❥ ✑✡☛☛ m ✘✟✪

❥✑✡☛☛❀☛✑✒ x = –2, y = 3, x-❀✈☛ ❀☛✟❥ y-❀✈☛ ✌✑ ✜✧✎

❀☛★❝✩✠✗ OABC ✘✟✳ ✵☛✑ ✚☞ ❀☛✓✗ ✘✟✪ ✫♦✓☛✑✒♦✭

①
❂
✁
✷

❳✂ ❳

❨✂

❨

❇ ❆

❈

♠✸

❖➊✄➊✆

✝ ✸

✈☎✆✝✞✟✠ ✡☛☞
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y-❀✈☛ ✣❥ A ★✘ ✠✜✒✢✔ ✘✟✳ ✵☛✑ x-❀✈☛ ★✑✩ ♠✩✣❥ ✂ ✯☞☛✯❞ ☞✎ ✢ ♥❥✎ ✣❥ ✘✟✪ ❀✗❢✳ A ★✑✩ ✠✧✢✑❞�☛☛✒☞

(0, 3) ✘✟✒;

x-❀✈☛ ✣❥ C ★✘ ✠✜✒✢✔ ✘✟✳ ✵☛✑ y-❀✈☛ ★✑✩ ✜☛✯ ♦ ❀☛✑❥ ♦ ✯☞☛✯❞ ☞✎ ✢ ♥❥✎ ✣❥ ✘✟✪ ❀✗❢✳ C ★✑✩ ✠✧✢✑❞�☛☛✒☞

(–2, 0) ✘✟✒;

✌✍✎☞❥✏☛ x = –2 ❀☛✟❥ y = 3 ★✑✩ ✓✔✕✍ ☞☛ ✘✙ B ✘✟✪ ❀✗❢✳ B ★✑✩ ✠✧✢✑❞�☛☛✒☞ (–2, 3) ✘✟✒✪

❀✗❢✳ ❀☛✓✗ OABC ★✑✩ �☛✎✂☛❞ O (0, 0),  A (0, 3), B (–2, 3) ❀☛✟❥  C (–2, 0) ✘✟✒✪

✯✌ ❀☛✓✗ ☞✎ ✙✒✜☛✯❞ ❀☛✟❥ ✁☛✟t✎☛✯❞ Ø✍�☛❢ ♦ ✯☞☛✯❞ ❀☛✟❥ ✂ ✯☞☛✯❞ ✘✟✒✪ ♦✓☛✑✒✠☞ ✚☞ ❀☛✓✗ ☞☛ ✈☛✑❢☛✣✩✙

= ✙✒✜☛✯❞� ✁☛✟t✎☛✯❞ ✘☛✑✗☛ ✘✟✳ ✯✌✠✙✚  ❀☛✓✗ OABC ☞☛ ✈☛✑❢☛✣✩✙ = 2 � 3 = 6 ★✖❞ ✯☞☛✯❞✪

❱❲❳❨❩❬❭❪ ❱❲❬❫ 2:  ❥✑✡☛☛❀☛✑✒ 5x – y = 5,   x + 2y = 1 ❀☛✟❥   6x + y = 17 ✛☛❥☛ ✜✧✧✑ ★☛✙✑ ✠❢☛✸☛✔✵

★✑✩ �☛✎✂☛❞ ✜✎✵✎✓ ✠★✠✬ ✌✑ ✠✧✬☛❞✠❥✗ ☞✎✠✵✚✪

❣✌ :

✚☞ ✠❢☛✸☛✔✵ ☞☛ �☛✎✂☛❞ ♠✌ ✠❢☛✸☛ ✔✵ ☞✎ ✢☛✑ ✸☛✔✵☛❀☛✑✒ ☞☛✑ ✜✧☛✧✑ ★☛✙✎ ✢☛✑✧☛ ✑✒ ✌✍✎☞❥✏☛☛ ✑✒ ☞☛ ♠✸☛✓✠✧✂❇ ✘✙

✘☛✑✗☛ ✘✟✪ ❀✗❢✳ ✢✎ ✘✔✯❞ ✌✍✎☞❥✏☛☛✑✒ ☞☛✑ ✓✔✕✍☛✑✒ ✍✑✒ ✘✙ ☞❥✧✑ ✣❥✳ ✠❢☛✸☛✔✵ ★✑✩ �☛✎✂☛❞ ✣✤☛�✗ ✘☛✑ ✵☛✚✮✖✑✪

✢✎ ✘✔✯❞ ✌✍✎☞❥✏☛☛✑✒ ✌✑ ✘✍✑✒ ✌✍✎☞❥✏☛☛✑✒ ★✑✩ ✠✧✶✧✠✙✠✡☛✗ ✗✎✧ ✓✔✕✍ ✣✤☛�✗ ✘☛✑✒✖✑ ❢

5x – y = 5 ❀☛✟❥ x + 2y = 1

x + 2y = 1 ❀☛✟❥ 6x + y = 17

5x – y = 5 ❀☛✟❥ 6x + y = 17

✌✍✎☞❥✏☛❧✓✔✕✍

5x – y = 5

x + 2y = 1

☞☛✑ ✘✙ ☞❥✧✑ ✣❥✳ ✘✍✑✒ x = 1, y = 0 ✣✤☛�✗ ✘☛ ✑✗☛ ✘✟✪ ❀✗❢✳ ✠❢☛✸☛✔✵ ☞☛ ✚☞ �☛✎✂☛❞ (1, 0) ✘✟✪

✢ ♥✌❥✑ ✌✍✎☞❥✏☛❧✓✔✕✍

x + 2y = 1

6x + y = 17

☞☛✑ ✘✙ ☞❥✧✑ ✣❥✳  x = 3, y = –1 ✣✤☛�✗ ✘☛✑✗☛ ✘✟✪ ❀✗❢✳ ✠❢☛✸☛✔✵ ☞☛ ✢ ♥✌❥☛ �☛✎✂☛❞  (3, –1) ✘✟✪
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✗✎✌❥✑ ✌✍✎☞❥✏☛❧✓✔✕✍

5x – y = 5

6x + y = 17,

☞☛✑ ✘✙ ☞❥✧✑ ✣❥✳  x = 2, y = 5 ✣✤☛�✗ ✘☛✑✗☛ ✘✟✪ ❀✗❢✳ ✠❢☛✸☛✔✵ ☞☛ ✗✎✌❥☛ �☛✎✂☛❞ (2, 5) ✘✟✪

✯✌ ✣✤☞☛❥✳ ✠❢☛✸☛✔✵ ★✑✩ �☛✎✂☛❞ (1, 0), (3, –1) ❀☛✟❥ (2, 5)✘✒✟✪

❱❲❳❨❩❬❭❪ ❱❲❬❫  3:  ✵✍✎✙☛ ✧✑ ✚☞ ✍✑❞☛ ❀☛✟❥ ✚☞ ★✔✩✌✎❞ 1050 ✈ ✍✑✒ ✜✑✁☛✳ ✠✵✌✌✑ ♠✌✑ ✍✑✵ ✣❥ 10%

✙☛✸☛ ❀☛ ✟❥ ★✔✩✌✎❞ ✣❥ 25% ✙☛✸☛ ✘✔❀☛✪ ✓✠✢ ♠✌✧✑ ✍✑✵ ✣❥ 25% ✙☛✸☛ ❀☛✟❥ ☞✔✌✎❞ ✣❥ 10% ✙☛✸☛ ✠✙✓☛

✘☛✑✗☛✳ ✗☛ ✑ ♠✌✑ ★✔✩✙ 1065 ✈ ✣✤☛�✗ ✘☛✑✗✑✪ ✣✤✲✓✑☞ ★✱✗✔ ☞☛ Ø✓ ✍♥❢✓ ✈☛✗ ☞✎✠✵✚✪

❣✌ ❣ ✍☛✧ ✙✎✠✵✚ ✠☞ ✍✑✵ ☞☛ Ø✓ ✍♥❢✓ x ✈ ❀☛✟❥ ★✔✩✌✎❞ ☞☛ Ø✓ ✍♥❢✓ y ✈ ✘✟✪

✍✑✵ ☞☛ ✠★Ø✓ ✍♥❢✓✳ ✵✜ ♠✌✑ 10% ✙☛✸☛ ✣❥ ✜✑✁☛ ✵☛✗☛ ✘✟

= 
10 110

100 100
x x x

� ✁
✂ ✄☎ ✆

✝ ✞
★ ★

★✔✩✌✎❞ ☞☛ ✠★Ø✓ ✍♥❢✓✳ ✵✜ ♠✌✑ 25% ✙☛✸☛ ✣❥ ✜✑✁☛ ✵☛✗☛ ✘✟

= 
25 125

100 100
y y y

✟ ✠
✡ �☛ ☞

✌ ✍
✈ ✈

❀✗❢✳  
110 125

1050
100 100

x y ...(1)

✍✑✵ ☞☛✑ 25%, ✙☛✸☛ ✣❥ ✜✑✁✧✑ ✣❥✳ ♠✌☞☛ ✠★Ø✓ ✍♥❢✓  
25 125

100 100
x x x

✟ ✠
� ✡ �☛ ☞

✌ ✍
✈ ✈

★✔✩✌✎❞ ☞☛✑ 10%, ✙☛✸☛ ✣❥ ✜✑✁✧✑ ✣❥✳ ♠✌☞☛ ✠★Ø✓ ✍♥❢✓  
10 110

 
100 100

y y y
✟ ✠

� ✡ �☛ ☞
✌ ✍

✈ ✈

❀✗❢✳
125 110

1065
100 100

x y ...(2)

✌✍✎☞❥✏☛ ✫❧✭ ❀☛✟❥ ✫♦✭ ✌✑✳ ✘✍✑✒ ✣ ✤☛�✗ ✘☛✑✗☛ ✘✟ ❢

110x + 125y = 105000

125x + 110y = 106500
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✯✧ ✌✍✎☞❥✏☛☛✑✒ ☞☛ ✑ ✵☛✑t✎✧✑ ❀☛ ✟❥ ✄☛♦☛✧✑ ✣❥✳ ✘✍ ✣✤☛�✗ ☞❥✗✑ ✘✟ ✒ ❢

235x + 235y = 211500

✗❣☛☛ 15x – 15y = 1500

❀❣☛☛❞✗✈ , x + y = 900 ...(3)

✗❣☛☛ x – y = 100 ...(4)

✌✍✎☞❥✏☛ ✫✂✭ ❀☛✟❥ ✫�✭ ☞☛✑ ✘✙ ☞❥✧✑ ✣❥✳ ✘✍✑✒ ✣ ✤☛�✗ ✘☛✑✗☛ ✘✟ ❢

x = 500, y = 400

❀✗❢✳ ✍✑✵ ☞☛ Ø✓ ✍♥❢✓ 500 ✈ ❀☛✟❥ ★✔✩✌✎❞ ☞☛ Ø✓ ✍♥❢✓  400 ✈ ✘✟✪

❱❲❳❨❩❬❭❪ ❱❲❬❫  4: ✢☛ ✑ ✣☛✯✣☛✑ ✒ ✛☛❥☛ ✚☞ ✱★✎✠✍✒✖ ✣ ♥✙ ☞☛✑ ✸☛❥✧✑ ✍✑✒ ❧♦ ✄☛✒♦ ✑ ✙✖✗✑ ✘✟ ✒✪ ✓✠✢ ✯✧✍✑✒ ✌✑ ✜t✎✑

❣✓☛✌ ★☛✙✑ ✣☛✯✣ ☞☛ ✣✤✓☛ ✑✖ � ✄☛✒♦ ✑ ☞❥ ✑✒ ❀☛✟❥ ✦☛✑♦✑ ❣✓☛✌ ★☛✙✑ ✣☛✯✣ ☞☛ ✣✤✓☛✑✖ ✈ ✄☛ ✒♦✑ ☞❥✑✒✳ ✗☛ ✑ ✱★✎✠✍✒✖

✣ ♥✙ ★✑✩★✙ ❀☛✬☛ ✘✎ ✸☛❥☛ ✵☛ ✌☞✗☛ ✘✟✪ ✣✤✲✓✑☞ ✣☛✯✣ ✣ ❝❣☛☞❧✣❝❣☛☞ ✴✣ ✌✑ ✱★✎✠✍✒✖ ✣ ♥✙ ☞☛✑ ✠☞✗✧✑

✌✍✓ ✍✑✒ ✸☛❥ ✣☛✚✖☛♦

❣✌ :

✍☛✧ ✙✎✠✵✚ ✠☞ ✜t✎✑ ❣✓☛✌ ★☛✙✑ ✣☛✯✣ ☞☛✑ ✣ ♥✙ ☞☛✑ ❀★✑✩✙✑ ✸☛❥✧✑ ✍✑✒ x ✄☛✒♦ ✑ ✙✖✗✑ ✘✟✒ ✗❣☛☛ ✦☛ ✑♦✑ ❣✓☛✌

★☛✙✑ ✣☛✯✣ ☞☛✑ ❀★✑✩✙✑ ✸☛❥✧✑ ✍✑✒ y ✄☛✒♦ ✑ ✙✖✗✑ ✘✟ ✒✪

x ✄☛✒♦ ✑ ✍✑✒ ✜t✎✑ ❣✓☛✌ ★☛✙☛ ✣☛✯✣ ✣ ♥✙ ☞☛✑ ✣ ♥❥☛ ✸☛❥ ✢✑✗☛ ✘✟✪

✯✌✠✙✚✳ ❧ ✄☛✒♦ ✑ ✍✑✒ ✜t✎✑ ❣✓☛✌ ★☛✙☛ ✣☛✯✣ ✣ ♥✙ ☞☛ 
1

x
✸☛☛✖ ✸☛❥ ✑✖☛ ❀☛ ✟❥ ✯✌✎✠✙✚ � ✄☛✒♦ ✑ ✍✑✒ ✓✘ ✣☛✯✣

✣ ♥✙ ☞☛
4

x
 ✸☛☛✖ ✸☛❥✑✖☛✪

✯✌✎ ✣✤☞☛❥✳ ✈ ✄☛✒♦ ✑ ✍✑✒ ✦☛✑♦ ✑ ❣✓☛✌ ★☛✙☛ ✣☛✯✣ ✣ ♥✙ ☞☛
9

y
✸☛☛✖ ✸☛❥✑✖☛✪

✣✤�✧ ★✑✩ ❀✧✔✌☛❥✳

4 9 1
 

2x y
...(1)

✌☛❣☛ ✘✎✳ ✢☛✑✧☛✑ ✒ ✣☛✯✣☛✑✒ ☞☛ ✣✤✓☛ ✑✖ ☞❥✧✑ ✣❥ ✣ ♥✙ ❧♦ ✄☛✒♦ ✑ ✍✑ ✒ ✸☛❥ ✵☛✗☛ ✘✟✪

❀✗❢, 
12 12

1
x y

...(2)
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✍☛✧ ✙✎✠✵✚ ✠☞ 
1

x
= u ❀☛✟❥ 

1
v

y
✘✟✪ ✗✜✳ ✌✍✎☞❥✏☛ ✫❧✭ ❀☛✟❥ ✫♦✭ Ø✍�☛❢ ✘☛ ✑ ✵☛✗✎ ✘✟✒❢

1
4 9

2
u v ...(3)

12 12 1u v ...(4)

✌✍✎☞❥✏☛ ✫✂✭ ☞☛✑ ✂ ✌✑ ✖✔✏☛☛ ☞❥★✑✩ ♠✌✍✑✒ ✌✑ ✌✍✎☞❥✏☛ ✫�✭ ☞☛✑ ✄☛♦☛✧✑ ✣❥✳ ✘✍✑✒ ✣✤☛�✗ ✘☛✑✗☛ ✘✟❢

1
15

2
v  ✓☛  

1

30
v

❀✜ v ☞☛ ✍☛✧ ✌✍✎☞❥✏☛ (4) ✍✑✒ ❥✡☛✧✑ ✣❥✳ ✘✍✑✒ 
1

20
u  ✣✤☛�✗ ✘☛✑✗☛ ✘✟✪

✯✌✎ ✣✤☞☛❥✳
1

20
u , 

1

30
v

❀✗❢✳
1 1 1 1

,
20 30x y

✓☛ x = 20 ❀☛✟❥  y = 30.

❀✗❢ ✜t✎✑ ❣✓☛✌ ★☛✙☛ ✣☛✯✣ ❀★✑✩✙✑ ✣ ♥✙ ☞☛✑ ♦❢ ✄☛✒♦✑ ✍✑✒ ✸☛❥ ✌☞✗☛ ✘✟ ✗❣☛☛ ✦☛✑♦ ✑ ❣✓☛✌ ★☛✙☛ ✣☛✯✣

♠✌✑ ✂❢ ✄☛✒♦ ✑ ✍✑✒ ✸☛❥ ✣☛✚✖☛✪

✿❃❄❆✏✼✑❁ 3.4

1. ✠✧✶✧✠✙✠✡☛✗ ✌✍✎☞❥✏☛❧✓✔✕✍ ☞☛✑ ❀☛✙✑✡☛✎✓ ✴✣ ✌✑ ✘✙ ☞✎✠✵✚ ❢

2x + y = 6

2x – y + 2 = 0

♠✧ ✢☛✑ ✠❢☛✸☛✔✵☛✑✒ ★✑✩ ✈☛✑❢☛✣✩✙☛✑✒ ☞☛ ❀✧✔✣☛✗ ✈☛✗ ☞✎✠✵✚✳ ✵☛✑ ✯✧ ✌✍✎☞❥✏☛☛✑✒ ☞☛✑ ✠✧✴✠✣✗ ☞❥✧✑

★☛✙✎ ❥✑✡☛☛❀☛ ✑✒ ✛☛❥☛ Ø✍�☛❢ x-❀✈☛ ❀☛✟❥  y-❀✈☛ ✛☛❥☛ ✜✧☛✚ ✵☛✗✑ ✘✟✒✪

2. ❥✑✡☛☛❀☛✑✒  y = x, 3y = x ❀☛✟❥ x + y = 8 ✌✑ ✜✧✧✑ ★☛✙✑ ✠❢☛✸☛ ✔✵ ★✑✩ �☛✎✂☛☛ ✑♦ ★✑✩ ✠✧✢✑❞�☛☛ ✒☞ ❀☛✙✑✡☛✎✓

✠★✠✬ ✌✑ ✠✧✬☛ ❞✠❥✗ ☞✎✠✵✚✪
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3. ✌✍✎☞❥✏☛  x = 3, x = 5 ❀☛✟❥  2x – y – 4 = 0 ★✑✩ ❀☛✙✑✡☛ ✡☛✎✒✠✁✚✪ ✯✧ ❥✑✡☛☛❀☛✑✒ ❀☛ ✟❥ x–❀✈☛

✛☛❥☛ ✜✧☛✚ ✖✚ ✁✗✔✸☛❞✔✵ ☞☛ ✈☛ ✑❢☛✣✩✙ ✈☛✗ ☞✎✠✵✚✪

4. � ✣✑✧ ❀☛✟❥ � ✣✑✒✠✌✙ ✜☛ ✹♦✌☛✑✒ ☞☛ ✍♥❢✓ ❧❢❢ ✈ ✘✟✪ ✚☞ ✣✑✧ ★✑✩ ✍♥❢✓ ☞☛ ✗✎✧ ✖✔✧☛ ✚☞ ✣✑✒✠✌✙

✜☛ ✹♦✌ ★✑✩ ✍♥❢✓ ✌✑ ❧❧ ✈ ❀✠✬☞ ✘✟✪ ♠✣❥☛✑♦✗ ✠✱❣☛✠✗ ★✑✩ ✠✙✚✳ ❥ ✟✠✡☛☞ ✌✍✎☞❥✏☛☛ ✑✒ ☞☛ ✚☞ ✓✔✕✍

✜✧☛✯✚✪ ✚☞ ✣✑✧ ❀☛✟❥ ✚☞ ✣✑✒✠✌✙ ✜☛ ✹♦✌ ★✑✩ ✍♥❢✓ ✸☛✎ ✈☛✗ ☞✎✠✵✚✪

5. ❥✑✡☛☛❀☛✑✒

3 – 3x y

2 – 3 2x y

2 8x y

✌✑ ✜✧✧✑ ★☛✙✑ ✠❢☛✸☛✔✵ ★✑✩ �☛✎✂☛❞ ✜✎✵✎✓ ✠★✠✬ ✌✑ ✠✧✬☛❞✠❥✗ ☞✎✠✵✚✪

6. ❀✒✠☞✗☛ ❀✣✧✑ ✄☛❥ ✗☞ 14 km ☞✎ ✢ ♥❥✎ ❀☛✒✠�☛☞ ✴✣ ✌✑ ✠❥♦�☛☛ ✌✑ ❀☛✟❥ ❀☛✒✠�☛☞ ✴✣ ✌✑ ✜✌

✛☛❥☛ ✗✓ ☞❥✗✎ ✘✟✪ ✓✠✢ ★✘ 2 km ✢ ♥❥✎ ✠❥♦�☛☛ ✌✑ ✗❣☛☛ �☛✑✂☛ ✢ ♥❥✎ ✜✌ ✌✑ ✗✓ ☞❥✑✳ ✗☛✑ ♠✌✑ ★✔✩✙

✢ ♥❥✎ ✁✙✧✑ ✍✑✒ ❀☛✬☛ ✄☛✒♦☛ ✙✖✗☛ ✘✟✪ ✢ ♥✌❥✎ ❀☛✑❥✳ ✓✠✢ ★✘ 4 km ✢ ♥❥✎ ✠❥♦�☛☛ ✌✑ ❀☛✟❥ �☛✑✂☛ ✢ ♥❥✎ ✜✌

✌✑ ✁✙✑✳ ✗☛✑ ♠✌✑ ✈ ✠✍✧♦ ❀✠✬☞ ✙✖✗✑ ✘✟✒✪ ✠❥♦�☛☛ ☞✎ ✁☛✙ ❀☛✟❥ ✜✌ ☞✎ ✁☛✙ ✈☛✗ ☞✎✠✵✚✪

7. ✚☞ ❣✓✠♦✗ �☛☛ ✒✗ ✵✙ ✍✑✒ 5 km/h ☞✎ ✁☛✙ ✌✑ ✧☛★ ✡☛ ✑✧✑ ✣❥  40 km ☞✎ ✢ ♥❥✎ ✬☛❥☛ ★✑✩ ✣ ✤✠✗★ ♥✩✙

✵☛✧✑ ✍✑✒ ♠✌ ✌✍✓ ✌✑ ✠✗✖✔✧☛ ✌✍✓ ✙✑✗☛ ✘✟ ✠✵✗✧☛ 40 km ☞✎ ✢ ♥❥✎ ✬☛❥☛ ★✑✩ ❀✧✔★ ♥✩✙ ✵☛✧✑ ✍✑✒

✙✖✗☛ ✘✟✪ ✬☛❥☛ ☞✎ ✁☛✙ ✈☛✗ ☞✎✠✵✚✪

8. ✚☞ ✍☛✑♦❥✜☛✑♦ ✬☛❥☛ ★✑✩ ✣✤✠✗★ ♥✩✙ 30 km ❀☛✟❥ ✬☛❥☛ ★✑✩ ❀✧✔★ ♥✩✙ 28 km ✵☛✧✑ ✍✑✒ ✁ ✄☛✒♦ ✑ ☞☛ ✌✍✓

✙✖☛✗✎ ✘✟✪ ★✘ ✬☛❥☛ ★✑✩ ✣ ✤✠✗★ ♥✩✙ 21 km ✵☛☞❥ ❧ ✄☛✒♦ ✑ ✍✑✒ ★☛✣✌ ❀☛ ✌☞✗✎ ✘✟✪ �☛☛✒✗ ✵✙ ✍✑✒

✧☛★ ☞✎ ✁☛✙ ❀☛ ✟❥ ✬☛❥☛ ☞✎ ✁☛✙ ✈☛✗ ☞✎✠✵✚✪

9. ✢☛✑ ❀✒☞☛✑✒ ☞✎ ✚☞ ✌✒✡✓☛ ✓☛ ✗☛ ✑ ❀✒☞☛✑✒ ★✑✩ ✓☛✑✖ ☞☛✑ ♦ ✌✑ ✖✔✏☛☛ ☞❥ ❀☛✟❥ ✠✣✩❥ ♠✌✍✑✒ ✌✑ ❧ ✄☛♦☛

☞❥ ✣✤☛�✗ ✘☛✑✗✎ ✘✟ ✓☛ ❀✒☞☛✑✒ ★✑✩ ❀✒✗❥ ☞☛✑ ❧� ✌✑ ✖✔✏☛☛ ☞❥★✑✩ ❀☛✟❥ ✠✣✩❥ ♠✌✍✑✒ ✂ ✵☛✑t✎✧✑ ✣❥ ✣✤☛�✗

✘☛✑✗✎ ✘✟✪ ★✘ ✌✒✡✓☛ ✈☛✗ ☞✎✠✵✚✪

10. ❥✑✙ ★✑✩ ✚☞ ❀☛✬✑ ✠♦☞♦ ★✑✩ ✠✙✚✳ ✣ ♥❥✑ ✠☞❥☛✚ ☞☛ ❀☛✬☛ ✗❣☛☛ ❀☛❥✈☛✏☛ �☛✔❢☞ ♠✗✧☛ ✘✎ ✢✑✧☛

✣t✎✗☛ ✘✟ ✠✵✗✧☛ ✣ ♥❥✑ ✠♦☞♦ ★✑✩ ✠✙✚ ✢✑✧☛ ✘☛✑✗☛ ✘✟✪ ✱♦ ✑�☛✧ A  ✌✑ ✱♦ ✑�☛✧  B ✗☞ ★✑✩ ✠✙✚ ✚☞

✣✤❣☛✍ ✰✑✏☛✎ ★✑✩ ❀☛❥✠✈☛✗ ✠♦☞♦ ☞✎ ✙☛✖✗ 2530 ✈ ✘✟✪ ✌☛❣☛ ✘✎✳ A ✌✑ B ✗☞ ★✑✩ ✠✙✚✳ ✚☞

✣✤❣☛✍ ✰✑✏☛✎ ✠♦☞♦ ❀☛✟❥ ✚☞ ✣✤❣☛✍ ✰✑✏☛✎ ❀☛✬✑ ✠♦☞♦ ☞✎ ✙☛✖✗ 3810 ✈ ✘✟✪ ✱♦✑�☛✧ A ✌✑ ✱♦ ✑�☛✧

B ✗☞ ☞☛ ✣✤❣☛✍ ✰✑✏☛✎ ☞☛ ✣ ♥❥☛ ✠☞❥☛✓☛ ✈☛✗ ☞✎✠✵✚ ✗❣☛☛ ✌☛❣☛ ✘✎ ✚☞ ✠♦☞♦ ✣❥ ❀☛❥✈☛✏☛ �☛✔❢☞

✸☛✎ ✈☛✗ ☞✎✠✵✚✪
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11. ✚☞ ✢✔☞☛✧✢☛❥ ✧✑ ✚☞ ✌☛t✎✎ 8% ✙☛✸☛ ✣❥ ❀☛✟❥ ✚☞ ✱★✑♦❥ 10% ✜♦✈♦✑ ✣❥ ✜✑✁☛✳ ✠✵✌✌✑ ♠✌✑

1008 ✈ ☞✎ ✬✧❥☛✠�☛ ✣✤☛�✗ ✘✔✯❞✪ ✓✠✢ ♠✌✧✑ ✌☛t✎✎ 10%  ✙☛✸☛ ❀☛✟❥ ✱★✑♦❥ ☞☛✑ 8% ✜♦✈♦ ✑ ✣❥

✜✑✁☛ ✘☛✑✗☛✳ ✗☛ ✑ ♠✌✑ 1028 ✈ ☞✎ ✬✧❥☛✠�☛ ✣✤☛�✗ ✘☛✑✗✎✪ ✌☛t✎✎ ☞☛ Ø✓ ✍♥❢✓ ❀☛✟❥ ✱★✑♦❥ ☞☛ ✌ ♥✁✎

✍♥❢✓ ✫✜♦✈♦ ✑ ✌✑ ✣✘✙✑ ☞☛ ✍♥❢✓✭ ✈☛✗ ☞✎✠✵✚✪

12. ✌✔✂☛☛✧ ✧✑ ☞☛✑✯❞ ✬✧❥☛✠�☛ ✢☛✑ ✓☛✑✵✧☛❀☛✑✒ A ❀☛✟❥ B ✍✑✒ ✠✧★✑✠�☛✗ ☞✎✳ ✵☛✑ Ø✍�☛❢ 8% ❀☛✟❥ 9% ★☛✠✂☛❞☞

❈✓☛✵ ✢✑✗✎ ✘✟✒✪ ♠✌✑ ★✔✩✙ ★☛✠✂☛❞☞ ❈✓☛✵ ★✑✩ ✴✣ ✍✑✒ 1860 ✈ ✣✤☛�✗ ✘✔✚✪ ✣❥✒✗✔ ✓✠✢ ♠✌✧✑ ✯✧

✓☛✑✵✧☛❀☛✑✒ ✍✑✒ ✠✧★✑✠�☛✗ ❥☛✠�☛✓☛✑✒ ☞☛✑ ✣❥✱✣❥ ✜✢✙ ✠✙✓☛ ✘☛ ✑✗☛✳ ✗☛ ✑ ♠✌✑ ★☛✠✂☛ ❞☞ ❈✓☛✵ ★✑✩ ✴✣ ✍✑✒

20 ✈ ❀✠✬☞ ✣✤☛�✗ ✘☛✑✗✑✪ ♠✌✧✑ ✣✤✲✓✑☞ ✓☛✑✵✧☛ ✍✑✒ ✠☞✗✧✎ ❥☛✠�☛ ✠✧★✑✠�☛✗ ☞✎♦

13. ✠★✵✓ ★✑✩ ✣☛✌ ★✔✩✦ ★✑✩✙✑ ❣☛✑ ❀☛✟❥ ♠✌✧✑ ♠❣✘✑✒ ✢☛✑ ✌✍♥✘☛ ✑✒ ✫❞ ✑✠❥✓☛✑✒✭ A ✚★✒  B ✍✑✒ ✠★✸☛☛✠✵✗ ☞❥

✠✙✓☛✪ ♠✌✧✑ ✣✘✙✑ ✌✍♥✘ ★✑✩ ★✑✩✙☛✑✒ ☞☛✑ ♦ ✈ ★✑✩ ✂ ★✑✩✙✑ ☞✎ ✢❥ ✌✑ ✜✑✁☛ ✗❣☛☛ ✢ ♥✌❥✑ ✌✍♥✘ ★✑✩

★✑✩✙☛✑✒ ☞☛ ✑ ❧ ✈ ✣✤✠✗ ★✑✩✙✑ ☞✎ ✢❥ ✌✑ ✜✑✁☛ ❀☛✟❥ ★✔✩✙ �❢❢ ✈ ✣✤☛�✗ ✠☞✚✪ ✓✠✢ ♠✌✧✑ ✣✘✙✑ ✌✍♥✘

★✑✩ ★✑✩✙☛✑✒ ☞☛✑ ❧ ✈ ✣✤✠✗ ★✑✩✙✑ ☞✎ ✢❥ ✌✑ ✜✑✁☛ ✘☛✑✗☛ ✗❣☛☛ ✢ ♥✌❥✑ ✌✍♥✘ ★✑✩ ★✑✩✙☛ ✑✒ ☞☛✑ � ✈ ★✑✩

❧ ★✑✩✙✑ ☞✎ ✢❥ ✌✑ ✜✑✁☛ ✘☛✑✗☛✳ ✗☛✑ ♠✌✑ ☞✔✙ ��❢ ✈ ✣✤☛�✗ ✘☛ ✑✗✑✪ ✈☛✗ ☞✎✠✵✚ ✠☞ ♠✌★✑✩ ✣☛✌

★✔✩✙ ✠☞✗✧✑ ★✑✩✙✑ ❣☛✑✪
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✈✡☛☛☞✌✍ 36x2 – 42x + 12 = 0

✈✡☛☛☞✌✍

2
7

6   
2

x  + 12 – 
49

4
 = 0

✈✡☛☛☞✌✍

2
7

6
2

x  – 

2
1

2
= 0  ❀☛  

2 2
7 1

6 –
2 2

x
✎ ✏ ✎ ✏

✑✒ ✓ ✒ ✓
✔ ✕ ✔ ✕

❜✖ ✗✘✙ ✚✛✘
7 1

6   
2 2

x  ✖ ❧ ✜✢☛✣✌ ✤☛ ❧✥✦ ❧✧

✈✡☛☛☞✌ ✍ 6x = 4, 3

✈✡☛☛☞✌✍ x  = 
2 1

,  
3 2

✐★ ✩✪ ✫✬✭ ✮ ✐★ ✬✯ 2: ❀ ✗✰ ✈✗✱✌☛ ✲ ❧ ✈ ✜✲ ❧ ✦ ✗✳☛✌ ✴ ❧✵ ✶ ❧✷✶ ✚ ❧✥ 30 ✈✥ ✸☛ ❧✥ ✚ ❧✥ ✖ ❧ ✜✢☛ ✣✌ ✗✸✙ ✦ ✙ ✈✥ ✸☛ ❧✥ ✖ ❧

✹✺ ✈✥ ✸ ✈ ✗✻ ✸ ✜✢☛✣ ✌ ✗✸✙ ✤ ☛ ❧✌ ❧✼ ✌☛ ❧ ❜✲ ✈✥ ✸☛ ❧✥ ✸☛ ✽ ✦ ✾✲☛ ✿✖ ✴ ❧✵ ❁☛ ❂☛ ✴ ☛✷ ✌✴ ✚ ❧✥ ✜✢☛✣✌ ✗✸✙ ✦ ✙ ✈✥ ✸☛ ❧✥

✸☛ ✴✦ ☞ ✤ ☛ ❧✌☛✧ ✿✖ ✲ ❧ ✶ ❧✷✶ ✚ ❧✥ ✗✸✌✲ ❧ ✈✥ ✸ ✜✢☛✣ ✌ ✗✸✙ ✡☛ ❧❞

❣❃ : ✚☛✲ ✘ ❡ ✗✱✙ ✗✸ ✿✖ ✴ ❧✵ ✴ ☛✷ ✌ ✗✴ ✸ ✈✥ ✸ x ✡☛ ❧✧

✈✌❄ 9 (x +10) = x2

❀☛ x2 – 9x – 90 = 0

✈✡☛☛☞✌✍ x2 – 15x + 6x – 90 = 0

✈✡☛☛☞✌✍ x(x – 15) + 6(x –15) = 0

✈✡☛☛☞✌✍ (x + 6) (x –15) = 0

✈✌❄ x = – 6    ❀☛    x =15

❉❀☛ ❧✥ ✗ ✸ x ✜ ✢☛✣✌ ✗✸✙ ✦✙ ✈✥ ✸ ✤ ❅✥, ❜✖ ✗✘✙ x ❆ – 6 ✤ ❅✧ ✈✌❄ ✼ x = 15 ✤❅✧

❜✖ ✜ ✢✸☛ ❂ ✼ ✈ ✗✱✌☛ ✲ ❧ ✦ ✗✳☛✌ ✶ ❧✷✶ ✚ ❧✥ ✹❇ ✈✥ ✸ ✜✢☛✣ ✌ ✗✸✙ ✡☛ ❧✧

✐★ ✩✪ ✫✬✭ ✮ ✐★ ✬✯ 3 : ✙ ✸ ❂❧✘✦ ☛❈❊ ❡ 63 km ✸ ❡ ✰✛ ❂❡ ✗✸✖ ❡ ✗✲ ✗❋ ●✌ ✈☛ ❅✖✌ ●☛✘ ✖ ❧ ✌ ❀ ✸ ❂✌ ❡ ✤❅ ✈☛ ❅ ❂

✗✜✵ ❂ 72 km ✸ ❡ ✰✛ ❂❡ ✜✢☛ ❂✥ ✗❍ ☛ ✸ ●☛✘ ✖ ❧ 6 km/h ✈✗ ✻✸ ✈☛❅✖ ✌ ●☛✘ ✖ ❧ ✌ ❀ ✸ ❂✌ ❡ ✤❅✧ ❀ ✗✰ ❀✤ ✜✛ ❂ ❡

❀☛ ■☛☛ 3 ❏☛✥✶ ❧ ✚ ❧✥ ✌ ❀ ✸❡ ✦ ❜☞ ✤❅ ✼ ✌☛ ❧ ✜✢☛ ❂✥ ✗❍ ☛ ✸ ✈☛❅ ✖✌ ●☛✘ ❉❀☛ ✡☛ ❡❞
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3. ✙ ✸ ✜✢☛ ✱✌ ✖ ✥ �❀☛ ✚ ❧✥ ✱ ✁ 12 ✸❡ ✴ ✥ ✗✂ ✸ ❡ ✱☛✌ ❡ ✤❅, ✌☛ ❧ ✴ ✤ ✈✜✲ ❧ r ❀ ✾✄☎✚ ✴ ❧✵  160 ✦ ✾✲ ❧ ✴ ❧✵

✁❂☛ ✁❂ ✤ ☛ ❧ ✱☛✌ ❡ ✤ ❅✧ ✴ ✤ ✖ ✥ �❀☛ ❝☛✌ ✸ ❡✗✱ ✙✧

4. ✙ ✸ ❂❧✘ ✦☛ ❈❊ ❡ 360 km ✸❡ ✰✛ ❂❡ ✙ ✸❞✖ ✚☛✲ ●☛✘ ✴ ❧✵ ✖ ☛ ✡☛ ✌ ❀ ✸ ❂✌ ❡ ✤ ❅✧ ❀ ✗✰ ❂❧✘ ✦☛ ❈❊ ❡ ❀✤ ❡ ✰✛ ❂ ❡

5 km/h ✈✗ ✻✸ ●☛✘ ✖ ❧ ✌ ❀ ✸❂✌ ❡ ✼ ✌☛ ❧ ❀☛ ■☛☛ ✚ ❧✥ 48 ✗✚✲✶ ✸✚ ✖✚ ❀ ✘✦ ✌☛✧ ❂❧✘✦ ☛❈❊ ❡ ✸ ❡

✜✢☛ ❂✥ ✗❍☛ ✸ ●☛ ✘ ❝☛✌ ✸❡✗✱✙ ✧

5. ❀✗ ✰ ❀☛ ❧✁☛ ✈✜✲ ❡ ✴ ☛✷ ✌ ✗✴ ✸ ✈☛ ❀ ✾ ✖ ❧ 5 ✴ ♦☛☞ ✆☛ ❧✶ ❡ ✤ ☛ ❧✌ ❡✼ ✌☛ ❧ ✿✖ ✸ ❡ ✈☛ ❀✾ ✝✴ ♦☛☛ ❧☞ ✚ ❧✥✞ ✸☛ ✴ ✦ ☞ ✿✖ ✸ ❡

✴ ☛✷✌ ✗✴ ✸ ✈☛ ❀ ✾ ✴ ❧✵ ✜☛ ✟ ● ✦ ✾✲ ❧ ✖ ❧ 11 ✴ ♦☛ ☞ ✈ ✗✻ ✸ ✤ ☛ ❧✌☛✧ ✿✖ ✸ ❡ ✴ ✌☞✚☛✲ ✈☛ ❀ ✾ ❉❀☛ ✤ ❅❞

  6. ✈☛ ❋☛☛ ✸❡ ✴✌☞ ✚☛✌ ✈☛ ❀✾ ✝✴ ♦☛☛ ❧☞ ✚ ❧✥✞ ✈ ✜✲ ❡ ✜✾ ■☛ ❡ ✗✲❋☛☛ ✸❡ ✈☛ ❀✾ ✴ ❧✵ ✴ ✦ ☞ ✖ ❧ 2 ✈✗ ✻✸ ✤ ❅✧ ✱ ✁ ✗✲❋ ☛☛

✈✜✲ ❡ ✚☛ ✟ ✸❡ ✴ ✌☞✚☛✲ ✈☛ ❀ ✾ ✴ ❧✵ ✁❂☛ ✁❂ ✤ ☛ ❧✦ ❡✼ ✌☛ ❧ ✈☛❋ ☛☛ ✸❡ ✈☛ ❀ ✾ ✗✲❋ ☛☛ ✸❡ ✴ ✌☞✚☛✲ ✈☛ ❀✾ ✴ ❧✵ 10

✦ ✾✲ ❧ ✖ ❧ 1 ✴ ♦☛☞ ✸✚ ✤☛ ❧✦ ❡✧ ✈☛ ❋☛☛ ✈☛ ❅ ❂ ✗✲ ❋☛☛ ✸❡ ✴ ✌☞✚☛✲ ✈☛ ❀ ✾ ❝☛ ✌ ✸❡ ✗✱✙ ✧

  7. ✗✴ ✚☛ ✈☛ ❧✥ 50 m × 40 m ✴ ☛✘ ❧ ✙ ✸ ✈☛ ❀✌☛ ✸☛ ❂ ✘☛ ✠✲ ✴ ❧✵ ✁ ❡●☛ ❧❞✁ ❡● ✚ ❧✥ ✙ ✸ ✈☛ ❀✌☛ ✸☛ ❂ ✌☛✘☛ ✁

❜✖ ✜✢ ✸☛ ❂ ✁✲☛ ❀☛ ✱☛✲ ☛ ✤❅ ✗ ✸ ✌☛✘☛ ✁ ✴ ❧✵ ●☛ ❂☛ ❧✥ ✈☛ ❧❂ ✘✦ ❡ ❏☛☛✖ ✴ ☛✘ ❧ ❍ ☛☛✦ ✸☛ ❜☛ ❧■☛ ✜✵✡ ☛

1184 m2 ✤ ☛ ❧ [ ✰❧✗�☛✙ ✈☛ ✱✗✌ 4.1]✧ ✌☛✘☛ ✁ ✸❡ ✘✥ ✁☛ ❜☞ ✈☛❅ ❂ ●☛❅❈❊☛ ❜☞ ❝☛ ✌ ✸ ❡✗✱✙ ✧

  8. ❀✤ ❝ ☛✌ ✤ ✾✈☛ ✤ ❅ ✗✸ ✖☛ ❀✥ 2 ✁✱ ✸❂ t ✗✚✲✶ ✜❂ ✗✸✖ ❡ ❏☛❈❊ ❡ ✸ ❡ ✗✚✲✶ ✴ ☛✘ ❡ ✖ ✾ ❜☞ ✸☛ ❧ ✖ ☛ ❀✥ 3

✁✱ ❧ ✸☛ ✖ ✚ ❀ ✰❋ ☛☛☞✲ ❧ ✴ ❧✵ ✗✘✙  

2

4

t
 ✗✚✲✶ ✖ ❧ ❢ ✗✚✲✶ ✸✚ ✖ ✚ ❀ ✸❡ ✈☛✴ ❋ ❀✸✌☛ ✤ ❅✧ t  ❝ ☛✌

✸❡✗✱✙ ✧

✈☛☞✌✍ ✎✏ ✑ ✒✓





• ❀�✁ �✂✄☎ AP ♦✆✝ ✞✟✠✡☛ n ✞✁✡✆❛ ✂✡ ❀✡✆☞ S
n
 ❣✡ ✆✌ ✍✡ ✆ ✎✄ AP ✂✡ n♦✡✏ ✞✁ na �❢✑❢�✒�✓✡✍

✄✆ ✞✟✡❧✍ ❣✡✆✍✡ ❣✔✕

a
n
 = S

n
 – S

n – 1

(B) ❝✖✗ ✘✙✚✛✜✢✣ ✜✤✥✦

✧★✩ ✪✫✩ ✬✭✮ ✧✯✰✱✲✭✳✴ ✵✳✴ ✶✳ ✶✪✷ ✸✹✭✮ ✬✫✧✺✩✕

✐✻✼✽✾✿❁❂ ✐✻✿❃ 1 : AP : 5, 8, 11, 14, ... ✂✡ 10♦✡✏ ✞✁ ❣✔

(A) 32 (B) 35 (C) 38 (D) 185

❄❅ : ♠❆✡❇ (A)

✐✻✼✽✾✿❁❂ ✐✻✿❃ 2 : �✂✄☎ AP ☛✆❛✌ ❀�✁ a = –7.2, d = 3.6 ✈✡✔❇ a
n
 = 7.2 ❣✔✌ ✍✡✆ n ✂✡ ☛✡❢ ❣✔

(A) 1 (B) 3 (C) 4 (D) 5

❄❅ : ♠❆✡❇ (D)

✜✤✥✦❈✙❉✢ 5.1

✧★✩ ✪✫✩ ✬✭✮ ✧✯✰✱✲✭✳✴ ✵✳✴ ✶✳ ✶✪✷ ✸✹✭✮ ✬✫✧✺✩ ✕

1. �✂✄☎ AP ☛✆❛, ❀�✁ d = – 4, n = 7 ✈✡✔❇  a
n
 = 4 ❣✔✌ ✍✡✆ a ✂✡ ☛✡❢ ❣✔

(A)   6 (B)  7 (C)  20 (D)  28

2. �✂✄☎ AP ☛✆❛ , ❀�✁ a = 3.5, d = 0 ✈✡✔❇  n = 101❣✔✌ ✍✡ ✆ an
 ❊❇✡❊❇ ❣✔

(A)  0 (B)  3.5 (C)  103.5 (D)  104.5

3. ✄❛✓❀✡✈✡✆❛ – 10, – 6, – 2, 2,... ✂☎ ✄❞❋☎

(A) d = – 16 ♦✡✒☎ ●✂ AP ❣✔

(B) d =    4 ♦✡✒☎ ●✂ AP ❣✔

(C) d = – 4 ♦✡✒☎ ●✂ AP ❣✔

(D) ●✂ AP ❢❣☎❛ ❣✔

4. AP : –5, 
–5

2
, 0, 

5

2
, ... ✂✡ 11♦✡✏ ✞✁ ❣✔

(A)  –20 (B)  20 (C)  –30 (D)  30
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5. ♠✄ AP, �❢✄✂✡ ✞✟✠✡☛ ✞✁ –2 ✈✡✔❇ ✄✡♦ ✈ ✈❛✍❇ –2 ❣✔✌ ♦✆✝ ✞✟✠✡☛ ❋✡❇ ✞✁ ❣✔❛

(A) – 2, 0, 2, 4

(B) – 2, 4, – 8, 16

(C) – 2, – 4, – 6, – 8

(D) – 2, – 4, – 8, –16

6. ♠✄ AP, �❢✄♦✆✝ ✞✟✠✡☛ ✁✡✆ ✞✁ –3 ✈✡✔❇ 4  ❣✔❛✌ ✂✡ 21♦✡✏ ✞✁ ❣✔

(A)  17 (B)  137 (C)  143 (D)  –143

7. ❀�✁ �✂✄☎ AP ✂✡ ✁❞✄❇✡ ✞✁ 13 ✈✡✔❇ 5♦✡✏ ✞✁ 25 ❣✔✌ ✍✡✆ ♠✄✂✡ 7♦✡✏ ✞✁ ♦❀✡ ❣✔?

(A)  30 (B) 33 (C)  37 (D)  38

8. AP: 21, 42, 63, 84,...  ✂✡ ✂✡✔❢❞✄✡ ✞✁ 210 ❣✔?

(A)  9♦✡✏ (B) 10♦✡✏ (C) 11♦✡✏ (D) 12♦✡✏

9. ❀�✁ �✂✄☎ AP ✂✡ ✄✡♦ ✈ ✈❛✍❇ 5 ❣✔, ✍✡ ✆
18 13–a a ♦❀✡ ❣✔?

(A)  5 (B) 20 (C)  25 (D)  30

10. ♠✄ AP ✂✡ ✄✡♦ ✈ ✈❛✍❇ ♦❀✡ ❣✔✌ �❢✄☛✆❛ a
18

 – a
14

 = 32 ❣✔?

(A)  8 (B) – 8 (C)  – 4 (D)  4

11. ✁✡ ✆ ✄☛✡ ❛✍❇ ♥ ✆ �✞✟❀✡ ✆❛ ✂✡ ●✂ ❣☎ ✄✡♦ ✈ ✈❛✍❇ ❣✔✠ ✎❢☛✆❛ ✄✆ ●✂ ✂✡ ✞ ✟✠✡☛ ✞✁

–1 ✈✡✔❇ ✁❞✄❇☎ ✂✡ ✞✟✠✡☛ ✞✁ – 8 ❣✔✠ ✍❊✌ ✎❢♦✆✝ ❋✡✔✠✡✆ ✞✁✡ ✆❛ ♦✆✝ ❊☎❋ ✂✡ ✈❛✍❇ ❣✔

(A)  –1 (B) – 8 (C)  7 (D)  –9

12. ❀�✁ �✂✄☎ AP ♦✆✝ 7 ♦✆❛ ✞✁ ✂✡ 7 ☞ ①❢✡ ♠✄♦✆✝ 11♦✆❛ ✞✁ ♦✆✝ 11 ☞ ①❢✆ ♦✆✝ ❊❇✡❊❇ ❣✡✆✌ ✍✡✆ ♠✄✂✡ 18♦✡✏

✞✁ ❣✡✆☞✡

(A)  7 (B)   11 (C)  18 (D)  0

13. AP: –11, –8, –5, ..., 49 ♦✆✝ ✈❛✍ ✄✆ ❋✡✔✠✡✡ ✞✁ ❣✔

(A)  37 (B)  40 (C)  43 (D)  58

14. ✞✟✠✡☛ 100 ✞✟✡✡✍ ✄❛✓❀✡✈✡✆❛ ♦✆✝ ❀✡✆☞ ✂✡ ✆ ☛✡✍ ✂❇❢✆ ✄✆ ✄❛❊☞ ✞✟�✄☞ ☞�✌✡✍☛ ❣✔

(A)  ✞✡✎✠✡✡☞✡✆❇✄ (B) ❯❀❞✍❢

(C)  ☞✡ ✎✄ (D) ❀❞�♦✒❀
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15. ❀�✁ �✂✄☎ AP ✂✡ ✞✟✠✡☛ ✞✁ –5 ✈✡✔❇ ✄✡♦ ✈ ✈❛✍❇ 2 ❣✔,  ✍✡ ✆ ♠✄♦✆✝ ✞✟✠✡☛ 6 ✞✁✡✆❛ ✂✡ ❀✡✆☞ ❣✔

(A)  0 (B)  5 (C)  6 (D)  15

16. AP: 10, 6, 2,... ♦✆✝ ✞ ✟✠✡☛ 16 ✞✁✡✆❛ ✂✡ ❀✡✆☞ ❣✔

(A) –320 (B) 320 (C) –352 (D) –400

17. �✂✄☎ AP ☛✆❛✌ ❀�✁  a = 1, a
n
 = 20 ✈✡✔❇ S

n
 = 399 ❣✡ ✆❛, ✍✡✆  n ❊❇✡❊❇ ❣✔

(A) 19 (B)  21 (C)  38 (D)  42

18. 3 ♦✆✝ ✞✟✠✡☛ ✞✡✏❋ ☞ ①✌✡❢✡✆❛ ✂✡ ❀✡✆☞ ❣✔

(A)  45 (B)  55 (C)  65 (D)  75

(C) r✚ � ✙ ✁✂ ✄❈☎❈ ✄✆✘✝❈✞r ✟✠❈✡✢✣ ✜✤✥✦

✐✻✼✽✾✿❁❂ ✐✻✿❃ 1: AP: 10, 5, 0, –5, ... ✂✡ ✄✡♦ ✈ ✈❛✍❇ d, 5 ♦✆✝ ❊❇✡❊❇ ❣✔✠

✈✡✔�❋✈❀ ♦✆✝ ✄✡✠✡ ❊✍✡✎● �✂ ❀❣ ✂✠✡❢ ✄✈❀ ❣✔ ❀✡ ✈✄✈❀✠

❄❅ : a
2
 – a

1
 = 5 – 10 = – 5

a
3
 – a

2
 = 0 – 5 = – 5

a
4
 – a

3
 = –5 – 0 = – 5

❀❀�✞ ✄❛✓❀✡✈✡✆❛ ✂☎ ✁☎ ❣ ①✎✈ ✄❞❋☎ ●✂ AP ❊❢✡✍☎ ❣✔✌ ✞❇❛✍① ✎✄✂✡ ✄✡♦✈ ✈❛✍❇ d = –5 ❣✔✌ ❢ �✂ d = 5

✈✍✕✌ �✁❀✡ ❣ ①✈✡ ✂✠✡❢ ✈✄✈❀ ❣✔✠

✐✻✼✽✾✿❁❂ ✐✻✿❃ 2 : �✁❢❀✡ ❢✆ 1000 ★ 10% ♦✡�♦✡✈✂ ✂☎ ✁❇ ✄✆ ❋☛♦ ☞�☞ ✌❀✡❢ ✞❇ ❢☛✡ ✂❇✡●✠ ✞✟✠✡☛

♦♦✡✈✌ ✁❞✄❇✆ ♦♦✡✈✌ ✍☎✄❇✆ ♦♦✡✈, ..., ♦✆✝ ✈❛✍ ☛✆❛ �☛♥✍❢ ●✂ AP ❊❢✡✍✆ ❣✔ ❛✠ ✈✞❢✆ ♠❆✡❇ ✂✡ ✈✡✔�❋✈❀ ✁☎�❢●✠

❄❅ :      ✞✟✠✡☛ ♦♦✡✈ ♦✆✝ ✈❛✍ ☛✆❛ �☛♥✍❢ =  1100 ★

✁❞✄❇✆ ♦♦✡✈ ♦✆✝ ✈❛✍ ☛✆❛ �☛♥✍❢= 1210 ★

✍☎✄❇✆ ♦♦✡✈ ♦✆✝ ✈❛✍ ☛✆❛ �☛♥✍❢= 1331 ★ ✎✈❀✡�✁✠

✎✄ ✞✟✂✡❇✌ ✞✟✠✡☛ ♦♦✡✈✌ ✁❞✄❇✆ ♦♦✡✈✌ ✍☎✄❇✆ ♦♦✡✈, ... ♦✆✝ ✈❛✍ ☛✆❛ �☛♥✍❢ ✎★✞❀✡✆❛ ☛✆❛✏ ❣✔✕

1100, 1210, 1331, ...

❀❣✡✏ a
2
 – a

1
 = 110

a
3
 – a

2
 = 121

♦❀✡✆❛�✂ a
2
 – a

1
 ✑ a

3
 – a

2
❣✔, ✎✄�✒● ✎❢ �☛♥✍❢✡✆ ❛ ✄✆ ●✂ AP ❢❣☎❛ ❊❢✍☎ ❣✔✠
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✐✻✼✽✾✿❁❂ ✐✻✿❃ 3: �✂✄☎ AP ✂✡ n♦✡✏ ✞✁ n2 + 1❢❣☎❛ ❣✡ ✆ ✄✂✍✡✠ ✈✞❢✆ ♠❆✡❇ ✂✡ ✈✡✔�❋✈❀ ✁☎�❢●✠

❄❅ :

❀❣✡✏, 2
1na n

✈✍✕, 2
1 1 1 2a

2
2 2 1 5a

2
3 3 1 10a

�

✎❢ ✄❛✓❀✡✈✡✆❛ ✂☎ ✄❞❋☎ 2, 5, 10, ...❣✔✠

❀❣✡✏, 5 – 2 10–5 ❣✔✠ ✈✍✕✌ �✂✄☎ AP ✂✡ n♦✡✏ ✞✁ n2 + 1 ❢❣☎❛ ❣✡✆ ✄✂✍✡✠

♦✁✂✼✄✐✂ ❄❅ 1:

❣☛ ❢✡❢✍✆ ❣✔ �✂ ●✂ AP ☛✆❛ , –1–n nd a a ❣✡✆✍✡ ❣✔✠

❀❣✡✏, 2
1na n

✈✍✕, 2 2
–1– ( 1) – ( – 1) 1n na a n n

       = 2n – 1

♦❀✡✆❛�✂ –1–n na a , n ✞❇ �❢✐✡✈❇ ❣✔, ✎✄�✒● d ●✂ �❢�✱❋✍ ❀✡ ✈❋❇ ✄❛✓❀✡ ❢❣☎❛ ❣✡✆ ✄✂✍☎✠

✈✍✕, 2
1na n , �✂✄☎ AP ✂✡ n♦✡✏ ✞✁ ❢❣☎❛ ❣✡✆ ✄✂✍✡✠

♦✁✂✼✄✐✂ ❄❅ 2:

❣☛ ❢✡❢✍✆ ❣✔ ❛ �✂ �✂✄☎ AP ☛✆❛✌ ☎ ✆–1na a n d� ✡  ❣✡✆✍✡ ❣✔✠ ❣☛ ✁✆✓✡✍✆ ❣✔ ❛ �✂ na  ❋❇ n ☛✆❛ ●✂ ❇✔�✓✡✂

❊❣ ①✞✁ ❣✔✠

❀❣✡✏, 2
1na n ✌ ❋❇ n ☛✆❛ ●✂ ❇✔�✓✡✂ ❊❣ ①✞✁ ❢❣☎❛ ❣✔✠ ✈✍✕✌❀❣ �✂✄☎ AP ✂✡ n♦✡✏  ✞✁ ❢❣☎❛

❣✡✆ ✄✂✍✡✠





✐�✁✂ ✐�✄☎✁❏✆✝❏52

(ii) �✂✄☎ ❢✂❞✒ �✡❇✡ ✂✁✡✡ I ✄✆ XII ✍✂ ✄✆ ✞✟✈❀✆✂ ☛✡✄ ☛✆❛ �✒❀✡ ☞❀✡ ✱✡ ①r✂✌ ❢❊�✂ ✂✁✡✡ I

✂✡ ☛✡�✄✂ ✱✡ ①r✂ 250 ★ ❣✔ ✍✠✡✡ ❀❣ ✞✟✈❀✆✂ ✈☞✒☎ ✂✁✡✡ ♦✆✝ �✒● 50 ★ ❊✞✟✍✡ ❢✡✍✡ ❣✔✠

(iii) ♦★✌✡ ♦✆✝ ✓✡✡✍✆ ☛✆❛ ✞✟✈❀✆✂ ♦♦✡✈ ♦✆✝ ✈❛✍ ☛✆❛ ❢☛✡ ❇✡�✱✡✌ ❢❊ �✂ ✓✡✡✍✆ ☛✆❛ 1000 ★ 10% ♦✡�♦✡✈✂

✄✡✍✡❇✌✡ ✌❀✡❢ ✂☎ ✁❇ ✄✆ ❢☛✡ �✂● ☞● ❣✔❛✠

(iv) �✂✄☎ ✓✡✡❀ ✞✁✡✠✡✈ ☛✆❛ ✞✟✈❀✆✂ ✄✆♦❛✝❀ ♦✆✝ ❊✡✁ ❢☎♦✡✌✡ ①✈✡✆❛ ✂☎ ✄❛✓❀✡✌ ❢❊ �✂ ♦✆ ✞✟✈❀✆✂ ✄✆♦❛✝❀

☛✆❛ ✁ ①☞ ①❢✆ ❣✡✆ ❢✡✍✆ ❣✔ ❛✠

8. ✈✡✔�❋✈❀ ✁✆✍✆ ❣ ①● ❊✍✡✎● �✂ ♦❀✡ ❀❣ ✂❣❢✡ ✄✈❀ ❣✔ �✂ �❢✑❢�✒�✓✡✍ �✂✄☎ AP ♦✆✝ n♦✆❛ ✞✁ ❣✔❛✕

(i) 2n–3 (ii)   3n2+5 (iii)  1+n+n2

(D) ✄✆✘✝❈✞r ✟✠❈✡✢✣ ✜✤✥✦

✐✻✼✽✾✿❁❂ ✐✻✿❃ 1:❀�✁ ✄❛✓❀✡●✏ n – 2, 4n – 1 ✈✡✔❇ 5n + 2 �✂✄☎ AP ☛✆❛ ❣✔ ❛, ✍✡✆ n ✂✡ ☛✡❢ ☛✡✍ ✂☎�❢●✠

❄❅ :  ♦❀✡✆❛�✂ n – 2, 4n – 1, 5n + 2 �✂✄☎ AP ☛❛✆ ❣✔ ❛✌ ✎✄�✒●

(4n – 1) – (n – 2) = (5n + 2) – (4n – 1)

✈✠✡✡✈✍✈ 3n + 1 = n + 3

✈✠✡✡✈✍✈ n = 1

✐✻✼✽✾✿❁❂ ✐✻✿❃ 2: AP : –11, –7, –3,..., 49 ♦✆✝ ❊☎❋✡ ✆❞❊☎❋ ✎☛♦❀✏ ♦✡✒✡ ✎♦✡✒✆✏ ✞✁ (✞✁✡❛✆) ✂✡ (♦✆✝)

☛✡❢ ☛✡✍ ✂☎�❢●✠

❄❅ : ❀❣✡✏, a = –11, d = –7 – (–11) = 4, a
n
 = 49

❣☛✆❛ ✞✟✡❧✍ ❣✔✕ a
n
 = a + (n – 1) d

✈✍✕ , 49 = –11 + (n – 1) × 4

✈✠✡✡✈✍✈, 60 = (n – 1) × 4

✈✠✡✡✈✍✈, n = 16

♦❀✡✆❛�✂ n  ●✂ ✄☛ ✄❛✓❀✡ ❣✔, ✎✄�✒● ❀❣✡✏ ✁✡✆ ☛♦❀ ✞✁
16 16

 1
2 2
✂s✄ ✥❦❙❥ ✂✄s  ❣✡✆❛☞✆✌

✈✠✡✡✈✍✈ ❀✆   8♦✆❛ ✈✡✔❇ 9♦✆❛  ✞✁ ❣✡✆❛☞✆✠

✈❊ a
8
 = a + 7d = –11 + 7 × 4 = 17
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a
9
 = a + 8d = –11 + 8 × 4 = 21

✈✍✕, ❊☎❋✡✆❞❊☎❋ ♦✡✒✆ ☛♦❀ ✞✁✡ ✆❛ ♦✆✝ ☛✡❢ ☛☛✱✡✕ 17 ✈✡✔❇ 21❣✔❛✠

✐✻✼✽✾✿❁❂ ✐✻✿❃  3: �✂✄☎ AP ♦✆✝ ✞✟✠✡☛ ✍☎❢ ✞✁✡✆❛ ✂✡ ❀✡✆☞ 33 ❣✔✠ ❀�✁ ✞❣✒✆ ✈✡✔❇ ✍☎✄❇✆ ✞✁✡✆❛ ✂✡

☞ ①✌✡❢✞✝✒ ✁❞✄❇✆ ✞✁ ✄✆ 29 ✈�✍✂ ❣✔, ✍✡✆ ♦❣ AP ☛✡✍ ✂☎�❢●✠

❄❅ : ☛✡❢ ✒☎�❢● �✂ AP ♦✆✝ ♠✞❇✡✆♦✍ ✍☎❢ ✞✁ a – d, a, a + d ❣✔❛✠

✈✍✕, a – d + a + a + d = 33

❀✡ a = 11

✄✡✠✡ ❣☎, (a – d) (a + d) = a + 29

✈✠✡✡✈✍✈ a2 – d2 = a + 29

✈✠✡✡✈✍✈ 121 – d2 = 11 + 29

✈✠✡✡✈✍✈ d2 = 81

✈✠✡✡✈✍✈ d = ± 9

✈✍✕✌ ❀❣✡✏ ✁✡✆ AP ❣✡✆❛☞☎✌ ❢✡ ✆ 2, 11, 20, ... ✈✡✔❇ 20, 11, 2, ...❣✔❛✠

✜✤✥✦❈✙❉✢ 5.3

1. ❢✍❛✐✡ A ☛✆❛ ✁☎ ❣ ①✎ ✈ ✞✟✈❀✆✂ AP ✂✡✆ ❢✍❛✐✡ B ☛✆❛ �✁● ♠✞❀ ①♦✍ ✄✡♦ ✈ ✈❛✍❇ ✄✆ ✄①☛✆�✒✍ ✂☎�❢●✕

▲✽ �✁❁ A ▲✽�✁❁ B

(A
1
) 2, –2, –6, –10,... (B

1
)

2

3

(A
2
) a = –18, n = 10, a

n
 = 0 (B

2
) –5

(A
3
) a = 0, a

10
 = 6 (B

3
)  4

(A
4
) a

2
 = 13, a

4
 =3 (B

4
) –4

(B
5
)   2

(B
6
)      

1

2

(B
7
)       5
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11. k ✂✡ ☛✡❢ ☛✡✍ ✂☎�❢● ✍✡�✂ k2+ 4k + 8, 2k2 + 3k + 6, 3k2 + 4k + 4 �✂✄☎ AP ♦✆✝ ✍☎❢

☛☛✡☞✍ ✞✁ ❣✡✆❛✠

12. 207 ✂✡✆ ✍☎❢ ●✆✄✆ ✐✡✡☞✡ ✆❛ ☛✆❛ �♦✐✡♦✍ ✂☎�❢● �✂ ❀✆ ✐✡✡☞ ●✂ AP ☛✆❛ ❣✡ ✆❛ ✍✠✡✡ ✁✡✆ ❡✡✆✍ ✆ ✐✡✡☞✡ ✆❛ ✂✡

☞ ①✌✡❢✞✝✒ ①�✁✂ ❣✡✆✠

13. �✂✄☎ �❢✡✐✡ ①❢ ♦✆✝ ✂✡✆✌✡ ●✂ AP ☛✆❛ ❣✔ ❛✠ ✄❊✄✆ ❊❀✟✡ ✂✡✆✌✡ ✄❊✄✆ ❡✡✆✍ ✆ ✂✡✆✌✡ ✂✡ ✁①☞ ①❢✡ ❣✔✠ �❢✡✐✡ ①❢

♦✆✝ ✄✐✡☎ ✂✡✆✌✡ ☛✡✍ ✂☎�❢●✠

14. ❀�✁ ✁✡ ✆ ✄☛✡❛✍❇ ♥✆�✞✟❀✡✆❛ ❀✌ ✄✌ ☎ ✆✆✆ ✈✡✔❇ ✁①✌ ✁✝✌ ✝✞✌ ✆✆✆ ♦✆✝ n♦✆❛ ✞✁ ●✂ ❣☎ ❣✔❛✌ ✍✡✆ n ✂✡ ☛✡❢

☛✡✍ ✂☎�❢●✠ ✄✡✠✡ ❣☎✌ ♦❣ ✞✁ ✐✡☎ ☛✡✍ ✂☎�❢●✠

15. ❀�✁ �✂✄☎ AP ♦✆✝ ✍☎✄❇✆ ✈✡✔❇ ✞♦✆❛ ✞✁✡✆❛ ✂✡ ❀✡✆☞ ✄ ❣✔ ✍✠✡✡ ✄♦✆❛ ✈✡✔❇ ✝①♦✆❛ ✞✁✡ ✆❛ ✂✡ ❀✡✆☞ –3 ❣✔✌

✍✡✆ ♠✄✂✡ ✝r♦✡✏ ✞✁ ☛✡✍ ✂☎�❢●✠

16. AP: –2, –4, –6,..., –100 ✂✡ ✈❛✍ ✄✆ ✝✁♦✡✏ ✞✁ ☛✡✍ ✂☎�❢●✠

17. AP: 53, 48, 43,.. ☛✆❛ ✞✟✠✡☛ ✟✌✡✡✈☛✂ ✞✁ ✂✡✔❢❞✄✡ ❣✡✆☞✡✠

18. ✝r ✈✡✔❇ ✂rr ♦✆✝ ❊☎❋ ☛✆❛ �❢✠✡✍ ●✆✄☎ �✂✍❢☎ ✄❛✓❀✡●✏ ❣✔ ❛✌ �❢❢✂✡✆ ① ✄✆ ✐✡✡☞ ✁✆❢✆ ✞❇ ✱✡✆♦✡✞✝✒ ✂

❇❣✍✡ ❣✔✠

19. AP: 
4

–
3

, –1, 
2

–
3

,..., 
1

4
3

 ♦✆✝ ✁✡✆❢✡✆❛ ☛♦❀ ✞✁✡✆ ❛ ✂✡ ❀✡✆☞ ☛✡✍ ✂☎�❢●✠

20. �✂✄☎ AP ✂✡ ✞✟✠✡☛ ✞✁  –5 ✈✡✔❇ ✈❛�✍☛ ✞✁ ①☎ ❣✔✠ ❀�✁ ✎✄  AP ♦✆✝ ✞✁✡✆❛ ✂✡ ❀✡✆☞ ✝✁r ❣✡✆✌

✍✡✆ ✞✁✡✆❛ ✂☎ ✄❛✓❀✡ ✈✡✔❇ ✄✡♦ ✈ ✈❛✍❇ ☛✡✍ ✂☎�❢●✠

21. ❀✡✆☞ ☛✡✍ ✂☎�❢● ✕

(i) 1 + (–2) + (–5) + (–8) + ... + (–236)

(ii)
1

4 –
n

 + 
2

4 –
n

 + 
3

4 –
n

+... n ✞✁✡✆❛ ✍✂

(iii)
– 3 – 2 5 – 3

...
a b a b a b

a b a b a b
✡ ✡ ✡

✡ ✡ ✡
 11 ✞✁✡ ✆❛ ✍✂

22. AP: –2, –7, –12,... ✂✡ ✂✡✔❢❞✄✡ ✞✁ –77 ❣✔? ✞✁ ❞✄✄ ✍✂ ✎✄ AP ✂✡ ❀✡✆☞ ☛✡✍ ✂☎�❢●✠

23. ❀�✁ a
n
 = 3 – 4n ❣✡ ✆, ✍✡✆ ✁✱✡✡✈✎● �✂  1 2 3, , ,...a a a  ●✂ AP ❊❢✡✍✆ ❣✔ ❛✠ S

20
 ✐✡☎ ☛✡✍ ✂☎�❢●✠
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24. �✂✄☎ AP ☛✆❛✌ ❀�✁ S
n
 = n (4n + 1) ❣✔✌ ✍✡ ✆ AP ☛✡✍ ✂☎�❢●✠

25. �✂✄☎ AP ☛✆❛ ❀�✁ S
n
 = 3n2 + 5n ✈✡✔❇ a

k
 = 164 ❣✔, ✍✡ ✆ k ✂✡ ☛✡❢ ☛✡✍ ✂☎�❢●✠

26. ❀�✁ S
n
 �✂✄☎ AP ♦✆✝ ✞ ✟✠✡☛ n ✞✁✡ ✆❛ ✂✡ ❀✡✆☞ ❢❀♦✍ ✂❇✍✡ ❣✔✌ ✍✡✆ �✄☞ ✂☎�❢● �✂

S
12

 = 3(S
8
 –S

4
) ❣✔✠

27. ♠✄ AP ♦✆✝ ✞✟✠✡☛ ✝✄ ✞✁✡✆❛ ✂✡ ❀✡✆☞ ☛✡✍ ✂☎�❢●✌ �❢✄♦✆✝ ❋✡✔✠✡ ✆ ✈✡✔❇ ❀♦✆❛ ✞✁ ☛☛✱✡✕ –15 ✈✡✔❇

–30 ❣✔❛✠

28. ❀�✁ �✂✄☎ AP ♦✆✝ ✞✟✠✡☛ � ✞✁✡✆❛ ✂✡ ❀✡✆☞ ✂� ❣✔ ✍✠✡✡ ✞✟✠✡☛ ✝� ✞✁✡✆❛ ✂✡ ❀✡✆☞ ✁☎� ❣✔✌ ✍✡✆ ♠✄♦✆✝

✞✟✠✡☛ ✝r ✞✁✡✆❛ ✂✡ ❀✡ ✆☞ ☛✡✍ ✂☎�❢●✠

29. ♠✄ AP ♦✆✝ ✄✐✡☎ ✝✝ ✞✁✡✆ ❛ ✂✡ ❀✡✆☞ ☛✡✍ ✂☎�❢●✌ �❢✄✂✡ ☛♦❀ ✞✁ ✂r ❣✔✠

30. AP: 8, 10, 12,..., 126 ♦✆✝ ✈❛�✍☛ ✝r ✞✁✡ ✆❛ ✂✡ ❀✡ ✆☞ ☛✡✍ ✂☎�❢●✠

31. ●✆✄☎ ✞✟✠✡☛ ✄✡✍ ✄❛✓❀✡✈✡✆❛ ✂✡ ❀✡ ✆☞ ☛✡✍ ✂☎�❢●✌ ❢✡✆ ✁ ✂✡ ☞ ①✌✡❢ ❣❛✔ ✈✡✔❇ ❀ ✂✡ ✐✡☎ ☞①✌✡❢ ❣❛✔✠

[❧�♦�✁✽ : ✁ ✈✡✔❇ ❀ ✂✡ LCM ☛✡✍ ✂☎�❢●✠]

32. AP: –15, –13, –11,... ✂✡ ❀✡✆☞  –55 ❊❢✡❢✆ ♦✆✝ �✒● ✎✄♦✆✝ �✂✍❢✆ ✞✁✡✆❛ ✂☎ ✈✡♦✱❀✂✍✡ ❣✡ ✆☞☎?

✁✡✆ ♠❆✡❇ ✞✟✡❧✍ ❣✡✆❢✆ ✂✡ ✂✡❇✌✡ ❢✞♦✍ ✂☎�❢●✠

33. ✞✟✠✡☛ ✞✁ ✞ ✈✡✔❇ ✄✡♦ ✈ ✈❛✍❇ ✁r ♦✡✒☎ ●✂ AP ♦✆✝ ✞✟✠✡☛  n ✞✁✡ ✆❛ ✂✡ ❀✡✆☞ ●✂ ✈❯❀ AP ♦✆✝

✞✟✠✡☛ 2n ✞✁✡✆❛ ♦✆✝ ❀✡✆☞ ♦✆✝ ❊❇✡❊❇ ❣✔✌ �❢✄✂✡ ✞✟✠✡☛ ✞✁ ❞✂r ✈✡✔❇ ✄✡♦ ✈ ✈❛✍❇ ✞ ❣✔✠  n ☛✡✍ ✂☎�❢●✠

34. ✂�❢✂✡ ✂✡✆ ♠✄✂✡ ❢ ✆❊ ✓✡❋✈ ✝ ❢❢♦❇☎ ✁rr✞ ✂✡✆ �✁❀✡ ☞❀✡✠ ♦❣ ✎✄☛✆❛ ✄✆ ✈✞❢✆ �✞❞☞☎ ❊✔❛✂ ☛✆❛

✞❣✒✆ �✁❢ ✝ ★ ❀✡✒✍☎ ❣✔✌ ✁❞✄❇✆ �✁❢ ✁ ★ ❀✡✒✍☎ ❣✔✌ ✍☎✄❇✆ �✁❢ ✂ ★ ❀✡✒✍☎ ❣✔ ✍✠✡✡ ●✆✄✡ ❣☎

☛❣☎❢✆ ♦✆✝ ✈❛✍ ✍✂ ✂❇✍☎ ❇❣✍☎ ❣✔✠ ♠✄❢✆ ✈✞❢✆ ❢✆❊ ✓✡❋✈ ☛✆❛ ✄✆ ✁r① ★ ✓✡❋ ✈ ✐✡☎ �✂● ✈✡✔❇ ✞✡❀✡

�✂ ☛❣☎❢✆ ♦✆✝ ✈❛✍ ☛✆❛ ♠✄♦✆✝ ✞✡✄ ✈✐✡☎ ✐✡☎ ✝rr ★ ✱✡✆♦✡ ❣✔ ❛✠ ♠✄ ☛❣☎❢✆ ♠✄✂✡✆ �✂✍❢✡ ❢ ✆❊ ✓✡❋ ✈

�☛✒✡ ✠✡✡✠

35. ❀✡✄☛☎❢ ✞❣✒✆ ☛❣☎❢✆ ☛✆❛ ✂✁ ★ ✂☎ ❊❋✍ ✂❇✍☎ ❣✔✌ ✁❞✄❇✆ ☛❣☎❢✆ ☛✆❛ ✂� ★ ✂☎ ❊❋✍ ✂❇✍☎ ❣✔ ✍✠✡✡

✍☎✄❇✆ ☛❣☎❢✆ ☛✆❛ ①r ★ ✂☎ ❊❋✍ ✂❇✍☎ ❣✔✠ ❀�✁ ♦❣ ✎✄☎ ✞✟✂✡❇ ❊❋✍ ✂❇✍☎ ❇❣✆✌ ✍✡✆ �✂✍❢✆ ☛❣☎❢✆

☛✆❛ ♦❣ ✁rrr ★ ✂☎ ❊❋✍ ✂❇ ✒✆☞☎✠

(E) ♥✢✂❈� ✟✠❈✡✢✣ ✜✤✥✦

✜✤✘r♥✥❈� ✜✤✥✦ 1:  �✂✄☎ AP ☛✆❛ ❋✡❇ ☛☛✡☞✍ ✄❛✓❀✡✈✡✆❛ ✂✡ ❀✡✆☞ ✂✁ ❣✔ ✍✠✡✡ ✞❣✒✆ ✈✡✔❇ ✈❛�✍☛ ✄❛✓❀✡✈✡✆❛
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♦✆✝ ☞ ①✌✡❢✞✝✒ ✈✡✔❇ ✁✡✆ ☛♦❀ ✄❛✓❀✡✈✡✆❛ ♦✆✝ ☞①✌✡❢✞✝✒ ✂✡ ✈❢①✞✡✍ ✄ ✕ ✝☎ ❣✔✠ ♦✆ ✄❛✓❀✡●✏ ☛✡✍ ✂☎�❢●✠

✖❉ : ☛✡❢ ✒☎�❢● �✂ AP ☛✆❛ ❋✡❇✡✆❛ ☛☛✡☞✍ ✄❛✓❀✡●✏

a –3d, a – d, a + d, a + 3d

✈✍✕, a –3d + a – d + a + d + a + 3d = 32

        4a = 32

          a = 8

✄✡✠✡ ❣☎,
–3 3 7

– 15

a d a d

a d a d

❀✡,

2 2

2 2

– 9 7

– 15

a d

a d

✈✠✡✡✈✍✈, 15 a2 – 135 2
d   = 7a2 – 7 2

d

❀✡, 8 a2 – 128 2
d   = 0

❀✡, 2d  = 
8 8 8

4
128

❀✡, d = ± 2

✈✍✕, ❢❊ a = 8 ❣✔, ✈✡✔❇  d = 2 ❣✔ ✍✡ ✆ ♦✡✏�❡✍ ✄❛✓❀✡●✏ 2, 6, 10, 14 ❣✔❛✠

✐✻✼✽✾✿❁❂ ✐✻✿❃ 2: ✄☛☎✂❇✌✡ 1 + 4 + 7 + 10 +...+ x  = 287 ✂✡✆ ❣✒ ✂☎�❢●✠

❄❅ :

❀❣✡✏, 1, 4, 7, 10, ..., x ✄✆ ●✂ AP ❊❢✍☎ ❣✔✌ �❢✄☛✆❛ a = 1, d = 3 ✈✡✔❇  a
n
 = x ❣✔✠

❣☛✆❛ ✞✟✡❧✍ ❣✔✕ an
 = a + (n – 1)d

✈✍✕, x = 1 + (n – 1) × 3 = 3n – 2

✄✡✠✡ ❣☎, S = ( )
2

n
a l
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✜✤✥✦❈✙❉✢ 5.4

1. �✂✄☎ AP ♦✆✝ ✞ ✟✠✡☛ ✞✡✏❋ ✞✁✡✆❛ ♦✆✝ ❀✡ ✆☞ ✈✡✔❇ ♠✄☎ AP ♦✆✝ ✞✟✠✡☛ ✄✡✍ ✞✁✡✆❛ ♦✆✝ ❀✡✆☞ ✂✡ ❀✡✆☞ 167

❣✔✠ ❀�✁ ✎✄ AP ♦✆✝ ✞✟✠✡☛ ✁✄ ✞✁✡ ✆❛ ✂✡ ❀✡✆☞ 235 ❣✔, ✍✡✆ ✎✄♦✆✝ ✞ ✟✠✡☛ 20 ✞✁✡✆ ❛ ✂✡ ❀✡✆☞ ☛✡✍ ✂☎�❢●✠

2. ☛✡✍ ✂☎�❢● ✕

(i) 1 ✈✡✔❇ 500 ♦✆✝ ❊☎❋ ♦✆✝ ♠❢ ✞❞✌✡✡❛✈✂✡❛✆ ✂✡ ❀✡✆☞ ❢✡✆ 2 ♦✆✝ ✐✡☎ ☞①✌✡❢ ❣✔❛ ✈✡✔❇ 5 ♦✆✝ ✐✡☎ ☞ ①✌✡❢ ❣✔❛✠

(ii) 1 ✄✆ 500 ✍✂ ♦✆✝ ♠❢ ✞❞✌✡✡❛✈✂✡✆❛ ✂✡ ❀✡ ✆☞ ❢✡✆ 2 ♦✆✝ ✐✡☎ ☞ ①✌✡❢ ❣✔❛ ✈✡✔❇ 5 ♦✆✝ ✐✡☎ ☞ ①✌✡❢ ❣✔❛✠

(iii) 1 ✄✆  500 ✍✂ ♦✆✝ ♠❢ ✞❞✌✡✡❛✈✂✡✆❛ ✂✡ ❀✡ ✆☞ ❢✡✆ 2  ❀✡ 5 ♦✆✝ ☞ ①✌✡❢ ❣✔❛✠

[❧�♦�✁✽ (iii) : ❀✆ ✄❛✓❀✡●✏ ❣✡✆❛☞☎ : 2 ♦✆✝ ☞ ①✌✡❢+ 5 ♦✆✝ ☞ ①✌✡❢ – 2 ✈✡✔❇ 5 ✁✡✆❢✡✆❛ ♦✆✝ ☞ ①✌✡❢ ]

3. �✂✄☎ AP ✂✡ 8♦✡✏ ✞✁ ♠✄♦✆✝ ✁❞✄❇✆ ✞✁ ✂✡ ✈✡✍✡ ❣✔ ✍✠✡✡ ✝✝♦✡✏ ✞✁ ♠✄♦✆✝ ❋✡✔✠✡✆ ✞✁ ♦✆✝ ●✂

�✍❣✡✎ ✈ ✄✆ 1✈�✍✂ ❣✔✠ 15♦✡✏ ✞✁ ☛✡✍ ✂☎�❢●✠

4. �✂✄☎ AP ☛✆❛ 37 ✞✁ ❣✔❛✠ ❊☎❋✡✆❞❊☎❋ ♦✆✝ ✍☎❢ ✞✁✡✆❛ ✂✡ ❀✡✆☞ 225 ❣✔ ✍✠✡✡ ✈❛�✍☛ ✍☎❢ ✞✁✡✆❛ ✂✡ ❀✡✆☞

429 ❣✔✠ ♦❣ AP ☛✡✍ ✂☎�❢●✠

5. 100 ✈✡✔❇ 200 ♦✆✝ ❊☎❋ ♦✆✝ ♠❢ ✞❞✌✡✡✈ ❛✂✡✆❛ ✂✡ ❀✡✆☞ ☛✡✍ ✂☎�❢●✌ ❢✡✆

(i) 9 ✄✆ �♦✐✡✡❧❀ ❣✔ ❛✠

(ii) 9 ✄✆ �♦✐✡✡❧❀ ❢❣☎❛ ❣✔ ❛✠

[❧�♦�✁✽ (ii) : ❀✆ ✄❛✓❀✡●✏ ❣✡✆❛☞☎✕ ♦ ①✝✒ ✄❛✓❀✡●✏– 9 ✄✆ �♦✐✡✡❧❀ ✄❛✓❀✡●✏ ]

6. �✂✄☎ AP ♦✆✝ 11♦✆❛ ✞✁ ✂✡ 18♦✆ ✞✁ ✄✆ ✈❢①✞✡✍ 2 : 3 ❣✔✠ 5 ♦✆❛ ✞✁ ✂✡ 21♦✆❛ ✞✁ ✄✆ ✈❢①✞✡✍ ☛✡✍

✂☎�❢● ✍✠✡✡ ✄✡✠✡ ❣☎ ✞✟✠✡☛ ✞✡✏❋ ✞✁✡✆❛ ♦✆✝ ❀✡✆☞ ✂✡ ✞✟✠✡☛ 21 ✞✁✡✆ ❛ ♦✆✝ ❀✡✆☞ ✄✆ ✈❢①✞✡✍ ☛✡✍ ✂☎�❢●✠

7. ✁✱✡✡✈✎● �✂ ♠✄ AP ✂✡ ❀✡✆☞✌ �❢✄✂✡ ✞✟✠✡☛ ✞✁ a, ��✍☎❀ ✞✁ b ✈✡✔❇ ✈❛�✍☛ ✞✁ c ❣✡✆✌

– 2

2 –

a c b c a

b a

♦✆✝ ❊❇✡❊❇ ❣✔✠

8. ✄☛☎✂❇✌✡ – 4 + (–1) + 2 +...+ x = 437 ✂✡✆ ❣✒ ✂☎�❢●✠



✐�✁✂ ✐�✄☎✁❏✆✝❏60

9. ❢✄✞✡✒ �✄❛❣ ✈✞❢✆ ♦ ①✝✒ 118000 ★ ♦✆✝ ✟✌✡ ✂✡ ✆ ☛✡�✄✂ �✂❢✍✡✆❛ ☛✆❛✌ 1000 ★ ✂☎ ✞❣✒☎ �✂❢✍

✄✆ ✞ ✟✡❇❛✐✡ ✂❇✍✆ ❣ ①●✌ ❋ ①✂✡✍✡ ❣✔✠ ❀�✁ ♦❣ ✞✟�✍ ☛✡✄ ✂☎ �✂✱✍ 100 ★ ❊✞✟✡✍✡ ❢✡✍✡ ❣✔✌ ✍✡✆ ♠✄♦✆✝

�✡❇✡ 30♦☎❛ �✂❢✍ ☛✆❛ �✂✍❢☎ ❇✡�✱✡ ❋ ①✂✡✎ ✈ ❢✡●☞☎✠ 30♦☎❛ �✂❢✍ ♦✆✝ ❊✡✁ ♠✄✂✡✆ �✂✍❢✡ ✟✌✡

❋ ①✂✡❢✡ ✈✡✔❇ ✱✡ ✆♦✡ ❇❣✆☞✡✠

10. �✂✄☎ ❢♦❞✝✒ ♦✆✝ �♦❀✡�✠✡✈❀✡✆❛ ❢✆✌ ❢♦❞✝✒ ♦✆✝ ♦✡�♦✡✈✂ �✁♦✄ ♦✆✝ ♠✞✒✁❀ ☛✆❛✌ ❢♦❞✝✒ ♦✆✝ ✄☎✍✆ ☛✡☞✈

✞❇ ❇❛☞☎❢ ✐ ❛�❀❀✡✏ ✒☞✡✂❇ ❢♦❞✝✒ ✂✡✆ ✄❢✡❢✆ ✂✡ �❢✌✡✈❀ �✒❀✡✠ ♠❢♦✆✝ ✞✡✄ 27 ✐ ❛�❀❀✡✏ ✠✡☎❛ �❢❯❣✆❛

✞✟✈❀✆✂ 2 ☛☎✍❇ ♦✆✝ ✈❛✍❇✡✒ ✞❇ ✒☞✡❀✡ ❢✡❢✡ ❣✔✠ ✎❢ ✐ ❛�❀❀✡✆❛ ✂✡✆ ❊☎❋✡✆❞❊☎❋ ✂☎ ✐ ❛❀☎ ♦✆✝ ❢✠✡✡❢

✞❇ ●✂�❢✡✍ ✂❇ �✒❀✡ ❢✡✍✡ ❣✔✠ ✐ ❛�❀❀✡✏ ✒☞✡❢✆ ✂✡ ✂✡❀ ✈ ★�❋ ✂✡✆ ✄✡✔ ❛✞✡ ☞❀✡✠ ★�❋ ❢✆ ✈✞❢☎ ✞ ①❢✍♦✆✝❛

♦❣☎❛ ❇✓✡ ✁☎❛ ❢❣✡✏ ✐ ❛�❀❀✡✆❛ ✂✡✆ ●✂�❢✡✍ �✂❀✡ ☞❀✡ ✠✡✡✠ ♦❣ ●✂ ❊✡❇ ☛✆❛ ♦✆✝♦✒ ●✂ ❣☎ ✐ ❛❀☎ ✒✆

❢✡ ✄✂✍☎ ❣✔✠ ♠✄❢✆ ✎✄ ✂✡❀ ✈ ✂✡✆ ✞❞❇✡ ✂❇❢✆ ✍✠✡✡ ✈✞❢☎ ✞ ①❢✍♦✆❛✝ ✒✆ ✈✡❢✆ ♦✆✝ �✒● ♦ ①✝✒ �✂✍❢☎

✁❞❇☎ ✍❀ ✂☎✠ ●✂ ✐ ❛❀☎ ❣✡✠✡ ☛✆❛ �✒● ❣ ①● ✈✡✍✆ ✈�✍✂✍☛ �✂✍❢☎ ✁❞❇☎ ✍❀ ✂☎✠





�✁

✂✄☎

✂✆☎

✂✝☎

✂✞☎

✟ ✂✞☎

✠✟ ✄✆✝ ✄✆ ✄✝ ✞ ✡

✄✞ ☛ ☞ ✌✍✎ ✆✞ ☛ ✏ ✌✍✎ ✆✝ ☛ ✑✒✓ ✌✍ ✞✡✔ ✆✝ ✞✡

✂✌✍ ☎

✂✄☎ ☞✒✓ ✂✆☎ ✏ ✂✝☎ ✓ ✂✞☎ ✕

✟ ✂✆☎

✖✗✘

✙✚ ✕✒☞ ✎ ✛ ✆✄✝ ☛ ✜✢✣ ✄✞ ✤ ✆✝



��

✂✄☎ ✆✞ ✒ ✝✞ ☛ ✆✝
✁

✂✆☎ ✄✆ ✒ ✄✝ ☛ ✆✝
✁

✂✝☎ ✆✞ ✒ ✝✞ ☛ ✄✞
✁

✂✞☎ ✄✆ ✒ ✄✝ ☛ ✄✞
✁

✠✚ ✌✍ ✌✍

✂✄☎ ✜ ✌✍ ✂✆☎ ✂✢ ✌✍ ✂✝☎ ✄ ✌✍ ✂✞☎ ☞✢ ✌✍

☎✚ ✆✄ ✆ ✝ ✝ ✆ ✡ ✞ ✞ ✆✄✆ ✝✎ ✆ ✞ ✡ ✞

✂✄☎ ✆✝ ✒ ✡✞ ☛✄ ✝✒ ✞✞ ✂✆☎ ✄✆ ✒ ✡✞ ☛ ✄✝ ✒ ✞✡

✂✝☎ ✆✝ ✒ ✞✡ ☛ ✄✆ ✒ ✡✞ ✂✞☎ ✆✝ ✒ ✞✡ ☛ ✄✆ ✒ ✞✞

✟✚ ✄✆✝ ✠✡☛ ✎
☞✌ ✌✍ ✍☞

✎ ✎
✏✑ ✒✑ ✒✏

✂✄☎ ✆ ✠✡☛ ✝ ✆ ✝✄✆ ✂✆☎ ✆ ✠✡☛ ✝ ✆ ✄✆✝

✂✝☎ ✆ ✝✆✄ ✝ ✆ ✠✡☛ ✂✞☎ ✆ ✆✝✄ ✝ ✆ ✠✡☛

✓✚ ✕✒✏ ✄✝ ✆✞ ✠

✠✄ ☛ ✕ ✌✍✎ ✠✆ ☛ ✏ ✌✍✎ ✠✝ ☛ ☞✒✓ ✌✍✎ ✠✞ ☛ ✓ ✌✍✎ ✛✄✠✆ ☛ ✓✢✣

✛ ✝✞✠ ☛ ✏✢✣ ✛ ✠✆✄

✂✄☎ ✓✢✣ ✂✆☎ ✏✢✣ ✂✝☎ ✕✢✣ ✂✞☎ ✂✢✢✣

✔✚ ✞✡✞ ✠✡☛ ✎ ✛✞ ☛ ✛✡ ✛☛ ☛ ✛✡



��

✂✄☎
✁✂ ✄✂

☎✆ ☎✝
✞ ✂✆☎

✄✁ ✁✂

☎✝ ✆☎
✞

✂✝☎
✟✠ ✟✡

☛☞ ✌☛
✍ ✂✞☎

✠✡ ✟✠

☞✌ ☛☞
✍

✎✚ ✄✆✝ ✞✡✞ ✎ ✛✆ ☛ ✛✡✎ ✛✞ ☛ ✛✝ ✄✆ ☛ ✏ ✞✡

✂✄☎ ✂✆☎

✂✝☎ ✂✞☎

✏✚
✑✒ ✓

☛☞ ✔
✍ ✆ ✄✆✝ ✝ ✆ ✠✡☛

✕✖ ✗✘✙✚✛

✕✖ ✗✜✢✣✛

✂✄☎ ✜ ✂✆☎ ✏

✂✝☎
✤

✥
✂✞☎

✦

✧

★✚ ✆✄✆✝ ✝ ✆✞✞✡✎ ✛✄ ☛✏✢✣✎ ✛✝ ☛ ✓✢✣✎ ✄✆ ☛ ✓ ✌✍✎✄✝ ☛ ✄ ✌✍ ✞✞☛ ✑✒✓ ✌✍

✂✄☎ ✞✡ ☛ ✂☞ ✌✍✎ ✛✞ ☛ ✓✢✣ ✂✆☎ ✞✡ ☛ ✂☞ ✌✍✎ ✛✞ ☛ ✂✢✢✣

✂✝☎ ✡✞ ☛ ✂☞ ✌✍✎ ✛✞ ☛ ✂✢✢✣ ✂✞☎ ✡✞ ☛ ✂☞ ✌✍✎ ✛✞ ☛ ✏✢✣

✙✩✚ ✄✆✝ ✞✡✞ ✎
✪ ✫ ✫✬

✭✮ ✯✭
✰

✂✄☎ ✛✆ ☛ ✛ ✡ ✂✆☎ ✛✄ ☛ ✛✞

✂✝☎ ✛✆ ☛ ✛✞ ✂✞☎ ✛✄ ☛ ✛✞

✙✙✚ ✆✄✆✝ ✝ ✆ ✡☛✠✎
✱✲ ✳✴ ✵✶✷ ✸

✱✲ ✳✹✺✻✷ ✼
✽ ✎ ✄✆ ☛ ✂✄ ✌✍ ✆✝ ☛ ✂✓ ✌✍ ✠☛

✂✄☎ ✂✢ ✌✍ ✂✆☎ ✂☞ ✌✍ ✂✝☎
✾✿

❀❁
❂

✂✞☎ ✄ ✌✍



��

✙✠✚ ✆ ✠✡☛ ✠✡ ✁ ✠✁ ☛ ✡✁ ☛ ☛✁

✂✄☎ ✠☛ ✒ ✡☛ ☛ ☛✁
✁

✂✆☎ ✡✁
✁
✂ ☛✁

✁
☛ ✡☛

✁

✂✝☎ ✠☛
✁
✂ ✡☛

✁
☛ ✠✡

✁
✂✞☎ ✠✁

✁
✂ ☛✁

✁
☛ ✠☛

✁

✄☎✆

✙✟ ✆✄✆✝ ✎ ✄✆ ☛ ☞✝ ✌✍✎ ✆✝ ☛ ✂✢ ✌✍ ✄✝ ☛ ☞✕ ✌✍

✟ ✄✆
✁
☛ ✓✑✕✎ ✆✝

✁
☛ ✂✢✢ ✄✝

✁
☛ ✕✑✕ ✄✝

✁
☛✄✆

✁
✂ ✆✝

✁

✠✟ ✞✡✞ ✞✡ ✞✞ ✠ ✡

✞✠ ☛ ✓ ✌✍✎✞✡ ☛ ✂✓ ✌✍✎ ✞✡ ☛ ✕ ✌✍ ✡✞ ☛ ✂✄ ✌✍ ✠✡ ✞ ✡✞

✟ ✎
✟✠ ✡ ☛ ✟☞ ✌ ☛

✠✍ ☛✡ ✡ ✎ ☞✏ ☛✑ ✒
✓ ✓ ✓ ✓

✔

✕✖ ✕✗

✖✘ ✗✙
✚ ✠✡ ✡✞

☎✟ ✆ ✞✡✞ ✝ ✆ ✁✛✜
✢✣ ✣✤

✥
✦✧ ✧★

✩ ✪

✟ ✞ ✫ ✁✎ ✡ ✫ ✛ ✞ ✫ ✜

✬✭ ✮✬

✯✰ ✰✱
✲

✔✚✠

✙✚ ☞✓ ✌✍✎ ✓ ✌✍ ☞✝ ✌✍



��

✠✚ ✆ ✞✡✞ ✝ ✆ ☛✠✡ ✛✞ ☛ ✛☛ ✛✞ ☛ ✛✠✪ ✪

☎✚ ✠✡☛ ✠✡ ✠☛ ✄ ✆

✠✡ ☛ ✂☞✒✓ ✌✍✎ ✠✄ ☛ ✓ ✌✍✎ ✆☛☛ ✕ ✌✍ ✠✆ ☛ ✝ ✌✍ ✄✆��✡☛ ✪

✟✚ ✕✒✝ ✆✞ ✝✡ ✠ ✆✠✆✝ ✝ ✆✠✞✡ ✪

✓ ✚ ✠✡☛ ✁✁✛ ✎ ✛✠ ☛ ✓✓✣✎ ✛✡ ☛ ☞✓✣✎ ✛✁ ☛ ✂✢✢✣ ✛✁ ☛ ☞✓✣

✆ ✡✠☛ ✝ ✆ ✛✁✁ ✪ ✪

✔✚

✂ ✄

✎✚

✏✚

★✚
☎

✆



��

✁

✂
✪ ✪

✙✩✚ ✆✠✡☛ ✡☛ ✞

✠✞ ✤ ✡☛ ✆✠✡✞ ✝ ✆ ☛✠✞ ✪

✪

✙✙✚ ✕✒✓ ✛✞ ☛ ✛✝

✆✄✞✡ ✝ ✆✄✝✆ ✪ ✪

✙✠✚

✄☎✆

✙ ✟ ✌✍

✌✍

✟ ✄✆✝ ✆ ✄✆ ✂✕ ✌✍

✆✝ ☛ ✄ ✌✍ ✆☛✁✠

✕✒✕

✠✆ ☛ ✝ ✌✍ ✄✠☛ ✂✂✕✞✝☎ ✌✍ ✆✄✠✁

✆✄✆✝ ✎ ✛✄ ☛ ✛✄ ✛✄✠✁ ☛ ✛✄✆✝ ✂ ✜✢✣☎

✆✄✠✁ ✝ ✆✄✆✝ ✂✄✄ ☎

✟✠ ✠✡

✟☛ ☛☞
✌

✍✎

✍✎ ✏

✑ ✑✒
✓



��

✂☞✄ ✞ ✄✝ ☛ ✂✕✝

✝ ✁
✂✄☎ ✂✆

✄✝ ✞
✟

✠✡

☛
✌✍

✠✟ ☞✓ ✌✍

✓ ✌✍

✟ ✝ ✌✍ ✂✝ ✂ ✓☎ ✌✍

✝
✁
✂ ✂✝ ✂ ✓☎

✁
☛ ✂☞✓☎

✁

✝
✁
✂ ✝

✁
✂ ✂✢ ✝ ☞ ☞✓ ✁ ✕☞✓

✝
✁
✂ ✓ ✝ ✌ ✏✢✢ ✁ ✢

✝
✁
✂ ☞✢ ✝ ✌ ✂✓ ✝ ✞✏✢✢ ✁ ✢

✝ ✂✝☞☞✢☎ ✞✂✓ ✂✝ ☞☞✢☎ ✁ ✢

✂✝✌✂✓☎ ✂✝ ☞☞✢☎ ✁ ✢

✎ ✝ ✁✂✓ ✝✁ ✌☞✢

✝✁ ✌☞✢ ✂✓ ✌✍

✂✂✓ ✂ ✓☎ ✌✍ ☛ ☞✢ ✌✍

☎✟ ✕✒✑

✛✞ ☛ ✛✡
✍✎ ✍✏

✎✑ ✏✒
✓ ✆✄✝

✟
✍✎ ✍✏

✎✑ ✏✒
✓ ✂ ☎

✎ ✞✡ �� ✆✝ ✂ ☎

✎ ✛✞ ☛ ✛✆ ✛✡ ☛ ✛✝ ✂ ☎ ✂✂☎

✛✞ ☛ ✛✡ ✂ ☎



��

✎ ✛✆ ☛ ✛✝ ✁✂✂☎ ✂

✄✆ ☛✄✝ ✂ ☎

✆✄✝

✔✚☎

✙✚ ✆ ✠✡☛ ✎ ✠☛
✁
✞✠✡

✁
☛ ✡☛

✁
✁ ✠☛ ✡✁

✤ ✠☛

✡✁
✁
☛ ✠✁ ✄ ✁☛

✠✚ ✝ ✞✡ ☎✄✆

☎✚ ✕✒✜ ✛✂ ☛✛☞ ✆ ✆✁✡ ✝ ✆ ✁✛☛

✆ ✠✛✁ ✝ ✆ ✠☛✡



��

✟✚ ✠✡☛✁ ✁ ✠✡✞ ☛✁ ✠✡ ☛ ✏ ☛✁

✠✁✡ ☛✁✁

✓✚ ✕✒✂✢ ✄✆ ✂✞✝ ✄✝ ✠✡ ✁

✁✄ ✒ ✝✡ ☛ ✁✝ ✒✄✠

✔✚ ✄ ✌✍

✎✚ ✆✄✆✝ ✝ ✆ ✞✡✞✎ ✄✆ ☛ ✝ ✌✍✎ ✞✡ ☛ ✕ ✌✍✎ ✡✞ ☛ ✜ ✌✍ ✞✞ ☛ ✂☞ ✌✍

✆✄✆✝

✏✚ ✕✒✂✂ ✞✡ ✞ ✆✝ ✄☎ ✂✄✞✡☎ ✄☎ ✂✞✡✝✆☎





�✁

✞✄✤ ✁✆ ✞✡ ✁✆ ✝

� � ✁

✂✄ ✂☎ ✂✆
✝ ✞

✟ ✆✄✁✞ ✆ ✆✁✞

✛✁ ☛ ✛✁ ✂ ☎ ✛✄ ☛ ✛✆ ✂ ✜✢✣☎

✆ ✄✁✞ ✝ ✆ ✆✁✞ ✂✄✄ ☎

✎
✟✠ ✡✠

✟☛ ☞☛
✓ ✒✒✒✂✂☎

✆ ✞✄✝ ✆ ✡✆✝ ✎

✛✄ ☛ ✛✆ ✂ ✜✢✣☎

✛✞✝✄ ☛ ✛✡✝✆ ✂ ☎✒

✆ ✞✄✝ ✝ ✆ ✡✆✝ ✂✄✄ ☎✒

✌✍ ✍✎

✏✑ ✑✎
✰

✡✆ ☛ ✞✆ ✂✞✡ ✆ ☎

✯✪ ✪✬

✭✫ ✫✬
✰ ✒✒✒✂☞☎

✂✂☎ ✂☞☎ ✒

✍✒ ✓✍

✑✒ ✓✑
✓

✔✕ ✖ ✔✗ ✔✗

✔✘ ✖ ✔✕ ✔✘
✙

✁✆ ✒ ✁✝ ✞ ✁✄ ✒ ✁✆ ☛ ✁✄ ✒ ✁✆ ✞ ✁✄ ✒ ✁✝



��

✁✆ ✒ ✁✝ ✂ ✁✄ ✒ ✁✝ ☛ ☞ ✁✄ ✒ ✁✆

✂✁✆ ✂ ✁✄☎✒ ✁✝ ☛ ☞ ✁✄ ✒ ✁✆

� � ✁

✂✄ ✂☎ ✂✆
✝ ✲ ✁ ✁✄ ✒ ✁✆ ✒ ✁✝ ✂

✠✟

✟ ✞ ✕✒✜

☎✟ ✏✢✢✟✍✠✡

✝✢✢ ✟✍✠✡

☛
☛
☞

✪

✟
✌

✌
✍

☛ ✏✢✢ ✄
✎

✏
✟✍ ☛ ✝✓✢ ✟✍

✑
✑
✒

☛
✓✔✔ ✕ ✖

✗✘ ✙✔✔ ✗✘
✚

✛

✑
✑
✒

✄ ✆ ✕✒✂✝

✁✄ ☛ ✝✓✢ ✟✍ ✁✆ ☛ ✕✢✢ ✟✍

✆✄✁✆

✄✆✁ ☛ ✁✄✁ ✂ ✁✆✁

✄✆✁ ☛ ✂✝✓✢☎✁ ✂ ✂✕✢✢☎✁











��

✙✓✚ ✄✆✝✞✎ ✄✆ ✂✞✝ ✄✝ ✆✞ ✁

✁ ✠✡ ✄✆ ✄✞ ✠ ✆✝

✡ ✠✁ ☛ ✡✁

✙✔✚ ✕✒☞☞ ✎ ✞✞ ✄✆✝ ✄✝ ✡

✡✎ ✄✝ ✛✄✡✞ ☛✛✄✞✡
☎✮ ☎✭

✆✮ ✆✬
✲

✁ ✟ ✄✆ � ✝� �� ✞✞ ✂

✙✎✚

✙✏✚
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3. ☞✌✍✎✏ (0, 5), (0, –9) ✈✑✒✓ (3, 6) ❧✍✓✔✕✑ ✖✒✍✗

4. ☞✌✍✎✏ P (0, 2), ☞✌✍✎✏✈✑✔✍ A (–1, 1) ✈✑✒✓ B (3, 3) ❞✑✔ ☞✘✙✑✚✔ ✛✑✙✔ ✓✔✕✑✑✕✑✍✜ ✛✔✢ ✙✍✌ ❧✘☞✣✤✑✑✥❞

✈✑✒✓ y–✈✦✑ ❞✑ ✧★☞✩✪✫✔✎ ☞✌✍✎✏ ✖✒✗

5. ☞✌✍✎✏ A (3, 1), B (12, –2) ✈✑✒✓ C (0, 2) ✱❞ ☞✬✑✤✑ ✏✥ ✛✔✢ ✭✑✮✯✑✰ ✚✖✮✍ ✖✑✔ ❧❞✩✔✗

6. ☞✌✍✎✏  A (4, 3), B (6, 4), C (5, –6) ✈✑✒✓  D (–3, 5) ✱❞ ❧✘✑✍✩✓ ✲✩✏✤✑✏✰✥ ✛✔✢ ✭✑✮✯✑✰ ✖✒✍✗

7. ✱❞ ✛✳✴✑ ❞✑ ✛✔✢✍✎★ ✘✵✙☞✌✍✎✏ ✧✓ ✖✒ ✩✶✑✑ ✱❞ ☞✌✍✎✏ P (5, 0) ❜❧ ✛✳✴✑ ✧✓ ☞✷✶✑✩ ✖✒✗ ☞✌✍✎✏

Q (6, 8) ❜❧ ✛✳✴✑ ✛✔✢ ✌✑✖✓ ☞✷✶✑✩ ✖✒✗

8. ☞✌✍✎✏ A (2, 7), ☞✌✍✎✏✈✑✔✍  P (6, 5) ✈✑✒✓ Q (0, –4) ❞✑✔ ☞✘✙✑✚✔ ✛✑✙✔ ✓✔✕✑✑✕✑✍✜ ✛✔✢ ✙✍✌ ❧✘☞✣✤✑✑✥❞

✧✓ ☞✷✶✑✩ ✖✒✗

9. ☞✌✍✎✏ P (5, –3), ☞✌✍✎✏✈✑✔✍ A (7, – 2) ✈✑✒✓ B (1, – 5) ❞✑✔ ☞✘✙✑✚✔ ✛✑✙✔ ✓✔✕✑✑✕✑✍✜ ❞✑✔ ❧✘☞✬✑✤✑✑☞✥✩

❞✓✚✔ ✛✑✙✔ ✎✑✔ ☞✌✍✎✏✈✑✔ ✍ ✘✔✍ ❧✔ ✱❞ ☞✌✍✎✏ ✖✒✗

10. ☞✌✍✎✏  A (–6, 10), B (–4, 6) ✈✑✒✓  C (3, –8) ❜❧ ✧★❞✑✓ ❧✍✓✔✕✑ ✖✒✍ ☞❞ AB = 
2

AC
9

✖✒✗

11. ☞✌✍✎✏ P (–2, 4), ☞✬✑✸✹✑ ✺ ✈✑✒✓ ✛✔✍ ✢✎★ C (3, 5) ✛✑✙✔ ✛✳✴✑ ✧✓ ☞✷✶✑✩ ✖✒✗

12. ☞✌✍✎✏ A (–1, –2), B (4, 3), C (2, 5) ✈✑✒✓  D (–3, 0) ❜❧✮ ✻✘ ✘✔✍✼ ✱❞ ✈✑✹✩ ✌✚✑✩✔ ✖✒✍✗

(D) ✽✾✿❀❁❂❃ ❄❅❁❆❇❈ ❉❊❋●

✐❍■❏❑▲▼◆ ✐❍▲❖ 1: ✹☞✎ ☞✌✍✎✏✈✑✔✍  A (3, 4) ✈✑✒✓ B (k, 6) ❞✑✔ ☞✘✙✑✚✔ ✛✑✙✔ ✓✔✕✑✑✕✑✍✜ ❞✑ ✘P✹◗☞✌✍✎✏

P (x, y) ✖✒ ✩✶✑✑  x + y – 10 = 0 ✖✒✼ ✩✑✔ k ❞✑ ✘✑✚ ❘✑✩ ❞✮☞✥✱✗

❣❙ : ☞✌✍✎✏✈✑✔✍ A (3, 4) ✈✑✒✓ B (k, 6) ❞✑✔ ☞✘✙✑✚✔ ✛✑✙✔ ✓✔✕✑✑✕✑✍✜ ❞✑ ✘P✹◗☞✌✍✎✏

 = 
3 4 6

,
2 2

k
= 

3
,5

2

k

✩✌,
3

,5
2

k
 = (x, y)

✈✩❚ ,
3

2

k
 = x ✈✑✒✓ 5 = y

❯✹✑✔✍☞❞ x + y – 10 = 0 ✖✒✼ ❜❧☞✙✱ ✖✘✔✍ ✧★✑❱✩ ✖✒❚

3

2

k
 + 5 – 10 = 0

✈✶✑✑✰✩❲ 3 + k = 10

✈✩❚✼ k = 7 ✖✒✗
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13. ♥✟✠✠✡☛☞ ✌✍ 

2 2
cos (45 ) cos (45 – )

tan (60 ) tan (30 )

✎ ✏✑ ✏ ✎ ✑

✎ ✏✑ ✎✒✑
= 1 ❣✓✔

14. 1.5 ❡✕✖✗ ✘✙✚✠☛✡ ✛✠✜✠ ☞✍ ✢✣✤✥✠✍ ✦✦ ❡✕✖✗ ✘✙✚✕ ☞✍ ❡✕✧✠✗ ★✤ 20.5 ❡✕✖✗ ✍✕ ♥✩✗✕ ✢✗ ✪✠✫✬✠

❣✓✔ ✢ ✣✤✥✠✍ ✍✕ ✭✠✙✪✠ ★✤ ❡✕✧✠✗ ✍✕ ✚✠✤✖✕ ✍✠ ✮✯✧✰✧ ✍✠✤✱✠ ✌✧✲✠✡✌✗✳ ✍✕✌✴☞✔

15. ♥✟✠✠✡☛☞ ✌✍ tan4✵ + tan2✵ = sec4✵ – sec2✵ ❣✓✔

(E) ✶✷✸✹✺ ✻✼✹✽✷✾ ✿❀❁❂

❃❄❅❆❇❈❉❊ ❃❄❈❋ 1 : ✌❢✠●✰✠ r ✍✠ ☞✍ ❞✠✤✜✠✍✠✗ ❞❍■❏✠✗✠ ☞✍ ✢✣✤✥✠✍ ✍✕ ✭✠✙✪✠ ✢✗ ✍✠✤✱✠ ✵ ✭✈✳✌✗✳ ✍✗✳✠

❣✓✔ ✰✌♥ ☛★✛✤❑ ✛✤❑✈♥✣ ✍✠ ✮✯✧✰✧ ✍✠✤✱✠ ▲ ❣✓▼ ✳✠✤ ❞❍■❏✠✗✤ ✛✤❑ ✛✤✈❑♥✣ ✍✕ ✘✙✚✠☛✡ ◆✠✳ ✍✕✌✴☞✔

❖P :  ✭✠◗✌✳  8.3 ❡✤✈, O ❞❍■❏✠✗✤ ✍✠ ✛✤✈❑♥✣ ❣✓▼ ✌✴★✍✕ ✌❢✠●✰✠ OP = r ✭✠✓✗ ❘PAQ = ✵ ❣✓✔ ★✠❙✠ ❣✕▼

❘OAB = ❚ ❣✓✔

❡✠✧ ✜✕✌✴☞ ✌✍ ❞❍■❏✠✗✤ ✛✤❑ ✛✤✈❑♥✣ ✍✕ ✘✙✚✠☛✡ h ❣✓✔ ☛★ ✢✣✍✠✗▼ OB = h ❣✓✔

✭❏▼ ❯OAP ★✤, sin 
2

 = 
r

d
, ✴❣✠✙ OA = d ❣✓✔  ...(1)

★✠❙✠ ❣✕ ❯OAB ★✤, sin ❱ = 
h

d
❣✓✔ ...(2)

 (1) ✭✠✓✗ (2) ★✤, ❣❡✤✈ ✢✣✠❲✳ ❣✠✤✳✠ ❣✓❳ 
sin

sin
2

h

hd
r r

d

❨
❩ ❩

✑

✰✠ h = r sin ❚ cosec 
2

✑
.

❬❭❪❫❴❵❛ ❜❝❤
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✍✕✌✴☞ ✌✍ ❞✕✜ ✍✕ ★✳❣ ✛✤❑ ✮❑✢✗ ❏✠♥✜ ✍✕ ✮✙❑✚✠☛✡
tan tan

tan tan
h
� ✁❨✏ ✑
✂ ✄

❨✒ ✑☎ ✆
 ❣✓✔

❖P : ❡✠✧ ✜✕✌✴☞ ✌✍ P ❏✠♥✜ ❣✓ ✭✠✓✗ Q ❞✕✜ ❡✤✈ ❏✠♥✜ ✍✠ ✢✗✠✛✳✡✧ ❣✓ (♥✤✌✪✠☞ ✭✠◗✌✳ 8.5)✔ ❡✠✧

✜✕✌✴☞ ✌✍ A ✢✣✤✥✠✱✠ ✍✠ ✌❏✈♥❍ ☛★ ✢✣✍✠✗ ❣✓ ✌✍ AB = h ❣✓✔

✝

✞

❤

◆

①

❆

❇

◗

P

✟

①

▲

❡✠✧ ✜✕✌✴☞ ✌✍ ❞✕✜ ✛✤❑ ✘✢✗ ❏✠♥✜ ✍✕ ✘✙✚✠☛✡ x ❣✓✔ ❡✠✧ ✜✕✌✴☞ ✌✍ AL = d ❣✓✔

✭❏▼ ❯PAL ★✤, 
x h

d

✒
 = tan ✵ ...(1)

❯QAL ★✤, 
x h

d

✏
 = tan❚ ...(2)

 (1) ✭✠✓✗ (2) ★✤, ❣❡✤✈ ✢ ✣✠❲✳ ❣✠✤✳✠ ❣✓ ❳

tan

– tan

x h

x h

✏ ❨
❩

✑

❬❭❪❫❴❵❛ ❜❝✈
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❀✄ AB = c = AF + BF = b – r + a – r

❜☎☎✆
    

  
2

a b c
r ✐✝✄✞✟ ✠✄✆✟✄ ✠✡☛

☞✌✍✎✏✑✒✓  9.3

1. ♥✄✆ ☎✔✕✆✔✖♥✝✗❀ ✕✘✙✄✄✆✔ ✚✆✔ ☎✆ ✛✄✠✜✗ ✕✘✙✄ ✢✗ ✣✤✄✥❀✄ 5 cm ✠✡ ✟❣✄✄ ❜☎✢✗ 8 cm ②✔✛✗ ✦✗✕✄ AC ✈✄✔✟✣✜✢

✕✘✙✄ ✢✗ ✧✐★✄✩ ✜✆✪✄✄ ✠✡☛ ✈✄✔✟✣✜✢ ✕✘✙✄ ✢✗ ✣✤✄✥❀✄ ✫✄✟ ✢✗✣✦✬☛

2. ✕✆✔✖♥✝ O ✕✄②✆ ✬✢ ✕✘✙✄ ✐✜ ✬✢ ✛✄✠✜✗ ✣✛✔♥✭ ☎✆ ♥✄✆ ✧✐★✄✩ ✜✆✪✄✄✬✮ PQ ✈✄✡✜ PR ✪✄✗✔❬✗ ✯❜✩ ✠✡✔☛ ✣☎✰

✢✗✣✦✬ ✣✢ QORP ✬✢ ❬✱✗❀ ❬✟✭✲✄✭✩✦ ✠✡☛

3. ❀✣♥ ✕✆✔✖♥✝ O ✕✄②✆ ✬✢ ✕✘✙✄ ✕✆✖ ✬✢ ✛✄✠✜✗ ✣✛✔♥✭ B ☎✆ ♥✄✆ ✧✐★✄✩ ✜✆✪✄✄✬✮  BC ✈✄✡✜ BD ❜☎ ✐✝✢✄✜

✪✄✗✔❬✗ ✦✄✬✮ ✣✢  ✳DBC = 120° ✠✡✴ ✟✄✆ ✣☎✰ ✢✗✣✦✬ ✣✢ BC + BD = BO ✠✡✴ ✈❣✄✄✩✟✵  BO

= 2BC ✠✡☛

4. ✣☎✰ ✢✗✣✦✬ ✣✢ ♥✄✆ ✐✝✣✟❢✶✆♥✗ ✜✆✪✄✄✈✄✆✔ ✢✄✆ ✧✐★✄✩ ✢✜✷✆ ✕✄②✆ ✕✘✙✄ ✢✄ ✕✆✔✖♥✝ ❜✷ ✜✆✪✄✄✈✄✆✔ ☎✆ ✛✷✆ ✢✄✆✸✄
✕✆✖ ☎✚✣✹✲✄✄✦✢ ✐✜ ✣✧❣✄✟ ✠✄✆✟✄ ✠✡☛

5. ✈✄✕✘✖✣✟ 9.13 ✚✆✔✴ AB ✈✄✡✜ CD ✈☎✚✄✷ ✣✤✄✥❀✄✈✄✆✔ ✕✄②✆ ♥✄✆ ✕✘✙✄✄✆ ✔ ✢✗ ✺✲✄❀✣✷✻✼ ✧✐★✄✩ ✜✆✪✄✄✬✮ ✠✡✔☛

✣☎✰ ✢✗✣✦✬ ✣✢ AB = CD ✠✡✔☛

6. ✺✐✜✄✆♠✟ ✐✝★✷ ✽ ✚✆✔✴ ❀✣♥ ♥✄✆✷✄✆ ✔ ✕✘✙✄✄✆✔ ✢✗ ✣✤✄✥❀✄✬✮ ✛✜✄✛✜ ✠✄✆ ✔✴ ✟✄✆ ✣☎✰ ✢✗✣✦✬ ✣✢
AB = CD ✠✡☛

✾✿❁❂❃❄❅ ❆❇❈❉
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7. ✈✄✕✘✖✣✟ 9.18 ✚✆✔, ✬✢ ✕✘✙✄ ✐✜ ♥✄✆ ✧✐★✄✩ ✜✆✪✄✄✬✮ PQ ✈✄✡✜  PR ❜☎ ✐✝✢✄✜ ✪✄✗✔❬✗ ✯❜✩ ✠✡✔ ✣✢

✳RPQ = 30° ✠✡☛ ✬✢ ✦✗✕✄ RS ✧✐★✄✩ ✜✆✪✄✄ PQ ✕✆✖ ☎✚✔✄✟✜ ✪✄✗✔❬✗ ✦✄✟✗ ✠✡☛ ✳RQS ✫✄✟

✢✗✣✦✬☛

[❧�✁✂✄☎: Q ☎✆ ✠✄✆✢✜ ✦✄✟✗ ✠✭❜✩ QP ✐✜ ✬✢ ②✔✛ ✜✆✪✄✄ ✪✄✗✔✣❬✬☛]

8. ✕✆✔✖♥✝ O ✕✄②✆ ✣✢☎✗ ✕✘✙✄ ✢✄ AB ✬✢ ✱❀✄☎ ✠✡ ✈✄✡✜ AC ✬✢ ✦✗✕✄ ❜☎ ✐✝✢✄✜ ✠✡ ✣✢  ✳BAC = 30°

✠✡☛ C ✐✜ ✕✘✙✄ ✢✗ ✧✐★✄✩ ✜✆✪✄✄ ✛✐✆✄❜✩ ✯❜✩ AB ✢✄✆ ✣✛✔♥✭ D ✐✜ ✐✝✣✟❢✶✆♥ ✢✜✟✗ ✠✡☛ ✣☎✰ ✢✗✣✦✬ ✣✢

BC = BD ✠✡☛

9. ✣☎✰ ✢✗✣✦✬ ✣✢ ✣✢☎✗ ✕✘✙✄ ✕✆✖

✬✢ ❬✄✐ ✕✆✖ ✚✝❀✞✣✛✔♥✭ ✐✜ ✕✘✙✄

✢✗ ✧✐★✄✩ ✜✆✪✄✄ ✺☎ ❬✄✐ ✕✆✖ ✣☎✜✄✆✔

✢✄✆ ✣✚②✄✷✆ ✕✄②✗ ✦✗✕✄ ✕✆✖ ☎✚✄✔✟✜

✠✄✆✟✗ ✠✡☛

10. ✈✄✕✘✖✣✟ 9.19 ✚✆✔✴ ✕✆✔✖♥✝✄✆✔  O ✈✄✡✜ O '

✕✄②✆ ♥✄✆ ✕✘✙✄✄✆ ✔ ✢✗ ✺✲✄❀✣✷✻✼ ✧✐★✄✩

✜✆✪✄✄✬✮ AB ✈✄✡✜ CD ✐✜✧✐✜ E ✐✜

✐✝✣✟❢✶✆♥ ✢✜✟✗ ✠✡✔☛ ✣☎✰ ✢✗✣✦✬

✣✢ ✣✛✔♥✭ O, E, O' ☎✔✜✆✪✄✗ ✠✡✔☛

11. ✈✄✕✘✖✣✟ 9.20 ✚✆✔✴ O ✣✤✄✥❀✄ 5 cm ✕✄②✆ ✕✘✙✄ ✢✄ ✕✆✔✖♥✝ ✠✡✴ T ✬✢ ✣✛✔♥✭ ❜☎ ✐✝✢✄✜ ✠✡ ✣✢

OT = 13 cm ✠✡ ✟❣✄✄ OT ✕✘✙✄ ✢✄✆ E ✐✜ ✐✝✣✟❢✶✆♥ ✢✜✟✗ ✠✡☛ ❀✣♥  AB, ✣✛✔♥✭ E ✐✜ ✕✘✙✄ ✢✗ ✬✢

✧✐★✄✩ ✜✆✪✄✄ ✠✡ ✟✄✆ AB ✢✗ ②✔✛✄❜✩ ✫✄✟ ✢✗✣✦✬☛

✾✿❁❂❃❄❅ ❆❇❈❆

✾✿❁❂❃❄❅ ❆❇❈✈
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12. ✣✢☎✗ ✕✘✙✄ ✢✗ ✣✛✔♥✭ C ✐✜ ✪✄✗✔❬✗ ✯❜✩ ✧✐★✄✩ ✜✆✪✄✄ ✈✄✡✜ ✱❀✄☎ AB ✛✐✆✄✷✆ ✐✜ ✣✛✔♥✭ P ✐✜ ✐✝✣✟❢✶✆♥ ✢✜✟✆

✠✡✔☛ ❀✣♥ PCA =110º✞ ✠✡✴ ✟✄✆ CBA  ✫✄✟ ✢✗✣✦✬ (♥✆✣✪✄✬ ✈✄✕✘✖✣✟ 9.21)☛

[❧�✁✂✄☎: ✣✛✔♥✭ C ✢✄✆ ✕✆✔✖♥✝ O ☎✆ ✣✚②✄❜✬☛ ]

13. ❀✣♥ ✣✤✄✥❀✄ 9 cm ✕✄②✆ ✬✢ ✕✘✙✄ ✕✆✖ ✈✔✟✯✩✟ ✬✢ ☎✚✣✹✛✄✠✭ ✣✤✄✲✄✭✦ ABC ✪✄✗✔❬✄ ✯❀✄ ✠✡✴ ✣✦☎✚✆✔

AB = AC = 6 cm ✠✡✴ ✟✄✆ ✺☎ ✣✤✄✲✄✭✦ ✢✄ ❣✄✆✤✄✐✖② ✫✄✟ ✢✗✣✦✬☛

14. ✕✆✔✖♥✝ O ✈✄✡✜ ✣✤✄✥❀✄ 5 cm ✕✄②✆ ✬✢ ✕✘✙✄ ✕✆✖ ✕✆✔✖♥✝ ☎✆ 13 cm ✢✗ ♥❞✜✗ ✐✜ ✬✢ ✣✛✔♥✭ A  ✠✡☛ AP

✈✄✡✜ AQ ✱✚★✄Ø ✣✛✔♥✭✈✄✆ ✔ P ✈✄✡✜ Q ✐✜ ✕✘✙✄ ✢✗ ✧✐★✄✩ ✜✆✪✄✄✬✮ ✠✡✔☛ ❀✣♥ ②✟✄✭ ❬✄✐ PQ ✐✜ ✣✧❣✄✟ ✬✢

✣✛✔♥✭ R ✐✜ ✬✢ ✧✐★✄✩ ✜✆✪✄✄ BC ✬✆☎✗ ✪✄✗✔❬✗ ✦✄✬✴ ✦✄✆ AP ✢✄✆ B ✈✄✡✜ AQ ✢✄✆ C ✐✜ ✐✝✣✟❢✶✆♥

✢✜✆✴ ✟✄✆ ✠ABC ✢✄ ✐✣✜✚✄✐ ✫✄✟ ✢✗✣✦✬☛

✾✿❁❂❃❄❅ ❆❇✈✡

✾✿❁❂❃❄❅ ❆❇✈❈
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✟✠✡☛☞✌✍✎ 10.1

❢✏✑✒ ✓✔✕ ✖✗✘ ❢✙✚✛✜✗✒✢ ✣✒✢ ✤✒ ✤✓✥ ✦✧✗✘ ✖✔❢★✕ ✪

1. ✱✩ ✫✬✭✮✮✭✮✯✰ AB ✩✮✬ 5:7 ♦✬✲ ✳✴✵✶✮✷ ✸✬✯ ✹♦✺✮✮✹✻✷ ✩✫✴✬ ✩✬ ✹✼✱✽ ✶✾✼✬ ✱✩ ✹✩✫✿✮ AX ✭✮❬✯✹❀✱✽
✷✮✹✩ ❁BAX ✱✩ ❂❃❄✴ ✩✮✬✿✮ ✾✮✬ ✳✮❅✫ ✹✶✲✫ ✹✩✫✿✮ AX ✶✫ ❆✸✮✴ ❇❄✹✫❃✮✬✯ ✶✫ ❈❉❇✵ ✳✯✹✩✷ ✹✩❃✬

✻✮✱t ✷✮✹✩ ❊✴✩❬ ❂❃❄✴✷✸ ❆✯✭❃✮ ✾✮✬

(A) 8 (B) 10 (C) 11 (D) 12

2. ✱✩ ✫✬✭✮✮✭✮✯✰ AB ✩✮✬ 4:7 ♦✬✲ ✳✴✵✶✮✷ ✸✬✯ ✹♦✺✮✮✹✻✷ ✩✫✴✬ ♦✬✲ ✹✼✱✽ ✶✾✼✬ ✱✩ ✹✩✫✿✮ AX ❊❆
✶❋✩✮✫ ✭✮❬✯❀❬ ✻✮✷❬ ✾❅ ✹✩ ❁BAX ✱✩ ❂❃❄✴ ✩✮✬✿✮ ✾✮✬ ✳✮❅✫ ✹✶✲✫ ✹✩✫✿✮ AX ✶✫ ❆✸✮✴ ❇❄✹✫❃✮✬✯ ✶✫

❈❉❇✵ A
1
, A

2
, A

3
, .... ✳✯✹✩✷ ✹✩❃✬ ✻✮✷✬ ✾❅✯ ✳✮❅✫ ❈❉❇✵ B ✩✮✬ ✹✴❞✴✹✼✹✭✮✷ ❆✬ ✹✸✼✮❃✮ ✻✮✷✮ ✾❅

(A) A
12

(B) A
11

(C) A
10

(D) A
9

3. ✱✩ ✫✬✭✮✮✭✮✯✰ AB ✩✮✬ 5 : 6 ♦✬✲ ✳✴✵✶✮✷ ✸✬✯ ✹♦✺✮✮✹✻✷ ✩✫✴✬ ♦✬✲ ✹✼✱✽ ✱✩ ✹✩✫✿✮ AX ✭✮❬✯✹❀✱

✷✮✹✩ ❁BAX ✱✩ ❂❃❄✴ ✩✮✬✿✮ ✾✮✬✽ ✹✶✲✫ ✹✩✫✿✮ BY ✹✩✫✿✮ AX ♦✬✲ ❆✸✮✯✷✫ ✹♦✶✫❬✷ ✹❇●✮✮ ✸✬✯
✭✮❬✯✹❀✱❍ ❊❆♦✬✲ ❉✮❇ AX ✳✮❅✫ BY ✹✩✫✿✮✮✬✯ ✶✫ ■✸●✮✪ ❆✸✮✴ ❇❄✹✫❃✮✬✯ ✶✫ ❈❉❇✵ A

1
, A

2
, A

3
, ...

✳✮❅✫ B
1
, B

2
, B

3
, ... ✳✯✹✩✷ ✹✩❃✬ ✻✮✱t❍ ✹✶✲✫ ✹✻✴ ❈❉❇✵✳✮✬✯ ✩✮✬ ✹✸✼✮❃✮ ✻✮✷✮ ✾❅ ♦✬ ✾❅✯

(A) A
5
 ✳✮❅✫ B

6
(B) A

6
 ✳✮❅✫ B

5
(C) A

4
 ✳✮❅✫ B

5
(D) A

5
 ✳✮❅✫ B

4

4. ✱✩ ✹❇❃✬ ✾✵✱ ✹❏✮✺✮✵✻ ABC ♦✬✲ ❆✸❑✶ ✱✩ ✱✬❆✮ ✹❏✮✺✮✵✻ ❉✴✮✴✬ ♦✬✲ ✹✼✱ ✹✻❆✩❬ ✺✮✵✻✮✱t ▲ABC

✩❬ ❆✯▼✷ ✺✮✵✻✮✳✮✬✯ ✩✮
3

7
 ✾✮✬✯✽ ✶✾✼✬ ✱✩ ✹✩✫✿✮ BX ✱✬❆❬ ✭✮❬✯✹❀✱ ✹✩ ❁CBX ✱✩ ❂❃❄✴ ✩✮✬✿✮

✾✮✬ ✳✮❅✫ X ✺✮✵✻✮ BC ♦✬✲ ❆✮✶✬◆✮ A ♦✬✲ ✹♦✶✫❬✷ ✳✮✬✫ ✾✮✬❍ ✹✩✫✿✮ BX ✶✫ ✳❉ ❆✸✮✴ ❇❄✹✫❃✮✬✯ ✶✫

❈❉❇✵ B
1
, B

2
, B

3
, ... ✳✯✹✩✷ ✩❬✹✻✱ ✷✈✮✮ ❖❆♦✬✲ ❉✮❇ ✳▼✼✮ ❀✫✿✮ ✹✸✼✮✴✬ ✩✮ ✾❅

(A) B
10

 ✩✮✬ C ❆✬ (B) B
3
 ✩✮✬ C ❆✬  (C) B

7
 ✩✮✬ C ❆✬ (D) B

4
 ✩✮✬ C ❆✬

5. ✱✩ ✹❇❃✬ ✾✵✱ ✹❏✮✺✮✵✻ ABC ♦✬✲ ❆✸❑✶ ✱✩ ✱✬❆✮ ✹❏✮✺✮✵✻ ❉✴✮✴✬ ♦✬✲ ✹✼✱ ✹✻❆✩❬ ✺✮✵✻✮✱t  ▲ABC

✩❬ ❆✯▼✷ ✺✮✵✻✮✳✮✬✯ ✩✮
8

5
 ✾✮✬✯✽ ✶✾✼✬ ✱✩ ✹✩✫✿✮ BX ✱✬❆❬ ✭✮❬✯✹❀✱ ✹✩ ❁CBX ✱✩ ❂❃❄✴ ✩✮✬✿✮

✾✮✬ ✳✮❅✫ X ✺✮✵✻✮ BC ♦✬✲ ❆✮✶✬◆✮ A ♦✬✲ ✹♦✶✫❬✷ ✳✮✬✫ ✾✮✬❍ ✹✩✫✿✮ BX ✶✫ ✳❉ ❆✸✮✴ ❇❄✹✫❃✮✬✯ ✶✫ ✳✯✹✩✷

✹✩❃✬ ✻✮✴✬ ♦✮✼✬ ❈❉❇✵✳✮✬✯ ✩❬ ❂❃❄✴✷✸ ❆✯✭❃✮ ✾❅

(A) 5 (B) 8 (C) 13 (D) 3
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(D)  ❧�✁✂☞✄☎ ✆✝☞✞✎✟ ✟✠✡☛

✐✠✡☛☞✌✍✎ ✐✠✌✏ 1 ✥ ✱✩ ❆✸❉✮✾✵ ✹❏✮✺✮✵✻ ABC ✭✮❬✯✹❀✱ ✹✻❆✩❬ ✶❋❬❃✬✩ ✺✮✵✻✮ 4 cm ✾✮✬❍ ❊❆ ✹❏✮✺✮✵✻ ♦✬✲

❆✸❑✶ ✱✩ ✹❏✮✺✮✵✻ ✩❬ ✫❀✴✮ ✩❬✹✻✱ ✹✻❆✩✮ ❢♦✬✲✼ ▼✵✿✮✩
3

5
 ✾✮✬ ❍ ❆❃✮ ✴❃✮ ✹❏✮✺✮✵✻ ✺✮❬ ✱✩ ❆✸❉✮✾✵ ✹❏✮✺✮✵✻ ✾❅✑

❣✒ ✥ ✩◆✮✮ X ✩❬ ▼✹✿✮✷ ✩❬ ✶✮✓✔❃✶✵❢✷✩ ✸✬✯ ✹❇❃✬ ✾✵✱ ❀✫✿✮✮✬✯ ✩✮ ✳✴✵❆✫✿✮ ✩❬✹✻✱❍ ✾✮t✽ ✴❃✮ ✹❏✮✺✮✵✻

✺✮❬ ❆✸❉✮✾✵ ✾❅❍

✟✠✡☛☞✌✍✎ 10.3

1. ✼✯❉✮❊ ② 7 cm ✩✮ ✱✩ ✫✬✭✮✮✭✮✯✰ ✭✮❬✯✹❀✱❍ ❊❆ ✶✫ ✹❢✈✮✷ ✱✩ ❈❉❇✵ P ❑✮✷ ✩❬✹✻✱ ✻✮✬ ❊❆ ✫✬✭✮✮✭✮✯✰

✩✮✬ 3:5 ♦✬✲ ✳✴✵✶✮✷ ✸✬✯ ✹♦✺✮✮✹✻✷ ✩✫✬❍

2. ✱✩ ❆✸✩✮✬✿✮ ✹❏✮✺✮✵✻ ABC ✭✮❬✯✹❀✱✽ ✹✻❆✸✬✯ BC = 12 cm, AB = 5 cm ✳✮❅✫ ❁B = 90° ✾❅❍ ❊❆

✹❏✮✺✮✵✻ ♦✬✲ ❆✸❑✶ ✱✩ ✹❏✮✺✮✵✻ ✩❬ ✫❀✴✮ ✩❬✹✻✱✽ ✹✻❆✩✮ ❢♦✬✲✼ ▼✵✿✮✩
2

3
✾✮✬❍ ❆❃✮ ✴❃✮ ✹❏✮✺✮✵✻

✺✮❬ ✱✩ ❆✸✩✮✬✿✮ ✹❏✮✺✮✵✻

✾❅✑

3. ✱✩ ✹❏ ✮✺ ✮ ✵✻ ABC

✭✮❬✯✹❀✱✽ ✹✻❆✸✬✯ BC =

6 cm, CA = 5 cm ✳✮❅✫

AB = 4 cm ✾❅❍ ❊❆

✹❏✮✺✮✵✻ ♦✬✲ ❆✸❑✶ ✳✮❅✫

❢♦✬✲✼ ▼✵✿✮✩
5

3
 ♦✬✲ ✱✩

✹ ❏ ✮✺ ✮ ✵ ✻ ✩ ❬ ✫❀✴ ✮

✩❬✹✻✱❍

4. ✱✩ 4 cm ✹❏✮✕❃✮ ♦✮✼✬

♦ ♦✖✮ ✶✫ ❖❆ ❈❉❇✵ ❆✬

✱✩ ❢✶●✮② ✫✬✭✮✮ ✭✮❬✯✹❀✱✽

✻✮✬ ❊❆ ♦ ♦✖✮ ♦✬✲ ♦✬✯✲❇❋ ❆✬

✻ cm ✩❬ ❇❄✫❬ ✶✫ ✾❅❍

✈✗✘✙✚✛✜ ✢✣✤✢
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(E) ♥✎✄☞ ☎ ✆✝☞✞✎✟ ✟✠✡☛

✐✠✡☛☞✌✍✎ ✐✠✌✏ 1 ✥ ✱✩ ❆✸❀✷✵✺✮✵ ②✻ ABCD ✹❇❃✮ ✾❅✽ ✹✻❆✸✬✯ AB = 4 cm ✳✮❅✫ ❁ABC = 60° ✾❅❍

❊❆✬ ❇✮✬ ✹❏✮✺✮✵✻✮✬✯ ABC ✳✮❅✫ ADC ✸✬✯ ✹♦✺✮✮✹✻✷ ✩❬✹✻✱❍ ✸✮✴ ✼❬✹✻✱✽ ▲ABC ♦✬✲ ❆✸❑✶ ✱✩ ✹❏✮✺✮✵✻

AB'C' ✩❬ ✫❀✴✮ ✩❬✹✻✱✽ ✹✻❆✩✮ ❢♦✬✲✼ ▼✵✿✮✩
2

3
✾✮✬❍ ✱✩ ✫✬✭✮✮✭✮✯✰ C'D' ✩❬ ✫❀✴✮ ✩❬✹✻✱✽ ✻✮✬

CD ♦✬✲ ❆✸✮✯✷✫ ✾✮✬✽ ✻✾✮t D' ✺✮✵✻✮ AD ✶✫ ✹❢✈✮✷ ✾❅❍ ❆❃✮ AB'C'D' ✺✮❬ ✱✩ ❆✸❀✷✵✺✮✵ ②✻ ✾❅✑ ✩✮✫✿✮

❇❬✹✻✱❍

❣✒ ✥ ✶✾✼✬ ✱✩ ❆✸❀✷✵✺✮✵ ②✻ ABCD ✭✮❬✯✹❀✱✽ ✹✻❆✸✬✯ AB = 4 cm ✳✮❅✫ ❁ABC = 60° ✾✮✬✽ ✻❅❆✮

✳✮✈✹✷ 10.1 ✸✬✯ ❇●✮✮②❃✮ ▼❃✮ ✾❅❍ AC ✩✮✬ ✹✸✼✮❊✱❍ ✹❏✮✺✮✵✻ ABC ♦✬✲ ❆✸❑✶ ❢♦✬✲✼ ▼✵✿✮✩
2

3
♦✮✼✬

✱✩ ✹❏✮✺✮✵✻ AB'C' ✩❬ ✫❀✴✮ ✩❬✹✻✱✽ ✻❅❆✮ ✹✩ ✩◆✮✮ X ✩❬ ▼✹✿✮✷ ✩❬ ✶✮✓✔❃✶✵❢✷✩ ✸✬✯ ♦✹✿✮ ②✷ ✾❅

✭❇✬✹✭✮✱ ✳✮✈✹✷ 10.1✮❍

✳✯✷ ✸✬✯ C'D'  ✺✮✵✻✮ CD ♦✬✲ ❆✸✮✯✷✫ ✭✮❬✯✹❀✱❍

✳❉
AB ' 2 A 'C '

 =  = 
AB 3 AC

❆✮✈✮ ✾❬✽
AC C D AD 2

   =  =  
AC CD AD 3

' ' ' '

✳✷✪ AB ' = B'C' = C 'D' = AD' = 
2

3
 AB

✳✈✮✮②✷✔, AB'C'D' ✱✩ ❆✸❀✷✵✺✮✵ ②✻ ✾❅❍

✟✠✡☛☞✌✍✎  10.4

1. ❇✮✬ ✫✬✭✮✮✭✮✯✰✮✬✯ AB ✳✮❅✫ AC ♦✬✲ ❉❬❀ ✩✮ ✩✮✬✿✮ 60° ✾❅✽ ✻✾✮t AB = 5 cm ✳✮❅✫ AC = 7 cm ✾❅❍

AB ✳✮❅✫ AC ✶✫ ■✸●✮✪ ❈❉❇✵ P ✳✮❅✫ Q ❊❆ ✶❋✩✮✫ ✹✴❜✮②✹✫✷ ✩❬✹✻✱ ✹✩ AP = 
3

4
AB ✳✮❅✫

AQ = 
1

4
AC ✾✮✬❍ P ✳✮❅✫ Q ✩✮✬ ✹✸✼✮❊✱ ✷✈✮✮ PQ ✩❬ ✼✯❉✮❊ ② ❑✮✷ ✩❬✹✻✱❍
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2. ✱✩ ❆✸✮✯✷✫ ❀✷✵✺ ✮ ✵ ②✻  ABCD ✭✮❬ ✯ ✹❀✱✽ ✹✻❆✸✬ ✯ BC = 5 cm, AB = 3 cm ✳✮❅✫

❁ABC = 60° ✾❅❍ ✹♦✩✿✮② BD ⑥✮✫✮ ❊❆✬ ❇✮✬ ✹❏✮✺✮✵✻✮✬✯ BCD ✳✮❅✫ ABD ✸✬✯ ✹♦✺✮✮✹✻✷ ✩❬✹✻✱❍

▲BDC ♦✬✲ ❆✸❑✶ ❢♦✬✲✼ ▼✵✿✮✩
4

3
 ♦✬✲ ✱✩ ✹❏✮✺✮✵✻ BD' C' ✩❬ ✫❀✴✮ ✩❬✹✻✱❍ DA ♦✬✲ ❆✸✮✯✷✫

D'A' ✭✮❬✯✹❀✱✽ ✻✾✮t A' ❉❝�✮❊ ② ▼❃❬ ✺✮✵✻✮ BA ✶✫ ✹❢✈✮✷ ✾❅❍ ❆❃✮ A'BC'D' ✺✮❬ ✱✩ ❆✸✮✯✷✫ ❀✷✵✺✮✵ ②✻

✾❅✑

3. ✹❏✮✕❃✮✳✮✬✯  3 cm ✳✮❅✫ 5 cm ♦✮✼✬ ❇✮✬ ❆✯♦✯✬✲❇❋❬❃ ♦ ♦✖✮ ✭✮❬✯✹❀✱❍ ❉✮✾✫❬ ♦ ♦✖✮ ✶✫ ✱✩ ❈❉❇✵ ✼✬✩✫ ❖❆❆✬

❇❄❆✫✬ ♦ ♦✖✮ ✩❬ ❢✶●✮② ✫✬✭✮✮✳✮✬✯ ♦✬✲ ❃✵♥✸ ✩❬ ✫❀✴✮ ✩❬✹✻✱❍ ✱✩ ❢✶●✮② ✫✬✭✮✮ ✩❬ ✼✯❉✮❊ ② ✸✮✹✶❃✬ ✷✈✮✮

♦✮❢✷✹♦✩ ✶✹✫✩✼✴ ❆✬ ❊❆✩✮ ❆❬❃✮✶✴ ✩❬✹✻✱❍

4. ✱✩ ❆✸✹⑥❉✮✾✵ ✹❏✮✺✮✵✻ ABC ✭✮❬✯✹❀✱✽ ✹✻❆✸✬✯ AB = AC = 6 cm ✳✮❅✫  BC = 5 cm ✾❅❍

ABC ♦✬✲ ❆✸❑✶✽ ✱✩ ✹❏✮✺✮✵✻ PQR ✩❬ ✫❀✴✮ ✩❬✹✻✱✽ ✹✻❆✸✬✯ PQ = 8 cm ✾✮✬❍ ✳✶✴❬ ✫❀✴✮

✩✮ ✳✮❅✹❀❬❃ ✺✮❬ ❇❬✹✻✱❍

5. ✱✩ ✹❏✮✺✮✵✻ ABC ✭✮❬✯✹❀✱✽ ✹✻❆✸✬✯ AB = 5 cm, BC = 6 cm ✳✮❅✫ ABC= 60º ✾❅❍ ABC

♦✬✲ ❆✸❑✶✽ ❢♦✬✲✼ ▼✵✿✮✩
5

7
 ♦✬✲ ✱✩ ✹❏✮✺✮✵✻ ✩❬ ✫❀✴✮ ✩❬✹✻✱❍ ✫❀✴✮ ✩✮ ✳✮❅✹❀❬❃ ❇❬✹✻✱❍

6. ✹❏✮✕❃✮ 4 cm ✩✮ ✱✩ ♦ ♦✖✮ ✭✮❬✯✹❀✱❍ ❊❆ ✶✫ ❢✶●✮② ✫✬✭✮✮✳✮✬✯ ♦✬✲ ✱✩ ✱✬❆✬ ❃✵♥✸ ✩❬ ✫❀✴✮ ✩❬✹✻✱

✹✩ ❊✴♦✬✲ ❉❬❀ ✩✮ ✩✮✬✿✮ 60º ✾✮✬❍ ✫❀✴✮ ✩✮ ✳✮❅✹❀❬❃ ✺✮❬ ❇❬✹✻✱❍ ♦♦ ✖✮ ♦✬✲ ♦✬✯✲❇❋ ✳✮❅✫ ❢✶●✮② ✫✬✭✮✮✳✮✬✯

♦✬✲ ✶❋✹✷♦✁✬❇ ❈❉❇✵ ♦✬✲ ❉❬❀ ✩❬ ❇❄✫❬ ✩✮✬ ✸✮✹✶❃✬❍

7. ✱✩ ✹❏✮✺✮✵✻ ABC ✭✮❬✯✹❀✱✽ ✹✻❆✸✬✯ AB = 4 cm, BC = 6 cm ✳✮❅✫ AC = 9 cm ✾❅❍ ❊❆ ▲ABC ♦✬✲

❆✸❑✶✽ ❢♦✬✲✼ ▼✵✿✮✩
3

2
 ♦✬✲ ✱✩ ✹❏✮✺✮✵✻ ✩❬ ✫❀✴✮ ✩❬✹✻✱❍ ✫❀✴✮ ✩✮ ✳✮❅✹❀❬❃ ❇❬✹✻✱ ❆❃✮ ❇✮✬✴✮✬✯ ✹❏✮✺✮✵✻

❆♦✮❧▼❆✸ ✾❅✯✑ ❣❃✮✴ ❇❬✹✻✱ ✹✩ ❃✾✮t ❇✮✬✴✮✬✯ ✹❏✮✺✮✵✻✮✬✯ ✸✬✯ ✷❬✴✮✬✯ ✩✮✬✿✮ ✳✮❅✫ ❇✮✬ ✺✮✵✻✮✱t ❉✫✮❉✫ ✾❅✯❍
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• ❢ ✟✠✡☛ ✠ r ♦ ✠☞✌ ✍✎ ♦ ✏✑ ✠ ♦ ✌✒ ✍✎ ✓ ✔✕✠✖ ♦ ✏✑✠✗✠✘✙ ✎ ✠ ✚✠✌ ✟✠✛✒☞  ✜ r2 – ❧ ✘✢ ✣ ☞ ✕✠✤ ♦ ✏✑✠✗ ✠✘✙ ✎ ✠ ✚✠✌ ✟✠✛✒ ☞

❣ ✠✌ ✣✠ ❣ ✥✦

✧ ★✩✪ ✫✬✭ ✮t ✯ ✣✎ ✰ ✱☛ ✲ ✠✠ ✳ ✎❣ ✠ t ✠☛✌ ✴ ✜ ✎ ✠ ❞ ✠✳
22

7
❢☞☛ ✠ t ✠☛ ✌✢ ✠✦

(B) ❝✵ ✶✧ ✷✸✹✪ ✭ ✺ ✪ ✻✼ ✽

✾✿❀ ❁ ❂❃ ❄ ❅❆❇ ✾❈ ❉❊ ❋❆ ❁● ❍ ❁● ■ ❁ ■ ❂❏ ❑▲❆❇ ❅❃ ✾▼❄ ◆

✪ ✻✧ ❖ P✼ ✬◗ ✪ ✻✼ ✽ 1 ✮ ☛❢ ✓ ✍✎ ♦ ✏✑✠ ✎ ✠ ✚✠✌ ✟✠✛✒☞ 154 cm2 ❣ ✥✴ ✣✠✌ ❘❧✎ ✠ ✛❢ ❙❞ ✠✛ ❣ ✥

(A)  11 cm (B)  22 cm (C)  44 cm (D)  55 cm

✵ ❚ ✮ ❘✑✠❙ (C)

✪ ✻✧❖ P✼ ✬◗ ✪ ✻✼ ✽ 2 ✮ ☛ ❢✓ ❢ ✟✠✡☛ ✠ r ♦ ✠☞✌ ✍✎ ♦ ✏✑✠ ♦ ✌✒ ✍✎ ❢ ✟✠✡☛ ✗✠✘✙ ✎ ✠ ✎ ✠✌❯ ✠ ❱❢✙✢ ❲ ✔ ❞✌ ✘❳ ❨ ❣ ✥✴ ❢ ✟✠✡☛ ✗✠✘✙

✎ ✠ ✚✠✌ ✟✠✛✒ ☞ ❣ ✥

     (A)

2❩

360

✑r
(B)

2❩

180

✑r
(C)

2 ❬

360

❭r
(D)

2 ❬

180

❭r

✵❚ ✮ ❘✑✠❙ (A)

❪❫❴ ❵ ❛❜ ❡ ❤  11.1

✾✿❀ ❁ ❂❃ ❄ ❅❆❇ ✾❈ ❉❊ ❋❆ ❁● ❍ ❁● ■ ❁ ■ ❂❏ ❑▲❆❇ ❅❃ ✾▼❄ ◆

1. ☛ ❢✓ R
1
 ✰ ✠✥❙ R

2
 ♦ ✠☞✌ ✓ ✠✌ ♦ ✏✑ ✠✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟ ✠✛✒☞ ✠✌ ✘ ✎ ✠ ☛ ✠✌✢ ❢ ✟✠✡☛ ✠ R ♦ ✠☞✌ ♦ ✏✑ ✠ ♦✌ ✒ ✚✠✌ ✟✠✛✒☞ ♦ ✌✒

✯ ❙✠✯❙ ❣ ✠✌ ✴ ✣✠✌

(A)  R
1
 + R

2
 = R (B) 

2

1
R + 

2

2
R  = R2

(C)  R
1
 + R

2
 < R (D)  2 2 2

1 2
R R R✏ ❥

2. ☛ ❢✓  R
1
 ✰ ✠✥❙ R

2
 ❢ ✟✠✡☛ ✠✰ ✠✌ ✘ ♦ ✠☞✌ ✓ ✠✌ ♦ ✏✑✠✠✌ ✘ ✎ ✔ ✛❢ ❙❢ ❦☛ ✠✌ ✘ ✎ ✠ ☛ ✠✌✢ ❢ ✟✠✡☛ ✠ R ♦ ✠☞✌ ✍✎ ♦ ✏✑ ✠ ✎ ✔ ✛❢ ❙❢ ♠ ✠

♦ ✌✒ ✯❙ ✠✯❙ ❣ ✠✌ ✴ ✣✠✌

(A)  R
1
 + R

2
 = R (B) R

1
 + R

2 
> R

(C)  R
1
 + R

2 
< R (D) R

1
, R

2
 ✰ ✠ ✥❙ R ♦ ✌✒ ✯✔♥ ❧ ✘✯ ✘❦ ♦ ✌✒ ✯✠❙✌ ❞✌ ✘ ❢ ✳❢ ♣ ♥✣ q✛

❧ ✌ ♦ ✤✒ r ✳❣ ✔✘ ✎❣ ✠ t ✠ ❧ ✎ ✣✠✦
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5. ❉☛ ✠ ☛ ❣ ✎❣ ✳✠ ❧☞☛ ❣ ✥ ❢✎ ✌☛ ✠❧ d cm ♦ ✠☞✌ ✍✎ ♦ ✏✑✠✠✎ ✠❙ ✛❢❣ ✍ ✍✠❙✠ ✍✎ ✛❢ ❙✎✠❲❞❯ ✠ ❞✌ ✘ ♥☞ ✔

✢ ☛ ✔ ✓ ①❙✔ 2 ✜ d cm ❣ ✠✌ ✣✔ ❣ ✥ ? ❉☛ ✠✌ ✘✏

6. s ❞ ✔❡❙ ✎ ✔ ✓ ①❙✔ ♥☞ ✳✌ ♦ ✌✒ ❢☞ ✍ ✴ ❢ ✟✠✡☛ ✠ r ❞ ✔❡❙ ♦ ✠☞ ✠ ✍✎ ♦ ✏✑✠ ✠✎ ✠ ❙ ✛❢❣ ☛ ✠ 2✑

s

r  ♥❉✎ ❙ ☞ ✢ ✠ ✣✠

❣ ✥✦ ❉☛ ✠ ☛ ❣ ✎ ✲✠✳ ❧☞☛ ❣ ✥✏ ❉☛ ✠✌ ✘✏

7. ✍✎ ♦ ✏✑ ✠ ♦ ✌✒ ✚ ✠✌ ✟✠✛✒ ☞ ✎ ✠ ❧ ✘ ✗☛ ✠☞❞✎ ❞ ✠✳ ❘❧ ✎ ✔ ✛❢ ❙❢ ♠ ✠ ♦ ✌✒ ❧ ✘✗☛ ✠☞❞✎ ❞ ✠✳ ❧ ✌ ✰ ❢ ❦✎ ❣ ✠✌ ✣✠ ❣ ✥✦

❉☛ ✠ ☛❣ ✎ ✲ ✠✳ ❧☞☛ ❣ ✥✏ ❉☛ ✠✌ ✘✏

8. ☛ ❢✓ ❢ ✟✠✡☛ ✠ r ♦ ✠☞✌ ✍✎ ♦ ✏✑✠ ♦ ✌✒ ✍✎ ♥✠✛ ✎ ✔ ☞ ✘✯ ✠✒ ✖ ❢ ✟✠✡☛ ✠ 2 r ♦ ✠☞✌ ✍✎ ♦ ✏✑✠ ♦ ✌✒ ♥ ✠✛ ✎ ✔ ☞ ✘✯✠✒✖

♦ ✌✒ ✯ ❙✠✯ ❙ ❣ ✠✌ ✴ ✣✠✌ ✛ ❣☞✌ ♦ ✏✑ ✠ ♦ ✌✒ ❧ ✘✢ ✣ ❢ ✟✠✡☛ ✗✠✘✙ ✎ ✠ ✎ ✠✌❯ ✠ ✓ ①❧ ❙✌ ♦ ✏✑✠ ♦ ✌✒ ❧ ✘✢ ✣ ❢ ✟✠✡☛ ✗✠ ✘✙ ♦ ✌✒ ✎ ✠✌❯ ✠

✎ ✠ ✓ ✠✌✢ ✤ ✳✠ ❣ ✠✌ ✣✠ ❣ ✥✏ ❉☛ ✠ ☛ ❣ ✎ ✲ ✠✳ ✰❧☞☛ ❣ ✥✏ ❉☛ ✠✌ ✘✏

9. ✓ ✠✌ ❢✎✠✱✳ ♦ ✏ ✑✠✠✌ ✘ ♦✌ ✒ ✯ ❙✠✯ ❙ ☞ ✘✯ ✠✒☛ ✠✌ ✘ ♦ ✠☞✌ ♥✠✛ ✠✌ ✘ ♦ ✌✒ ❧ ✘✢ ✣ ❢ ✟✠✡☛ ✗✠ ✘✙ ✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛ ✒☞ ✯ ❙✠✯ ❙ ❣ ✠✌ ✣✌ ❣ ✥✘✦ ❉☛ ✠

☛ ❣ ✎ ✲ ✠✳ ❧☞☛ ❣ ✥✏ ❉☛ ✠✌ ✘✏

10. ✓ ✠✌ ❢✎✠✱✳ ♦ ✏✑✠✠✌ ✘ ♦ ✌✒ ✓ ✠✌ ❢ ✟✠✡☛ ✗✠✘✙ ✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛ ✒☞ ✯ ❙✠✯ ❙ ❣ ✥✘✦ ❉☛ ✠ ☛ ❣ ✰ ✠♦ ♣☛ ✎ ❣ ✥ ❢✎ ✒✳ ❢ ✟✠ ✡☛ ✗✠✘✙✠✌ ✘

♦ ✌✒ ❧ ✘✢ ✣ ♥✠✛ ✠✌ ✘ ✎ ✔ ☞ ✘✯✠✒☛ ✠✓ ✯ ❙✠✯ ❙ ❣ ✠✌ ✘✢ ✔✏ ❉☛ ✠✌ ✘✏

11. ❉☛ ✠ ☞ ✘✯ ✠✒✖ a cm ✰ ✠✥❙ ♥✠✥✙ ✈✠✒ ✖ b cm (a > b) ♦ ✠☞✌ ✍✎ ✰ ✠☛ ✣ ♦ ✌✒ ✰ ✘✓ ❙ ✗ ✠✔✘♥✌ t ✠ ❧ ✎ ✳✌ ♦ ✠☞✌

❧ ✯❧ ✌ ✯✙ ✈✌ ♦ ✏✑ ✠ ✎ ✠ ✚ ✠✌ ✟✠✛✒☞ ✜ b2 cm2 ❣ ✥✏ ❉☛ ✠✌ ✘✏

12. ✓ ✠✌ ♦ ✏✑ ✠✠✌ ✘ ✎ ✔ ✛❢ ❙❢♠ ✠☛ ✠✓ ✯ ❙✠✯ ❙ ❣ ✥✘✦ ❉☛ ✠ ☛❣ ✰ ✠♦ ♣☛✎ ❣ ✥ ❢ ✎ ✒✳ ♦ ✏✑ ✠✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛✒ ☞ ✎✠✔ ✯ ❙✠✯ ❙ ❣ ✠✌ ✘✏

❉☛ ✠✌ ✘✏

13. ✓ ✠✌ ♦ ✏✑ ✠✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛ ✒☞ ✯❙✠ ✯❙ ❣ ✥ ✘✦ ❉☛ ✠ ☛ ❣ ✰ ✠♦ ♣☛ ✎ ❣ ✥ ❢✎ ✒✳ ♦ ✏✑✠✠✌ ✘ ✎ ✔ ✛❢ ❙❢ ♠ ✠☛ ✠✓ ✎✠✔ ✯ ❙✠✯ ❙ ❣ ✠✌ ✘✏

❉☛ ✠✌ ✘✏

14. ❉☛ ✠ ☛ ❣ ✎❣ ✳✠ ❧☞☛ ❣ ✥ ❢ ✎ ✌☛ ✠❧ p cm ♦ ✠☞ ✌ ✍✎ ♦ ✏✑✠ ♦ ✌✒ ✰ ✘✣✢ ✖ ✣ ♦ ✢ ✖ ✎ ✠ ✚✠✌ ✟ ✠✛✒☞ p2 cm2

❣ ✥✏ ❉☛ ✠✌ ✘✏

(D) ❧✔✕✖❛✗✘ ✙✚❛✛❤✜ ❪❫ ❴ ❵

✪ ✻✧ ❖ P✼ ✬◗ ✪ ✻✼ ✽ 1 ✮ ❘❧ ♦ ✏✑✠ ✎ ✠ ✌☛ ✠❧ ♠✠✣ ✎ ✔❢t ✍✴ ❢t ❧✎ ✠ ✚ ✠✌ ✟✠✛✒ ☞ 20 cm ✰ ✠✥❙ 48 cm ✌☛ ✠❧ ♦ ✠☞✌

✓ ✠✌ ♦ ✏✑✠✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛✒☞ ✠✌ ✘ ♦ ✌✒ ☛ ✠✌✢ ♦ ✌✒ ✯ ❙✠✯ ❙ ❣ ✥✦
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✵ ❚ ✮ ☛ ❣ ✠ ✓ ✛ ❣☞✌ ♦ ✏✑✠ ✎ ✔ ❢ ✟✠✡☛ ✠ r
1
 = 

20

2
 cm = 10 cm ✣✲✠✠

✓ ①❧ ❙✌ ♦ ✏✑✠ ✎ ✔ ❢ ✟✠ ✡☛ ✠ r
2
 = 

48

2
 cm = 24 cm ❣ ✥✦

✰ ✣◆ ✴ ✒✳♦ ✌✒ ✚✠✌ ✟✠✛✒ ☞ ✠✌ ✘ ✎ ✠ ☛ ✠✌✢ = 2 2 2 2

1 2
❩ ❩ ❩ (10) ❩ (24) ❩ 676✏ ❩ ✏ ❩ �r r ...(1)

❞ ✠✳ ☞ ✔❢t ✍ ✳☛ ✌ ♦ ✏ ✑✠ ✎ ✔ ❢ ✟✠✡☛ ✠ r cm ❣ ✥✦ ✰ ✣◆ ✴ ✒❧ ✎ ✠ ✚✠✌ ✟✠✛✒ ☞ = ✜ r2 ...(2)

✒❧ ❢☞ ✍ ✴ (1) ✰ ✠✥❙  (2) ❧ ✌ ✴

✜ r2 = ✜ × 676

☛ ✠ r2 = 676

✰ ✲ ✠✠✖ ✣✈ r = 26

✰ ✣◆ ✴ ✳☛ ✌ ♦ ✏✑✠ ✎ ✔ ❢ ✟✠✡☛ ✠ = 26 cm

✰ ✣◆ ✴ ✳☛✌ ♦ ✏✑ ✠ ✎ ✠ ✌☛ ✠❧ = 2×26 cm = 52 cm

✪ ✻✧ ❖ P✼ ✬◗ ✪ ✻✼ ✽ 2 ✮ ✍✎ 21 cm ❢ ✟✠✡☛ ✠ ♦ ✠☞✌ ♦ ✏✑✠ ♦ ✌✒ ❘❧ ❢ ✟✠✡☛ ✗✠✘✙ ✎ ✠ ✚✠✌ ✟✠✛ ✒☞ ♠✠✣ ✎ ✔❢t ✍ ✴ ❢t❧ ✎ ✠

♦ ✌ ✘✒✓ ❲ ✔☛ ✎ ✠✌❯ ✠ 120° ❣ ✥✦

✵❚ ✮ ❢ ✟✠✡☛ ✗✠✘✙ ✎ ✠ ✚✠✌ ✟✠✛ ✒☞  = 
2❩

✑
�

✁✂✄
r

2 2

2

2

120 22
(21) cm

360 7

22 21 cm

462 cm

❩ � �

❩ �

❩

✪ ✻✧ ❖ P✼ ✬◗ ✪ ✻✼ ✽ 3 ✮ ✰ ✠☎❢ ✣ 11.4 ❞✌ ✘✴ ❢ ✟✠✡☛ ✠ 7.5 cm ♦ ✠☞ ✠ ✍✎ ♦ ✏ ✑✠ ✍✎ ♦ ✢✖ ♦✌ ✒ ✰ ✘✣✢ ✖ ✣ ✗✠✔ ✘♥✠ ✢ ☛ ✠

❣ ✥✦ r ✠☛ ✠✘❢ ✎ ✣ ✎✠✠✢ ✎ ✠ ✚ ✠✌ ✟✠✛✒ ☞ ♠✠✣ ✎ ✔❢t ✍ (✜ = 3.14 ☞ ✔❢t ✍)✦

✆✝✞✟✠✡☛ ☞☞✌✍
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4. ✍✎ ❞ ✠✌❡❙ ❧ ✠✒❢ ✎☞ ♦✌ ✒ ✛❢ ❣☛ ✌ ✎ ✔ ❢ ✟✠ ✡☛ ✠ 35 cm ❣ ✥✦ 66 km/h ✎ ✔ ♥✠☞ ❙✗✠✳✌ ♦ ✌✒ ❢☞ ✍✴ ✛❢ ❣☛ ✌

✎ ✠✌ ✛❲❢ ✣ ❢❞ ✳❡ ❢✎ ✣✳✌ ♥❉✎ ❙ ☞✢ ✠✳✌ ♥✠❢ ❣ ✍✏

5. ❢♦ ❞ ✠✰ ✠✌ ✘  20m × 16m ♦ ✠☞✌ ✍✎ ✰ ✠☛ ✣✠✎ ✠❙ ✗✠✌ ✣ ♦ ✌✒ ✎ ✠✌ ✳✌ ✛ ❙ ✍✎ ✢ ✠☛ 14m ☞ ✘✯✔ ❙✥❧ ✔ ❧✌ ✯ ✓♠ ✠✔

❣ ✤✒ ✖ ❣ ✥✦ ✗✠✌ ✣ ✎ ✠ ♦ ❣ ✚✠✌ ✟ ✠✛✒☞ ♠✠✣ ✎ ✔❢t ✍ ❢t❧ ❞✌ ✘ ✢ ✠☛ ♥❙ ❧ ✎ ✣✔ ❣ ✥✦

6. ✰ ✠☎❢✣ 11.6 ❞✌ ✘ ✓ ♣✠✠✖☛ ✔ ✢ ☛ ✔ ✛ ①✒☞ ✠✌ ✘ ✎ ✔ ❉☛ ✠❙✔ ❱✰♠✠✖♦ ✏✑✠✠✎ ✠❙ ❢❧ ❙✠✌ ✘ ♦ ✠☞ ✔❳ ✎✠ ✚✠✌✟✠✛✒☞ ♠✠✣ ✎ ✔❢t ✍✦

7. ✰ ✠☎❢ ✣ 11.7 ❞✌ ✘✴ AB ♦ ✏ ✑✠ ✎ ✠ ✌☛ ✠❧ ❣ ✥✴ AC = 6 cm ✰ ✠✥❙ BC = 8 cm ❣ ✥✦ r ✠☛ ✠ ✘❢✎ ✣ ✎✠✠✢ ✎ ✠

✚✠✌ ✟✠✛✒☞ ♠✠✣ ✎ ✔❢t ✍ (✜ = 3.14 ✎ ✠ ✛❲☛ ✠✌ ✢ ✎ ✔❢t ✍)✦

8. ✰ ✠☎❢ ✣ 11.8 ❞✌ ✘ ✓ ♣ ✠✠✖☛ ✌ ✢ ☛ ✌ r ✠☛ ✠✘❢✎ ✣ ✗ ✠✌ ✣ ✎ ✠ ✚✠✌ ✟✠✛✒☞ ♠✠✣ ✎ ✔❢t ✍✦

9. ✰ ✠☎❢ ✣ 11.9 ❞✌ ✘✴ r ✠☛ ✠✘❢✎ ✣ ✚✠✌ ✟✠ ✎ ✠ ✚ ✠✌ ✟✠✛✒☞ ♠✠✣ ✎ ✔❢ t ✍✦

✆✝✞✟✠✡☛ ☞☞✌✈

✆✝✞✟✠✡☛ ☞☞✌�

✆✝✞✟✠✡☛ ☞☞✌✁
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✣✯ ✴ ✚ ✠✌ ✟✠✛✒ ☞ ❞✌ ✘ ♦ ✏❢r = ♦ ✌ ✘✒ ✓❲ ✔☛ ✎ ✠✌❯ ✠ 90° ♦ ✠☞✌ ✰ ✠✥❙ ❢ ✟✠✡☛ ✠✰ ✠✌ ✘ 11.5 m (= 6 m + 5.5 m) ✰ ✠✥❙ 6 m

♦ ✠☞✌ ❢ ✟✠✡☛ ✗✠ ✘✙ ✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛✒ ☞ ✠✌ ✘ ✎ ✠ ✰ ✘✣ ❙✴ t ✠✌ ✰ ✠☎❢ ✣ ❞✌ ✘ r ✠☛ ✠✘❢✎ ✣ ✓ ♣✠✠✖ ☛ ✠ ✢ ☛ ✠ ❣ ✥✦

✰ ✣◆ ✴ ✚✠✌ ✟✠✛✒☞ ❞✌ ✘ ♦ ✠✓❢r ✣ ♦ ✏❢r

=
2 2 290 90

❩ 11.5 ❩ 6 m
360 360

� ✁
� � ✒ �✂ ✄

☎ ✆

2❩
(11.5 6) (11.5 6)m

4
❩ � ✏ ✒

222
17.5 5.5 m

7 4
❩ � �

�

= 75.625 m
2

❪❫ ❴ ❵ ❛❜ ❡ ❤  11.4

1. ❢✎ ❧ ✔ ♦ ✏✑ ✠✠✎ ✠ ❙ ✗ ✠✌☞ ♦ ✌✒ ❞ ✥✓ ✠✳ ✎ ✠ ✚✠✌ ✟✠✛ ✒☞ 22176 m
2 ❣ ✥✦ ✒❧ ❞ ✥✓ ✠ ✳ ✛ ❙ 50 ★ ✛❲❢ ✣ ❞ ✔❡❙ ✎ ✔

✓ ❙ ❧ ✌ ✯ ✠✙ ✈ ☞✢ ♦ ✠✳✌ ✎ ✠ ✌☛ ☛ ♠✠✣ ✎ ✔❢t ✍✦

2. ❢✎ ❧ ✔ ❡ ❢✥❉❡❙ ♦ ✌✒ ✰✢ ☞✌ ✰ ✠✥❙ ❢ ✛r☞✌ ✛❢❣ ☛ ✠✌ ✘ ♦ ✌✒ ✌☛ ✠❧ ✝❞ ♣ ✠◆ 80 cm ✰ ✠✥❙ 2 m ❣ ✥✘✦ ♠✠✣ ✎ ✔❢t ✍

❢✎ ❢✛r☞✌ ✛❢ ❣ ✍ ✍✠❙✠ ❘✣✳✔ ✓ ①❙✔ ✣☛ ✎ ❙✳✌ ❞✌ ✘ ❢✎ ✣✳✌ ♥❉❉❙ ☞✢ ✠✳✌ ❣ ✠✌ ✘✢ ✌ ✴ ❢ t ✣✳✔ ✓ ①❙✔ ✰ ✢☞ ✠ ✛ ❢❣☛ ✠

1400 ♥❉✎ ❙ ☞✢ ✠✳✌ ✛ ❙ ✣☛ ✎ ❙✣✠ ❣ ✥✦

3. ✍✎ ❢ ✟✠✎✠✤ t ✠✎ ✠❙ ✗✠✌ ✣ ✎ ✔ ✎✠✤ t ✠ ✍ ✓ 15 m, 16 m ✰ ✠ ✥ ❙ 17 m ❣ ✥✘✦  ✒❧ ✗ ✠✌ ✣ ❞ ✌ ✘ ♥❙ ✳✌ ♦ ✌ ✒ ❢ ☞ ✍ ✴ ✒❧ ♦ ✌ ✒

✣✔ ✳ ✠✌ ✘ ✎ ✠✌ ✳✠✌ ✘ ❧ ✌ ✍ ✎ ✢ ✠☛ ✴ ✍✎ ✎✠✥ ✘❧ ✰ ✠✥ ❙ ✍✎ ✕✠ ✠✌ ✙ ✈✌ ✎ ✠✌ ✰ ☞ ✢✞✰ ☞✢ 7 m ☞ ✘ ✯ ✔ ❙❢✥❧ ☛ ✠✌ ✘ ❧ ✌ ✯ ✠ ✓♠ ✠

❢ ✓ ☛ ✠ ✢ ☛ ✠ ❣ ✥✦ ✗✠✌ ✣ ♦ ✌✒ ❘❧ ✎✠ ✠✢ ✎ ✠ ✚ ✠✌ ✟✠✛ ✒☞ ♠✠ ✣ ✎ ✔❢t ✍ ❢ t❧ ❞ ✌ ✘ ☛ ✌ ✣✔ ✳✠✌ ✘ ✛ ♣ ✠✤ ♥ ❙ ✳❣ ✔✘ ✛ ✠ ✍ ✓✢ ✌✦

✆✝✞✟✠✡☛ ☞☞✌☞✈



♦�✁✆ ✆✂✄ ☎✂ ☎✄✆✄☎✝✞ ✟✆✂✠✆ ✐✡☛ 135

4. ❢ ✟✠✡☛ ✠ 12 cm ♦ ✠☞✌ ♦ ✏✑ ✠ ♦ ✌✒ ❘❧ ♦ ✏✑ ✠✗✠✘✙ ✎ ✠ ✚✠✌ ✟✠✛ ✒☞ ♠✠✣ ✎ ✔❢ t ✍✴ ❢ t❧ ♦ ✌✒ ❧ ✘✢ ✣ ❢ ✟✠✡☛ ✗ ✠✘✙ ✎ ✠

♦ ✌ ✘✒ ✓❲ ✔☛ ✎ ✠✌❯ ✠ 60° ❣ ✥ (✜ = 3.14 ✎ ✠ ✛ ❲☛ ✠✌✢ ✎ ✔❢t ✍)✦

5. ✍✎ ♦ ✏✑✠✠✎ ✠❙ ✣✠☞ ✠ ✯ ✎ ✠ ✌☛ ✠❧ 17.5 m ❣ ✥✦ ✒❧♦ ✌✒ ✰ ✳✤❢✓ ♣✠ ✯✠❣ ❙ ✎ ✔ ✰ ✠✌ ❙ 2 m ♥✠✥✙ ✈✠ ✍✎ ✛ ✲ ✠

✯ ✳✠ ❣ ✤✰ ✠ ❣ ✥✦ 25 ★ ✛❲❢ ✣ ♦ ✢ ✖ ❞ ✔❡❙ ✎ ✔ ✓ ❙ ❧ ✌ ✒❧ ✛ ✲✠ ♦ ✌✒ ❢ ✳❞ ✠✖❯ ✠ ✎ ✔ ☞ ✠✢ ✣ ♠✠✣ ✎ ✔❢t ✍✦

6. ✰ ✠☎❢ ✣ 11.17 ❞✌ ✘, ABCD ✍✎ ❧❞☞ ✘ ✯ ❣ ✥✴ ❢t❧ ❞✌ ✘ AB || DC, AB = 18 cm, DC = 32 cm ✣✲✠✠

AB ✰ ✠✥❙ DC ♦ ✌✒ ✯ ✔♥ ✎ ✔ ✓ ①❙✔ = 14 cm ❣ ✥✦ ☛ ❢✓ A, B, C ✰ ✠✥❙ D ✎ ✠✌ ♦ ✌ ✘✒ ✓❲ ❞ ✠✳✎ ❙ ❢ ✟✠✡☛ ✠✰ ✠✌ ✘ 7

cm ♦ ✌ ✒ ♥ ✠✛ ✗ ✠ ✔ ✘ ♥ ✌ ✢ ☛ ✌ ❣ ✥ ✘ ✴ ✣ ✠✌ ✒❧ ✰ ✠☎❢ ✣ ♦ ✌ ✒ r ✠☛ ✠ ✘❢ ✎ ✣ ✚ ✠✌ ✟ ✠ ✎ ✠ ✚ ✠✌ ✟ ✠✛ ✒ ☞

♠✠✣ ✎ ✔❢ t ✍✦

7. ✯ ❙✠✯❙ ❢ ✟✠✡☛ ✠ 3.5 cm ♦ ✠☞✌ ✣✔✳ ♦ ✏✑ ✠ ✒❧ ✛ ❲✎ ✠❙ ✗✠✔ ✘♥✌ ✢ ☛ ✌ ❣ ✥ ✘ ❢✎ ✒✳❞✌ ✘ ❧ ✌ ✛❲☞☛ ✌✎ ✰ ✱☛ ✓ ✠✌ ♦ ✏✑ ✠✠✌ ✘

✎ ✠✌ ✥✛ ♣ ✠✖ ✎ ❙✣✠ ❣ ✥✦ ✒✳ ♦ ✏✑ ✠✠✌ ✘ ❧ ✌ ✛ ❢ ❙✯r ✚✠✌ ✟✠✛ ✒☞ ♠✠✣ ✎ ✔❢t ✍✦

8. ❢ ✟✠✡☛ ✠ 5 cm ♦ ✠☞✌ ♦ ✏✑✠ ♦ ✌✒ ❘❧ ❢ ✟✠✡☛ ✗ ✠✘✙ ✎ ✠ ✚✠✌ ✟✠✛ ✒☞ ♠✠✣ ✎ ✔❢t ✍ ❢t❧ ♦ ✌✒ ❧ ✘✢ ✣ ♥✠✛ ✎ ✔ ☞ ✘✯ ✠✒ ✖

3.5 cm ❣ ✥✦

9. ✯ ❙✠✯❙ ❢ ✟✠✡☛ ✠ 7 cm ❢ ✟✠ ✡☛ ✠ ♦ ✠☞✌ ♥✠❙ ♦ ✏✑✠✠✎ ✠❙ ✢ ✑✠✌ ♦ ✌✒ ❡ ✤✎ ✙ ✈✠✌ ✘ ✎ ✠✌ ✍✎ ✎ ✠✢ t ✛ ❙ ✒❧ ✛❲ ✎ ✠❙ ❙✗ ✠✠

✢ ☛ ✠ ❣ ✥ ❢✎ ✛❲☞☛ ✌✎ ❡✤✎ ✙ ✈✠ ✰ ✱☛ ✓ ✠✌ ❡ ✤✎✙ ✈✠✌ ✘ ✎ ✠✌ ✥✛ ♣ ✠✖ ✎ ❙✣✠ ❣ ✥✦ ✒✳ ❡✤ ✎✙ ✈✠✌ ✘ ♦ ✌✒ ✯ ✔♥ ❞✌ ✘ ✛❢ ❙✯r ✎✠✠✢

✎ ✠ ✚✠✌ ✟✠✛✒☞ ♠✠✣ ✎ ✔❢t ✍✦

10. 784 cm2 ✚✠✌ ✟✠✛✒☞ ♦ ✠☞✌ ✍✎ ♦ ✢ ✠✖✎ ✠❙ ✢ ✑ ✠✌ ✎ ✔ ♣✠✔❡ ✛ ❙✴ ✰ ❢♠ ✠✎ ✣❞ ❞ ✠✛ ✎ ✔ ♥✠❙ ❧♦ ✠④✢ ❧ ❞

♦ ✏✑✠ ✠✎ ✠❙ ♦☞✌❡ ✌ ✘ ✒❧ ✛❲ ✎ ✠❙ ❙ ✗✠✔ ✢ ☛ ✔ ❣ ✥✘ ❢ ✎ ✛❲☞☛ ✌✎ ♦ ✏ ✑✠✠✎ ✠❙ ♦☞✌❡ ✰ ✱☛ ✓ ✠✌ ♦☞ ✌❡✠✌ ✘ ✎ ✠✌ ✥✛ ♣ ✠✖ ✎ ❙ ✣✔

❣ ✥ ✣✲✠ ✠ ♦ ✢ ✠✖✎ ✠ ❙ ♣ ✠✔❡ ✎ ✔ ✛❲☞☛✌✎ ✎✠✤t ✠ ✓ ✠✌ ♦ ✏✑✠✠✎ ✠❙ ♦☞✌❡✠✌ ✘ ✎ ✠✌ ✥✛ ♣ ✠✖ ✎ ❙✣✔ ❣ ✥✦ ♦ ✢ ✠✖✎ ✠❙ ♣✠✔❡ ♦✌ ✒

❘❧ ✎✠ ✠✢ ✎ ✠ ✚✠✌ ✟✠✛✒☞ ♠✠ ✣ ✎ ✔❢ t ✍ t ✠✌ ♦ ✏✑✠✠✎ ✠❙ ♦☞✌❡✠✌ ✘ ✍✠❙✠ ♠✎ ✠ ✳❣ ✔✘ ✢ ☛ ✠ ❣ ✥✦

✆✝✞✟✠✡☛ ☞☞✌☞�
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11. ❢✎ ❧ ✔ ✎ ❞ ❙✌ ♦ ✌✒ ✛ ✒ ♣ ✠✖ ✎ ✔ ❢♦ ❞ ✠✍ ✓ 5 m × 4 m ❣ ✥ ✘ ✰ ✠✥❙ ✒❧ ✛ ❙ ♦ ✏✑✠✠✎ ✠❙ ❡✠✒☞✌ ✘ ☞✢ ✠☛ ✔ t ✠✣✔ ❣ ✥✘✴

❢t ✳❞✌ ✘ ❧ ✌ ✛❲☞☛✌✎ ✎ ✠ ✌☛ ✠❧ 50 cm ❣ ✥✴ t ✥❧ ✠ ❢✎ ✰ ✠☎❢ ✣ 11.18 ❞✌ ✘ ✓ ♣✠✠✖ ☛ ✠ ✢☛ ✠ ❣ ✥✦ ✛✒ ♣ ✠✖ ♦✌✒ ❘❧

✎✠✠✢ ✎ ✠ ✚✠✌ ✟✠✛ ✒☞ ♠✠ ✣ ✎ ✔❢t ✍ ❢t ❧ ✛ ❙ ❡✠✒☞ ✳❣ ✔ ✘ ☞✢ ✔ ❣ ✥✘ (✜ = 3.14 ✎ ✠ ✛❲ ☛ ✠✌✢ ✎ ✔❢t ✍)✦

12. ✍✎ ❧ ❞ ♥✣✤✎✠✤✖t ♦ ✌✒ ❧✎✠✔ ♣✠ ✔✱✠✖ ✍✎ ♦ ✏✑✠ ✛ ❙ ❢✥✲✠✣ ❣ ✥✘✦ ✒❧ ❧ ❞ ♥✣✤✎✠✤✖t ✎ ✠ ✚✠✌ ✟✠✛✒ ☞ ♠✠✣ ✎ ✔❢t ✍✴

☛ ❢✓ ♦ ✏✑✠ ✎ ✠ ✚✠✌ ✟✠✛✒☞ 1256 cm
2 

❣ ✥ (✜ = 3.14 ✎ ✠ ✛ ❲☛ ✠✌✢ ✎ ✔❢t ✍)✦

13. ❢✎ ❧ ✔ ♠ ✠✳✤ ❢♦ ✖❢✠ ❱☛ ✠ ✣✔❙✘✓ ✠t ✔❳ ☞ ✚☛ ♦ ✌✒ ✣✔ ✳ ✚✠✌ ✟✠ ❣ ✥✘✴ t ✠✌ ✰ ✠☎❢ ✣ 11.19 ❞✌ ✘ ✓ ♣✠✠✖ ✍ ✰ ✳✤❧ ✠❙ ✣✔✳

❧ ✘♦ ✌ ✘✒✓ ❲ ✔☛ ♦ ✏ ✑✠✠✌ ✘ ❧ ✌ ✯✳✌ ❣ ✥ ✘✦ ☛ ❢✓ ✒✳ ❧ ✘♦ ✌ ✘✒✓❲ ✔☛ ♦ ✏✑ ✠✠✌ ✘ ♦ ✌✒ ✌☛ ✠❧ 1 : 2 : 3 ♦ ✌✒ ✰ ✳✤ ✛ ✠✣ ❞✌ ✘ ❣ ✥✘✴ ✣✠✌ ✒✳ ✣✔✳✠✌ ✘

✚✠✌ ✟ ✠✠✌ ✘ ♦ ✌✒ ✚✠✌ ✟✠✛✒ ☞ ✠✌ ✘ ✎ ✠ ✰ ✳✤✛ ✠ ✣ ♠✠✣ ✎ ✔❢t ✍✦

✆✝✞✟✠✡☛ ☞☞✌☞✁

✆✝✞✟✠✡☛ ☞☞✌☞✈
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✟✠✡☛☞✌✍✎ 12.1

❢✏✑✒ ✓✔✕ ✖✗✘ ❢✙✚✛✜✗✒✢ ✣✒✢ ✤✒ ✤✓✥ ✦✧✗✘ ✖✔❢★✕ ✪

1. ✱✩ ✫✩✬✭✮✯ ✰✮ ✬✲✩✳✴✳ ✵✬✭✶✳ ✷✶✳ ✱✩ ✵✯✴✬✭✩✭✮ ✰✯✸✫✹✴ ✫✬✺✬✫✴✫✻✭✼ ✩✭ ✹✸✶✭✯✽✬ ✾✿

(A) ✱✩ ❀✭✸❁✲❂ ❃✭✿✮ ✱✩ ✵✯✴✬ (B) ❀✭✸❁✲❂ ✩✭ ✫❄❅✬✩ ❃✭✿✮ ✱✩ ✵✯✴✬

(C) ✱✩ ❃❆✭❇✷✭✯✴✭ ❃✭✿✮ ✱✩ ✵✯✴✬ (D) ♥✭✯ ✵✯✴✬

2. ✱✩ ✹✲✮✭✾✳ ✫✬✺✬✫✴✫✻✭✼ ✩✭ ✹✸✶✭✯✽✬ ✾✿

(A) ✱✩ ✷✭✯✴✭ ❃✭✿✮ ✱✩ ✵✯✴✬ (B) ✱✩ ❃❆✭❇✷✭✯✴✭ ❃✭✿✮ ✱✩ ✵✯✴✬

(C) ♥✭✯ ❃❆✭❇✷✭✯✴✯ (D) ✱✩ ✵✯✴✬ ❃✭✿✮ ✱✩ ❀✭✸❁✲❂

3. ✱✩ ✹✭✾✲✴ ❈♥✯✫✻✭✱ ❃✭❉✫✼ 12.2❊ ✫✬✺✬✫✴✫✻✭✼ ✩✭ ✹✸✶✭✯✽✬ ✾✿✪

(A) ✱✩ ❀✭✸❁✲❂ ❃✭✿✮ ✱✩ ✵✯✴✬ (B) ✱✩ ❃❆✭❇✷✭✯✴✭ ❃✭✿✮ ✱✩ ❀✭✸❁✲❂

(C) ❀✭✸❁✲❂ ✩✭ ✫❄❅✬✩ ❃✭✿✮ ✱✩ ✵✯✴✬ (D) ✷✭✯✴✭ ❃✭✿✮ ✵✯✴✬

4. ✱✩ ✫✷✴✭✹ ❈♥✯✫✻✭✱ ❃✭❉✫✼ 12.3❊ ✩✭ ❃✭✩✭✮ ✰❋✭✶✪ ✫✬✺✬ ●✰ ✩✭ ✾✭✯✼✭ ✾✿

(A) ✱✩ ❀✭✸❁✲❂ (B) ❀✭✸❁✲❂ ✩✭ ✫❄❅✬✩

(C) ✱✩ ✵✯✴✬ (D) ✱✩ ✷✭✯✴✭

✈❍■❏❑▲▼ ◆❖P❖

✈❍■❏❑▲▼ ◆❖P◗
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1

8
 ❍✭✭✷ �✹✭✴✯ ✹✯ ❍✭✮✭ ✽✭✼✭ ✾✿✁ ✼✭✯ ♥✳❁✭✮ ✩✭✯ ✵✬✭✬✯ �✯✸ ✴✷✳ ✂✄☎✭✯ ✸ ✩✳ ✹✸✻✶✭ ✾✿

(A) 11100 (B) 11200 (C) 11000 (D) 11300

12. ❃✭❆✭✭✮ ✈✶✭✹ 2 cm ❃✭✿✮ ✥✆✝✭✂ ❇ 16 cm ❁✭✴✯ ❆✭✭✼✲ ❁✯❂ ✱✩ ✞✭✯✹ ✵✯✴✬ ✩✭✯ ✫✰✟✭✴✭ ✩✮ ✹�✭✬

�✭✰ ❁✯❂ ✵✭✮✾ ✞✭✯✹ ✷✭✯✴✯ ✵✬✭✶✯ ✽✭✼✯ ✾✿ ✸❡ ✰❋✠✶✯✩ ✷✭✯✴✯ ✩✭ ✈✶✭✹ ✾✿

(A) 4 cm (B) 3 cm (C) 2 cm (D) 6 cm

13. ✫✼✶❇✩ ✥✆✝✭✂ ❇ 45 cm ❁✭✴✳ ✱✩ ✵✭✡☎✳ ❁✯❂ ✥✰✮✳ ❃✭✿✮ ✫✬✝✴✯ ✫✹✮✭✯✸ ✩✳ ✫☛✭☞✶✭✱✆ ✌�❀✭✪

28 cm ❃✭✿✮ 7 cm ✾✿✸❡ ✂✹ ✵✭✡☎✳ ✩✭ ❁✌ ✰✍✎✞✳✶ ✏✭✯☛✭✰❂✴ ✾✿

(A) 4950 cm2 (B) 4951 cm2 (C) 4952 cm2 (D) 4953 cm2

14. ♥❁✭✂ ❇ ✩✭ ✱✩ ❁✿❂♥✹ ✑✴ 0.5 cm ✈✶✭✹ ❁✭✴✯ ✱✩ ✵✯✴✬ ❁✯❂ ❃✭✩✭✮ ✩✭ ✾✿✁ ✫✽✹❁✯❂ ♥✭✯✬✭✯✸ ✫✹✮✭✯✸ ✰✮

♥✭✯ ❃❆✭❇✷✭✯✴✯ ✴✷✯ ✾✲✱ ✾✿✸❡ ✹✸✰ ✑✒✭❇ ❁✿❂♥✹ ✑✴ ✩✳ ✴✸✵✭✂ ❇ 2 cm ✾✿❡ ✂✹ ❁✿❂♥✓✭ ✑✴ ✩✳ ❆✭✭✫✮✼✭ ✾✿

(A)  0.36 cm3 (B) 0.35 cm3 (C)  0.34 cm3 (D) 0.33 cm3

15. ✱✩ ✾✳ ❃✭❆✭✭✮ ✫☛✭☞✶✭ r ❁✭✴✯ ♥✭✯ ✞✭✯✹ ❃❆✭❇✷✭✯✴✭✯✸ ✩✭✯ ✔✬❁✯❂ ❃✭❆✭✭✮✭✯✸ ❁✯❂ ❃✬✲✫♥❀✭ ✽✭✯✕✖ ✫♥✶✭ ✷✶✭

✾✿❡ ✼✵ ✬✶✯ ✞✭✯✹ ✩✭ ❁✌ ✰✍✎✞✳✶ ✏✭✯☛✭✰❂✴ ✾✿

(A) 4✗r2 (B) 6✗r2 (C) 3✗r2 (D) 8✗r2

16. ✫☛✭☞✶✭ r cm ❃✭✿✮ ✥✆✝✭✂ ❇ h cm (h>2r) ❁✭✴✯ ✱✩ ✴✸✵ ❁ ✍♦✭✳✶ ✵✯✴✬ �✯✸ ✞✳✩ ✹�✭❁✯✫❀✭✼ ✾✭✯✬✯ ❁✭✴✯

✷✭✯✴✯ ✩✭ ✈✶✭✹ ✾✿

(A)  r cm (B) 2r cm (C) h cm (D) 2h cm

17. ✞✭✯✹ ✩✭✯ ✱✩ ❃✭✩✭✮ ✹✯ ♥ ✑✹✮✯ ❃✭✩✭✮ �✯✸ ✵♥✴✬✯ ✰✮✁ ✬✶✯ ❃✭✩✭✮ ✩✭ ❃✭✶✼✬

(A) ✵❝✖ ✽✭✼✭ ✾✿ (B) ✟✭☎ ✽✭✼✭ ✾✿  (C) ❁✾✳ ✮✾✼✭ ✾✿ (D) ♥✲✷✲✬✭ ✾✭✯ ✽✭✼✭ ✾✿

18. ✱✩ ✵✭✡☎✳ ❁✯❂ ♥✭✯✬✭✯✸ ❁ ✍♦✭✭✩✭✮ ✫✹✮✭✯✸ ❁✯❂ ✈✶✭✹ 44 cm ❃✭✿✮ 24 cm ✾✿✸ ✼✘✭✭ ✵✭✡☎✳ ✩✳ ✥✆✝✭✂ ❇

35 cm ✾✿❡ ✂✹ ✵✭✡☎✳ ✩✳ ✙✭✫✮✼✭ ✾✿

(A) 32.7 ✴✳☎✮ (B) 33.7 ✴✳☎✮ (C) 34.7 ✴✳☎✮ (D) 31.7 ✴✳☎✮

19. ✱✩ ✴✸✵ ❁ ✍♦✭✳✶ ❀✭✸❁✲❂ �✯✸✁ ✔✹❁✯❂ ❃✭❆✭✭✮ ❁✯❂ ✹�✭✸✼✮ ✻✭✳✸✝✯ ✷✶✯ ✼✴ ✱✭✮✭ ✩✭☎✭ ✷✶✭ ❃✬✲✰❋✓✘✭✚✩✭☎

✾✭✯✼✭ ✾✿ ✱✩

(A) ❁✍♦✭ (B) ❀✭✸❁✲❂ ✩✭ ✫❄❅✬✩        (C) ✷✭✯✴✭ (D) ❃❆✭❇✷✭✯✴✭

20. ♥✭✯ ✷✭✯✴✭✯✸ ❁✯❂ ❃✭✶✼✬✭✯✸ ✩✭ ❃✬✲✰✭✼  64 : 27 ✾✿❡ ✔✬❁✯❂ ✰✍✎✞✳✶ ✏✭✯☛✭✰❂✴✭✯✸ ✩✭ ❃✬✲✰✭✼ ✾✿

(A) 3:4 (B) 4:3 (C) 9:16 (D) 16:9
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9. ❃✭❁✍❂✫✼ 12.10 �✯✸✁ ✱✩ ❃✭✂✹✌✳� ❀✭✸❁✲❂ ♥❀✭✭❇✶✭ ✷✶✭ ✾✿✁ ✫✽✹�✯✸ ❃✭✂✹✌✳� ❍✭✮✳ ✾✲✂ ❇ ✾✿✁ ✼✘✭✭ ✂✹✩✳

✫☛✭☞✶✭ 5 cm ❃✭✿✮ ✥✆✝✭✂ ❇ 10 cm ✾✿❡ ❃✭✂✹✌✳� ✩✭ ❃✭✶✼✬ ✥✭✼ ✩✳✫✽✱✁ ✽✵✫✩ ❀✭✸❁✲❂ ✩✭ 
1

6

❍✭✭✷ ❃✭✂✹✌✳� ✹✯ ✫✮❍✼ ✮✾✼✭ ✾✿❡

10. ✱✩ 7 cm ✈✶✭✹ ❁✭✴✯ ✵✯✴✬✭✩✭✮ ✵✳✩✮✁ ✫✽✹�✯✸ ❁✲❂❄ ✰✭✬✳ ❍✭✮✭ ✾✿✁ �✯✸ 1.4 cm ✈✶✭✹ ❁✭✴✯ ❁✸❂✝✯

✕✭✴✯ ✽✭✼✯ ✾✿✸❡ ❁✸❂✝✭✯✸ ✩✳ ❁✾ ✹✸✻✶✭ ✥✭✼ ✩✳✫✽✱ ✫✽✬✩✭✯ ✵✳✩✮ �✯ ✸ ✕✭✴✬✯ ✹✯ ✰✭✬✳ ✩✭ ✓✼✮

5.6 cm ✥✰✮ ✔✞ ✽✭✶✯✷✭❡

11. ✫❁�✭❃✭✯✸ 66 cm, 42 cm ❃✭✿✮ 21 cm ❁✭✴✯ ✱✩ ✞✭✯✹ ✟✭✬✭❍✭✭✩✭✮ ✹✳✹✯ ❁✯❂ ☎ ✲✩✕✖✯ �✯✸ ✹✯ 4.2 cm

❁✭✴✳ ✫✩✼✬✳ ✹✳✹✯ ✩✳ ✷✭✯✫✴✶✭ ✆ ✰❋✭♥✼ ✩✳ ✽✭ ✹✩✼✳ ✾✿✸♦

12. ✱✩ 44 cm ✫✩✬✭✮✯ ❁✭✴✯ ✹✳✹✯ ❁✯❂ ✞✭✯✹ ✟✭✬ �✯✸ ✹✯ 4 cm ✈✶✭✹ ❁✭✴✳ ✫✩✼✬✳ ✹✳✹✯ ✩✳ ✷✭✯✫✴✶✭ ✆

✵✬✭✶✳ ✽✭ ✹✩✼✳ ✾✿✸♦

13. 24 m ✴✸✵✳✁ 0.4 m �✭✯☎✳ ❃✭✿✮ 6m ✥✆✝✳ ✱✩ ♥✳❁✭✮ ✩✭ ✂✄☎✭✯✸ ✹✯ ✫✬�✭❇✒✭ ✩✮✭✶✭ ✽✭✼✭ ✾✿✁ ✫✽✬�✯✸

✹✯ ✰❋✠✶✯✩ ✂✄☎ ✩✳ ✫❁�✭✱ ✆ 25 cm × 16 cm × 10 cm ✾✿✸❡ ✶✫♥ ♥✳❁✭✮ ❁✯❂ ❃✭✶✼✬ ✩✭ 
1

10
 ❍✭✭✷

�✹✭✴✯ ✹✯ ❍✭✮✭ ✽✭✼✭ ✾✿✁ ✼✭✯ ♥✳❁✭✮ ❁✯❂ ✫✬�✭❇✒✭ �✯✸ ✴✷✬✯ ❁✭✴✳ ✂✄☎✭✯✸ ✩✳ ✹✸✻✶✭ ✥✭✼ ✩✳✫✽✱❡

14. ❃✭❆✭✭✮ ✈✶✭✹ 1.5 cm ❃✭✿✮ ✥✆✝✭✂ ❇ 0.2 cm ❁✭✴✳ ❆✭✭✼✲ ✩✳ ❁ ✍♦✭✭✩✭✮ ✝✩✫✼✶✭✯✸ ✩✳ ✹✸✻✶✭ ✥✭✼

✩✳✫✽✱ ✫✽✬✩✭✯ ✫✰✟✭✴✭✩✮ 10 cm ✥✆✝✭✂ ❇ ❃✭✿✮ 4.5 cm ✈✶✭✹ ✩✭ ✱✩ ✞✭✯✹ ✴✸✵ ❁ ✍♦✭✳✶ ✵✯✴✬

✵✬✭✶✭ ✽✭ ✹❁✯❂❡

(E)  ♥✌✍✎✏ ✑✒✎✓✌✔ ✕✖✗✘

✕✖✙✚♥✗✎✏ ✕✖✗✘ 1: ✩✭✯✂ ❇ ✵✭✡☎✳ ❀✭✸❁✲❂ ❁✯❂ ✱✩ ✫❄❅✬✩ ❁✯❂ ●✰ ✩✳ ✾✿ ✫✽✹✩✳ ✥✆✝✭✂ ❇  30 cm ✾✿ ✼✘✭✭

✫✬✝✴✯ ❃✭✿✮ ✥✰✮✳ ✫✹✮✭✯✸ ✩✳ ✫☛✭☞✶✭✱✆ ✌�❀✭✪ 10 cm ❃✭✿✮ 20 cm ✾✿✸❡ ✂✹ ✵✭✡☎✳ ✩✳ ❆✭✭✫✮✼✭ ✼✘✭✭ ✰✍✎✞✳✶

✏✭✯☛✭✰❂✴ ✥✭✼ ✩✳✫✽✱❡ ✹✭✘✭ ✾✳✁ ✂✹ ✵✭✡☎✳ ✩✭✯ ✰✑✮✭ ❍✭✮ ✹✩✬✯ ❁✭✴✯ ♥ ✑❆✭ ✩✳ 25 ✛ ✰❋✫✼ ✴✳☎✮ ✩✳

♥✮ ✹✯ ✴✭✷✼ ❍✭✳ ✥✭✼ ✩✳✫✽✱ ❈✗ = 3.14 ✩✭ ✰❋✶✭✯✷ ✩✳✫✽✱❊❡

✈❍■❏❑▲▼ ◆❖P◆✈
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✂✹✹✯ r = 
3

h
✰❋✭♥✼ ✾✭✯✼✭ ✾✿❡ �✭✬ ✴✳✫✽✱ ✫✩ ✵✯✴✬✭✩✭✮ ❍✭✭✷ ✩✳ ✥✆✝✭✂ ❇ H �✳☎✮ ✾✿❡

❃✼✪✁ H = 
2

–
3 3

h
h h  �✳☎✮❡

❍✭❁✬ ❁✯❂ ❃✸♥✮ ✩✳ ❁✭✶✲ ✩✭ ❃✭✶✼✬ = ✷✲✸✵✽ ❁✯❂ ❃✸♥✮ ✩✳ ❁✭✶✲ ✥ ✵✯✴✬ ❁✯❂ ❃✸♥✮ ✩✳ ❁✭✶✲

3 22
❩ ❩ H

3
r r❩ ✏ , ✽✾✭ ✆ H ✵✯✴✬✭✩✭✮ ❍✭✭✷ ✩✳ ✥✆✝✭✂ ❇ ✾✿❡

3 2
2 2
✂ ✂

3 3 3 3

h h
h  

38
❩

81
h  ✟✭✬ �✳☎✮

❍✭❁✬ ❁✯❂ ❃✸♥✮ ✩✳ ❁✭✶✲ ✩✭ ❃✭✶✼✬ 
1

67
21

m3 ✾✿❡ ❃✼✪✁ 
38 1408

❩
81 21

h ✾✿❡ ✂✹✹✯ h = 6 m ✰❋✭ ♥✼ ✾✭✯✼✭ ✾✿❡

✟✠✡☛☞✌✍✎ 12.4

1. ✫☛✭☞✶✭ 8 cm ❁✭✴✯ ✱✩ ❆✭✭✼✲ ❁✯❂ ✞✭✯✹ ❃❆✭❇✷✭✯✴✯ ✩✭✯ ✫✰✟✭✴✭✩✮ ❃✭❆✭✭✮ ✫☛✭☞✶✭ 6 cm ❁✭✴✯ ✱✩ ✴✸✵

❁ ✍♦✭✳✶ ❀✭✸❁✲❂ ❁✯❂ ●✰ �✯✸ ❝✭✴✭ ✽✭✼✭ ✾✿❡ ❀✭✸❁✲❂ ✩✳ ✥✆✝✭✂ ❇ ✫✬❆✭✭❇✫✮✼ ✩✳✫✽✱❡

2. ❃✭❆✭✭✮ 11 m × 6 m ❁✭✴✯ ✱✩ ✟✭✬✭❍✭✭✩✭✮ ✰✭✬✳ ✩✳ ☎ ✸✩✳ �✯✸ 5 m ✩✳ ✥✆✝✭✂ ❇ ✼✩ ✰✭✬✳ ❍✭✮✭ ✾✿❡

✶✫♥ ✂✹ ✰✭✬✳ ✩✭✯ 3.5 m ✫☛✭☞✶✭ ❁✭✴✳ ✱✩ ✵✯✴✬✭✩✭✮ ☎✸✩✳ �✯✸ ✓✘✭✭✬✭✸✼✫✮✼ ✩✮ ✫♥✶✭ ✽✭✶✯✁ ✼✭✯

✂✹ ✵✯✴✬✭✩✭✮ ☎✸✩✳ �✯✸ ✰✭✬✳ ❁✯❂ ✓✼✮ ✩✳ ✥✆✝✭✂ ❇ ✥✭✼ ✩✳✫✽✱❡

3. ✴✭✯✾✯ ✩✭ ✱✩ ✻✭ ✲✴✭ ✹✸♥ ✑✩ ✵✬✭✬✯ ❁✯❂ ✫✴✱ ✫✩✼✬✯ ✟✭✬ ✹✸✯☎✳�✳☎✮ ✴✭✯✾✯ ✩✳ ❃✭❁❀✶✩✼✭ ✾✭✯✷✳✁ ✶✫♥

✂✹ ✹✸♥ ✑✩ ✩✳ ✵✭✾✮✳ ✫❁�✭✱✆ 36 cm, 25 cm ❃✭✿✮ 16.5 cm ✾✿✸✁ ✽✵✫✩ ✴✭✯✾✯ ✩✳ �✭✯☎✭✂ ❇ 1.5 cm

✾✿❡ ✶✫♥ 1 ✟✭✬ ✹✯✸☎✳�✳☎✮ ✴✭✯✾✯ ✩✭ ❍✭✭✮ 7.5 g ✾✿✁ ✼✭✯ ✂✹ ✹✸♥ ✑✩ ✩✭ ❍✭✭✮ ❍✭✳ ✥✭✼ ✩✳✫✽✱❡

4. ✫✩✹✳ ✰❂✭✔❅☎ ✯✬ ✰✯✬ ✩✳ ✬✴✳✁ ✽✭✯ ✵✯✴✬ ❁✯❂ ❃✭✩✭✮ ✩✳ ✾✿✁ 7cm ✴✸✵✳ ✾✿ ❃✭✿✮ ✂✹✩✭ ✈✶✭✹

5 mm ✾✿❡ ✂✹ ✰✯✬ ✩✳ ✬✴✳ �✯✸ ✰✑✮✳ ❍✭✮✳ ✓✶✭✾✳ ✹✯ ❃✭✿✹✼✬ 3300 ❀✭�♥ ✫✴✻✭✯ ✽✭ ✹✩✼✯ ✾✿✸❡ ✓✶✭✾✳

✩✳ ✔✹ ✵✭✯✼✴ ✹✯ ✫✩✼✬✯ ❀✭�♥ ✫✴✻✭✯ ✽✭ ✹✩✼✯ ✾✿✸✁ ✫✽✹�✯✸ 1 ✴✳☎✮ ✩✳
1

5
❍✭✭✷ ✓✶✭✾✳ ✾✿♦

5. ✈✶✭✹ 5 mm ❁✭✴✯ ✱✩ ✵✯✴✬✭✩✭✮ ✰✭✂✰ ❁✯❂ �✭❆✶� ✹✯ ✰✭✬✳ 10 m ✰❋✫✼ ✫�✬☎ ✩✳ ♥✮ ✹✯ ✵✾

✮✾✭ ✾✿❡ ❃✭❆✭✭✮ ✈✶✭✹ 40 cm ❃✭✿✮ 24 cm ✷✾✮✯ ✱✩ ❀✭✸❁✲❂ ❁✯❂ ❃✭✩✭✮ ❁✯❂ ✵✼❇✬ ✩✭✯ ✰✭✂✰ ✹✯ ❍✭✮✬✯

❁✯❂ ✫✴✱ ✫✩✼✬✭ ✹�✶ ✴✷✯✷✭♦
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6. ✝✭❁✴✭✯✸ ✩✳ ✱✩ ❝✯✮✳ 9m ✈✶✭✹ ❃✭✿✮ 3.5m ✥✆✝✭✂ ❇ ❁✭✴✯ ✱✩ ❀✭✸❁✲❂ ❁✯❂ ❃✭✩✭✮ ✩✳ ✾✿❡ ✂✬ ✝✭❁✴✭✯✸

✩✭ ❃✭✶✼✬ ✥✭✼ ✩✳✫✽✱❡ ✂✹ ❝✯✮✳ ✩✭✯ ❁✯❂❁✴ ❝✩✬✯ �✭☛✭ ❁✯❂ ✫✴✱ ✫✩✼✬✯ ❁✿❂✬❁✹ ✩✰✕✖✯ ✩✳

❃✭❁❀✶✩✼✭ ✾✭✯✷✳♦

7. ✱✩ ✰✿❂❍☎✮✳ ✰❋✫✼ ✫♥✬ 120000 ✰✯✸✫✹✴ ✵✬✭✼✳ ✾✿❡ ✶✯ ✰✯✸✫✹✴✯✸ ✵✯✴✬ ❁✯❂ ❃✭✩✭✮ ✩✳ ✾✿✸ ✼✘✭✭ ✰❋✠✶✯✩

✩✳ ✴✸✵✭✂ ❇ 25 cm ❃✭✿✮ ❃✭❆✭✭✮ ✩✳ ✰✫✮✫❆✭ 1.5 cm ✾✿❡ 0.05 ✛ ✰❋✫✼ dm2 ✩✳ ♥✮ ✹✯ ✱✩ ✫♥✬

�✯✸ ✫✬✫� ❇✼ ✰✯✸✫✹✴ ❁✯❂ ❁✌ ✰✍✎✞✭✯✸ ✰✮ ✮✸✷ ✩✮❁✭✬✯ ✩✳ ✴✭✷✼ ✫✬❆✭✭❇✫✮✼ ✩✳✫✽✱❡

✽� ✱✩ 14 cm ✈✶✭✹ ❁✭✴✯ ✰✭✂✰ ❁✯❂ �✭❆✶� ✹✯ ✰✭✬✳ 15 km/h ✩✳ ♥✮ ✹✯ ✱✩ ✟✭✬✭❍✭✭✩✭✮ ✼✭✴✭✵

�✯✸ ✽✭ ✮✾✭ ✾✿✁ ✽✭✯ 50m ✴✸✵✭ ❃✭✿✮ 44m ✝✭✿✕✖✭ ✾✿❡ ✫✩✼✬✯ ✹�✶ ✵✭♥✁ ✼✭✴✭✵ �✯✸ ✰✭✬✳ ✩✭ ✓✼✮

21 cm ✥✆✝✭ ✾✭✯ ✽✭✶✯✷✭♦

9. 4.4 m × 2.6 m × 1m ❁✭✴✯ ✴✭✯✾✯ ❁✯❂ ✱✩ ✞✭✯✹ ✟✭✬✭❍✭✭✩✭✮ ☎ ✲✩✕✖✯ ✩✭✯ ✫✰✟✭✴✭✩✮ ✱✩ ✻✭✭✯✻✭✴✯

✵✯✴✬✭✩✭✮ ✰✭✂✰ ❁✯❂ ●✰ �✯✸ ❝✭✴✭ ✽✭✼✭ ✾✿ ✫✽✹✩✳ ❃✭✸✼✫✮✩ ✫☛✭☞✶✭ 30 cm ❃✭✿✮ �✭✯☎✭✂ ❇ 5 cm ✾✿❡

✂✹ ✰✭✂✰ ✩✳ ✴✸✵✭✂ ❇ ✥✭✼ ✩✳✫✽✱❡

10. 80 m ✴✸✵✯ ❃✭✿✮ 50 m ✝✭✿✕✖✯ ✱✩ ✟✭✬✭❍✭✭✩✭✮ ✼✭✴✭✵ �✯✸ 500 ✈✶✫❍✼ ✕✲✵✩✳ ✴✷✭ ✮✾✯ ✾✿✸❡ ✂✹ ✼✭✴✭✵

�✯✸ ✰✭✬✳ ✩✭ ✓✼✮ ✫✩✼✬✭ ✵❝✖ ✽✭✶✯✷✭✁ ✶✫♥ ✱✩ ✈✶✫❍✼ ✱✭✮✭ ❃✭✿✹✼✬ ✰✭✬✳ ✩✭ ✫❁✓✘✭✭✰✬

0.04 m3 ✾✿♦

11. ✫☛✭☞✶✭ 2 cm ❁✭✴✯ 16 ❀✭✳❀✭✯ ❁✯❂ ✷✭✯✴✯ ✱✩ ✟✭✬✭❍✭✭✩✭✮ ✰✯☎✳ �✯✸ ✰✿❁❂ ✫✩✶✯ ✽✭✼✯ ✾✿✸✁ ✫✽✹✩✳ ❃✭✸✼✫✮✩

✫❁�✭✱✆ 16 cm × 8cm × 8cm ✾✿✸❡ ✂✹❁✯❂ ✵✭♥ ✰✯☎✳ �✯✸ ✰✭✬✳ ❍✭✮ ✫♥✶✭ ✽✭✼✭ ✾✿❡ ✰✯☎✳ �✯✸ ❍✭✮✯ ✷✶✯

✰✭✬✳ ✩✭ ❃✭✶✼✬ ✥✭✼ ✩✳✫✽✱❡

12. ✱✩ 16 cm ✥✆✝✭✂ ❇ ❁✭✴✭ ♥ ✑❆✭ ✩✭ ✵✼❇✬ ✱✩ ✙✭✼✲ ✩✳ ✝✭♥✮ ✹✯ ❀✭✸❁✲❂ ❁✯❂ ✱✩ ✫❄❅✬✩ ❁✯❂ ❃✭✩✭✮

✩✭ ✵✬✭ ✾✲❃✭ ✾✿❡ ✂✹❁✯❂ ✫✬✝✴✯ ❃✭✿✮ ✥✰✮✳ ✫✹✮✭✯✸ ✩✳ ✫☛✭☞✶✭✱ ✆ ✌�❀✭✪ 8 cm ❃✭✿✮ 20 cm ✾✿✸❡ ✂✹

✵✼❇✬ �✯✸ ✫✽✼✬✭ ♥ ✑❆✭ ❃✭ ✹✩✼✭ ✾✿✁ ✔✹✩✳ 22 ✛ ✰❋✫✼ ✴✳☎✮ ✩✳ ♥✮ ✹✯ ✴✭✷✼ ✥✭✼ ✩✳✫✽✱❡

13. ✱✩ 32 cm ✥✆✝✭✂ ❇ ❃✭✿✮ 18 cm ❃✭❆✭✭✮ ✫☛✭☞✶✭ ❁✭✴✳ ✵✯✴✬✭✩✭✮ ✵✭✡☎✳ ✮✯✼ ✹✯ ❍✭✮✳ ✾✲✂ ❇ ✾✿❡ ✂✹

✵✭✡☎✳ ✩✭✯ ❍✭ ✑✫� ✰✮ ✻✭✭✴✳ ✩✮ ✫✴✶✭ ✽✭✼✭ ✾✿ ✫✽✹✹✯ ✮✯✼ ✩✳ ❀✭✸❁✲❂ ❁✯❂ ❃✭✩✭✮ ✩✳ ✱✩ ❝✯✯✮✳ ✵✬✭✶✳

✽✭✼✳ ✾✿❡ ✶✫♥ ❀✭✸❁✲❂ ❁✯❂ ❃✭✩✭✮ ✩✳ ✂✹ ❝✯✮✳ ✩✳ ✥✆✝✭✂ ❇ 24 cm ✾✿✁ ✼✭✯ ✂✹ ❝✯✮✳ ✩✳ ✫☛✭☞✶✭ ❃✭✿✮

✫✼✶❇✩ ✥✆✝✭✂ ❇ ✥✭✼ ✩✳✫✽✱❡

14. ✱✩ ✮✭ ✱❁✯❂☎ ✩✭ ❃✭✩✭✮ ✱✩ ✴✸✵✭ ❁ ✍♦✭✳✶ ✵✯✴✬ ❁✯❂ ●✰ ✩✭ ✾✿ ✫✽✹✩✭ ✫✬✝✴✭ ✫✹✮✭ ✵✸♥ ✾✿❡ ✂✹❁✯❂

✥✰✮ ✵✯✴✬ ✩✳ ❃✭❆✭✭✮ ✫☛✭☞✶✭ ❁✯❂ ✵✮✭✵✮ ❃✭❆✭✭✮ ✫☛✭☞✶✭ ❁✭✴✭ ✩✭ ✱✩ ❀✭✸❁✲❂ ✮✻✭✭ ✾✲❃✭ ✾✿❡ ✵✯✴✬

❁✯❂ ✈✶✭✹ ❃✭✿✮ ✥✆✝✭✂ ❇ ✌�❀✭✪ 6 cm ❃✭✿✮ 12 cm ✾✿✸❡ ✶✫♥ ❀✭✸❍❁✭✩✭✮ ❍✭✭✷ ✩✳ ✫✼✶❇✩ ✥✆✝✭✂ ❇

5 cm ✾✿✁ ✼✭✯ ✮✭ ✱❁✯❂☎ ✩✭ ❁✲❂✴ ✰✍✎✞✳✶ ✏✭✯☛✭✰❂✴ ❃✭✿✮ ❃✭✶✼✬ ✥✭✼ ✩✳✫✽✱ ❈✗ = 3.14

✩✭ ✰❋✶✭✯✷ ✩✳✫✽✱❊❡
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15. ✱✩ ❍✭❁✬ ✱✩ ✵✯✴✬ ❁✯❂ ❃✭✩✭✮ ✩✭ ✾✿ ✫✽✹❁✯❂ ✥✰✮ ✱✩ ❃❆✭❇✷✭✯✴✭✩✭✮ ✷✲✸✵✽ ✴✷✭ ✾✲❃✭ ✾✿ ✼✘✭✭

✂✹�✯✸ 
19

41
21

 m3 ❁✭✶✲ ✾✿❡ ✶✫♥ ✂✹ ✷✲✸✵✽ ✩✭ ❃✭✸✸✼✫✮✩ ✈✶✭✹ ✔✹❁✯❂ ✰❂❀✭❇ ✹✯ ✹✸✰✑✒✭❇ ✥✆✝✭✂ ❇ ❁✯❂ ✵✮✭✵✮

✾✿✁ ✼✭✯ ✂✹ ❍✭❁✬ ✩✳ ✥✆✝✭✂ ❇ ✥✭✼ ✩✳✫✽✱❡

16. ❃✭✸✼✫✮✩ ✫☛✭☞✶✭ 9 cm ❁✭✴✭ ✱✩ ❃❆✭❇✷✭✯✴✭✩✭✮ ✩☎✭✯✮✭ ✫✩✹✳ ♥❋❁ ✹✯ ❍✭✮✭ ✾✲❃✭ ✾✿❡ ✂✹ ♥❋❁ ✩✭✯

✵✯✴✬✭✩✭✮ ✵✭✯✼✴✭✯✸ �✯✸ ❍✭✮✭ ✽✭✼✭ ✾✿✁ ✫✽✬�✯✸ ✹✯ ✰❋✠✶✯✩ ✩✳ ✫☛✭☞✶✭ 1.5 cm ❃✭✿✮ ✥✆✝✭✂ ❇ 4 cm ✾✿❡

✂✹ ✩☎✭✯✮✯ ✩✭✯ ✻✭✭✴✳ ✩✮✬✯ ❁✯❂ ✫✴✱ ✫✩✼✬✳ ✵✭✯✼✴✭✯✸ ✩✳ ❃✭❁❀✶✩✼✭ ✾✿♦

17. ✥✆✝✭✂ ❇ 120 cm ❃✭✿✮ ✫☛✭☞✶✭ 60 cm ❁✭✴✭ ✱✩ ✞✭✯✹ ✴✸✵ ❁ ✍♦✭✳✶ ❀✭✸❁✲❂ 180 cm ✥✆✝✭✂ ❇ ❁✭✴✯ ✰✭✬✳

✹✯ ✰✑✮✯ ❍✭✮✯ ✱✩ ✴✸✵ ❁ ✍♦✭✳✶ ✵✯✴✬ �✯✸ ✂✹ ✰❋✩✭✮ ✮✻✭✭ ✽✭✼✭ ✾✿ ✫✩ ✶✾ ✔✹✩✳ ✼✴✳ ✩✭✯ ✓✰❀✭❇ ✩✮✯✸❡

✵✯✴✬ �✯✸ ✵✝ ✯ ✾✲✱ ✰✭✬✳ ✩✭ ❃✭✶✼✬ ✥✭✼ ✩✳✫✽✱✁ ✶✫♥ ✵✯✴✬ ✩✳ ✫☛✭☞✶✭ ❀✭✸❁✲❂ ✩✳ ✫☛✭☞✶✭ ❁✯❂ ✵✮✭✵✮

✾✿❡

18. ❃✭✸✼✫✮✩ ✫☛✭☞✶✭ 1 cm ❁✭✴✯ ✱✩ ✵✯✴✬✭✩✭✮ ✰✭✂✰ ❁✯❂ �✭❆✶� ✹✯ ✰✭✬✳ 80 cm/sec ✩✳ ✝✭✴ ✹✯

✱✩ ✻✭✭✴✳ ✵✯✴✬✭✩✭✮ ☎✸✩✳ �✯✸ ✽✭ ✮✾✭ ✾✿✁ ✫✽✹✩✳ ❃✭❆✭✭✮ ✫☛✭☞✶✭ 40 cm ✾✿❡ ❃✭❆✭✯ ✟✭✸☎ ✯ ❁✯❂ ✵✭♥

☎ ✸✩✳ �✯✸ ✰✭✬✳ ✩✭ ✓✼✮ ✫✩✼✬✭ ✵❝✖ ✽✭✶✯✷✭♦

19. ✫❁�✭❃✭✯✸  22m × 20m ❁✭✴✳ ✱✩ ❄✼ ✹✯ ✈✭✎✭✭❇ ✩✭ ✰✭✬✳ ✱✩ ✵✯✴✬✭✩✭✮ ✵✼❇✬ �✯✸ ✽✭ ✮✾✭ ✾✿✁ ✫✽✹✩✭

❃✭❆✭✭✮ ✈✶✭✹ 2m ❃✭✿✮ ✥✆✝✭✂ ❇ 3.5m ✾✿❡ ✶✫♥ ❄✼ ✰✮ ✱✩✫☛✭✼ ❁✎✭✭❇ ❁✯❂ ✰✭✬✳ ✹✯ ✵✯✴✬✭✩✭✮ ✵✼❇✬

✞✳✩ ✰✑✮✭ ❍✭✮ ✽✭✼✭ ✾✿✁ ✼✭✯ cm �✯✸ ❁✎✭✭❇ ✥✭✼ ✩✳✫✽✱❡

20. ✱✩ ✰✯✬ ✓☎ ✿✸✕ ✱✩ ✟✭✬✭❍✭ ❁✯❂ ❃✭✩✭✮ ✩✭ ✾✿ ✼✘✭✭ ✴✩✕✖✳ ✩✭ ✵✬✭ ✾✲❃✭ ✾✿✁ ✫✽✹�✯✸ ✝✭✮ ❀✭✸❁✲❂ ❁✯❂

❃✭✩✭✮ ❁✯❂ ✷✕✈
❝✯ ✾✿✸ ❃✭✿✮ ✱✩ ✟✭✬✭✩✭✮ ✷✕✈

❝✭ ✾✿✁ ✫✽✬�✯✸ ✌�❀✭✪ ✰✯✬ ❃✭✿✮ ✫✰✬ ✮✻✭✯ ✽✭ ✹✩✼✯ ✾✿✸❡

✟✭✬✭❍✭ ✩✳ ✫❁�✭✱ ✆ 10 cm, 5 cm ❃✭✿✮ 4 cm ✩✳ ✾✿✸❡ ❀✭✸❁✲❂ ❁✯❂ ❃✭✩✭✮ ❁✯❂ ✰❋✠✶✯✩ ✷✕✈
❝✯ ✩✳ ✫☛✭☞✶✭

0.5 cm ✾✿ ❃✭✿✮ ✷✾✮✭✂ ❇ 2.1 cm ✾✿❡ ✟✭✬✭✩✭✮ ✷✕✈
❝✯ ✩✭ ✫✩✬✭✮✭ 3 cm ✾✿❡ ✹✸✰✑✒✭❇ ✓☎ ✿✸✕ �✯✸ ✰❋✶✲❍✼

✴✩✕✖✳ ✩✭ ❃✭✶✼✬ ✥✭✼ ✩✳✫✽✱❡
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(iv) ✟✠ ✡☛☞✌✍ ✡☛✡✎✏

❡✑✒✓ ( x ) = 
i i

i

f u
a h

f

� �
+ � �

� �

�
� , t✔✑✕ a ✥✖✗✘✙ ❡✑✒✓ ✔✚✛ h ✜✢✣ ❡✑✘ ✔✚ ✙✤✑✑

–
i

i

x a
u

h
= ✔✚✦

(v) ✓✖❀ ✜✢✣ ❡✑✘ ✧★✑✩✪✑✫ ✬★❡✑✭ ✔✑✮✯✛ ✙✰ ✱✑✲ (iv) ❡✮✯ ✖❀✓✑ ★✳✴✑ ✘✵✓✑✮✢ ✖✥✓✑ t✑ ★✥✙✑

✔✚✦ ✩★✜✮❣ ✖✶✷✛ h ✥✑✮ ★✱✑✲ d
i
✥✑ ✷✥ ✸✘✓✹✺✙ ✖✜✱✑✑t✥ ✶✮✭✑ ✔✑✮✢✑✦

(b) ☛✠♦✻✼✽ ✾✏✿❁❂❃✏❄❅ ❁✏ ❆❇❈✌❁

(i) ✷✥ ✜✢✲✣❉✙ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ❡✮✯✛ ✰✑❊✯✰✑❊✙✑✬✑✮✯ ✥✑✮ ✜✮❣✜✶ ❀✮●✑✥❊ ✰✔✹✶✥ ✥✑✮ ✖✭✒✑✑ ✣✖❊✙

✥❊✭✑ ★✯✱✑✜ ✭✔✲✯ ✔✑✮✙✑✦ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ✰✔✹✶✥ ■✑✙ ✥❊✭✮ ✜✮❣ ✖✶✷✛ ✬✖✒✑✥✙❡
✰✑❊✯✰✑❊✙✑ ✜✑✶✑ ✜✢✣ ■✑✙ ✥✲✖t✷✦ ✓✔ ✜✢✣ ❝❏❑▲▼ ◆❖P ✥✔✶✑✙✑ ✔✚✦ ✬✑ ✕✥❞❍✑✮ ✯ ✥✑ ✰✔✹✶✥

✷✥ ✷✮★✑ ❡✑✭ ✔✚ t✑✮ ✩★ ✰✔✹✶✥ ✜✢✣ ❡✮✯ ✔✚✦

(ii) ✖✭❢✭✖✶✖●✑✙ ★✳✴✑ ✥✑ ✘✵✓✑✮✢ ✥❊✙✮ ✔✹✷✛ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ✰✔✹✶✥ ✘✖❊✥✖✶✙ ✖✥✓✑ t✑

★✥✙✑ ✔✚❧

✰✔✹✶✥ = 
1 0

1 0 22

f f
l h

f f f

� �−
+ ×� �− −� � ,

t✔✑✕ l  ✰✔✹✶✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑ ✔✚✛ h ✜✢✣ ★✑✩t ✧✓✑ ❡✑✘✫ ✔✚✛ f
1
✰✔✹✶✥ ✜✢✣ ✥✲

✰✑❊✯✰✑❊✙✑ ✔✚ ✙✤✑✑ f
0
✬✑✚❊ f

2
◗❡❘✑❧ ✰✔✹✶✥ ✜✢✣ ★✮ ✘✔✶✮ ✬✑✚❊ ✰✑❀ ✜✑✶✮ ✜✢✑❙✮ ✥✲

✰✑❊✯✰✑❊✙✑✷✕ ✔✚✯✦

(c) ☛✠♦✻✼✽ ✾✏✿❁❂❃✏❄❅ ❁✏ ❚✏✎❯❁

(i) ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ★✑❊❲✑✲ ❳ ✜✢✲✣❉✙ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✲ ❨★✮ ✥❡ ✘✵✥✑❊ ✥✲❩ ✬✑✚❊

❨★✮ ✬✖✒✑✥ ✘✵✥✑❊ ✥✲❩

(ii) ✓✖❀ ✘✵✮❬✑❲✑✑✮✯ ✥✲ ✜✹❣✶ ★✯●✓✑ n ✔✚✛ ✙✑✮ ✸★ ✜✢✣ ✥✑✮ ■✑✙ ✥✲✖t✷ ✖t★✥✲ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑

2

n
 ★✮ ✰❞❍✲ ✧✬✑✚❊ ✸★✜✮❣ ✖✭✥❋✙❡✫ ✔✚✦ ✓✔ ✜✢✣ ❭❪❫❴▼ ◆❖P ✥✔✶✑✙✑ ✔✚✦

(iii) ✖✭❢✭✖✶✖●✑✙ ★✳✴✑ ✥✑ ✘✵✓✑✮✢ ✥❊✙✮ ✔✹✷ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓✥ ✘✖❊✥✖✶✙ ✖✥✓✑ t✑

★✥✙✑ ✔✚ ❧

❡✑✒✓✥ = 

cf
2

n

l h
f

� �−� �
+ � �
� �
� �

,
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t✔✑✕ l ❡✑✒✓✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑✛ n ✘✵✮❬✑❲✑✑✮✯ ✥✲ ★✯●✓✑✛ h ✜✢✣ ★✑✩t✛ cf ❡✑✒✓✥ ✜✢✣

★✮ ✟✲✥ ✘✔✶✮ ✜✑✶✮ ✜✢✣ ✥✲ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✔✚ ✙✤✑✑ f  ❡✑✒✓✥ ✜✢✣ ✥✲

✰✑❊✯✰✑❊✙✑ ✔✚✦

(d) ✠ ❅☞❯♦ ❆✏✡❅❆✏✡✽✏ ❆❅☛✍ ❁✏ ✾✏✌❄☞✏♦❯ ✡✍✌✟✍✏ ✎✽✏❄✡✍✏✏ – ✠ ❄ ❁❚ ✟ ✑❁✏✡ ✾✏ ✒✡ ✠ ❄ ✾✡✎✏❁

✟✑❁✏✡

(i) ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✧★✮ ✥❡ ✘✵✥✑❊✫ ✜✮❣ ✬✑✶✮●✑ ★✮ ❡✑✒✓✥ ■✑✙ ✥❊✭✑✦

(ii) ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭✑✮✯ ✧★✮ ✥❡ ✘✵✥✑❊ ✬✑✚❊ ★✮ ✬✖✒✑✥ ✘✵✥✑❊✫ ✜✮❣ ✬✑✶✮●✑✑✮✯ ★✮✛ ✩✭ ✬✑✶✮●✑✑✮✯

✜✮❣ ✘✵✖✙♦✓✮❀ ✔✰❀✹ ✜✮❣ ✱✑✹t ✜✮❣ ✕✘ ❡✮✯ ❡✑✒✓✥ ■✑✙ ✥❊✭✑✦

✟ ✑✏✡❯❁✽✏

• ✓✑❀ ❀✖♦✓✥ ✘✵✓✑✮✢✛ ✖✥★✲ ✘✵✓✑✮✢ ✜✮❣ ✘✖❊❲✑✑❡✛ ✖✑❋✭✑✷✕✛ ✘✵✑❊✯✖✱✑✥ ✖✑❋✭✑✷✕✦

• ★❡✘✵✑✖✓✥ ✘✖❊❲✑✑❡

• ✖✥★✲ ✖✑❋✭✑ E ✥✲ ★✚❞✑✯✖✙✥ ✧✓✑ ✖❱❊✘✵✖✙✖✗✟✙✫ ✘✵✑✖✓✥✙✑ ✘P(E) ⑥✑❊✑ ✙✓✺✙ ✓✑

✖✭✕✖✘✙❢ ✖✭❢✭✖✶✖●✑✙ ★✮ ✘✵✑✚✙ ✔✑✮✙✲ ✔✚❧

P(E) = 
E ✛◗s ✈✉q✛◗✇ ② ✐✜❥✳❦❦❡❦❛ s ✢❤ ✣❬❛ ✤❦

✐③✤❦①s ✛◗s ✣❍❦❤ ✐✜❥✳❦❦❡❦❛ s ✢❤ ✣❬❛ ✤❦
 ,

t✔✑✕ ✘✵✓✑✮✢ ✜✮❣ ✘✖❊❲✑✑❡ ✥❭✦✧❪★❴▼ ✔✚✯✦

• ✖✥★✲ ✖✑❋✭✑ ✥✲ ✘✵✑✖✓✥✙✑ ✩ ✬✑✚❊ ✪ ✜✮❣ ✰✲❱ ❡✮✯ ✥✑✮✩✣ ✱✑✲ ★✯●✓✑ ✔✑✮ ★✥✙✲ ✔✚✦ ✜✹❣✓ ✖✜❘✑✮✗✑
✖✫✤✑✖✙✓✑✮✯ ❡✮✯ ✓✔ 0 ✓✑ 1 ✱✑✲ ✔✑✮ ★✥✙✲ ✔✚✦

• ✖✥★✲ ✘✵✓✑✮✢ ✥✲ ★✱✑✲ ✘✵✑❊✯✖✱✑✥ ✖✑❋✭✑✬✑✮ ✯ ✥✲ ✰✑❊✯✰✑❊✙✑✬✑✮✯ ✥✑ ✓✑✮✢ 1 ✔✑✮✙✑ ✔✚✦

• ✖✥★✲ ✖✑❋✭✑ E  ✜✮❣ ✖✶✷ , P(E) + P( E ) = 1 ✔✑✮✙✑ ✔✚,

t✔✑✕ E  ✥✑ ✬✤✑✣ ‘E ✭✔✲✯❩ ✔✚✦ E ✛ ✖✑❋✭✑ E ✥✑ ✘✳❊✥ ✥✔✶✑✙✲ ✔✚✦

• ✬★✯✱✑✜ ✖✑❋✭✑✛ ✖✭✖❘❱✙ ✖✑❋✭✑

(B) ❝✬✭ ✮✯✰✱✲✴✵ ✲✶✷✸

★✹❴ ✺ ❏❑✻ ✼❪✽ ★◆▼✾✦❪ ✺✿ ❭ ✺✿ ✥✺ ✥❏❁ ❂❃❪✽ ✼ ❑★❄✻ ❧

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 1 : ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ★✑❊❲✑✲ ✥✲ ❊❱✭✑ ✥❊✭✑ ✖✭❢✭✖✶✖●✑✙ ❡✮✯ ✸✘✓✑✮✢✲ ✔✑✮✙✑ ✔✚

(A) ❡✑✒✓ (B) ❡✑✒✓✥

(C) ✰✔✹✶✥  (D) ✸✘❊✑✮✺✙ ★✱✑✲ ✙✲✭✑✮✯ ❡✑✘✥

❇✌  : ✸♠✑❊ (B)
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✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 2 ✥ ✩★ ★✑❊❲✑✲ ✥✑✮ ❀✮✖●✑✷ ❧

❚✏✡✠❁ ✾✏❯ ✟✡✡✠✡ ✟✡✡☛✏✡✏❄❅ ❁♦ ✠ ❅☞❯✏

10000 � ★✮ ✬✖✒✑✥ 100

13000 � ★✮ ✬✖✒✑✥ 85

16000 � ★✮ ✬✖✒✑✥ 69

19000 � ★✮ ✬✖✒✑✥ 50

22000 � ★✮ ✬✖✒✑✥ 33

25000 � ★✮ ✬✖✒✑✥ 15

     ✸✘❊✑✮✺✙ ★✑❊❲✑✲ ❡✮✯✛ ✬✑✓ ✘✖❊★❊ ✧� ❡✮✯✫ 16000 – 19000 ✜✮❣ ✘✖❊✜✑❊✑✮✯ ✥✲ ★✯●✓✑ ✔✚

(A) 15 (B) 16 (C) 17 (D) 19

❇✌ ✥ ✸♠✑❊ (D)

✟ ✑✡✽❅❆✏✻ ✟✑❆✍ 3 ✥ ✖✥★✲ ✥❬✑✑ ✜✮❣ 60 ✖✜✁✑✖✤✑✣✓✑✮✯ ✥✲ ✂✕❱✑✩✓✑✮ ✯ ✜✮❣ ✖✭❢✭✖✶✖●✑✙ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✘❊

✖✜❱✑❊ ✥✲✖t✷❧

➴✿☞✏✄✻ ✎cm ❚❄❅✏ ✡☛❢✏✡☎✏✻❯✏❄❅ ❁♦ ✠ ❅☞❯✏

150-155 15

155-160 13

160-165 10

165-170 8

170-175 9

175-180 5

✰✔✹✶✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑ ✬✑✚❊ ❡✑✒✓✥ ✜✢✣ ✥✲ ✸✘✖❊ ★✲❡✑ ✥✑ ✓✑✮✢ ✔✚

(A) 310 (B) 315 (C) 320 (D) 330

❇✌ ✥ ✸♠✑❊ (B)

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 4 ✥ ✖✭❢✭✖✶✖●✑✙ ❡✮✯ ★✮ ✥✑✚✭ ✖✥★✲ ✖✑❋✭✑ ✥✲ ✘✵✑✖✓✥✙✑ ✔✑✮ ★✥✙✲ ✔✚✆

(A) – 0.04 (B) 1.004 (C)
18

23
(D)

8

7

❇✌ ✥ ✸♠✑❊ (C)
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✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 5 ✥ ✬♦✓✲ ✘✵✥✑❊ ★✮ ✘✮❣❋✲ ✢✓✲ 52 ✙✑❘✑✑✮✯ ✥✲ ✷✥ ✢❞ ✥❞✲ ❡✮✯ ★✮ ✓✑❀❀✖♦✓✥ ✧✓✑ ✓❀❀♦✓✫
✕✘ ★✮ ✷✥ ✙✑❘✑ ✧✓✑ ✥✑❞✣ ✓✑ ✘♠✑✑✫ ❱✹✭✑ t✑✙✑ ✔✚✦ ✩★ ✥✑❞✣ ✜✮❣ ❡✹●✑ ✥✑❞✣ ✧✙✫✜✲❊ ✜✑✶✑ ✥✑❞✣✫
(face card) ✔✑✮✭✮ ✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚✆

(A)
3

13
(B)

4

13
(C)

6

13
(D)

9

13

❇✌ ✥ ✸♠✑❊ ✧A✫

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 6 ✥ ✷✥ ✤✑✚✶✮ ❡✮✯ 3 ✶✑✶ ✢✮✯❀✛ 5 ★✘✮❣❀ ✢✮✯❀ ✬✑✚❊ 7 ✥✑✶✲ ✢✮✯❀ ✔✚✯✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑

✔✚ ✖✥ ✩★ ✤✑✚✶✮ ❡✮✯ ✓✑❀ ❀✖♦✓✥ ✕✘ ★✮ ✖✭✥✑✶✲ ✢✓✲ ✷✥ ✢✮✯✯❀ ✭ ✙✑✮ ✶✑✶ ✔✑✮✢✲ ✬✑ ✚❊ ✭ ✔✲ ✥✑✶✲✆

(A)
1

5
(B)

1

3
(C)

7

15
(D)

8

15

❇✌ ✥ ✸♠✑❊ ✧B✫

✲✶✷✸✐✯�✴ 13.1

★✹❴ ✺ ❏❑✻ ✼❪✽ ★◆▼✾✦❪ ✺✿ ❭ ✺✿ ✥✺ ✥❏❁ ❂❃❪✽ ✼ ❑★❄✻ ❧

1. ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓ ■✑✙ ✥❊✭✮ ✜✮❣ ✖✶✷✛ ★✳✴✑

x  = 
i i

i

f d
a

f
+ �
�  ❡✮✯ d

i
  ✖✭❢✭✖✶✖●✑✙ ✜✮❣ a ★✮ ✖✜❱✶✭ ✔✚ ❧

(A) ✜✢✑❙✮ ✥✲ ✖✭❢✭ ★✲❡✑✷✕ (B) ✜✢✑❙✮ ✥✲ ✸✘✖❊ ★✲❡✑✷✕

(C) ✜✢✑❙✮ ✜✮❣ ❡✒✓ ❳ ✖✰✯❀✹ (D) ✜✢✣ ✖❱♦✑✮ ✯ ✥✲ ✰✑❊✯✰✑❊✙✑✷✕

2. ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓ ✬✖✱✑✥✖✶✙ ✥❊✙✮ ★❡✓✛ ✔❡ ✓✔ ✥✗✘✭✑ ✥❊✙✮ ✔✚✯ ✖✥ ✰✑❊✯✰✑❊✙✑✷✕

(A) ★✱✑✲ ✜✢✑❙✮ ❡✮✯ ★❡✑✭ ✕✘ ★✮ ✖✜✙✖❊✙ ✔✚✯

(B) ✜✢✑❙✮ ✜✮❣ ✜✢✣ ✖❱♦✑✮✯ ✘❊ ✜✮✯❣✖❀✵✙ ✔✚✯

(C) ✜✢✑❙✮ ✜❣✲ ✸✘✖❊ ★✲❡✑✬✑✮✯ ✘❊ ✜✮✯❣✖❀✵✙ ✔✚✯

(D) ✜✢✑❙✮ ✥✲ ✖✭❢✭ ★✲❡✑✬✑✮✯ ✘❊ ✜✮✯❣✖❀✵✙ ✔✚✯

3. ✓✖❀ x
i
 ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✜✢✣ ✬✯✙❊✑✶✑✮✯ ✜✮❣ ❡✒✓❳✔✰❀✹ ✔✯✚✛ f

i
 ✩✭✥✲ ★✯✢✙ ✰✑❊✯✰✑❊✙✑✷✕ ✔✚✯ ✙✤✑✑ x

❡✑✒✓ ✔✚✛ ✙✑✮ ( )i if x x−�  ✰❊✑✰❊ ✔✚

(A)  0 (B)  –1 (C)  1 (D)  2
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4. ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓ ■✑✙ ✥❊✭✮ ✜✮❣ ✖✶✷✛ ★✳✴✑   +  
i i

i

f u
x a h

f

� �
= � �

� �

�
�

❡✮✯✛ u
i
 =

(A)   
ix a

h

+
(B)   h (x

i
 – a) (C)

–ix a

h
(D)

– ia x

h

5. ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✲ ❨★✮ ✥❡ ✘✵✥✑❊❩ ✬✑✚❊ ❨★✮ ✬✖✒✑✥ ✘✵✥✑❊❩ ✥✲ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✜◗✑✮✯ ✜✮❣

✘✵✖✙♦✓✮❀ ✔✰❀✹ ✜✮❣ ✱✑✹t ★✮ ✬✑✯✥❞❍✑✮✯ ✥✑ ✘✵✑✚✙ ✔✑✮✭✑ ✔✚❧

(A) ❡✑✒✓ (B) ❡✑✒✓✥ (C) ✰✔✹✶✥ (D) ✸✘❊✑✮✺✙ ★✱✑✲ ✙✲✭✑✮✯

6. ✰✯❋✭

☛✠✻ 0-5 5-10 10-15 15-20 20-25

❆✏✡ ❅❆✏✡✽✏ 10 15 12 20 9

✜✮❣ ✖✶✷✛ ❡✑✒✓✥ ✜✢✣ ✬✑✚❊ ✰✔✹✶✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑✬✑✮✯ ✥✑ ✓✑✮✢ ✔✚

(A) 15 (B) 25 (C) 30 (D) 35

7. ✰✯❋✭

☛✠✻ 0-5 6-11 12-17 18-23 24-29

❆✏✡ ❅❆✏✡✽✏ 13 10 15 8 11

❡✮✯✛ ❡✑✒✓✥ ✜✢✣ ✥✲ ✸✘✖❊ ★✲❡✑ ✔✚

(A) 17 (B) 17.5 (C) 18 (D) 18.5

8. ✰✯❋✭

✟ ✑✏✐✽✏❅❁ ✡☛❢✏✡☎✏✻❯✏❄❅ ❁♦ ✠ ❅☞❯✏

10 ★✮ ✥❡ 3

20 ★✮ ✥❡ 12

30 ★✮ ✥❡ 27

40 ★✮ ✥❡ 57

50 ★✮ ✥❡ 75

60 ★✮ ✥❡ 80

✜✮❣ ✖✶✷✛ ✰✔✹✶✥ ✜✢✣ ✔✚

(A) 10-20 (B) 20-30 (C) 30-40 (D) 50-60
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9. ✰✯❋✭

☛✠✻ 65-85 85-105 105-125 125-145 145-165 165-185 185-205

❆✏✡ ❅❆✏✡✽✏ 4 5 13 20 14 7 4

✜✮❣ ✖✶✷✛ ❡✑✒✓✥ ✜✢✣ ✥✲ ✸✘✖❊ ★✲❡✑ ✬✑✚❊ ✰✔✹✶✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑ ✥✑ ✬✯✙❊ ✔✚

(A) 0 (B) 19 (C) 20 (D) 38

10. 150 ✒✑✑✜✥✑✮✯ ⑥✑❊✑ 110 m ✥✲ ✰✑❞✑ ❀✑✚❞❍ ❡✮✯ ✖✶✷ ✢✓✮ ★❡✓ ✧★✮✜✯❣❞ ❡✮✯✫✛ ✭✲❱✮ ★✑❊❲✑✲✰❞ ✖✥✷

✢✷ ✔✚✯❧

☛✠✻ ✎✠❚❯✏ 13.8-14 14-14.2 14.2-14.4 14.4-14.6 14.6-14.8 14.8-15

❆✏✡ ❅❆✏✡✽✏ 2 4 5 71 48 20

14.6 ★✮✜✯❣❞ ★✮ ✥❡ ❡✮✯ ❀✑✚❞❍ ★❡✑✚✙ ✥❊✭✮ ✜✑✶✮ ✒✑✑✜✥✑✮✯ ✥✲ ★✯●✓✑ ✔✚

(A) 11 (B) 71 (C) 82 (D) 130

11. ✰✯❋✭

✟ ✑✏✐✽✏❅❁ ✡☛❢✏✡☎✏✻❯✏❄ ❅ ❁♦ ✠ ❅☞❯✏

0 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 63

10 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 58

20 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 55

30 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 51

40 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 48

50 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 42

✜✮❣ ✖✶✷✛ ✜✢✣ 30–40 ✥✲ ✰✑❊✯✰✑❊✙✑ ✔✚

(A) 3 (B) 4 (C) 48 (D) 51

12. ✓✖❀ ✥✑✮✩✣ ✖✑❋✭✑ ✖✑✖❋✙ ✭✔✲✯ ✔✑✮ ★✥✙✲ ✔✚✛ ✙✑✮ ✸★✥✲ ✘✵✑✖✓✥✙✑ ✔✚

(A) 1 (B)
3

4
(C)

1

2
(D) 0

13. ✖✭❢✭✖✶✖●✑✙ ❡✮✯ ★✮ ✥✑ ✚✭ ✖✥★✲ ✖✑❋✭✑ ✥✲ ✘✵✑✖✓✥✙✑ ✭✔✲✯ ✔✑✮ ★✥✙✲✆

(A)
1

3
(B) 0.1 (C) 3% (D)

17

16
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14. ✖✥★✲ ✖✑❋✭✑ ✥✑ ✖✑✖❋✙ ✔✑✮✭✑ ✰✔✹✙ ✥❡ ★✯✱✑✑✖✜✙ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ✖✭❢✭✖✶✖●✑✙ ✜✮❣ ✖✭✥❋✙❡ ✔✚❧

(A) 0.0001 (B) 0.001 (C) 0.01 (D) 0.1

15. ✓✖❀ ✖✥★✲ ✖✑❋✭✑ ✥✲ ✘✵✑✖✓✥✙✑ p ✔✚✛ ✙✑✮ ✩★✥✲ ✘✳❊✥ ✖✑❋✭✑ ✥✲ ✘✵✑✖✓✥✙✑ ✔✚

(A) p – 1 (B) p (C) 1 – p (D)
1

1  
p

−

16. ✖✥★✲ ✖✜❘✑✮✗✑ ✖✑❋✭✑ ✜✮❣ ✖✑✖❋✙ ✔✑✮✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ✘✵✖✙❘✑✙ ✜✮❣ ✕✘ ❡✮✯ ✙✓✺✙ ✥❊✭✮ ✘❊✛ ✖✭❢✭✖✶✖●✑✙

✥✱✑✲ ✭✔✲✯ ✔✑✮ ★✥✙✲

(A) 100 ★✮ ✥❡ (B) 0 ★✮ ✥❡

(C) 1 ★✮ ✬✖❞✥ (D) ✷✥ ✘✳❲✑✣ ★✯●✓✑ ✜✮❣ ✬✖✙✖❊✺✙ ★✱✑✲ ✜✹❣✓

17. ✓✖❀ P(A), ✖✑❋✭✑ A ✥✲ ✘✵✑✖✓✥✙✑ ✙✓✺✙ ✥❊✙✑ ✔✚✛ ✙✑✮

(A) P(A) < 0 (B) P(A) > 1 (C) 0 ≤ P(A) ≤ 1 (D) –1 ≤ P(A) ≤ 1

18. 52 ✙✑❘✑✑✮✯ ✥✲ ✷✥ ✢❞ ✥❞✲ ❡✮✯ ★✮ ✷✥ ✙✑❘✑ ✖✭✥✑✶✑ t✑✙✑ ✔✚✦ ✩★✜✮❣ ✶✑✶ ❊✯✢ ✥✑ ❡✹●✑ ✥✑❞✣ ✔✑✮✭✮

✥✲ ✘✵✑✖✓✥✙✑ ✔✚

(A)
3

26
(B)

3

13
(C)

2

13
(D)

1

2

19. ✩★✥✲ ✘✵✑✖✓✥✙✑ ✖✥ ✓✑❀❀✖♦✓✥ ✕✘ ★✮ ❱✹✭✮ ✢✷ ✷✥ ✷✮★✮ ✜✗✑✣ ❡✮✯✛ t✑✮ ✬✖✒✑✜✗✑ ✣ (leap year) ✭

✔✑✮ 53 ❊✖✜✜✑❊ ✔✑✮✯✛ ✖✭❢✭✖✶✖●✑✙ ✔✚ ❧

(A)
1

7
(B)

2

7
(C)

3

7
(D)

5

7

20. t✰ ✷✥ ✘✑★✮ ✥✑✮ ✘✮ ✯❣✥✑ t✑✙✑ ✔✚✛ ✙✑✮ 3 ★✮ ✓✑✮❋✲ ✷✥ ✖✜✗✑❡ ★✯●✓✑ ✬✑✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ✔✚

(A)
1

6
(B)

1

3
(C)

1

2
(D) 0

21. 52 ✙✑❘✑✑✮✯ ✥✲ ✷✥ ✢❞ ✥❞✲ ❡✮✯ ★✮ ✷✥ ✥✑❞✣ ✖✭✥✑✶✑ t✑✙✑ ✔✚✦ ✥✑❞✣ ✥✑ ✩❙❋ ✥✑ ✩✺✥✑ ✭ ✔✑✮✭✑ ✖✑❋✭✑

E ✔✚✦ E ✜✮❣ ✬✭✹✜✳❣✶ ✘✖❊❲✑✑❡✑✮✯ ✥✲ ★✯●✓✑ ✔✚

(A) 4 (B) 13 (C) 48 (D) 51

22. 400 ✬✯❞✑✮ ✯ ✜✮❣ ✷✥ ★✯✢✵✔ ❡✮✯ ★✮ ✷✥ ●✑❊✑✰ ✬✯❞✑ ✘✵✑✚✙ ✥❊✭✮ ✥✲ ✘✵✑✖✓✥✙✑ 0.035 ✔✚✦ ✩★ ★✯✢✵✔

❡✮✯ ●✑❊✑✰ ✬✯❞✑✮✯ ✥✲ ★✯●✓✑ ✔✚

(A) 7 (B) 14 (C) 21 (D) 28
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23. ✥✑✮✩✣ ✶❞❍✥✲ ✓✔ ✘✖❊✥✖✶✙ ✥❊✙✲ ✔✚ ✖✥ ✸★✜✮❣ ⑥✑❊✑ ✷✥ ✶✑ ❞❋❊✲ ❡✮✯ ✘✵✤✑❡ ✘✹❊✫✥✑❊ t✲✙✭✮ ✥✲

✘✵✑✖✓✥✙✑ 0.08 ✔✚✦ ✓✖❀ 6000 ✖❋✥❋ ✰✮❱✮ ✢✓✮ ✔✚✯✛ ✙✑✮ ✸★ ✶❞❍✥✲ ✭✮ ✖✥✙✭✮ ✖❋✥❋ ●✑❊✲❀✮ ✔✚✯✆

(A) 40 (B) 240 (C) 480 (D) 750

24. ✖✥★✲ ✤✑✚✶✮ ❡✮✯ ✜✹❣✓ ✖❋✥❋ ✔✚✯✛ ✖t✭ ✘❊ 1 ★✮ 40 ✙✥ ★✯●✓✑✷✕ ✬✯✖✥✙ ✔✚✯✦ ✩★❡✮✯ ★✮ ✓✑❀ ❀✖♦✓✥ ✕✘

★✮ ✷✥ ✖❋✥❋ ✖✭✥✑✶✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ✖✥ ✖✭✥✑✶✮ ✢✓✮ ✩★ ✖❋✥❋ ✥✲ ★✯●✓✑ ❧ ✥✑

✷✥ ✢✹❲✑t ✔✑✮✛ ✖✭❢✭✖✶✖●✑✙ ✔✚

(A)
1

5
(B)

3

5
(C)

4

5
(D)    

1

3

25. ✖✥★✲ ✙✓✖✺✙ ★✮ 1 ★✮ 100 ✙✥ ✥✲ ★✯●✓✑✬✑✮✯ ❡✮✯ ★✮ ✷✥ ★✯●✓✑ ❱✹✭✭✮ ✥✑✮ ✥✔✑ t✑✙✑ ✔✚✦ ✩★

★✯●✓✑ ✜✮❣ ✬✱✑✑�✓ ★✯●✓✑ ✔✑✮✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ✔✚

(A)
1

5
(B)

6

25
(C)

1

4
(D)

13

50

26. ✖✥★✲ ✫✜✳❣✶ ❡✮✯ ✘✑✕❱ ★❀✭ A, B, C, D ✬✑✚❊ E ✔✚✯✦ ✖✥★✲ ✥❬✑✑ ❡✮✯ 23 ✖✜✁✑✤✑✲✣ ✔✚✯✛ ✖t✭❡✮✯ ★✮

4 ★❀✭ A ★✮✛ 8 ★❀✭ B ★✮✛ 5 ★❀✭ C ★✮✛ 2 ★❀✭ D ★✮ ✙✤✑✑ ❘✑✮✗✑ ★❀✭ E ★✮ ✔✚✯✦ ✩✭❡✮✯ ★✮

✷✥ ✖✜✁✑✤✑✲✣ ✥✑✮ ✥❬✑✑ ✥✑ ❡✑ ❞✭✲❋❊ ✰✭✑✭✮ ✜✮❣ ✖✶✷ ❱✹✭✑ t✑✙✑ ✔✚✦ ❱✹✭✮ ✢✓✮ ✩★ ✖✜✁✑✤✑✲✣ ✜✮❣ ★❀✭✑✮✯

A, B ✬✑✚❊ C ★✮ ✭ ✔✑✮✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ✔✚

(A)
4

23
(B)

6

23
(C)

8

23
(D)

17

23

(C)  r✯ ✁✂ ✯ ✄✂ ☎✐✆✐ ☎✝✮✞✐✟r ✠✡✐☛✴✵ ✲✶✷✸

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 1 : ✬✜✢✲✣❉✙ ✬✑ ✕✥❞❍✑✮ ✯ ✥✑ ❡✑✒✓ ✙✤✑✑ ✩✭ ✬✑ ✕✥❞❍✑✮✯ ✥✑✮ ✜✢✲✣❉✙ ✥❊✭✮ ✜✮❣ ✰✑❀

✘✖❊✥✖✶✙ ✖✥✓✑ ✢✓✑ ❡✑✒✓ ★❀✚✜ ✰❊✑✰❊ ✔✑✮✙✮ ✔ ✚✯ ✦ ✺✓✑ ✬✑✘ ✩★ ✥✤✑✭ ★✮ ★✔❡✙ ✔✚✯✆ ✬✘✭✮ ✸♠✑❊

✜✮❣ ✖✶✷ ✥✑❊❲✑ ❀✲✖t✷✦

❇✌ ✥ ✓✔ ✥✤✑✭ ★✥✓ ✭✔✲✯ ✔✚✦ ✩★✥✑ ✥✑❊❲✑ ✓✔ ✔✚ ✖✥ t✰ ✔❡ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓ ✘✖❊✥✖✶✙

✥❊✙✮ ✔✚✯✛ ✙✑✮ ✔❡ ✥✗✘✭✑ ✥❊✙✮ ✔✚✯ ✖✥ ✘✵✥✓✮✥ ✜✢✣ ✥✲ ✰✑❊✯✰✑❊✙✑ ✸★✜✮❣ ❡✒✓❳✔✰❀✹ ✘❊ ✜✮✯❣✖❀✵✙ ✔✚✦ ✩★✲ ✥✗✘✭✑

✜✮❣ ✥✑❊❲✑✛ ✬✜✢✲✣❉✙ ✬✑✚❊ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ❡✑✒✓ ✷✥ ✔✲ ✔✑✮✭✮ ✥✲ ★✯✱✑✑✜✭✑ ✰✔✹✙ ✔✲ ✥❡ ✔✚✦

✟✑✡✽❅❆✏✻ ✟✑❆✍ 2 : ✺✓✑ ✓✔ ✥✔✭✑ ★✔✲ ✔✚ ✖✥ ✷✥ ✙✑✮❊❲✑ ✷✥ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✑ ✬✑✶✮●✑✲✓ ✖✭✕✘❲✑

✔✚✆ ✥✑❊❲✑ ❀✲✖t✷✦

❇✌ ✥ ✖✥★✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✑ ✬✑✶✮●✑✲✓ ✖✭✕✘❲✑ ✷✥ ✙✑✮❊❲✑ ✔✑✮ ★✥✙✑ ✔✚ ✬✑✚❊ ✭✔✲✯ ✱✑✲ ✔✑✮ ★✥✙✑

✔✚✦ ✓✔ ✷✥ ✬✑✓✙✖❱✴✑ ✱✑✲ ✔✑✮ ★✥✙✑ ✔✚✦ ✙✑✮❊❲✑ ✷✥ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✑ ✬✑✶✮●✑✲✓ ✖✭✕✘❲✑

✔✑✮✙✑ ✔✚✦
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✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 3 :  ✖✥★✲ ✖✫✤✑✖✙ ❡✮✯✛ t✰ ✜✮❣✜✶ ❀✑✮ ★✯✱✑✜ ✘✖❊❲✑✑❡ ✔✑✮✯✛ ✘✵✥✓✮✥ ✘✖❊❲✑✑❡ ✥✲ ✘✵✑✖✓✥✙✑

1

2
 ✔✑✮✢✲✦ ★✥✓ ✔✚ ✓✑ ✬★✥✓✆ ✺✓✑✮✯✆

❇✌ : ✬★✥✓✦ ✘✵✥✓✮✥ ✘✖❊❲✑✑❡ ✥✲ ✘✵✑✖✓✥✙✑ 
1

2
 ✙✱✑✲ ✔✑✮✢✲ t✰✖✥ ❀✑✮✭✑✮ ✯ ✘✖❊❲✑✑❡ ★❡✘✵✑✖✓✥ ✔✑✮✯ ✛

✬✈✓✤✑✑ ✭✔✲✯✦

✲✶✷✸✐✯�✴ 13.2

1. ✬✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓✥ ✬✑✚❊ ✩✈✔✲✯ ✬✑ ✕✥❞❍✑✮ ✯ ✥✑✮ ✜✢✲✣❉✙ ✥❊✭✮ ✜✮❣ ✰✑❀ ✘✖❊✥✖✶✙ ❡✑✒✓✥

★❀✚✜ ✰❊✑✰❊ ✔✑✮✙✮ ✔ ✚✯✦ ✺✓✑ ✬✑✘ ★✑✮❱✙✮ ✔✚✯ ✖✥ ✓✔ ✥✤✑✭ ★✥✓ ✔✚✆ ✥✑❊❲✑ ❀✲✖t✷✦

2. ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓ ✘✖❊✥✖✶✙ ✥❊✭✮ ✜✮❣ ✖✶✷✛ ✔❡ ★✳✴✑ x  = 
i i

i

f d
a

f
+ �
�  ✥✑ ✘✵✓✑✮✢ ✥❊

★✥✙✮ ✔✚✛ t✰ ★✱✑✲ ✜✢✑❙✮ ✥✲ ✜✢✣❡✑✘ ✰❊✑✰❊ ✔✚✯ ✛ a ✥✖✗✘✙ ❡✑✒✓ ✔✚ ✙✤✑✑ a ✥✑✮ ✜✢✑❙✮ ✜✮❣

❡✒✓❳✔✰❀✹✬✑✮✯ ❡✮✯ ★✮ ✥✑✮✩✣ ✷✥ ✔✑✮✭✑ ❱✑✖✔✷✦ ✺✓✑ ✬✯✖✙❡ ✥✤✑✭ ★✥✓ ✔✚✆ ✬✘✭✮ ✸♠✑❊ ✥✑ ✬✑ ✚✖❱✥✓

❀✲✖t✷✦

3. ✺✓✑ ✓✔ ✥✔✭✑ ★✥✓ ✔✚ ✖✥ ✖❀✓✮ ✔✹✷ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ❡✑✒✓✛ ✰✔✹✶✥ ✬✑✚❊ ❡✑✒✓✥ ★❀✚✜

✖✱✑✈✭❳✖✱✑✈✭ ✔✑✮✯✢✮✆ ✬✘✭✮ ✸♠✑❊ ✥✑ ✬✑✚✖❱✥✓ ❀✲✖t✷✦

4. ✺✓✑ ✖❀✓✮ ✔✹✷ ✜✢✲✣❉✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷ ❡✑✒✓✥ ✜✢✣ ✬✑✚❊ ✰✔✹✶✥ ✜✢✣ ★❀✚✜ ✖✱✑✈✭❳✖✱✑✈✭ ✔✑✮✯✢✮✆

✬✘✭✮ ✸♠✑❊ ✥✑ ✬✑✚✖❱✥✓ ❀✲✖t✷✦

5. ✙✲✭ ✰♦❱✑✮✯ ✜✑✶✮ ✷✥ ✘✖❊✜✑❊ ❡✮✯✛ ✔✑✮ ★✥✙✑ ✔✚ ✥✑✮✩✣ ✶❞❍✥✲ ✭ ✔✑✮✛ ✷✥ ✶❞❍✥✲ ✔✑✮✛ ❀✑✮ ✶❞❍✖✥✓✑✕

✔✑✮ ✯ ✓✑ ✙✲✭ ✶❞❍✖✥✓✑✕ ✔✑✮✯✦ ✬✙❧✛ ✩✭❡✮✯ ★✮ ✘✵✥✓✮✥ ✥✲ ✘✵✑✖✓✥✙✑
1

4
 ✔✚✦ ✺✓✑ ✓✔ ✥✤✑✭ ★✥✓ ✔✚✆

✬✘✭✮ ✸♠✑❊ ✥✑ ✬✑✚✖❱✥✓ ❀✲✖t✷✦

6. ✖✥★✲ ●✑✮✶ ❡✮✯ ✷✥ ✙✲❊ ✥✑✮ ✖✑✹❡✑✓✑ t✑✙✑ ✔✚✛ t✑✮ ✖✑✳❡✭✮ ✜✮❣ ✰✑❀✛ 1, 2 ✓✑ 3 ❬✑✮✴✑✑✮✯ ❡✮✯ ★✮ ✖✥★✲ ✷✥

✥✲ ✬✑✮❊ ✩✯✖✢✙ ✥❊✙✑ ✔✹✬✑ ✖✫✤✑❊ ✔✑✮ t✑✙✑ ✔✚ ✧❀✮✖●✑✷ ✬✑❉✖✙ 13.1✫✦ ✺✓✑ ✘✖❊❲✑✑❡ 1, 2 ✬✑✚❊ 3

✬✑✭✑ ★❡✘✵✑✖✓✥ ✔✚✆ ✥✑❊❲✑ ❀✲✖t✷✦
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7. ✬✘✳✜✣ ❀✑✮ ✘✑★✑✮✯ ✥✑✮ ✘✮✯❣✥✙✑ ✔✚ ✙✤✑✑ ✩✭ ✘✑★✑✮✯ ✘❊ ✬✑✭✮ ✜✑✶✲ ★✯●✓✑✬✑✮✯ ✥✑ ✢✹❲✑✭✘❣✶ ✘✖❊✥✖✶✙ ✥❊✙✑

✔✚✦ ✘✲✔✳ ✷✥ ✘✑★✮ ✥✑✮ ✘✮✯❣✥✙✲ ✔✚ ✙✤✑✑ ✸★ ✘❊ ✬✑✓✲ ★✯●✓✑ ✥✑ ✜✢✣ ✥❊ ❀✮✙✲ ✔✚✦ ★✯●✓✑ 36 ✘✵✑✚✙

✥❊✭✮ ✥✑ ✖✥★✥✑ ✬✖✒✑✥ ✬♦✓✑ ★✯✓✑✮✢ ✔✚ ✬✑✚❊ ✺✓✑✮✯✆

8. t✰ ✔❡ ✖✥★✲ ✖★✺✜✮❣ ✥✑✮ ✸✓✑✶✙✮ ✔✚✯✛ ✙✑✮ ❀✑✮ ★✯✱✑✜ ✘✖❊❲✑✑❡ ✔✚✯❳ ✖❱✙ ✓✑ ✘❋✦ ✬✙❧✛ ✩✭❡✮✯ ★✮

✘✵✥✓✮✥ ✘✖❊❲✑✑❡ ✥✲ ✘✵✑✖✓✥✙✑
1

2
  ✔✚✦ ✬✘✭✮ ✸♠✑❊ ✥✑ ✬✑✚✖❱✥✓ ❀✲✖t✷✦

9. ✷✥ ✖✜✁✑✤✑✲✣ ✥✔✙✑ ✔✚ ✖✥ ✓✖❀ ✬✑✘ ✷✥ ✘✑★✮ ✥✑✮ ✘✮✯❣✜✮✯❣✢✮✛ ✙✑✮ ✓✔ ✓✑ ✙✑✮ 1 ❀❘✑✑✣✷✢✑ ✓✑ 1 ✭✔✲✯

❀❘✑✑✣✷✢✑✦ ✩★✖✶✷✛ 1 ✘✵✑✚✙ ✥❊✭✮ ✬✑✚❊ 1 ✭✔✲✯ ✘✵✑✚✙ ✥❊✭✮ ❡✮✯ ★✮ ✘✵✥✓✮✥ ✥✲ ✘✵✑✖✓✥✙✑
1

2
✔✚✦ ✺✓✑

✓✔ ★✔✲ ✔✚✆ ✥✑❊❲✑ ❀✲✖t✷✦

10. ❡✚✯ ✙✲✭ ✖★✺✥✑✮✯ ✥✑✮ ✷✥ ★✑✤✑ ✸✓✑✶✙✑ ✔✳✕✦ ★✯✱✑✜ ✘✖❊❲✑✑❡ ✥✑✮✩✣ ✖❱✙ ✭✔✲✯✛ 1 ✖❱✙✛ 2 ✖❱✙ ✓✑

3 ✖❱✙ ✔✚✯✦ ✬✙❧✛ ❡✚✯ ✥✔✙✑ ✔✳✕ ✖✥ ✥✑✮✩✣ ✖❱✙ ✘✵✑✚✙ ✭ ✥❊✭✮ ✥✲ ✘✵✑✖✓✥✙✑ 
1

4
✔✚✦ ✩★ ✖✭✗✥✗✑✣ ❡✮✯

✺✓✑ ✢✶✙✲ ✔✚✆

11. ✓✖❀ ✬✑✘ ✖✥★✲ ✖★✺✜✮❣ ✥✑✮ 6 ✰✑❊ ✸✓✑✶✙✮ ✔✚✯ ✬✑✚❊ ✘✵✥✓✮✥ ✰✑❊ ✖❱✙ ✬✑✙✑ ✔✚ ✙✑✮ ✺✓✑ ✬✑✘ ✥✔

★✥✙✮ ✔✚✯ ✖✥ ✖❱✙ ✜✮❣ ✘✵✑✚✙ ✥❊✭✮ ✥✲ ★✚❞✑✯✖✙✥ ✘✵✑✖✓✥✙✑ 1 ✔✚✆ ✥✑❊❲✑ ❀✲✖t✷✦

12. ★✹✗✑❡✑ ✷✥ ✖★✺✜✮❣ ✥✑✮ ✙✲✭ ✰✑❊ ✸✓✑✶✙✲ ✔✚ ✬✑✚❊ ✸★✮ ✘✵✥✓✮✥ ✰✑❊ ✷✥ ✘❋ ✘✵✑✚✙ ✔✑✮✙✑ ✔✚✦ ✺✓✑ ✬✑✘

★✑✮❱✙✮ ✔✚✯ ✖✥ ✬✢✶✲ ✸✓✑✶ ❡✮✯ ✱✑✲ ✸★✮ ✘❋ ✘✵✑✚✙ ✔✑✮✢✑✆ ✥✑❊❲✑ ❀✲✖t✷✦

13. ✓✖❀ ❡✹❀✮ ✷✥ ✖★✺✜✮❣ ✥✑✮ ✙✲✭ ✰✑❊ ✸✓✑✶✭✮ ✘❊ ✘✵✥✓✮✥ ✰✑❊ ✖❱✙ ✘✵✑✚✙ ✔✑✮✙✑ ✔✚✛ ✺✓✑ ❱✑✚✤✑✲ ✸✓✑✶

❡✮✯ ❡✹❀✮ ✓✔ ✬✑❘✑✑ ❊●✑✭✲ ❱✑✖✔✷ ✖✥ ✘❋ ✬✑✭✮ ✥✑ ✬✖✒✑✥ ✬♦✓✑ ★✯✓✑✮✢ ✔✚✆

✈�✁✂✄☎✆ ✝✞✟✝
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14. ✷✥ ✤✑✚✶✮ ❡✮✯ ✪ ★✮ ✪✩✩ ✙✥ ✥✲ ★✯●✓✑✷✕ ✖✶●✑✲ ✔✹✩✣ ✘✖❱✣✓✑✕ ❊●✑✲ ✔✚✯✦ ✓✖❀ ✩★❡✮✯ ★✮ ✘❣✑✖✙❡✑ ✷✥

✘❱✲✣ ✓✑❀❀✖♦✓✥ ✕✘ ★✮ ❱✹✭✙✲ ✔✚✛ ✙✑✮ ✓✑ ✙✑✮ ✓✔ ✷✥ ✖✜✗✑❡ ★✯●✓✑ ✔✑✮✢✲ ✓✑ ✷✥ ★❡ ★✯●✓✑ ✔✑✮✢✲✦

✺✓✑✮✯✖✥ ✩★ ✖✫✤✑✖✙ ❡✮✯✛ ✜✮❣✜✶ ❀✑✮ ✔✲ ★✯✱✑✜ ✘✖❊❲✑✑❡ ✔✚✯ ✛ ✩★✖✶✷ ✩✭❡✮✯ ★✮ ✘✵✥✓✮✥ ✥✲ ✘✵✑✖✓✥✙✑
1

2

✔✚✦ ✬✑ ✚✖❱✥✓ ❀✲✖t✷✦

(D) ☎✝✮✞✐✟r ✠✡✐☛✴✵ ✲✶✷✸

✟ ✑✡✽❅❆✏✻ ✟✑❆✍ 1 : ✖✭❢✭✖✶✖●✑✙ ✰✯❋✭ ✜✮❣ ✖✶✷ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✲ ❊❱✭✑ ✥✲✖t✷ ❧

☛✠✻ 12.5-17.5 17.5-22.5 22.5-27.5 27.5-32.5 32.5-37.5

❆✏✡ ❅❆✏✡✽✏ 2 22 19 14 13

❇✌ : ✖❀✓✮ ✔✹✷ ✰✯❋✭ ✥✑ ✜✑✕✖✓✙ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✭✲❱✮ ✖❀✓✑ ✢✓✑ ✔✚ ❧

☛✠✻ ❆✏✡ ❅❆✏✡✽✏ ✠ ❅☞❯♦ ❆✏✡ ❅❆✏✡✽✏

12.5-17.5 2 2

17.5-22.5 22 24

22.5-27.5 19 43

27.5-32.5 14 57

32.5-37.5 13 70

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 2 : ✖✥★✲ ★✜✣✮ ★✮ ✘✵✑✚✙ 110 ✥✖❡✥✑✮✯ ✥✲ ❀✚✖✭✥ ❡t❀✳❊✲ ✥✑✮ ✭✲❱✮ ★✑❊❲✑✲✰❞ ✖✥✓✑

✢✓✑ ✔✚ ❧

❅✒✡✍❁ ❚♥❅�✡♦ ✎✁ ❚❄❅✏ ❏✡❚❁✏❄❅ ❁♦ ✠ ❅☞❯✏

100-120 10

120-140 15

140-160 20

160-180 22

180-200 18

200-220 12

220-240 13

✩✭ ✥✖❡✥✑✮✯ ✥✲ ❡✑✒✓ ❀✚✖✭✥ ❡t❀✳❊✲ ✘✖❊✥✖✶✙ ✥✲✖t✷✦



❧✆ �☎✁✂✞✄ ☎✆ ✆✝ ✐�✆☎✂✞✞✆ 167

❇✌ : ✔❡ ✘✔✶✮ ✘✵✥✓✮✥ ✜✢✣ ✥✑ ✜✢✣ ✖❱♦ x
i
■✑✙ ✥❊✙✮ ✔✚✯ ✬✑✚❊ ✭✲❱✮ ❀❘✑✑ ✣✷ ✬✭✹★✑❊ ✬✑✢✮

✰❝ ❍✙✮ ✔ ✚✯ ❧

❅✒✡✍❁ ❚♥❅�✡♦ ☛✠✻ ✡☞♦ ❏✡❚❁✏❄❅ ❁♦ ✠ ❅☞❯✏ f
i
x

i

✎✁ ❚❄❅✏ (x
i
) (f

i
)

☛✠✻

100-120 110 10 1100

120-140 130 15 1950

140-160 150 20 3000

160-180 170 22 3740

180-200 190 18 3420

200-220 210 12 2520

220-240 230 13 2990

if�  = 110, i if x�  = 18720

✬✙❧✛ ❡✑✒✓ = x  = 
i i

i

f x

f

�
�  = 

18720

110
 = 170.20

✩★✖✶✷✛ ✥✖❡✥✑✮✯ ✥✲ ❡✑✒✓ ❀✚✖✭✥ ❡t❀✳❊✲ 170.20 � ✔✚✦

✡☛✐✟✍✏♦✥ ✸✘❊✑✮✺✙ ❡✑✒✓ ❀✚✖✭✥ ❡t❀✳❊✲✛ ✥✖✗✘✙ ❡✑✒✓ ✖✜✖✒✑ ✓✑ ✘✢ ✖✜❱✶✭ ✖✜✖✒✑ ★✮ ✱✑✲ ✘✖❊✥✖✶✙

✥✲ t✑ ★✥✙✲ ✔✚✦

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 3 : ✖✥★✲ ✘❊✲❬✑✑ ❡✮✯ 100 ✖✜✁✑✖✤✑✣✓✑✮✯ ⑥✑❊✑ ✘✵✑✚✙ ✖✥✓✮ ✢✓✮ ✬✯✥✑✮✯ ✥✑ ✘✵✖✙❘✑✙ ✭✲❱✮ ✖❀✓✑

✢✓✑ ✔✚

✟ ✑✏✐✽✏❅❁ 30-35 35-40 40-45 45-50 50-55 55-60 60-65

❆✏✡ ❅❆✏✡✽✏ 14 16 18 23 18 8 3

❡✑✒✓✥ ✘✵✖✙❘✑✙ ✬✯✥ ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷✦
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❇✌  :

✟ ✑✏✐✽✏❅❁ ✡☛❢✏✡☎✏✻❯✏❄❅ ❁♦ ✠ ❅☞❯✏ ✠ ❅☞❯♦ ❆✏✡ ❅❆✏✡✽✏

✎☛✠✻✏ ✎❆✏✡ ❅❆✏✡✽✏✏

30-35 14 14

35-40 16 30

40-45 18 48

45-50 23 71 ← ❡✑✒✓✥ ✜✢✣

50-55 18 89

55-60 8 97

60-65 3 100

✓✔✑✕✛   n = 100 ✔✚✦

✬✙❧✛ 
2

n
 = 50 ✔✚ ✓✔ ✘✵✮❬✑❲✑ ✜✢✣ 45–50 ❡✮✯ ✖✫✤✑✙ ✔✚✦

l ✧❡✑✒✓✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑✫ = 45

cf ✧❡✑✒✓✥ ✜✢✣ ★✮ ✟✲✥ ✘✔✶✮ ✜✑✶✮ ✜✢✣ ✥✲ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑✫ = 48

f ✧❡✑✒✓✥ ✜✢✣ ✥✲ ✰✑❊✯✰✑❊✙✑✫ = 23

h ✧✜✢✣ ❡✑✘✫ = 5

❡✑✒✓✥ = 

cf
2 + 

n

l h
f

� �−� �
� �
� �
� �

= 
50 48

45 + 5
23

−� � ×� �
� �

= 
10

45 +  = 45.4 
23

✬✙❧✛ ✘✵✑✚✙✑✯✥✑✮✯ ✥✑ ❡✑✒✓✥ ✘✵✖✙❘✑✙ 45.4 ✔✚✦
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✟ ✑✡✽❅❆✏✻ ✟✑❆✍ 4 : ✖✥★✲ ✢✑✕✜ ❡✮✯ ❉✖✗✑ ✓✑✮❢✓ ✱✑✳✖❡ ❳ ✫✜✑✖❡✓✑✮✯ ✥✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ★✑❊❲✑✲ ✭✲❱✮ ❀✲

✢✓✲ ✔✚❧

❍✏ �✡❚ ❁✏ �✏❄✁✏✟✂✌
✎❇❄✭☛❄❯✡ ❚❄❅✏ 1-3 3-5 5-7 7-9 9-11 11-13

✟✡✡☛✏✡✏❄❅ ❁♦ 20 45 80 55 40 12

✠ ❅☞❯✑

✩★ ✢✑✕✜ ✥✑ ✰✔✹✶✥ ✱✑✳✖❡❳✫✜✑✖❡✥✜ ■✑✙ ✥✲✖t✷✦

❇✌ : ✓✔✑✕✛ ✬✖✒✑✥✙❡ ✰✑❊✯✰✑❊✙✑ 80 ✔✚ ✙✤✑✑ ✩★ ✰✑❊✯✰✑❊✙✑ ✜✮❣ ★✯✢✙ ✜✢✣ 5–7 ✔✚✦

✬✙❧✛ ✰✔✹✶✥ ✜✢✣ 5–7 ✔✚✦

l ✧✰✔✹✶✥ ✜✢✣ ✥✲ ✖✭❢✭ ★✲❡✑✫ = 5

f
1
✧✰✔✹✶✥ ✜✢✣ ✥✲ ✰✑❊✯✰✑❊✙✑✫ = 80

f
0
✧✰✔✹✶✥ ✜✢✣ ✜✮❣ ✟✲✥ ✘✔✶✮ ✜✮❣ ✜✢✣ ✥✲ ✰✑❊✯✰✑❊✙✑✫ = 45

f
2
✧✰✔✹✶✥ ✜✢✣ ✜✮❣ ✟✲✥ ✰✑❀ ✜✮❣ ✜✢✣ ✥✲ ✰✑❊✯✰✑❊✙✑✫ = 55

h ✧✜✢✣ ❡✑✘✫ = 2

✰✔✹✶✥ = l + 
1 0

1 0 22

f f
h

f f f

� �−
×� �− −� �

= 
80 – 45

5  2
2(80) 45 55

� �
+ ×� �− −� �

= 5 + 
35

  2
60

×  = 5 + 
35

30

= 5 + 1.2 = 6.2

✬✙❧✛ ✩★ ✢✑✕✜ ✥✑ ✰✔✹✶✥ ✱✑✳✖❡❳✫✜✑✖❡✥✜ 6.2 ✔✮✺❋✮✓❊ ✔✚✦

✲✶✷✸✐✯�✴ 13.3

1. ✖✭❢✭✖✶✖●✑✙ ✰✯❋✭ ✥✑ ❡✑✒✓ ■✑✙ ✥✲✖t✷ ❧

☛✠✻ 1-3 3-5 5-7 7-10

❆✏✡ ❅❆✏✡✽✏ 9 22 27 17
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2. ✷✥ ✢✖❲✑✙ ❋✮✫❋ ❡✮✯ 20 ✖✜✁✑✖✤✑✣✓✑✮✯ ✜✮❣ ✖✭❢✭✖✶✖●✑✙ ✘✵✑✚✙✑✯✥✑✮✯ ✥✑ ❡✑✒✓ ■✑✙ ✥✲✖t✷ ❧

✟ ✑✏✐✽✏❅❁ 10-20 20-30 30-40 40-50 50-60

✡☛❢✏✡☎✏✻❯✏❄❅

❁♦ ✠ ❅☞❯✏ 2 4 7 6 1

3. ✖✭❢✭✖✶✖●✑✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ❡✑✒✓ ✘✖❊✥✖✶✙ ✥✲✖t✷ ❧

☛✠✻ 4 ➊ 7 8 ➊11 12➊ 15 16 ➊19

❆✏✡ ❅❆✏✡✽✏ 5 4 9 10

4. ✖✭❢✭✖✶✖●✑✙ ★✑❊❲✑✲✛ ★✑✖❊✥✑ ⑥✑❊✑ ✫✜✓✯ ✬✘✭✲ ✘✹✫✙✥ ✥✑✮ ✘✳❲✑✣ ✥❊✭✮ ✜✮❣ ✖✶✷ 30 ✖❀✭ ✙✥ ✖✶●✑✮

✢✓✮ ✘❀✗✟✑✮✯ ✥✑✮ ❀❘✑✑✣✙✲ ✔✚ ❧

✟ ✑✡✽✡❅✍ ✡✌☞✏❄ ✟ ✐�✁✏❄❅ 16-18 19-21 22-24 25-27 28-30

❁♦ ✠ ❅☞❯✏

✡❅✍✏❄❅ ❁♦ ✠ ❅☞❯✏ 1 3 4 9 13

✘✵✖✙✖❀✭ ✖✶●✑✮ ✢✓✮ ❡✑✒✓ ✘❀✗✟✑✮✯ ✥✲ ★✯●✓✑ ■✑✙ ✥✲✖t✷✦

5. 50 ✥❡✣❱✑✖❊✓✑✮✯ ✜✮❣ ✷✥ ✘✵✖✙❀❘✑✣ ✥✲ ❀✚✖✭✥ ✬✑✓ ✖✭❢✭✖✶✖●✑✙ ✕✘ ❡✮✯ ★✑❊❲✑✲✰❞ ✔✚ ❧

✾✏❯ 1-200 201-400 401-600 601-800

✎✁ ❚❄❅✏

❁❚✻☞✏✡✡❯✏❄❅ ❁♦ 14 15 14 7

✠ ❅☞❯✏

✥❡✣❱✑✖❊✓✑✮✯ ✥✲ ❡✑✒✓ ❀✚✖✭✥ ✬✑✓ ■✑✙ ✥✲✖t✷✦

6. ✖✥★✲ ✷✓❊◗✑❢❋ ❡✮✯ ✓✑✖✴✑✓✑✮✯ ✜✮❣ ✖✶✷ 120 ★✲❋✮✯ ✔ ✚✯✦ 100 ✸❞❍✑✭✑✮✯ ✜✮❣ ❀✑✚❊✑✭ ✘✵✓✑✮✢ ✥✲ ✢✓✲ ★✲❋✑✮✯

✥✲ ★✯●✓✑✷✯ ✖✭❢✭✖✶✖●✑✙ ★✑❊❲✑✲ ❡✮✯ ❀✲ ✔✹✩✣ ✔ ✚✯ ❧

✠♦☛✏❄❅ ❁♦ ✠ ❅☞❯✏ 100-104 104-108 108-112 112-116 116-120

❆✏✡ ❅❆✏✡✽✏ 15 20 32 18 15

✩✭ ✸❞❍✑✭✑✮✯ ❡✮✯ ✘✵✓✑✮✢ ✥✲ ✢✓✲ ★✲❋✑✮✯ ✥✲ ★✯●✓✑ ✥✑ ❡✑✒✓ ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷✦
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7. 50 ✘✔✶✜✑✭✑✮✯ ✜✮❣ ✱✑✑❊ ✧kg ❡✮✯✫ ✭✲❱✮ ★✑❊❲✑✲ ❡✮✯ ✖❀✓✮ ✔✚✯❧

❍✏✏✡ ✎kg ❚❄❅✏ 100-110 110-120 120-130 130-140 140-150

✟❇✌☛✏✍✏❄❅ ❁♦ 4 14 21 8 3

✠ ❅☞❯✏

✩✭ ✘✔✶✜✑✭✑✮✯ ✥✑ ❡✑✒✓ ✱✑✑❊ ■✑✙ ✥✲✖t✷✦

8. ✖✥★✲ ✥✑❊ ✖✭❡✑✣✙✑ ⑥✑❊✑ ✷✥ ✔✲ ❡✑ ❞❞✶ ✥✲ 50 ✥✑❊✑✮✯ ✥✲ ❡✑✩✶✮✪✑ ✧✬✤✑✑✣✙ ✷✥ ✶✲❋❊ ✩❙❞✭ ❡✮✯

✖✥✙✭✮ km ❱✶✙✲ ✔✚✯✫ ✥✲ t✑✕❱ ✥✲✛ ✖t★✜✮❣ ✘✖❊❲✑✑❡ ✭✲❱✮ ★✑❊❲✑✲✰❞ ✔✚✯❧

❚✏✄✌❄♥

(km/L) 10-12 12-14 14-16 16-18

❁✏✡✏❄❅ ❁♦ 7 12 18 13

✠ ❅☞❯✏

❡✑✒✓ ❡✑✩✶✮t ■✑✙ ✥✲✖t✷✦

✖✭❡✑✣✙✑ ✓✔ ❀✑✜✑ ✥❊✙✑ ✔✚ ✖✥ ✩★ ❡✑ ❞❞✶ ✥✲ ❡✑✩✶✮t 16 km/L ✔✚✦ ✺✓✑ ✬✑✘ ✩★ ❀✑✜✮ ★✮

★✔❡✙ ✔✚✯✆

9. 40 ✙✓✖✺✙✓✑✮✯ ✜✮❣ ✱✑✑❊✑✮✯ ✧kg ❡✮✯✫ ✥✑ ✰✯❋✭ ✖✭❢✭✖✶✖●✑✙ ✔✚❧

❍✏✏✡ ✎kg ❚❄❅✏ 40-45 45-50 50-55 55-60 60-65 65-70 70-75 75-80

❖❯✡✭✽❯✏❄❅ ❁♦ 4 4 13 5 6 5 2 1

✠ ❅☞❯✏

✸✘❊✑✮✺✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷✛ ❨★✮ ✥❡ ✘✵✥✑❊❩ ✥✲ ✷✥ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ★✑❊❲✑✲ ✥✲ ❊❱✭✑

✥✲✖t✷✦

10. ✖✭❢✭✖✶✖●✑✙ ★✑❊❲✑✲ ✖✥★✲ ✘❊✲❬✑✑ ❡✮✯ 800 ✖✜✁✑✖✤✑✣✓✑✮✯ ✜✮❣ ✘✵✑✚✙✑✯✥✑✮ ✯ ✜✮❣ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✑✮

❀❘✑✑✣✙✲ ✔✚ ❧
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✟ ✑✏✐✽✏❅❁ ✡☛❢✏✡☎✏✻❯✏❄❅ ❁♦ ✠ ❅☞❯✏

10 ★✮ ✥❡ 10

20 ★✮ ✥❡ 50

30 ★✮ ✥❡ 130

40 ★✮ ✥❡ 270

50 ★✮ ✥❡ 440

60 ★✮ ✥❡ 570

70 ★✮ ✥❡ 670

80 ★✮ ✥❡ 740

90 ★✮ ✥❡ 780

100 ★✮ ✥❡ 800

✸✘❊✑✮✺✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷✛ ✷✥ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ★✑❊❲✑✲ ✥✲ ❊❱✭✑ ✥✲✖t✷✦

11. ✖✭❢✭✖✶✖●✑✙ ✬✑✕✥❞❍✑✮✯ ★✮ ✷✥ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ★✑❊❲✑✲ ✰✭✑✩✷✦

✟ ✑✏✐✽✏❅❁ ✎90 ❚❄❅ ✠ ❄✏ ✟ ✑✐❯✏✡❆✏❯✏❄❅ ❁♦ ✠ ❅☞❯✏

80 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 4

70 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 6

60 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 11

50 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 17

40 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 23

30 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 27

20 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 30

10 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 32

0 ★✮ ✬✖✒✑✥ ✓✑ ✸★✜✮❣ ✰❊✑✰❊ 34
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12. ✖✥★✲ ✥❬✑✑ ✜✮❣ ✖✜✁✑✖✤✑✣✓✑✮✯ ✥✲ ✂✕❱✑✩✓✑✮✯ ✧✶✯✰✑✩✓✑✮✯✫ ✜✮❣ ✖✭❢✭✖✶✖●✑✙ ✰✯❋✭ ❡✮✯ ✬■✑✙ ✘✵✖✜✖✗❋✓✑✕

a, b, c, d, e ✬✑✚❊ f  ■✑✙ ✥✲✖t✷ ❧

➴✿☞✏✄✻ ❆✏✡ ❅❆✏✡✽✏ ✠ ❅☞❯♦ ❆✏✡ ❅❆✏✡✽✏

✎cm ❚❄❅✏

150-155 12 a

155-160 b 25

160-165 10 c

165-170 d 43

170-175 e 48

175-180 2 f

☛❈✂♦✏ 50

13. ✷✥ ✖✜✖❘✑✗❋ ✖❀✭ ✖✥★✲ ✬✫✘✙✑✶ ❡✮✯ ✩✶✑t ✥❊✑ ❊✔✮ 300 ❊✑✮✖✢✓✑✮✯ ✥✲ ✬✑✓✹ ✧✜✗✑✑❙✮ ❡✮✯✫

✖✭❢✭✖✶✖●✑✙ ✔✯✚ ❧

✾✏❯❈ ✎☛�✏✏ ✈❄ ❚❄❅✏ 10-20 20-30 30-40 40-50 50-60 60-70

✡✏❄✡✠❯✏❄❅ ❁♦

✠ ❅☞❯✏ 60 42 55 70 53 20

✸✘❊✑✮✺✙ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷✛ ✖✭❢✭✖✶✖●✑✙ ✥✑✮ ✰✭✑✩✷❧

(i) ❨★✮ ✥❡ ✘✵✥✑❊❩ ✥✑ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭

(ii) ❨★✮ ✬✖✒✑✥ ✘✵✥✑❊❩ ✥✑ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭

14. ✭✲❱✮ ✖✥★✲ ✥❬✑✑ ✜✮❣ 50 ✖✜✁✑✖✤✑ ✣✓✑✮✯ ⑥✑❊✑ ✘✵✑✚✙ ✬✯✥✑✮✯ ✥✑ ✷✥ ★✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ❀❘✑✑✣✓✑ ✢✓✑

✔✚ ❧

✟ ✑✏✐✽✏❅❁ 20 ★✮ ✥❡ 40 ★✮ ✥❡ 60 ★✮ ✥❡ 80 ★✮ ✥❡ 100 ★✮ ✥❡

✡☛❢✏✡☎✏✻❯✏❄❅ ❁♦

✠ ❅☞❯✏ 17 22 29 37 50

✸✘❊✑✮✺✙ ✜✮❣ ✖✶✷ ✷✥ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ★✑❊❲✑✲ ✰✭✑✩✷✦
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15. 600 ✘✖❊✜✑❊✑✮✯ ✥✲ ★✑✚✙✑✖✔✥ ✬✑✓ ✭✲❱✮ ★✑❊❲✑✲✰❞ ✔✚ ❧

✠✏✐✽✏✡❇❁ ✾✏❯ ✟✡✡☛✏✡✏❄❅ ❁♦ ✠ ❅☞❯✏

✎✁ ❚❄❅✏

     0-1000 250

1000-2000 190

2000-3000 100

3000-4000 40

4000-5000 15

5000-6000 5

☛❈✂✌ 600

❡✑✒✓✥ ✬✑✓ ✬✖✱✑✥✖✶✙ ✥✲✖t✷✦

16. ✖✥★✲ ✖◗✜✮❣❋ ✥✑✮✔❱✢ ✜✮✯❣❀✵ ✘❊ 33 ✖●✑✶✑✖❞❍✓✑✮✯ ✥✲ ✢✯✮❀✰✑t✲ ✥❊✭✮ ✥✲ ✬✖✒✑✥✙❡ ❱✑✶✮✯

✧km ✘✵✖✙ ✖✑✯❋✑ ❡✮✯✫ ✩★ ✘✵✥✑❊ ✔✚❧

☞✏✌ (km/h) 85-100 100-115 115-130 130-145

✡☞✏✌✏✡❂❃❯✏❄❅ ❁♦

✠ ❅☞❯✏ 11 9 8 5

✢✯✮❀✰✑t✲ ✥✲ ❡✑✒✓✥ ❱✑✶ ✘✖❊✥✖✶✙ ✥✲✖t✷✦

17. 100 ✘✖❊✜✑❊✑✮✯ ✥✲ ❡✑✖★✥ ✬✑✓ ✭✲❱✮ ❀✲ ✔✹✩✣ ✔✯ ✚❧

✾✏❯ ✟✡✡☛✏✡✏❄❅ ❁♦ ✠ ❅☞❯✏

✎✁ ❚❄❅✏

0-5000 8

5000-10000 26

10000-15000 41

15000-20000 16

20000-25000 3

25000-30000 3

30000-35000 2

35000-40000 1

✰✔✹✶✥ ✬✑✓ ✘✖❊✥✖✶✙ ✥✲✖t✷✦
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18. 70 ✘✚✜✮❣❋✑✮✯ ❡✮✯✛ ✥✑ ❞✘❣✲ ✥✑ ✱✑✑❊ ✖✭❢✭✖✶✖●✑✙ ★✑❊❲✑✲ ❡✮✯ ❀❘✑✑✣✓✑ ✢✓✑ ✔✚ ❧

❍✏✏✡ ✎g ❚❄❅✏ ✟ ✒☛❄✂☛✏❄❅ ❁♦ ✠ ❅☞❯✏

200-201 12

201-202 26

202-203 20

203-204 9

204-205 2

205-206 1

✰✔✹✶✥ ✱✑✑❊ ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷✦

19. ❀✑✮ ✘✑★✑✮ ✯ ✥✑✮ ✷✥ ★✑✤✑ ✘✮✯❣✥✑ t✑✙✑ ✔✚✦ ✖✭❢✭✖✶✖●✑✙ ✘✵✑✚✙ ✥❊✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷❧

(i) ❀✑✮✭✑✮✯ ✘✑★✑✮✯ ✘❊ ✷✥ ✔✲ ★✯●✓✑✦

(ii) ❀✑✮✭✑✮✯ ✘✑★✑✮✯ ✘❊ ✖✱✑✈✭❳✖✱✑✈✭ ★✯●✓✑✷✕✦

20. ❀✑✮ ✘✑★✑✮✯ ✥✑✮ ✷✥ ★✑✤✑ ✘✮✯❣✥✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥ ❀✑✮✭✑✮✯ ✘✑★✑✮✯ ✘❊ ✬✑✓✲ ★✯●✓✑✬✑✮✯

✥✑ ✓✑✮✢

(i) ✼ ✔✑✮✆ (ii) ✷✥ ✬✱✑✑�✓ ★✯●✓✑ ✔✑✮✆ (iii) ✪ ✔✑✮✆

21. ❀✑✮ ✘✑★✑✮✯ ✥✑✮ ✷✥ ★✑✤✑ ✘✮✯❣✥✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷ ✖✥ ✘✑★✑✮✯ ✘❊ ✬✑✓✲ ★✯●✓✑✬✑✮✯

✥✑ ✢✹❲✑✭✘❣✶

(i) 6 ✔✚✦ (ii) 12 ✔✚✦ (iii) 7 ✔✚✦

22. ❀✑✮ ✘✑★✑✮✯ ✥✑✮ ✷✥ ★✑✤✑ ✘✮✯❣✥✑ t✑✙✑ ✔✚ ✙✤✑✑ ✩✭ ✘❊ ✬✑✩✣ ★✯●✓✑✬✑✮✯ ✥✑ ✢✹❲✑✭✘❣✶ ✖✶●✑ ✖✶✓✑ t✑✙✑

✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷ ✖✥ ✓✔ ✢✹❲✑✭✘❣✶ 9 ★✮ ✥❡ ✔✚✦

23. ❀✑✮ ✘✑★✑✮✯ ✘❊ ◗❡❘✑❧ 1, 2, 3, 4, 5, 6 ✬✑✚❊ 1, 1, 2, 2, 3, 3 ★✯●✓✑✷✕ ✖✶●✑✲ ✔✹✩✣ ✔ ✚✯✦ ✩✭✥✑✮ ✷✥ ★✑✤✑

✘✮✯❣✥✑ t✑✙✑ ✔✚ ✙✤✑✑ ✩✭ ✘❊ ✬✑✩✣ ★✯●✓✑✬✑✮✯ ✥✑ ✓✑✮✢ ✖✶●✑ ✖✶✓✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙

✥✲✖t✷ ✖✥ ✬✶✢❳✬✶✢ ✘✵✥✓✮✥ ✓✑✮✢ 2 ★✮ 9 ✙✥ ✔✑✮✦

24. ✷✥ ✖★✺✜✮❣ ✥✑✮ ❀✑✮ ✰✑❊ ✸✓✑✶✑ t✑✙✑ ✔✚✦ ✬✖✒✑✥✙❡ ✷✥ ✖❱✙ ✘✵✑✚✙ ✥❊✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ■✑✙

✥✲✖t✷✦

25. ✷✥ ✖★✺✜✮❣ ✥✑✮ 3 ✰✑❊ ✸✓✑✶✑ t✑✙✑ ✔✚✦ ★✯✱✑✜ ✘✖❊❲✑✑❡✑✮✯ ✥✲ ✷✥ ★✳❱✲ ✰✭✑✩✷✦ ✖✭❢✭✖✶✖●✑✙ ✘✵✑✚✙

✥❊✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷❧

(i) ★✱✑✲ ✖❱✙ (ii) ✈✓✳✭✙❡ 2 ✖❱✙
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26. ❀✑✮ ✘✑★✑✮✯ ✥✑✮ ✷✥ ★✑✤✑ ✘✮✯❣✥✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷ ✖✥ ❀✑✮✭✑✮✯ ✘✑★✑✮✯ ✘❊ ✬✑✓✲

★✯●✓✑✬✑✮✯ ✥✑ ✬✯✙❊ ❧ ✔✚✦

27. ✖✥★✲ ✤✑✚✶✮ ❡✮✯ 10 ✶✑✶✛ 5 ✭✲✶✲ ✬✑✚❊ 7 ✔❊✲ ✢✮✯❀ ✔✚✯✦ ✩★❡✮✯ ★✮ ✷✥ ✢✮✯❀ ✓✑❀ ❀✖♦✓✥ ✕✘ ★✮ ✖✭✥✑✶✲

t✑✙✲ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷ ✖✥ ✓✔ ✢✮✯❀

(i) ✶✑✶ ✔✚ (ii) ✔❊✲ ✔✚ (iii) ✭✲✶✲ ✭✔✲✯ ✔✚

28. 52 ✙✑❘✑✑✮✯ ✥✲ ✷✥ ✢❞ ✥❞✲ ❡✮✯ ★✮✛ ✖❱❞❍✲ ✜✮❣ ✰✑❀❘✑✑✔✛ ✰✮✢❡ ✬✑✚❊ ✢✹✶✑❡ ✥✑✮ ✔❋✑ ✖❀✓✑ t✑✙✑ ✔✚ ✙✤✑✑

❘✑✮✗✑ ✥✑❞✑❙✮ ✥✑✮ ✬♦✓✲ ✙❊✔ ★✮ ✘✮❣❋ ✖✶✓✑ t✑✙✑ ✔✚✦ ✩★✜✮❣ ✰✑❀✛ ❘✑✮✗✑ ✥✑❞✑✮ ❙ ❡✮✯ ★✮ ✷✥ ✥✑❞✣

✓✑❀❀✖♦✓✥ ✕✘ ★✮ ✖✭✥✑✶✑ t✑✙✑ ✔✚✦ ✥✑❞✣ ✜✮❣ ✖✭❢✭✖✶✖●✑✙ ✔✑✮✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷❧

(i) ✷✥ ✘✑✭ (ii) ✷✥ ✰✑❀❘✑✑✔

29. ✘✵❘✭ 28 ✥✑ ★✯❀✱✑✣ ✶✲✖t✷✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥ ✥✑❞✣

(i) ✷✥ ✖❱❞❍✲ ✥✑ ✥✑❞✣ ✔✚✆ (ii) ✘✑✭ ✥✑ 10 ✧❀✔✶✑✫ ✔✚✆

30. 52 ✙✑❘✑✑✮✯ ✥✲ ✷✥ ✢❞ ✥❞✲ ❡✮✯ ★✱✑✲ ✢✹✶✑❡✛ ✰✮✢❡ ✬✑✚❊ ✰✑❀❘✑✑✔ ✔❋✑ ✖❀✓✮ t✑✙✮ ✔✚✯✦ ❘✑✮✗✑ ✥✑❞✑❙✮ ✥✑✮

✬♦✓✲ ✘✵✥✑❊ ★✮ ✘✮❣❋ ✖✶✓✑ t✑✙✑ ✔✚✦ ✩★✜✮❣ ✰✑❀✛ ✩★❡✮✯ ★✮ ✷✥ ✥✑❞✣ ✓✑❀ ❀✖♦✓✥ ✕✘ ★✮ ✖✭✥✑✶✑

t✑✙✑ ✔✚✦ ✩✺✜✮❣ ✥✑✮ ❡✑✭ ✪ ❀✮✥❊✛ ✬✈✓ ✥✑❞✑❙✮ ✥✑✮ ✱✑✲ ✩★✲ ✘✵✥✑❊ ✜✮❣ ❡✑✭ ✖❀✓✮ t✑✙✮ ✔✚✯ ✦ ✩★✥✲

✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷ ✖✥ ✖✭✥✑✶✮ ✢✓✮ ✥✑❞✣ ✥✑ ❡✑✭ ✔✚❧

(i) 7 (ii) 7 ★✮ ✬✖✒✑✥ (iii) 7 ★✮ ✥❡

31. 0 ✬✑✚❊ 100 ✜✮❣ ✰✲❱ ✷✥ ✘✳❲✑✑❙✥ ❱✹✭✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥ ✓✔

(i) 7 ★✮ ✖✜✱✑✑�✓ ✔✚✆ (ii) 7 ★✮ ✖✜✱✑✑�✓ ✭✔✲✯ ✔✚✆

32. ✥✑❞✣ ✖t✭ ✘❊ 2 ★✮ 101 ✙✥ ✥✲ ★✯●✓✑✷✕ ✖✶●✑✲ ✔✹✩✣ ✔ ✚✯ ✷✥ ✰✺★ ❡✮✯ ❊●✑ ✖❀✓✮ t✑✙✮ ✔✚✯✦ ✷✥ ✥✑❞✣

✓✑❀❀✖♦✓✥ ✕✘ ★✮ ❱✹✭✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷ ✖✥ ✩★ ✥✑❞✣ ✘❊ ✷✥

(i) ★❡ ★✯●✓✑ ✔✑✮ (ii) ✜✢✣ ★✯●✓✑ ✔✑✮

33. ✬✯✢✵✮t✲ ✜❲✑✣❡✑✶✑ ✜✮❣ ✷✥ ✬❬✑❊ ✥✑✮ ✓✑❀❀✖♦✓✥ ✕✘ ★✮ ❱✹✭✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ✖✭✒✑✑ ✣✖❊✙

✥✲✖t✷ ✖✥ ✓✔ ✬❬✑❊ ✷✥ ✙✓✯t✥ ✔✚✦

34. ✖✥★✲ ✰✺★✮ ❡✮✯ 1000 ★✲✶ ✖✥✓✮ ✔✹✷ ✖✶✘❣✑✘✮❣ ✔✚✯✦ ✩✭❡✮✯ ★✮ 10 ✷✮★✮ ✖✶✘❣✑✘✮❣ ✔✯ ✚✛ ✖t✭❡✮✯ ★✮ ✘✵✥✓✮✥

❡✮✯ 100 � ✥✑ ✷✥ ✭✥❀ ✘✹❊✫✥✑❊ ✔✚✛ 100 ❡✮✯ ★✮ ✘✵✥✓✮✥ ❡✮✯ 50 � ✥✑ ✷✥ ✭✥❀ ✘✹❊✫✥✑❊ ✔✚ ✬✑ ✚❊

200 ❡✮✯ ★✮ ✘✵✥✓✮✥ ❡✮✯ 10 � ✥✑ ✷✥ ✭✥❀ ✘✹❊✫✥✑❊ ✔✚ ✙✤✑✑ ❘✑✮✗✑ ❡✮✯ ✥✑✮✩✣ ✭✥❀ ✘✹❊✫✥✑❊ ✭✔✲✯ ✔✚✦

✩✭✥✑✮ ✬♦✓✲ ✘✵✥✑❊ ★✮ ✖❡✶✑✥❊✛ ✷✥ ✖✶✘❣✑✘❣✑ ✰✑✔❊ ✖✭✥✑✶✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙

✥✲✖t✷ ✖✥ ✩★ ✖✶✘❣✑✘✮❣ ❡✮✯ ✥✑✮✩✣ ✭✥❀ ✘✹❊✫✥✑❊ ✭ ✔✑✮✦
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35. ✘✮❋✲ A ❡✮✯ 25 ✘✖❱✣✓✑✕ ✔✚✯✛ ✖t✭❡✮✯ ★✮ 19 ✘❊ 1 � ✬✯✖✥✙ ✔✚ ✬✑✚❊ ❘✑✮✗✑ ✘❊ 5 � ✬✯✖✥✙ ✔✚✦

✘✮❋✲ B ❡✮✯ 50 ✘✖❱✣✓✑✕ ✔✚✯✛ ✖t✭❡✮✯ ★✮ 45 ✘❊ 1 � ✬✯✖✥✙ ✔✚ ✬✑✚❊ ❘✑✮✗✑ ✘❊ 13 � ✬✯✖✥✙ ✔✚✦ ❀✑✮✭✑✮✯

✘✮✖❋✓✑✮✯ ✥✲ ✘✖❱✣✓✑✮✯ ✥✑✮ ✷✥ ✫✤✑✑✭ ✘❊ ✷✥✖✴✑✙ ✥❊✜✮❣ ✷✥ ✙✲★❊✲ ✘✮❋✲ ❡✮✯ ❊●✑ ✖❀✓✑ t✑✙✑ ✔✚ ✬✑✚❊

✩✈✔✮✯ ✬♦✓✲ ✘✵✥✑❊ ★✮ ✖❡✶✑ ✖❀✓✑ t✑✙✑ ✔✚✦ ✩★ ✘✮❋✲ ❡✮✯ ★✮ ✓✑❀ ❀✖♦✓✥ ✕✘ ★✮ ✷✥ ✘❱✲✣ ✖✭✥✑✶✲

t✑✙✲ ✔✚✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥ ✩★ ✘❱✲✣ ✘❊ 1 � ✜✮❣ ✬✖✙✖❊✺✙ ✜✹❣✓ ✬✑✚❊ ✬✯✖✥✙ ✔✑✮✢✑✆

36. 24 ✰✗✰ ✜✑✶✮ ✷✥ ✖❞✥✰✮ ❡✮✯ 6 ●✑❊✑✰ ✰✗✰ ✔✚✯✦ ✩★❡✮✯ ★✮ ✷✥ ✰✗✰ ✓✑❀❀✖♦✓✥ ✕✘ ★✮ ✖✭✥✑✶✑

t✑✙✑ ✔✚✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥ ✓✔ ✰✗✰ ●✑❊✑✰ ✭✔✲✯ ✔✑✮✢✑✆ ✓✖❀ ❱✹✭✑ ✔✹✬✑ ✰✗✰ ●✑❊✑✰

✔✚ ✬✑✚❊ ✩★✮ ✘✵✖✙✫✤✑✑✖✘✙ ✭✔✲✯ ✖✥✓✑ t✑✙✑ ✔✚ ✙✤✑✑ ❘✑✮✗✑ ✰✗✰✑✮✯ ❡✮✯ ★✮ ✷✥ ✬✈✓ ✰✗✰ ✓✑❀❀✖♦✓✥ ✕✘

★✮ ✖✭✥✑✶✑ t✑✙✑ ✔✚✛ ✙✑✮ ✩★✥✲ ✘✵✑✖✓✥✙✑ ✺✓✑ ✔✚ ✖✥ ✓✔ ❀✳★❊✑ ✰✗✰ ●✑❊✑✰ ✔✑✮✢✑✆

37. ✰♦❱✑✮✯ ✜✮❣ ✷✥ ●✑✮✶ ❡✮✯✛ 8 ✖✴✑✱✑✹t ✔✚✯✛ ✖t★❡✮✯ ★✮ 3 ✭✲✶✮ ✬✑✚❊ ❘✑✮✗✑ ✶✑✶ ✔✚✯✦ ★✑✤✑ ✔✲✛ ✩★ ●✑✮✶

❡✮✯ 10 ✜✢✣ ✔✚✯ ✖t★❡✮✯ ★✮ 6 ✭✲✶✮ ✔✚✯ ✬✑✚❊ ❘✑✮✗✑ ✶✑✶ ✔✚✯✦ ✩✭❡✮✯ ★✮ ✷✥ ❋✹✥❞❍✑ ✓✑❀❀✖♦✓✥ ✕✘ ★✮ ●✑✑✮

t✑✙✑ ✔✚✦ ✩★ ❋✹✥❞❍✮ ✜✮❣ ✖✭❢✭✖✶✖●✑✙ ✔✑✮✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷

(i) ✖✴✑✱✑✹t (ii) ✜✢✣ (iii) ✭✲✶✮ ❊✯✢ ✥✑ ✜✢✣

(iv) ✶✑✶ ❊✯✢ ✥✑ ✖✴✑✱✑✹t

38. ✷✥ ●✑✮✶ ❡✮✯ ✘✵✜✮❘✑ ❘✑✹✗✥ 5 � ✔✚✦ ✩★ ●✑✮✶ ❡✮✯ ✷✥ ✖★✺✜✮❣ ✥✑✮ ✙✲✭ ✰✑❊ ✸✓✑✶✑ t✑✙✑ ✔✚✦ ✓✖❀ ✷✥

✓✑ ❀✑✮ ✖❱✙ ✬✑✙✮ ✔✚✯✛ ✙✑✮ ❘✜✮✙✑ ✥✑✮ ✬✘✭✑ ✘✵✜✮❘✑ ❘✑✹✗✥ ✜✑✘★ ✖❡✶ t✑✙✑ ✔✚✦ ✓✖❀ ✜✔ ✙✲✭ ✖❱✙ ✘✵✑✚✙

✥❊✮✛ ✙✑✮ ✸★✥✑✮ ✬✘✭✮ ✘✵✜✮❘✑ ❘✑✹✗✥ ✥✑ ❀✹✢✹✭✑ ✘✵✑✚✙ ✔✑✮✙✑ ✔✚✛ ✬✈✓✤✑✑ ✜✔ ✘✵✜✮❘✑ ❘✑✹✗✥ ✥✲ ❊✑✖❘✑ ✔✑❊

t✑✙✲ ✔✚✦ ✷✥ ✖★✺✜✮❣ ✥✑✮ ✙✲✭ ✰✑❊ ✘✮✯❣✥✭✮ ✘❊✛ ✩★✥✲ ✘✵✑✖✓✥✙✑ ■✑✙ ✥✲✖t✷ ✖✥ ✜✔

(i) ✬✘✭✑ ✘✵✜✮❘✑ ❘✑✹✗✥ ✔✑❊ t✑✷✢✲✦

(ii) ✘✵✜✮❘✑ ❘✑✹✗✥ ✥✑ ❀✹✢✹✭✑ ✘✵✑✚✙ ✥❊✮✢✲✦

(iii) ✜✮❣✜✶ ✬✘✭✑ ✘✵✜✮❘✑ ❘✑✹✗✥ ✜✑✘★ ✘✵✑✚✙ ✥❊✮✢✲✦

39. ✷✥ ✘✑★✮ ✜✮❣ ✓❧ ✘❣✶✥✑✮✯ ✘❊ 0, 1, 1, 1, 6, 6 ✬✯✖✥✙ ✔✚✯✦ ✷✮★✮ ❀✑✮ ✘✑★✑✮ ✯ ✥✑✮ ✷✥ ★✑✤✑ ✘✮✯❣✥✑ t✑✙✑

✔✚ ✙✤✑✑ ✩✭ ✘❊ ✬✑✩✣ ★✯●✓✑✬✑✮✯ ✥✑ ✓✑✮✢ ✖✶●✑ ✖✶✓✑ t✑✙✑ ✔✚✦

(i) ✖✥✙✭✮ ✖✜✖✱✑✈✭ ✘✖❊❲✑✑❡ ★✯✱✑✜ ✔✚✯✆

(ii) ✓✑✮✢ 7 ✘✵✑✚✙ ✥❊✭✮ ✥✲ ✘✵✑✖✓✥✙✑ ✺✓✑ ✔✚✆

40. ✷✥ ★❡✳✔ ❡✮✯ 48 ❡✑✮✰✑✩✶ ✘❣✑✮✭ ✔✚✯✛ ✖t★❡✮✯ ★✮ 42 ✬♦✓✮ ✔✚✯✛ 3 ❡✮✯ ✤✑✑✮❞❍✲ ★✲ ●✑❊✑✰✲ ✔✚ ✙✤✑✑ 3

❡✮✯ ✰❞❍✲ ●✑❊✑✰✲ ✔✚✦ ✜✖✭✣✥✑ ✷✥ ❡✑✮✰✑✩✶ ✘❣✑✮✭ ✙✱✑✲ ●✑❊✲❀✮✢✲ t✰ ✜✔ ✬♦✓✑ ✔✑✮✛ ✘❊✯✙✹ ✙✓✑✘✑❊✲

✜✮❣✜✶ ✙✱✑✲ ❡✑✮✰✑✩✶ ●✑❊✲❀✮✢✑✛ ✓✖❀ ✩★❡✮✯ ✥✑✮✩✣ ✰❞❍✲ ●✑❊✑✰✲ ✭ ✔✑✮✦ ✩★ ★❡✳✔ ❡✮✯ ★✮ ✷✥ ✘❣✑✮✭

✓✑❀❀✖♦✓✥ ✕✘ ★✮ ❱✹✭✑ t✑✙✑ ✔✚✦ ✩★✥✲ ✘✵✑✖✓✥✙✑ ✺✓✑ ✔✚ ✖✥ ✓✔ ✘❣✑✮✭

(i) ✜✖✭✣✥✑ ✥✑✮ ✫✜✲✥✑❊ ✔✑✮✢✑✆

(ii) ✙✓✑✘✑❊✲ ✥✑✮ ✫✜✲✥✑❊ ✔✑✮✢✑✆
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41. ✷✥ ✤✑✚✶✮ ❡✮✯ 24 ✢✮✯❀ ✔✚✯ ✛ ✖t★❡✮✯ ★✮ x ✶✑✶✛ 2x ★✘✮❣❀ ✬✑✚❊ 3x ✭✲✶✲ ✔✚✯✦ ✷✥ ✢✮✯❀ ✓✑❀ ❀✖♦✓✥ ✕✘

★✮ ❱✹✭✲ t✑✙✲ ✔✚✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥ ✓✔ ✢✮✯❀

(i) ✶✑✶ ✭✔✲✯ ✔✑✮✆ (ii) ★✘✮❣❀ ✔✑✮✆

42. ✖✥★✲ ❡✮✶✮ ❡✮✯✛ ✷✥ ✘✮❋✲ ❡✮✯ ✪✩✩✩ ✜✹❣✓ ✥✑❞✣ ❊●✑ ✖❀✓✮ t✑✙✮ ✔✚✯✦ ✖t✭ ✘❊ 1 ★✮ 1000 ✙✥ ★✯●✓✑✷✕

✩★ ✘✵✥✑❊ ✬✯✖✥✙ ✔✚✯ ✖✥ ✷✥ ✥✑❞✣ ✘❊ ✷✥ ✔✲ ★✯●✓✑ ✬✯✖✥✙ ✔✚✦ ✘✵✥✓✮✥ ✖●✑✶✑❞❍✲ ✩★❡✮✯ ★✮

✓✑❀❀✖♦✓✥ ✕✘ ★✮ ✷✥ ✥✑❞✣ ✖✭✥✑✶✙✑ ✔✚ ✙✤✑✑ ✥✑❞✣ ✥✑✮ ✘✵✖✙✫✤✑✑✖✘✙ ✭✔✲✯ ✖✥✓✑ t✑✙✑ ✔✚✦ ✓✖❀

❱✹✭✮ ✔✹✷ ✥✑❞✣ ✘❊ 500 ★✮ ✰❞❍✑ ✷✥ ✘✳❲✑✣ ✜✢✣ ✬✑ t✑✓✮✛ ✙✑✮ ✸★ ✖●✑✶✑❞❍✲ ✥✑✮ ✷✥ ✘✹❊✫✥✑❊ ✖❀✓✑

t✑✙✑ ✔✚✦ ✩★✥✲ ✺✓✑ ✘✵✑✖✓✥✙✑ ✔✚ ✖✥

(i) ✘✔✶✮ ✖●✑✶✑❞❍✲ ✥✑✮ ✘✹❊✫✥✑❊ ✘✵✑✚✙ ✔✑✮✢✑✆

(ii) ❀✳★❊✮ ✖●✑✶✑❞❍✲ ✥✑✮ ✘✹❊✫✥✑❊ ✘✵✑✚✙ ✔✑✮✢✑✛ ✓✖❀ ✘✔✶✮ ✥✑✮ ✘✹❊✫✥✑❊ ✘✵✑✚✙ ✔✑✮ ❱✹✥✑ ✔✚✆

(E)  ❅♦♥✏✻ �✁✏✡♦❯ ✟✑❆✍

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 1: 1000 ✙✓✖✺✙✓✑✮✯✛ ✖t✭❡✮✯ ★✮ ✘✵✥✓✮✥ ✥✲ ✬✑✓✹ 20 ✜✗✑✣ ✓✑ ✸★★✮ ✬✖✒✑✥ ✔✚✛ ✥✑ ★✯❱✓✲

✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✧★✮ ✥❡ ✘✵✥✑❊ ✥✑✫ ✭✲❱✮ ✖❀✓✑ ✢✓✑ ✔✚❧

✠ ❄ ❁❚ ✾✏❯❈ 30 40 50 60 70 80

✎☛�✏✏ ✈❄ ❚❄❅✏

❖❯✡✭✽❯✏❄❅ ❁♦ 100 220 350 750 950 1000

✠ ❅☞❯✏

❡✑✒✓ ✬✑✓✹ ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷✦

❇✌ : ✘✔✶✮ ✔❡ ✖❀✓✮ ✔✹✷ ✬✑✕✥❞❍✑✮✯ ✥✑ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✰✭✑✙✮ ✔✚✯ ✬✑✚❊ ✖✘❣❊ ❡✑✒✓ ✘✖❊✥✖✶✙ ✥❊✭✮ ✜✮❣

✖✶✷✛ ✜✢✣ ✖❱♦ ✧x
i
✫✛ u

i
✬✑✚❊ f

i
u

i
✬✖✱✑✥✖✶✙ ✥❊✙✮ ✔✚✯✛ t✚★✑ ✖✥ ✭✲❱✮ ❀❘✑✑✣✓✑ ✢✓✑ ✔✚ ❧

☛✠✻ ❆✏✡ ❅❆✏✡✽✏ ☛✠✻ ✡☞♦
– 45

10

i

i

x
u = f

i
u

i

(f
i
) (x

i
)

20-30 100 25 –2 –200

30-40 120 35 –1 –120

40-50 130 45 0 0

50-60 400 55 1 400

60-70 200 65 2 400

70-80 50 75 3 150

1000if =� 630i if u =�



❧✆ �☎✁✂✞✄ ☎✆ ✆✝ ✐�✆☎✂✞✞✆ 179

✓✔✑✕ ✔❡✭✮ ✥✖✗✘✙ ❡✑✒✓ (a) = 45 ✖✶✓✑ ✔✚✦ ✓✔✑ ✕✛   h = ✜✢✣ ❡✑✘ ✧★✑✩t✫ = 10 ✔✚✦

★✳✴✑ ✥✑ ✘✵✓✑✮✢ ✥❊✭✮ ✘❊✛

❡✑✒✓ = x  = a + h
i i

i

f u

f

� �
� �
� �

�
�

= 45 + 10
630

1000

� �
� �� �

= 45 + 6.3  = 51.3

✩★ ✘✵✥✑❊ ❡✑✒✓ ✬✑✓✹ 51.3 ✜✗✑✣ ✔ ✚✦

✟ ✑✡✽❅❆✏✻ ✟ ✑❆✍ 2 : ✖✭❢✭✖✶✖●✑✙ ✰✯❋✭ ✥✑ ❡✑✒✓ 18 ✔✚✦ ✜✢✣ ✬✯✙❊✑✶ 19–21 ❡✮✯ ✰✑❊✯✰✑❊✙✑ f ✶✹✚✙ ✔✚✦

f ✖✭✒✑✑✣✖❊✙ ✥✲✖t✷✦

☛✠✻ ✾❅✽✡✏✌ 11-13 13-15 15-17 17-19 19-21 21-23 23-25

❆✏✡ ❅❆✏✡✽✏ 3 6 9 13 f 5 4

❇✌ ✥

☛✠✻ ❚✎❯❡�❆❅❈ ❆✏✡ ❅❆✏✡✽✏
✉

①
✐

✐= ✶✽

✷

f
i
u

i

✾❅✽✡✏✌ (x
i
) (f

i
)

11-13 12 3 –3 –9

13-15 14 6 –2 –12

15-17 16 9 –1 –9

17-19 18 13 0 0

19-21 20 f 1 f

21-23 22 5 2 10

23-25 24 4 3 12

 ❢ ❢✁ = +∑ ✹✵ ✂ ✄ ✂☎ ☎ = −∑ ✆

✬✑✩✷ ✥✖✗✘✙ ❡✑✒✓ (a) = 18 ✶✮✯✦ ✓✔✑✕ h = 2 ✔✚✦

✬✙❧✛ ❡✑✒✓ = x  = a + h
✝ ✞

✝

✟ ✟

✟

∑
∑










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= 18 + 2
  8

40  

f

f

� �−
� �+� �

✘❊✯✙✹            x = 18  ✧✖❀✓✑ ✔✚✫

✬✙❧✛ 18 = 18 + 
( )2   8

40  

f

f

−
+

✓✑   f = 8

✬✙❧✛ ✜✢✈ ✬✯✙❊✑✶ 19 – 21 ✥✲ ✰✑❊✯✰✑❊✙✑ 8 ✔✚✦

✟✑✡✽❅✁✏✻ ✟✑✁✍ 3 : ✭✲❱✮ ✖❀✓✮ ✔✹✷ ✰✯❋✭ ✥✑ ✉✑✒✓✥ 14.4 ✔✚✦ x ✬✑✚❊ y ✜✮❣ ✉✑✭ ✥✑✙ ✥✲✖t✷✛ ✓✖❀ ✜✹❣✶

✰✑❊✯✰✑❊✙✑ 20 ✔✚❧

☛✠✻ ✾❅✽✡✏✌ 0-6 6-12 12-18 18-24 24-30

❆✏✡ ❅❆✏✡✽✏ 4 x 5 y 1

❇✌ :

☛✠✻ ❆✏✡ ❅❆✏✡✽✏ ✠ ❅☞❧♦ ❆✏✡ ❅❆✏✡✽✏

✾❅✽✡✏✌

0-6 4 4

6-12 x 4 + x

12-18 5 9 + x

18-24 y 9 + x + y

24-30 1 10 + x + y

✓✔ ✖❀✓✑ ✔✚ ✖✥ n = 20 ✔✚✦

✬✙❧✛ 10 + x + y = 20, ✬✂✑✑✈✙✥✛ x + y = 10 ...(1)

✓✔ ❀✑✲ ✖❀✓✑ ✔✹✬✑ ✔✚ ✖✥ ✉✑✒✓✥ = 14.4 ✔✚, t✑✮

✜✢✈ ✬✯✙❊✑✶ 12–18 ✉✮✯ ✖✫✂✑✙ ✔✚✦
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✬✙❧✛ l = 12,  f = 5, cf = 4 + x, h = 6

✉✑✒✓✥ =  

  cf
2

n

l h
f

� �−� �
+ � �
� �
� �

 ✥✑ ✘✵✓✑✮✢ ✥❊✭✮ ✘❊✛ ✔✉✮✯ ✘✵✑✚✙ ✔✑✮✙✑ ✔✚❧

14.4 = 
10  (4  )

12 6
5

− +� �+ ×� �� �

x

✓✑ x = 4 ...(2)

✬✰✛ ✧1✫ ✬✑✚❊ ✧2✫ ✮✮✛ ✔✉✮✯ y = 6 ✘✵✑✚✙ ✔✑✮✙✑ ✔✚✦

 ✲✶✐✸✐✯�✴ 13.4

1. ✖✭❢✭✖✶✖●✑✙ ✰✯❋✭ ✜✮❣ ✖✶✷✛ ✉✑✒✓ ✘✵✑✚✙✑✯✥ ✥✑✙ ✥✲✖t✷❧

✟ ✑✏✐✽✏❅❁ ✡☛❢✏✡☎✏✻❧✏❄❅ ❁♦ ✠ ❅☞❧✏

0 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 80

10 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 77

20 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 72

30 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 65

40 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 55

50 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 43

60 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 28

70 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 16

80 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 10

90 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 8

100 ✬✑✚❊ ✸✮✮✮ ✬✖✒✑✥ 0
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2. ✖✭❢✭✖✶✖●✑✙ ✰✯❋✭ ✥✑ ✉✑✒✓ ✖✭✒✑✑✈✖❊✙ ✥✲✖t✷❧

✟ ✑✏✐✽✏❅❁ ✡☛❢✏✡☎✏✻❧✏❄❅ ❁♦ ✠ ❅☞❧✏

10 ✮✮ ✥✉ 5

20 ✮✮ ✥✉ 9

30 ✮✮ ✥✉ 17

40 ✮✮ ✥✉ 29

50 ✮✮ ✥✉ 45

60 ✮✮ ✥✉ 60

70 ✮✮ ✥✉ 70

80 ✮✮ ✥✉ 78

90 ✮✮ ✥✉ 83

100 ✮✮ ✥✉ 85

3. ✖✭❢✭✖✶✖●✑✙ ✬✑✕✥❞❍✑✮✯ ✮✮ ✷✥ ❘✑✔❊ ✜✮❣ 100 ✖✭✜✑✖✮✓✑✮✯ ✥✲ ✉✑✒✓ ✬✑✓✹ ✥✑✙ ✥✲✖t✷❧

✾✏❧❈ ❆✡✏❆✡ ✾✏ ✒✡

♠✠✠ ❄ ✾✡✎✏❁ 0 10 20 30 40 50 60 70

✭☛�✏✏ ✈❄ ❚❄❅✏

❖❧✡✭✽❧✏❄❅ ❁♦

✠ ❅☞❧✏
100 90 75 50 25 15 5 0

4. 70 ✘✚✜✮❣❋✑✮✯ ✉✮✯ ❱✑✓ ✜✮❣ ❀✑✑❊ ✭✲❱✮ ❀✲ ✮✑❊❲✑✲ ✉✮✯ ❀❘✑✑✈✷ ✢✓✮ ✔✚✯❧

❍✏✏✡ ✭✠ ✑✏❚ ❚❄❅✏ ✟ ✒☛❄✂☛✏❄❅ ❁♦ ✠ ❅☞❧✏

     200-201 13

     201-202 27

     202-203 18

     203-204 10

     204-205 1

     205-206 1

❜✭ ✘✚✜✮❣❋✑✮✯ ✥✑ ✉✑✒✓ ❀✑✑❊ ✥✑✙ ✥✲✖t✷✦

5. ✸✘❊✑✮✺✙ ✘✵❘✭ 4 ✥✑ ✮✯❀❀✑✈ ✶✲✖t✷✦ ❜✭ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷✛ ❨✮✮ ✥✉ ✘✵✥✑❊❩ ✥✑ ✙✑✮❊❲✑ ●✑✲✯✖❱✷ ✙✂✑✑

❜✮✥✑ ✘✵✓✑✮✢ ✉✑✒✓✥ ❀✑✑❊ ✥✑✙ ✥❊✭✮ ✉✮✯ ✥✲✖t✷✦
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6. ✸✘❊✑✮✺✙ ✘✵❘✭ 4 ✥✑ ✮✯❀❀✑✈ ✶✲✖t✷✦ ❜✭ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷✛ ❨✮✮ ✥✉ ✘✵✥✑❊❩ ✬✑✚❊ ❨✮✮ ✬✖✒✑✥ ✘✵✥✑❊❩

✜✮❣ ✙✑✮❊❲✑ ●✑✲✯✖❱✷ ✙✂✑✑ ❜✭✥✑ ✉✑✒✓✥ ❀✑✑❊ ✥✑✙ ✥❊✭✮ ✉✮✯ ✘✵✓✑✮✢ ✥✲✖t✷✦

7. ✭✲❱✮ ❀✲ ✮✑❊❲✑✲ 280 ✙✓✖✺✙✓✑✮✯ ✜✮❣ ✜✮✙✭ ❀❘✑✑✈✙✲ ✔✚❧

☛❄✽✍ ❖❧✡✭✽❧✏❄❅ ❁♦ ✠ ❅☞❧✏

✭❇♥✏✡ ✭✟❧✏❄❅ ❚❄❅✏

  5-10 49

10-15 133

15-20 63

20-25 15

25-30 6

30-35 7

35-40 4

40-45 2

45-50 1

❜✭ ✬✑✕✥❞❍✑✮✯ ✥✑ ✉✑✒✓✥ ✬✑✚❊ ✰✔✹✶✥ ✥✑✙ ✥✲✖t✷✦

8. ✖✭❢✭✖✶✖●✑✙ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✥✑ ✉✑✒✓ 50 ✔✚✛ ✘❊✯✙✹ 20 – 40 ✬✑✚❊ 60 – 80 ✜✢✑❙✮ ✥✲ ✰✑❊✯✰✑❊✙✑✷✕ ◗✉❘✑❧

f
1
✬✑✚❊ f

2
✥✑✙ ✭✔✲✯ ✔✚✯✦ ✓✮ ✰✑❊✯✰✑❊✙✑✷✕ ✥✑✙ ✥✲✖t✷✛ ✓✖❀ ✮❀✑✲ ✰✑❊✯✰✑❊✙✑✬✑✮✯ ✥✑ ✓✑✮✢ 120 ✔✚✦

☛✠✻ 0-20 20-40 40-60 60-80 80-100

❆✏✡ ❅❆✏✡✽✏ 17 f
1

32 f
2

19

9. ✖✭❢✭✖✶✖●✑✙ ✬✑✕✥❞❍✑✮✯ ✥✑ ✉✑✒✓✥ 50 ✔✚✦ ✓✖❀ ✮❀✑✲ ✰✑❊✯✰✑❊✙✑✬✑✮✯ ✥✑ ✓✑✮✢ 90 ✔✚✛ ✙✑✮ p ✬✑✚❊ q

✜✮❣ ✉✑✭ ✥✑✙ ✥✲✖t✷✦

✟ ✑✏✐✽✏❅❁ ❆✏✡ ❅❆✏✡✽✏

20-30 p

30-40 15

40-50 25

50-60 20

60-70 q

70-80 8

80-90 10
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10. 96 ✰♦❱✑✮✯ ✥✲ ✶✯✰✑❜✓✑✮✯ ✧✂✕❱✑❜✓✑✮✯✫ ✧cm ✉✮✯✫ ✥✑ ✰✯❋✭ ✭✲❱✮ ✖❀✓✑ ✢✓✑ ✔✚❧

✌❅❆✏✄✻ ✭cm ❚❄❅✏ ❆❝☞✏❄❅ ❁♦ ✠ ❅☞❧✏

124-128 5

128-132 8

132-136 17

136-140 24

140-144 16

144-148 12

148-152 6

152-156 4

156-160 3

160-164 1

❜✭ ✬✑✕✥❞❍✑✮✯ ✜✮❣ ✖✶✷✛ ❨✮✮ ✥✉ ✘✵✥✑❊❩ ✥✲ ✮✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✜◗ ●✑✲✯✖❱✷ ✬✑✚❊ ❜✮✥✑ ✰♦❱✑✮✯ ✥✲

✉✑✒✓✥ ✶✯✰✑❜✈ ✥✑✙ ✥❊✭✮ ✉✮✯ ✘✵✓✑✮✢ ✥✲✖t✷✦

11. ✷✥ ✮✜ ✈✮ ✜✮❣ ⑥✑❊✑ 200 ✘✖❊✜✑❊✑✮✯ ✜✮❣ ❉✖✗✑ ✓✑✮❢✓ ❀✑✳✖✉ ❳ ✫✜✑✖✉✥✜ ✮✑❜t ✭✲❱✮ ✮✑❊❲✑✲ ✉✮✯

✖❀✓✮ ✔✚✯ ❧

✼✡�✏ ❧✏❄Ñ❧ ❍✏ �✡❚ ✟✡✡☛✏✡✏❄❅ ❁♦ ✠ ❅☞❧✏

▲☛✏✡❚✐☛ ❁✏ ✠✏✄♥ ✭ha ❚❄❅✏

0-5 10

5-10 15

10-15 30

15-20 80

20-25 40

25-30 20

30-35 5

❜✭ ❀✑✳✖✉❳✫✜✑✖✉✥✜✑✮✯ ✜✮❣ ✉✑✒✓✥ ✬✑✚❊ ✰✔✹✶✥ ✮✑❜t ✥✑✙ ✥✲✖t✷✦
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12. ✖✥✮✲ ❘✑✔❊ ✉✮✯ ✷✥ ✜✗✑✈ ✜✮❣ 66 ✖❀✭ ✥✲ ✜✗✑✑✈ ✥✑ ✖❊✥✑❞✈ ✭✲❱✮ ✮✑❊❲✑✲ ✉✮✯ ✖❀✓✑ ✢✓✑ ✔✚ ❧

☛�✏✏✻

✭cm ❚❄❅✏ 0-10 10-20 20-30 30-40 40-50 50-60

✡❅✍✏❄❅ ❁♦

✠ ❅☞❧✏ 22 10 8 15 5 6

❨✮✮ ✥✉ ✘✵✥✑❊❩ ✬✑ ✚❊ ❨✮✮ ✬✖✒✑✥ ✘✵✥✑❊ ✜✮❣❩ ✙✑✮❊❲✑✑✮✯ ✥✑ ✘✵✓✑✮✢ ✥❊✜✮❣ ✉✑✒✓✥ ✜✗✑✑✈ ✘✖❊✥✖✶✙

✥✲✖t✷✦

13. ✖✥✮✲ ✉✑✮✰✑❜✶ ✘❣✑✮✭ ✘❊ ✖✥✓✮ ✢✓✮ ✥✑ ❞✶✑✮✯ ✜✮❣ ✮✉✓❳✥✑✶ ✥✑ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✭✲❱✮ ✖❀✓✑ ✢✓✑ ✔✚❧

✠❚❧ ❁✏✌ ✭✠ ❄☛❅✂❂✏❄❅ ❚❄❅✏ ❁✏ ❞✌✏❄❅ ❁♦ ✠ ❅☞❧✏

95-125 14

125-155 22

155-185 28

185-215 21

215-245 15

❜✭ ✥✑ ❞✶✑✮✯ ✥✑ ✬✑✚✮✙ ✮✉✓ ✥✑✶ ✧✮✮✜✯❣❞✑✮✯ ✉✮✯✫ ✘✖❊✥✖✶✙ ✥✲✖t✷ ✙✂✑✑ ✮✑✂✑ ✔✲ ✮✯❱✓✲ ✰✑❊✯✰✑❊✙✑

✜◗ ✮✮ ✉✑✒✓✥ ❀✑✲ ✥✑✙ ✥✲✖t✷✦

14. ✷✥ ✫✜✳❣✶ ✜✮❣ 50 ✖✜✁✑✖✂✑ ✈✓✑✮✯ ✭✮ ❀✑✑✶✑ ✘✮✯❣✥ ✘✵✖✙✓✑✮✖✢✙✑ ✉✮✯ ❀✑✑✢ ✖✶✓✑✦ ✘✮✯❣✥✲ ✢✓✲ ❀✳✖❊✓✑✕ ✧✉✲❋❊

✉✮✯✫ ✭✲❱✮ ❀✲ ✢❜ ✈ ✔✚✯❧

❅�✡♦

✭m ❚❄❅✏ 0-20 20-40 40-60 60-80 80-100

✡☛❢✏✡☎✏✻❧✏❄❅ ❁♦

✠ ❅☞❧✏ 6 11 17 12 4

(i) ✷✥ ✮✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✰✯❋✭ ✮✑❊❲✑✲ ✥✲ ❊❱✭✑ ✥✲✖t✷✦

(ii) ❨✮✮ ✥✉ ✘✵✥✑❊ ✥✲❩ ✷✥ ✮✯❱✓✲ ✰✑❊✯✰✑❊✙✑ ✜◗ ●✑✲✯✖❱✷ ✬✑✚❊ ❜✮✮✮ ✘✮ ✯❣✥✲ ✢✓✲ ✉✑✒✓✥ ❀✳❊✲

✥✑✙ ✥✲✖t✷✦

(iii) ✉✑✒✓✥ ✜✮❣ ✮ ✳✴✑ ✥✑ ✘✵✓✑✮✢ ✥❊✙✮ ✔✹✷✛ ✉✑✒✓✥ ❀✳❊✲ ✥✑✙ ✥✲✖t✷✦

(iv) ✺✓✑ ✂✘❊ (ii) ✬✑✚❊ (iii) ✉✮ ✯ ✘✵✑✚✙ ✖✥✓✮ ✢✓✮ ✉✑✒✓✥ ✰❊✑✰❊ ✔✚✯✆



✐�✁✂✄☎✆✝ 1.1

1. (C) 2. (D) 3. (C) 4. (B) 5. (A)

6. (B) 7. (C) 8. (A) 9. (D) 10. (D)

✐�✁✂✄☎✆✝  1.2

1. ✉✞✟✠✡ ☛☞✌✍✠✎✏ ✑✏ ✒✓✔✌✌✕✏ ✏✌✍ 4q, 4q+1, 4q+2, 4q+3 ♦✍✖ ✗✒ ✘✍✠ ✎✙✚✌✌ ✛✌ ✜✏✢✌ ✞✣✤

2. ✜❧☞✡ ☛☞✌✍ ✠✎✏ n (n+1) ✜✥✣♦ ✜✘ ✞✣✡ ♣✓→✎✏ n ☞✌ (n + 1) ✘✍✠ ✜✍ ✑✏ ✜✘ ✞✌✍✉✌ ♣✌✎✞✑✤

3. ✜❧☞✡ ☛☞✌✍✠✎✏ n (n+1) (n+2) ✜✥✣♦ ✦ ✜✍ ✎♦✧✌✌★☞ ✞✌✍✩✌✡ ♣✓→✎✏ ✪✉ ✩✫✔✌✉✚✌✠✬✌✍✠ ✘✍✠ ✭☞✓✉✢✘ ✑✏ ✮

✜✍ ✎♦✧✌✌★☞ ✞✌✍✩✌ ✢✯✌✌ ✭☞✓✉✢✘ ✑✏ ✩✫✔✌✉✚✌✠✬ ✰ ✜✍ ✎♦✧✌✌★☞ ✞✌✍✩✌✤

4. ✉✞✟✠✤ ☛☞✌✍✠✎✏ ✎✏✜✟ ✧✌✟ ✒✓✔✌✌✕✏ ✏✌✍ 3q, 3q+1, 3q+2 ♦✍✖ ✗✒ ✘✍✠ ✎✙✚✌✌ ✛✌ ✜✏✢✌ ✞✣✡ ✪✜✎✙✑ ♦✩❩

9q2 = 3m, 9q2 + 6q + 1 = 3 (3q2 + 2q) + 1 = 3m + 1, 9q2 + 12q + 3 + 1 = 3m + 1 ✞✌✍✩✌✤

5. ✉✞✟✠✤ (3q + 1)2 = 9q2 + 6q + 1 = 3 (3q2 + 2q) = 3m + 1

6. HCF = 75, ☛☞✌✍✠✎✏ HCF ✜✱✜✍ ✱✬✲✌ ✜✌♦❩✩✫✔✌✉✚✌✠✬ ✞✌✍✢✌ ✞✣✤

7. 3×5×7+7 = 7 (3×5 + 1) = 7 (16), ✎✛✜♦✍✖ ✥✌✍ ✜✍ ❢✎✳✏ ✩✫✔✌✉✚✌✠✬ ✞✣✠✤

8. ✉✞✟✠✡ ☛☞✌✍✠✎✏ HCF (18) , LCM (380) ✏✌✍ ✎♦✧✌✌✎✛✢ ✉✞✟✠ ✏❞✢✌ ✞✣✤

9. ✜✌✠✢ ✥✴✌✘✙♦ ✒✵✜✌❞✡ ☛☞✌✍✠✎✏ 
3 2987 47

500 5 2
10500 500

✶ ✶ ✷❢✌✣❞

♠✸✹✺✻✹✼✹
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7. 31, 
–5

7
8. x = 1, y = 4

9. (i) x = 1.2,  y = 2.1 (ii) x = 6,  y = 8 (iii) x = 3, y = 2

(iv) x = 
1

6
,  y = 

1

4
(v) x = 1,  y = –1 (vi) x = a2, y = b2

(vii) x = 
1

2
,  y = 

–3

2

10. x = 340, y = –165; 
1

–
2

11. (i) ✜✠✩✢; x = –1, y = –1 (ii) ❢✜✠✩✢

(iii) ✜✠✩✢✤ ✪✜✏✌ ✞✙ y = 3–x ✜✍ ✎✥☞✌ ✛✌✢✌ ✞✣ ✛✞✌→ x ✏✌ ✏✌✍✪❩ ✧✌✟ ✘✌✉ ✞✌✍ ✜✏✢✌ ✞✣✤ ❢✯✌✌❩✢❞

☞✞✌→ ❢✒✎❞✎✘✢ ✗✒ ✜✍ ❢✉✍✏ ✞✙ ✞✣✠✤

12.  (2,0), (0, 4), (0, –4); 8 ♦✩❩ ✪✏✌✪❩ 13. x = y; ❢✒✎❞✎✘✢ ✗✒ ✜✍ ❢✉✍✏ ❞✍✚✌✌✑→

14.  a = 5, b = 2 15. 55º, 85º

16. ✜✙✟✘ ✏✟ ❢✌☞✫ = 38 ♦♦✌❩✡ ✒✫✆✌✟ ✏✟ ❢✌☞✫ = 14 ♦♦✌❩

17.  40 ♦♦✌❩ 18. 40, 48 19. ✞✌✙ A ✘✍✠ 100 ✎♦❢✌✯✌✟❩✡ ✞✌✙ B ✘✍✠ ❡✝ ✎♦❢✌✯✌✟❩

20. 10 ★✡ 3 ★ 21. 100

22. x = 20, y = 30, A =130º, B=100º,  C= 50º,  D=80º 

✐�✁✂✄☎✆✝  3.4

1. x = 1, y = 4; 4:1 2. (0, 0), (4, 4), (6, 2) 3. 8 ♦✩❩ ✪✏✌✪❩

4. 4x + 4y = 100,3x = y + 15, ✛✞✌→ x ★ ❢✌✣❞  y ★ ✞✘✴✌✟ ✑✏ ✒✍✉ ❢✌✣❞ ✒✍✠✎✜✙ ✱✌☛✜ ♦✍✖ ✘✓✠☞

✞✣✠; 10 ★✡ 15 ★

5. (1, 0), (2, 3), (4, 2) 6. 10 km/h, 40 km/h

7. 2.5 km/h 8. 10 km/h, 4 km/h 9. 83

10. 2500 ★✡  30 ★ 11. 600 ★✡  400 ★

12. 12000 ★ ☞✌✍✛✉✌ A ✘✍✠, 10000 ★ ☞✌✍✛✉✌  B ✘✍✠ 13. 500
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4. – 1, 15, 31a b c 5.   3, 7, 11, 15, ... 6.  
1

– , 27
5

d n

7. 1, 6, 11, 16, ... 8. 126 10. ✞✌→, 17♦✌→ ✒✥ 11. k = 0

12. 67, 69, 71 13. 40º, 60º, 80º

14. 16♦✌→ ✒✥; –21 15. –1 16. –78 17. 12♦✌→ ✒✥

18. 73 19. 3 20. n = 6, d = 10

21. (i)  –9400  (ii)  
7 – 1

2

n
 (iii)  

11 11 – 6a b

a b
22. 16♦✌→ ✒✥; –632

23. –780 24. 5, 13, 21, ... 25. k = 27 27. –510

28. 100 29. 330 30. 1170 31. 504

32. n = 5, 11 33. 11 34. 800 ★ 35. 25 ✘✞✟✉✍

✐�✁✂✄☎✆✝ 5.4

1. 970 2. (i) 12250  (ii) 12750 (iii) 75250

3. 3 4. 3, 7, 11, 15, ... 5. (i) 1683 (ii) 13167

6. 1:3;   5:49 8. 50 9. 3900 ★✡    44500★

10. 728 m; 26 m.

✐�✁✂✄☎✆✝ 6.1

1. (C) 2. (B) 3. (C) 4. (A) 5. (D)

6. (B) 7. (B) 8. (A) 9. (B) 10. (C)

11. (A) 12. (C)

✐�✁✂✄☎✆✝ 6.2

1. ✉✞✟✠; 2 2 2
25 5 24 2.  ✉✞✟✠; D = R F  P� � � ✁ �✒❞✢✠ ✫

3. ✞✌→✡ ☛☞✌✍✠✎✏ 
PA PB

QA BR ✞✣✤ 4.  ✞✌→✡ SAS ✏✜✌✣❞✟✤

5. ✉✞✟✠; ☎QPR ~ ☎STM 6.  ✉✞✟✠; ✜✠✩✢ ✧✌ ✫✛✌✑→ ✜✘✌✉✫✒✌✢✟ ✧✌✟ ✞✌✍✉✟ ♣✌✎✞✑✤

7. ✞✌→✡ ☛☞✌✍✠✎✏ ✥✌✍ ✜✠✩✢ ✧✌✫✛✌✑→ ❢✌✣❞ ✒✎❞✘✌✒ ✱❞✌✱❞ ✞✣✠✡ ✪✉✏✟ ✢✟✜❞✟ ✧✌✫✛✌✑→ ✧✌✟ ✱❞✌✱❞ ✞✌✍✉✟ ♣✌✎✞✑✤
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✐�✁✂✄☎✆✝ 10.2

1. ✜❧☞ 2. ❢✜❧☞ 3. ❢✜❧☞ 4. ✜❧☞

✐�✁✂✄☎✆✝  10.3

2. ✞✌→

✐�✁✂✄☎✆✝  10.4

1. 3.25 cm 2. ✞✌→, ✞✌→ 3. 4 cm 6. 8 cm 7. ✉✞✟✠

✐�✁✂✄☎✆✝  11.1

1. (B) 2. (A) 3. (B) 4. (A) 5. (B)

6. (A) 7. (D) 8. (B) 9. (C) 10. (D)

✐�✁✂✄☎✆✝  11.2

1. ✉✞✟✠✡ ♦ ✉✞✌ ✏✟ ✎✆✌★☞✌  
2

a
✞✣✤

2. ✞✌→✡ ♦✩❩ ✏✟ ✧✌✫✛✌ 2a cm ✞✣✤

3. ✉✞✟✠✡ ✱✌✞❞✟ ♦✩❩ ✏✟ ✧✌✫✛✌  = ❢✌✠✢✎❞✏ ♦✩❩ ✏✌ ✎♦✏✔✌❩

4. ✉✞✟✠✡ ☞✞ ♦✍✖♦✙ ✙✟✌✫ ♦ ✉✞✌✚✌✠✬ ♦✍✖ ✎✙✑ ✜❧☞ ✞✣✤

5. ✉✞✟✠ ☞✞ ✠d ✞✣✤

6. ✞✌→✡ ✑✏ ♣☛✏❞ ✘✍✠ ✢☞ ✏✟ ✩✪❩ ✥✓❞✟ = 2✠ r ✞✣✤

7. ✉✞✟✠✡ ☞✞ ✎✆✌★☞✌ ♦✍✖ ✘✌✉ ✒❞ ✎✉✧✌❩❞ ✞✌✍✩✌✤

8. ✞✌→✡ ☞✞ ✑✏ ✞✟ ♦ ✉✞✌ ♦✖✟ ♣✌✒✌✍✠ ♦✍✖ ✎✙✑ ✜❧☞ ✞✌✍✩✌✤

9. ✉✞✟✠✡ ☞✞ ✑✏ ✞✟ ♦ ✉✞✌ ♦✖✟ ♣✌✒✌✍✠ ♦✍✖ ✎✙✑ ✜❧☞ ✞✌✍✩✌✤

10. ✉✞✟✠✡ ☞✞ ✑✏ ✞✟ ♦ ✉✞✌ ♦✖✟ ♣✌✒✌✍✠ ♦✍✖ ✎✙✑ ✜❧☞ ✞✌✍✩✌✤

11. ✞✌→✡ ♦ ✉✞✌ ✏✟ ✎✆✌★☞✌ ❢✌☞✢ ✏✟ ♣✌✣✬✲✌✪❩ ✞✣✤

12. ✞✌→✡ ✪✉✏✟ ✎✆✌★☞✌✑→ ✱❞✌✱❞ ✞✣✠✤

13. ✞✌→✡ ✪✉✏✟ ✎✆✌★☞✌✑→ ✱❞✌✱❞ ✞✣✠✤

14. ✉✞✟✠✡ ♦✩❩ ✏✌ ✎♦✏✔✌❩ p cm ✞✣✤
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✐�✁✂✄☎✆✝  12.2

1. ❢✜❧☞ 2. ❢✜❧☞ 3. ❢✜❧☞ 4. ❢✜❧☞ 5. ❢✜❧☞

6. ✜❧☞ 7. ❢✜❧☞ 8. ✜❧☞

✐�✁✂✄☎✆✝  12.3

1. 6 cm 2. 84 3. 15 cm 4. 7:1 5. 160 cm2

6. 277 cm3 7. 855 cm2  (✙✩✧✌✩ )

8. 14 cm, 7 cm; 132 cm3, 66 cm3; 396 cm3 9. 327.4 cm3

10. 150 11. 1500 12. 2541 13. 12960 14. 450

✐�✁✂✄☎✆✝  12.4

1. 28.44 cm 2. 8.6 m 3. 3960 cm3, 29.7 kg 4. 480000 ✴✌✬✥

5. 51 ✎✘✉❞ 12 ✜✍✏✠✬ 6. 74.25m3,80.61 m2 7. 2250 ★

8. 2 ✟✌✠❞✍   9.  112 m    10. 0.5 cm 11. 487.6 cm3

12. 230.12 ★ 13.  36 cm, 43.27 cm 14. 301.44 cm2, 377.1 cm3

15. 4 m 16. 54 17. 1.584 m3

18. 90 cm 19. 2.5 cm 20.170.8 cm3

✐�✁✂✄☎✆✝  13.1

1. (C) 2. (B) 3. (A) 4. (C) 5. (B)

6. (B) 7. (B) 8. (C) 9. (C) 10. (C)

11. (A) 12. (D) 13. (D) 14. (A) 15. (C)

16. (B) 17. (C) 18. (A) 19. (A) 20. (A)

21. (D) 22. (B) 23. (C) 24. (A) 25. (C)

26. (B)

✐�✁✂✄☎✆✝  13.2

1. ✜✥✣♦ ✉✞✟✠✡ ☛☞✌✍✠✎✏ ♦✩✟❩♦ ✉✖✢ ❢✌→✏✬✲✌✍✠ ✏✌ ✘✌❧☞✏ ✒✎❞✏✎✙✢ ✏❞✢✍ ✜✘☞✡ ☞✞ ✏✠✒✉✌ ✏✟ ✛✌✢✟

✞✣ ✎✏ ♦✩✌ ✕✍ ✘✍✠ ✒✵✍❣✌✔✌ ✑✏✗✒✢✌ ✜✍ ✎♦✢✎❞✢ ✞✌✍✢✍ ✞✣✠ �❢✯✌✌❩✢❞ ✜✘✥✓❞✁✯✌ ✞✣✠✂✤

2. ❢✌♦✴☞✏ ✉✞✟✠✤ ❢✌→✏✬✲✌✍✠ ✏✌ ✘✌❧☞ a �✏✎✠✒✢ ✘✌❧☞✂ ♦✍✖ ♣✫✉✌♦ ✒❞ ✎✉✧✌❩❞ ✉✞✟✠ ✏❞✢✌✤

3. ✉✞✟✠✡ ☞✞ ✜✥✣♦ ✉✞✟✠ ✞✌✍✢✌ ✞✣✤ ✪✉ ✢✟✉✌✍✠ ♦✍✖ ✘✌✒✏ ✜✘✌✉ ✞✌✍ ✜✏✢✍ ✞✣✠✡ ✒❞✠✢✫ ☞✞ ❢✌→✏✬✲✌✍ ✠ ✒❞ ✎✉✧✌❩❞

✏❞✢✌ ✞✣✤
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4. ✜✥✣♦ ✉✞✟✠✤ ☞✞ ❢✌→✏✬✲✌✍ ✠ ✒❞ ✎✉✧✌❩❞ ✏❞✢✌ ✞✣✤

5. ✉✞✟✠✡ ✒✎❞✔✌✌✘ ✜✘✒✵✌✎☞✏ ✉✞✟✠ ✞✣✠✤ ✉✥✌✞❞✔✌✌✯✌❩✡ ✒✎❞✔✌✌✘ �✑✏ ✙✬✲✏✟✁ ✏✌ ❢✯✌❩ gbb, bgb, bbg

✞✣✡ �✢✟✉ ✙✬✲✎✏☞✌✍✠ ✏✌ ❢✯✌❩✁ ggg ✞✣✡ ✪❧☞✌✎✥✤

6. ✉✞✟✠✤ ✒✎❞✔✌✌✘ ✜✘✒✵✌✎☞✏ ✉✞✟✠ ✞✣✤ ❢✭☞ ✏✟ ✢✫✙✉✌ ✘✍✠ ✰ ♦✍✖ ❢✌✉✍ ✏✟ ❢✎✳✏ ✜✠✧✌✌♦✉✌ ✞✣✤

7. ✒✟✞✓✤ ❢✒✓♦❩ ✐✌❞✌ ✰✦ ✒✵✌✂✢ ✏❞✉✍ ✏✟ ✒✵✌✎☞✏✢✌
1

36
 ✡ ✛✱✎✏ ✒✟✞✓ ✐✌❞✌ ✰✦ ✒✵✌✂✢ ✏❞✉✍ ✏✟

✒✵✌✎☞✏✢✌
1 6

6 36
 ✞✣✤

8. ✞✌→✡ ✒✵❧☞✍✏ ✒✎❞✔✌✌✘ ✏✟ ✒✵✌✎☞✏✢✌ 
1

2
 ✞✣✡ ☛☞✌✍✠ ✎✏ ✥✌✍✉✌✍ ✠ ✒✎❞✔✌✌✘ ✜✘✒✵✌✎☞✏ ✞✣✤

9. ✉✞✟✠✡ ✒✎❞✔✌✌✘ ‘1’ ❢✌✣❞ ‘1 ✉✞✟✠’ ✜✘✒✵✌✎☞✏ ✉✞✟✠ ✞✣✠✤
1 5

(1) , (1 )
6 6

p p ✄☎❤❛  ✞✣✤

10. ✉✞✟✠✡ ✒✎❞✔✌✌✘ ✜✘✒✵✌✎☞✏ ✉✞✟✠ ✞✣✠ ✤ ✒✎❞✔✌✌✘ �✏✌✍✪❩ ✎♣✢ ✉✞✟✠✁ ✏✌ ❢✯✌❩ ‘TTT’ ✞✣; ✒✎❞✔✌✌✘ �✑✏

✎♣✢✁ ✏✌ ❢✯✌❩  THT, HTT, TTH ✞✣✡ ✪❧☞✌✎✥✤ P (TTT) = 
1

8
, P (✑✏ ✎♣✢) = 

3

8
 ✪❧☞✌✎✥✤

11. ✉✞✟✠✡ ✒✎❞✔✌✌✘ �✎♣✢✁ ❢✌✣❞ �✒❞✁ ✒✵❧☞✍✏ ✱✌❞ ✜✘✒✵✌✎☞✏ ✞✣✡♣✌✞✍ ❢✌✒ ♦✫✖✆ ✉✆✌✙✌✍✠ ✘✍✠ ♦✫✖✆ ✧✌✟ ✒✵✌✂✢

✏❞✍✠✤

12. ☞✞ ✎♣✢ ☞✌ ✒❞ ♦✫✖✆ ✧✌✟ ✞✌✍ ✜✏✢✌ ✞✣✡ ☛☞✌✍✠ ✎✏ ✒✵❧☞✍✏ ✉✆✌✙ ✘✍✠ ☞✍ ✒✎❞✔✌✌✘ ✜✘✒✵✌✎☞✏ ✞✣✠✤

13. ✉✞✟✠✡ ✎♣✢ ❢✌✣❞ ✒❞ ✜✘✒✵✌✎☞✏ ✞✣✠✤ ✪✜✎✙✑✡ ♣✌✣✯✌✟ ✉✆✌✙ ✘✍✠ ✎♣✢ ♦✍✖ ❢✌✉✍ ✏✟ ❢✎✳✏ ✜✠✧✌✌♦✉✌

✞✌✍✉✍ ✏✌ ✒✵✴✉ ✞✟ ✉✞✟✠ ✉❣✢✌✤

14. ✞✌→✤ ✎♦♣✌❞ ✏✟ ✩✪❩ ✎✁✯✌✎✢ ✘✍✠✡ ✒✎❞✔✌✌✘ �✎♦♦✌✘ ✜✠✚☞✌✁ ❢✌✣❞ �✜✘ ✜✠✚☞✌✁ ✜✘✒✵✌✎☞✏ ✞✣✠✤

✐�✁✂✄☎✆✝  13.3

 1.  5.5 2. 35 3. 12.93 4. 26 5. 356.5 ★

 6.  109. 92 7. 123.4 kg 8. 14.48 km/L; ✉✞✟✠✡ ✎✉✘✌❩✢✌ ❢✌✣✜✢ ✘✌✪✙✍✛ ✜✍

   1.52 km/h ❢✎✳✏ ✘✌✪✙✍✛ ✏✌ ✥✌♦✌ ✏❞ ❞✞✌ ✞✣✤
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9. ❍✄✄� (kg  ❡✁✂ ) ❖✄☎✆✝✄✄ ✁✂ ✞✝ ✟✂✠✄✄

 45 ✜✍ ✏✘ 4

50 ✜✍ ✏✘ 8

55 ✜✍ ✏✘ 21

60 ✜✍ ✏✘ 26

65 ✜✍ ✏✘ 32

70 ✜✍ ✏✘ 37

75 ✜✍ ✏✘ 39

80 ✜✍ ✏✘ 40

10. ✐�✄✐✝✄ ✂✞ ☎☎❢✄☎✡✄ ☛✄✄ ✁✂ ✞✝ ✟✂✠✄✄

0-10 10

10-20 40

20-30 80

30-40 140

40-50 170

50-60 130

60-70 100

70-80 70

80-90 40

90-100 20

11. ✐�✄✐✝✄ ✂✞ ✐�☞✄✄☎✁✄✄✄ ✁✂ ✞✝ ✟✂✠✄✄

0-10 2

10-20 2

20-30 3

30-40 4

40-50 6

50-60 6

60-70 5

70-80 2

80-90 4
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12. a = 12, b = 13, c = 35, d = 8, e = 5, f = 50

13.          (i) ✟✁ ✞❡ ✐�✞✄� (ii) ✟✁ ❧☎�✞ ✐�✞✄�

❧✄✄ ✈ ✁☎✂✄✄ ✁✄ ❡✁✂☎ ☎☎❢✄☎✡✄ ☛✄✄ ✁✂ ✞✝ ❧✄✄✈ ✁☎✂✄✄ ✁✄ ❡✁✂☎ ☎☎❢✄☎✡✄ ☛✄✄✁ ✂ ✞✝

✟✂✠✄✄ ✟✂✠✄✄

10 ✜✍ ✏✘ 0 10 ✜✍ ❢✎✳✏ ☞✌ ✉✜♦✍✖ ✱❞✌✱❞ 300

20 ✜✍ ✏✘ 60 20 ✜✍ ❢✎✳✏ ☞✌ ✉✜♦✍✖ ✱❞✌✱❞ 240

30 ✜✍ ✏✘ 102 30 ✜✍ ❢✎✳✏ ☞✌ ✉✜♦✍✖ ✱❞✌✱❞ 198

40 ✜✍ ✏✘ 157 40 ✜✍ ❢✎✳✏ ☞✌ ✉✜♦✍✖ ✱❞✌✱❞ 143

50 ✜✍ ✏✘ 227 50 ✜✍ ❢✎✳✏ ☞✌ ✉✜♦✍✖ ✱❞✌✱❞ 73

60 ✜✍ ✏✘ 280 60 ✜✍ ❢✎✳✏ ☞✌ ✉✜♦✍✖ ✱❞✌✱❞ 60

70 ✜✍ ✏✘ 300

14. ✐�✄✐✝✄ ✂✞ ☎☎❢✄☎✡✄ ☛✄✄ ✁✂ ✞✝ ✟✂✠✄✄

0-20 17

20-40 5

40-60 7

60-80 8

80-100 13

15. 1263.15 ★ 16. 109.17 km/h 17. 11875 ★

18. 201.7 kg 19. (i) 
1

6
 (ii) 

5

6
20. (i) 

1

6
 (ii) 

5

12
 (iii) 0

21. (i) 
1

9
  (ii) 

1

9
 (iii) 0 22. 

4

9

23. 
1 1 1

P(2) = , P(3) = , P (4) = ,
18 9 6

1 1 1 1
P(5) = , P(6) = , P (7) = , P(8)=

6 6 6 9
, 

1
P(9) =

18

24.
3

4
25. (i) 

1

8
  (ii) 

1

2
26. 

2

9
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27. (i) 
5

11
   (ii) 

7

22
 (iii) 

17

22

28. (i) 
13

49
(ii) 

3

49
29. (i) 

10

49
(ii) 

1

49

30. (i) 
1

10
(ii) 

3

10
(iii) 

3

5

31. (i) 
14

99
(ii) 

85

99
32. (i) 

1

2
(ii) 

9

100

33.
21

26
34. 0.69 35. 

11

75

36. P (✚✌❞✌✱ ✉✞✟✠) = 
3

4
, P (✥✓✜❞✌ ✱✠✱ ✚✌❞✌✱) = 

5

23

37. (i) 
4

9
(ii) 

5

9
(iii) 

1

3
(iv) 

5

18

38. (i) 
1

8
(ii) 

1

8
(iii) 

3

4

39. (i)  ✆✟ ✒✵✌✂✢✌✠✏ (0, 1, 2, 6, 7, 12) (ii) 
1

3

40. (i) 
7

8
(ii) 

15

16
41. (i) 

5

6
(ii) 

1

3

42. (i) 0.009 (ii) 
8

999

[✟✂☎✁❧✝ : (ii) ✛✱ ✒✵✯✌✘ ✎✚✌✙✌✬✲✟ ✒ ✫❞✁✏✌❞ ✛✟✢ ✙✍✢✌ ✞✣✡ ✢✌✍ t✝✝ ✜✍ ❢✎✳✏ ✒✓✔✌❩ ♦✩✌✍ ✕ ✏✟ ✜✠✚☞✌ �

✏✘ ✞✌✍ ✛✌✢✟ ✞✣✤]

✐�✁✂✄☎✆✝ 13.4

1. 51.75 2. 48.41 3.  31 ♦♦✌❩ 4. 201.96 g

7. ✘✌❧☞✏ ♦✍✢✉  = 13420 ★ , ✱✞✫✙✏ ♦✍✢✉ = 12730 ★
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8.  f
1
 = 28, f

2
 = 24 9. p = 5, q = 7

11. ✘✌❧☞✏ = 17.81 ✞✍☛❞✍☞❞✡ ✱✞✫✙✏ = 17.76 ✞✍☛❞✍☞❞

12. ✘✌❧☞✏ ♦♦✌✌❩  = 21.25 cm

13. ❢✌✣✜✢ = 170.3 sec.

14. (i) ♥��✝ (m ❡✁✂) ☎☎❢✄☎✡✄ ☛✄✄ ✁✂ ✞✝ ✟✂✠✄✄ ✟✂❧✄✝ ❝✄�✂❝✄�✝✄

0-20 6 6

20-40 11 17

40-60 17 34

60-80 12 46

80-100 4 50

(iii) 49.41 m.


